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2401. Prove that: 
 

∫ ∫
(𝟏 + 𝒙𝟒) 𝐥𝐧(𝒙𝟐) 𝐥𝐧(𝒚) 𝐥𝐧(𝟏 + 𝒚)

𝒙𝟖𝒚𝟐 + 𝒙𝟖𝒚 + 𝒚𝟐 +𝒚 + 𝒙𝟒𝒚𝟐 + 𝒙𝟒𝒚

∞

𝟎

∞

𝟎

𝒅𝒙𝒅𝒚 = −
𝝅𝟐𝜻(𝟑)

𝟑𝟔
(𝟑 + 𝟐√𝟑) 

 
Proposed by Abbaszade Yusif-Azerbaijan 

Solution by Amin Hajiyev-Azerbaijan 
 

𝑰 = ∫ ∫
(𝟏 + 𝒙𝟒) 𝐥𝐧(𝒙𝟐) 𝐥𝐧(𝒚) 𝐥𝐧(𝟏 + 𝒚)

𝒙𝟖𝒚𝟐+ 𝒙𝟖𝒚 + 𝒚𝟐+ 𝒚+ 𝒙𝟒𝒚𝟐+ 𝒙𝟒𝒚
𝒅𝒙𝒅𝒚

∞

𝟎

∞

𝟎

=∫ ∫
(𝟏 + 𝒙𝟒) 𝐥𝐧(𝒙𝟐) 𝐥𝐧(𝒚) 𝐥𝐧(𝟏 + 𝒚)

(𝒚 + 𝒚𝟐)(𝒙𝟖 +𝒙𝟒 + 𝟏)
𝒅𝒙𝒅𝒚

∞

𝟎

∞

𝟎

= 

= 𝟐∫
(𝟏+ 𝒙𝟒) 𝐥𝐧(𝒙)

𝒙𝟖+ 𝒙𝟒 + 𝟏

∞

𝟎

𝒅𝒙∫
𝐥𝐧(𝒚) 𝐥𝐧(𝟏+ 𝒚)

𝒚(𝟏 + 𝒚)

∞

𝟎

𝒅𝒚 = 𝟐𝑱𝑲 

𝑱 = ∫
(𝟏 + 𝒙𝟒)𝐥𝐧(𝒙)

𝒙𝟖 + 𝒙𝟒 +𝟏

∞

𝟎

𝒅𝒙 = ∫
(𝟏 − 𝒙𝟖)𝐥𝐧(𝒙)

𝟏 − 𝒙𝟏𝟐

∞

𝟎

𝒅𝒙 = 

= ∫
(𝟏 − 𝒙𝟖)𝐥𝐧(𝒙)

𝟏 − 𝒙𝟏𝟐

𝟏

𝟎

𝒅𝒙+∫
(𝟏 − 𝒙𝟖)𝐥𝐧(𝒙)

𝟏 − 𝒙𝟏𝟐
𝒅𝒙 =

∞

𝟏

𝑱𝟏 + 𝑱𝟐 

𝑱𝟏 = ∫
(𝟏 − 𝒙𝟖)𝐥𝐧(𝒙)

𝟏 − 𝒙𝟏𝟐

𝟏

𝟎

𝒅𝒙 = ∑∫ (𝒙𝟏𝟐𝒏 −𝒙𝟖+𝟏𝟐𝒏) 𝐥𝐧(𝒙)
𝟏

𝟎

𝒅𝒙

∞

𝒏=𝟎

= 

=∑
𝟏

(𝟏𝟐𝒏+𝟗)𝟐

∞

𝒏=𝟎

−∑
𝟏

(𝟏𝟐𝒏+ 𝟏)𝟐

∞

𝒏=𝟎

=
𝟏

𝟏𝟒𝟒
(𝝍(𝟏) (

𝟑

𝟒
) −𝝍(𝟏) (

𝟏

𝟏𝟐
)) 

 

𝑱𝟐 = ∫
(𝟏 − 𝒙𝟖)𝐥𝐧(𝒙)

𝟏 − 𝒙𝟏𝟐

∞

𝟏

𝒅𝒙 = ∫
(𝟏 −

𝟏
𝒙𝟖
) 𝐥𝐧(𝒙)

𝟏 −
𝟏
𝒙𝟏𝟐

𝟏

𝟎

𝒅𝒙

𝒙𝟐
= ∫

(𝒙𝟏𝟎 − 𝒙𝟐)𝐥𝐧(𝒙)

𝟏 − 𝒙𝟏𝟐
𝒅𝒙

𝟏

𝟎

= 

=∑∫ (
𝟏

𝟎

∞

𝒏=𝟎

𝒙𝟏𝟐𝒏+𝟏𝟎 − 𝒙𝟏𝟐𝒏+𝟐)𝐥𝐧⁡(𝒙)𝒅𝒙 = ∑
𝟏

(𝟏𝟐𝒏+ 𝟑)𝟐

∞

𝒏=𝟎

−∑
𝟏

(𝟏𝟐𝒏+𝟏𝟏)𝟐

∞

𝒏=𝟎

= 

=
𝟏

𝟏𝟒𝟒
(𝝍(𝟏) (

𝟏

𝟒
) −𝝍(𝟏) (

𝟏𝟏

𝟏𝟐
)) 

𝑱 = 𝑱𝟏 + 𝑱𝟐 =
𝟏

𝟏𝟒𝟒
(𝝍(𝟏) (

𝟑

𝟒
)− 𝝍(𝟏) (

𝟏

𝟏𝟐
)+ 𝝍(𝟏) (

𝟏

𝟒
)−𝝍(𝟏) (

𝟏𝟏

𝟏𝟐
)) 

𝑵𝒐𝒕𝒆𝒔: 
𝒑𝒐𝒍𝒚𝒈𝒂𝒎𝒎𝒂⁡𝒓𝒆𝒇𝒍𝒆𝒄𝒕𝒊𝒐𝒏⁡𝒇𝒐𝒓𝒎𝒖𝒍𝒂: 

{(−𝟏)𝒎𝝍(𝒎)(𝟏 − 𝒙) −𝝍(𝒎)(𝒙) = 𝝅
𝒅

𝒅𝒙𝒎
𝐜𝐨𝐭(𝝅𝒙)} 

𝑱 = 𝑱𝟏 + 𝑱𝟐 =
𝟏

𝟏𝟒𝟒
(𝝍(𝟏) (𝟏 −

𝟏

𝟒
)+ 𝝍(𝟏) (

𝟏

𝟒
)− 𝝍(𝟏) (𝟏 −

𝟏𝟏

𝟏𝟐
)−𝝍(𝟏) (

𝟏𝟏

𝟏𝟐
)) = 
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=
𝟏

𝟏𝟒𝟒
(𝟐𝝅𝟐− 𝟒𝝅𝟐(𝟐 +√𝟑)) = −

𝝅𝟐

𝟕𝟐
(𝟑 + 𝟐√𝟑) 

𝑲 = ∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒚(𝟏+ 𝒚)
𝒅𝒚

∞

𝟎

= ∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒚(𝟏 + 𝒚)

𝟏

𝟎

𝒅𝒚+∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒚(𝟏 + 𝒚)

∞

𝟏

𝒅𝒚 = 𝑲𝟏 +𝑲𝟐 

𝑲𝟏 = ∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒚(𝟏 + 𝒚)

𝟏

𝟎

𝒅𝒅𝒂𝒚 = ∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒚

𝟏

𝟎

𝒅𝒚−∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝟏 + 𝒚

𝟏

𝟎

𝒅𝒚 = 

= −∑
(−𝟏)𝒏

𝒏
∫ 𝒚𝒏−𝟏𝐥𝐧(𝒚)𝒅𝒚− [

𝐥𝐧(𝒚) 𝐥𝐧𝟐(𝟏 + 𝒚)

𝟐
]𝟎
𝟏

𝟏

𝟎

+
𝟏

𝟐

∞

𝒏=𝟏

∫
𝐥𝐧𝟐(𝟏 + 𝒚)

𝒚
𝒅𝒚 =

𝟏

𝟎

 

=∑
(−𝟏)𝒏

𝒏³

∞

𝒏=𝟏

+
𝟏

𝟐
∫
𝐥𝐧𝟐(𝟏 + 𝒚)

𝒚
𝒅𝒚,

𝟏

𝟎

⁡{
𝟏

𝟏 + 𝒚
= 𝒕,𝒅𝒕 = −𝒕𝟐𝒅𝒚,𝒕 [

𝟏

𝟐
; 𝟏]} 

= −𝜼(𝟑) +
𝟏

𝟐
∫
𝐥𝐧𝟐(𝒕)

𝟏
𝒕
− 𝟏

𝟏

𝟏
𝟐

𝒅𝒕

𝒕𝟐
= −

𝟑

𝟒
𝜻(𝟑) +

𝟏

𝟐
∫

𝐥𝐧𝟐(𝒕)

𝒕(𝟏 − 𝒕)

𝟏

𝟏
𝟐

𝒅𝒕 = 

= −
𝟑

𝟒
𝜻(𝟑)+

𝟏

𝟐
∑∫ 𝒕𝒏−𝟏𝐥𝐧𝟐

𝟏

𝟏
𝟐

(𝒕)𝒅𝒕 = −
𝟑

𝟒
𝜻(𝟑)+

𝜻(𝟑)

𝟖
= −

𝟓𝜻(𝟑)

𝟖

∞

𝒏=𝟎

 

𝑲𝟐 = ∫
𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒚(𝟏+ 𝒚)

∞

𝟏

𝒅𝒚 = ∫
𝐥𝐧(

𝟏
𝒚
)𝐥𝐧 (𝟏 +

𝟏
𝒚
)

𝒚(𝟏 +
𝟏
𝒚
)

⁡
𝟏

𝟎

𝒅𝒚 = ∫
𝐥𝐧𝟐(𝒚)− 𝐥𝐧(𝒚) 𝐥𝐧(𝟏 + 𝒚)

𝟏 + 𝒚

𝟏

𝟎

𝒅𝒚 = 

=∑(−𝟏)𝒏∫ 𝒚𝒏𝐥𝐧𝟐(𝒚)𝒅𝒚− [
𝐥𝐧(𝒚) 𝐥𝐧𝟐(𝟏+ 𝒚)

𝟐

𝟏

𝟎

]𝟎
𝟏 +

𝟏

𝟐
∫
𝐥𝐧𝟐(𝟏 + 𝒚)

𝒚
𝒅𝒚 =

𝟏

𝟎

𝟐∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

∞

𝒏=𝟎

+
𝜻(𝟑)

𝟖
= 𝟐𝜼(𝟑)+

𝜻(𝟑)

𝟖
=
𝟏𝟑𝜻(𝟑)

𝟖
 

𝑲 = 𝑲𝟏 +𝑲𝟐 =
𝟏𝟑𝜻(𝟑)

𝟖
−
𝟓𝜻(𝟑)

𝟖
= 𝜻(𝟑) 

∫ ∫
(𝟏 + 𝒙𝟒)𝐥𝐧(𝒙𝟐)𝐥𝐧(𝒚)𝐥𝐧(𝟏+ 𝒚)

𝒙𝟖𝒚𝟐 +𝒙𝟖𝒚 + 𝒚 + 𝒚𝟐+ 𝒙𝟒𝒚𝟐 +𝒙⁴𝒚
𝒅𝒙𝒅𝒚

∞

𝟎

∞

𝟎

= 𝟐𝑱𝑲 = −
𝝅𝟐𝜻(𝟑)(𝟑+ 𝟐√𝟑)

𝟑𝟔
 

 

2402. Prove that: 

∫ ∫
𝒙𝟐𝒚𝟐 + 𝟒𝒙𝒚 + 𝟏

𝒙𝟒𝒚𝟒 − 𝒙𝟒 − 𝒚𝟒 + 𝟖𝒙𝟑𝒚𝟑 + 𝟏𝟔𝒙𝟐𝒚𝟐 + 𝟖𝒙𝒚 + 𝟏

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 =
𝟑𝑮

𝟒
 

 

Proposed by Amin Hajiyev-Azerbaijan 
Solution 1 by proposer 
 

𝑰 = ∫ ∫
𝒙𝟐𝒚𝟐 + 𝟒𝒙𝒚+ 𝟏

𝒙𝟒𝒚𝟒− 𝒙𝟒 −𝒚𝟒 + 𝟖𝒙𝟑𝒚𝟑 +𝟏𝟔𝒙𝟐𝒚𝟐 +𝟖𝒙𝒚+ 𝟏

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = ∫ ∫ 𝒇(𝒙; 𝒚)𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

 

𝒇(𝒙;𝒚) =
𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+𝟏

𝒙𝟒𝒚𝟒 −𝒙𝟒 − 𝒚𝟒+ 𝟖𝒙𝟑𝒚𝟑+ 𝟏𝟔𝒙𝟐𝒚𝟐+ 𝟖𝒙𝒚+𝟏
= 
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=
𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+𝟏

(𝒙𝟐𝒚𝟐)𝟐+ (𝟒𝒙𝒚)𝟐 +𝟏+ 𝟐(𝟒𝒙𝒚)(𝒙𝟐𝒚𝟐) + 𝟐(𝟒𝒙𝒚)+ 𝟐𝒙𝟐𝒚𝟐− 𝒙𝟒− 𝒚𝟒 −𝟐𝒙𝟐𝒚𝟐
= 

=
𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏

(𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+ 𝟏)𝟐− (𝒙𝟐+ 𝒚𝟐)𝟐

=
𝒙𝟐𝒚𝟐 + 𝟒𝒙𝒚+𝟏 + 𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 + 𝒚𝟐+ 𝒙𝟐 −𝒙𝟐 − 𝒚𝟐

𝟐(𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 + 𝒙𝟐 +𝒚𝟐)(𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+𝟏 − 𝒙𝟐 − 𝒚𝟐)
= 

=
𝟏

𝟐
(

𝟏

𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+ 𝟏 +𝒙𝟐 + 𝒚𝟐
+

𝟏

𝒙𝟐𝒚𝟐 + 𝟒𝒙𝒚+ 𝟏 − 𝒙𝟐 −𝒚𝟐
) 

𝑰 =
𝟏

𝟐
(𝑰𝟏 + 𝑰𝟐) ⁡⁡

{
 
 

 
 

⁡

𝑰𝟏 = ∫ ∫
𝟏

𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 + 𝒙𝟐 +𝒚𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝑰𝟐 = ∫ ∫
𝟏

𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 − 𝒙𝟐 −𝒚𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚
}
 
 

 
 

 

𝑰𝟏 = ∫ ∫
𝟏

𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 + 𝒙𝟐 +𝒚𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = ∫ ∫
𝟏

(𝟏 + 𝒙𝒚)𝟐+ (𝒙+ 𝒚)𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 

= ∫ ∫
𝟏

(𝟏 + 𝒙𝒚)𝟐 (𝟏 + (
𝒙 + 𝒚
𝟏 +𝒙𝒚

)
𝟐

)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 

𝒍𝒆𝒕: {
𝒙 + 𝒚

𝟏 + 𝒙𝒚
= 𝒕, 𝒙 =

𝒕 − 𝒚

𝟏 − 𝒚𝒕
,
𝒅𝒙

𝒅𝒕
=

𝟏 −𝒚𝟐

(𝟏 − 𝒚𝒕)𝟐
, 𝟏 + 𝒙𝒚 =

𝟏 − 𝒚𝟐

𝟏 − 𝒚𝒕
; ⁡𝒕[𝟏; ⁡𝒚]} 

𝑰𝟏 = ∫ ∫
𝟏− 𝒚𝟐

(
𝟏 − 𝒚𝟐

𝟏 −𝒚𝒕
)
𝟐

(𝟏 + 𝒕𝟐)(𝟏− 𝒚𝒕)𝟐

𝟏

𝒚

𝟏

𝟎

𝒅𝒕𝒅𝒚 = ∫ ∫
𝟏

(𝟏 + 𝒕𝟐)(𝟏 − 𝒚𝟐)

𝟏

𝒚

𝟏

𝟎

𝒅𝒕𝒅𝒚

= ∫
𝟏

𝟏 − 𝒚𝟐
[𝐭𝐚𝐧−𝟏(𝒕)]𝒚

𝟏𝒅𝒚
𝟏

𝟎

= 

=
𝝅

𝟒
∫

𝟏

𝟏 − 𝒚𝟐
𝒅𝒚−∫

𝐭𝐚𝐧−𝟏(𝒚)

𝟏 − 𝒚𝟐
𝒅𝒚

𝟏

𝟎

𝟏

𝟎

.⁡⁡⁡→ ⁡⁡⁡⁡𝑰𝑩𝑷⁡⁡

{
 

 

⁡

𝒗 = ∫
𝟏

𝟏 − 𝒚𝟐
𝒅𝒚 = 𝐥𝐧 (

𝟏 + 𝒚

𝟏 − 𝒚
).

𝒖 = 𝐭𝐚𝐧−𝟏(𝒚),
𝒅𝒖

𝒅𝒚
=

𝟏

𝟏 + 𝒚𝟐 }
 

 

 

𝑰𝟏 =
𝝅

𝟒
∫

𝟏

𝟏 − 𝒚𝟐
𝒅𝒚

𝟏

𝟎

−
𝝅

𝟒
∫

𝟏

𝟏 − 𝒚𝟐
𝒅𝒚

𝟏

𝟎

+
𝟏

𝟐
∫
𝐥𝐧(

𝟏 + 𝒚
𝟏 − 𝒚

)

𝟏 + 𝒚𝟐

𝟏

𝟎

𝒅𝒚, {
𝟏 − 𝒚

𝟏 +𝒚
= 𝜽; ⁡⁡⁡𝜽[𝟎;𝟏]} 

𝑰𝟏 = −
𝟏

𝟐
∫

𝐥𝐧(𝜽)

𝟏 +𝜽𝟐

𝟏

𝟎

𝒅𝜽 = −
𝟏

𝟐
∑(−𝟏)𝒏∫ 𝜽𝟐𝒏𝐥𝐧⁡(

𝟏

𝟎

𝜽)𝒅𝜽 =
𝟏

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏+ 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

=
𝑮

𝟐
 

𝑰𝟐 = ∫ ∫
𝟏

𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+ 𝟏 −𝒙𝟐 − 𝒚𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = ∫ ∫
𝟏

(𝟏 + 𝒙𝒚)𝟐− (𝒙−𝒚)𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚

= ∫ ∫
𝟏

(𝟏 + 𝒙𝒚)𝟐 (𝟏 − (
𝒙− 𝒚
𝟏 +𝒙𝒚

)
𝟐
)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 

𝒍𝒆𝒕: {
𝒙 − 𝒚

𝟏 + 𝒙𝒚
= 𝒎,𝒙 =

𝒎 +𝒚

𝟏 −𝒎𝒚
,
𝒅𝒙

𝒅𝒎
=

𝟏 +𝒚𝟐

(𝟏 −𝒎𝒚)𝟐
, 𝟏 + 𝒙𝒚 =

𝟏 +𝒚𝟐

𝟏 −𝒎𝒚
,𝒎[

𝟏 − 𝒚

𝟏 +𝒚
;−𝒚]} 
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𝑰𝟐 = ∫ ∫
𝟏 + 𝒚𝟐

(
𝟏 + 𝒚𝟐

𝟏 −𝒎𝒚
)
𝟐

(𝟏 −𝒎𝟐)(𝟏 −𝒎𝒚)𝟐

𝟏−𝒚
𝟏+𝒚

−𝒚

𝟏

𝟎

𝒅𝒎𝒅𝒚 = ∫ ∫
𝟏

(𝟏+ 𝒚𝟐)(𝟏−𝒎𝟐)
𝒅𝒎𝒅𝒚

𝟏−𝒚
𝟏+𝒚

−𝒚

𝟏

𝟎

= ∫
𝟏

𝟏+ 𝒚𝟐
[𝐚𝐫𝐜𝐭𝐚𝐧𝐡(𝒎)]−𝒚

𝟏−𝒚
𝟏+𝒚
𝒅𝒚

𝟏

𝟎

= 

= ∫
𝐚𝐫𝐜𝐭𝐚𝐧𝐡(

𝟏 − 𝒚
𝟏 + 𝒚

)

𝟏 + 𝒚𝟐

𝟏

𝟎

𝒅𝒚 +∫
𝐚𝐫𝐜𝐭𝐚𝐧𝐡(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚

𝟏

𝟎

= 𝟐∫
𝐚𝐫𝐜𝐭𝐚𝐧𝐡(𝒚)

𝟏 + 𝒚𝟐

𝟏

𝟎

𝒅𝒚 = −∫
𝐥𝐧(

𝟏 − 𝒚
𝟏 +𝒚

)

𝟏 + 𝒚𝟐

𝟏

𝟎

𝒅𝒚 = 

 

= −∫
𝐥𝐧(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚 =

𝟏

𝟎

∑
(−𝟏)𝒏

(𝟐𝒏+𝟏)𝟐
= 𝑮

∞

𝒏=𝟎

 

𝑰 =
𝟏

𝟐
(𝑰𝟏 + 𝑰𝟐) =

𝟏

𝟐
(𝑮+

𝑮

𝟐
) =

𝟑𝑮

𝟒
 

 

Solution 2 by Pham Duc Nam-Vietnam 

∗ ⁡𝒙𝟒𝒚𝟒 +𝟖𝒙𝟑𝒚𝟑+ 𝟏𝟔𝒙𝟐𝒚𝟐+ 𝟖𝒙𝒚− 𝒙𝟒 − 𝒚𝟒 = 

= (𝒙𝟐𝒚𝟐)
𝟐
+𝟏𝟔𝒙𝟐𝒚𝟐 +𝟏+ +𝟐𝒙𝟐𝒚𝟐 • 𝟒𝒙𝒚+ 𝟐 • 𝟒𝒙𝒚 • 𝟏 + 𝟐 • 𝒙𝟐𝒚𝟐 • 𝟏

− (𝒙𝟒 +𝒚𝟒 + 𝟐𝒙𝟐𝒚𝟐) = 

= (𝒙𝟐𝒚𝟐 + 𝟒𝒙𝒚+ 𝟏)
𝟐
− (𝒙𝟐 +𝒚𝟐)

𝟐

= (𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+𝟏 + (𝒙𝟐 +𝒚𝟐)) (𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 − (𝒙𝟐+ 𝒚𝟐)) 

𝑰 =
𝟏

𝟐
(∫ ∫

𝟏

𝒙𝟐𝒚𝟐+ 𝟒𝒙𝒚+𝟏 + 𝒙𝟐 + 𝒚𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚

+∫ ∫
𝟏

𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 − 𝒙𝟐 −𝒚𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚) =
𝟏

𝟐
(𝑱 + 𝑲) 

𝑱 = ∫ ∫
𝟏

𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 + (𝒙𝟐+ 𝒚𝟐)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = ∫ [
𝐚𝐫𝐜𝐭𝐚𝐧(

𝒙 + 𝒚
𝟏 + 𝒙𝒚

)

𝟏 − 𝒚𝟐

𝟏

𝟎

]𝟎
𝟏𝒅𝒚

= ∫
𝟏

𝟏 −𝒚𝟐
(
𝝅

𝟒
− 𝐚𝐫𝐜𝐭𝐚𝐧(𝒚))𝒅𝒚

𝟏

𝟎

= 

𝑲 = ∫ ∫
𝟏

𝒙𝟐𝒚𝟐 +𝟒𝒙𝒚+ 𝟏 − (𝒙𝟐+ 𝒚𝟐)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 =
𝟏

𝟐
∫ [

𝐥𝐧(
𝒙𝒚 + 𝒙− 𝒚 +𝟏
𝒙𝒚 − 𝒙+ 𝒚 +𝟏

)

𝟏 + 𝒚𝟐

𝟏

𝟎

]𝟎
𝟏𝒅𝒚 = 

=
𝟏

𝟐
∫

𝟏

𝟏 + 𝒚𝟐
(𝐥𝐧(

𝟏 + 𝒚

𝟏 −𝒚
)− 𝐥𝐧(𝒚))𝒅𝒚

𝟏

𝟎

 

𝑱 = ∫
𝟏

𝟏 −𝒚𝟐
(
𝝅

𝟒
− 𝐚𝐫𝐜𝐭𝐚𝐧(𝒚))𝒅𝒚

𝟏

𝟎

, 𝒍𝒆𝒕: {𝒕 =
𝟏 −𝒚

𝟏 +𝒚
,𝒚 =

𝟏 − 𝒕

𝟏 + 𝒕
,𝒅𝒚 = −

𝟐

(𝟏+ 𝒕)𝟐
𝒅𝒕} 

𝑱 = 𝟐∫
𝟏

𝟒𝒕(𝟏+ 𝒕)𝟐

(𝟏+ 𝒕)𝟐

𝟏

𝟎

(
𝝅

𝟒
− 𝒂𝒓𝒄𝒕𝒂𝒏(

𝟏 − 𝒕

𝟏 + 𝒕
))𝒅𝒕 =

𝟏

𝟐
∫
𝟏

𝒕
(
𝝅

𝟒
−
𝝅

𝟒
+ 𝐚𝐫𝐜𝐭𝐚𝐧(𝒕))𝒅𝒕

𝟏

𝟎

= 

=
𝟏

𝟐
∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒕)

𝒕
𝒅𝒕 =

𝑮

𝟐

𝟏

𝟎
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𝑲 =
𝟏

𝟐
∫

𝟏

𝟏 +𝒚𝟐
(𝐥𝐧 (

𝟏 + 𝒚

𝟏 −𝒚
) − 𝐥𝐧(𝒚))𝒅𝒚

𝟏

𝟎

= −
𝟏

𝟐
∫

𝐥𝐧(𝒚)

𝟏 + 𝒚𝟐
𝒅𝒚 +

𝟏

𝟐
∫
𝐥𝐧(

𝟏 + 𝒚
𝟏 −𝒚

)

𝟏 + 𝒚𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒚 

=
𝑮

𝟐
−
𝟏

𝟐
∫
𝐥𝐧(

𝟏 − 𝒚
𝟏 +𝒚

)

𝟏 + 𝒚𝟐

𝟏

𝟎

𝒅𝒚⁡, 𝒍𝒆𝒕: {𝒕 =
𝟏 − 𝒚

𝟏 + 𝒚
, 𝒚 =

𝟏 − 𝒕

𝟏 + 𝒕
, 𝒅𝒚 = −

𝟐

(𝟏 + 𝒕)𝟐
𝒅𝒕} 

𝒌 =
𝑮

𝟐
−
𝟏

𝟐
∫

𝐥𝐧(𝒕)

𝟏 + 𝒕𝟐

𝟏

𝟎

𝒅𝒕 =
𝑮

𝟐
+
𝑮

𝟐
= 𝑮 

𝑰 =
𝟏

𝟐
(𝑱 +𝑲) =

𝟏

𝟐
(𝑮+

𝑮

𝟐
) =

𝟑𝑮

𝟒
 

𝑵𝒐𝒕𝒆𝒔: 

∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒕)

𝒕
𝒅𝒕 =∑

(−𝟏)𝒏

𝟐𝒏+𝟏
∫ 𝒕𝟐𝒏𝒅𝒕 = ∑

(−𝟏)𝒏

(𝟐𝒏+ 𝟏)𝟐
= 𝜷(𝟐) = 𝑮

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

 

 

∫
𝐥𝐧(𝒕)

𝟏 + 𝒕𝟐
𝒅𝒕 =∑(−𝟏)𝒏∫ 𝒕𝟐𝒏𝐥𝐧(𝒕)𝒅𝒕 = −∑

(−𝟏)𝒏

(𝟐𝒏+𝟏)²

∞

𝒏=𝟎

𝟏

𝟎

= −𝑮

∞

𝒏=𝟎

𝟏

𝟎

; ⁡𝒂𝒓𝒄𝒕𝒂𝒏(
𝟏 − 𝒕

𝟏 + 𝒕
)

=
𝝅

𝟒
−𝒂𝒓𝒄𝒕𝒂𝒏(𝒕) 

2403.  𝑷𝒓𝒐𝒗𝒆⁡𝒕𝒉𝒂𝒕: 

∫
𝐬𝐢𝐧𝐡−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = −
𝑳𝒊𝟐(𝟑 − 𝟐√𝟐)

𝟐
+
𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐(𝟏 + √𝟐)

𝟐
+ 𝐥𝐧(𝟏 + √𝟐) 𝐥𝐧(𝟐) 

 
Proposed by Ankush Kumar Parcha-India 

Solution by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫
𝐬𝐢𝐧𝐡−𝟏(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

= ∫
𝐥𝐧(√𝟏 + 𝒙𝟐 +𝒙)

𝒙
𝒅𝒙 = −

𝟏

𝟎

∫
𝐥𝐧(√𝟏 +𝒙𝟐 − 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

 

𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒐𝒏⁡ {√𝟏 + 𝒙𝟐 − 𝒙 = 𝒕, 𝒙 =
𝟏 − 𝒕𝟐

𝟐𝒕
, 𝒅𝒙 = −

𝟏+ 𝒕𝟐

𝟐𝒕𝟐
𝒅𝒕, 𝒕[√𝟐 − 𝟏;𝟏]} 

𝜴 = −∫
𝐥𝐧(𝒕)

(
𝟏 − 𝒕𝟐

𝟐𝒕
)

𝟏

√𝟐−𝟏

(𝟏 + 𝒕𝟐)𝒅𝒕

𝟐𝒕𝟐
= −∫

(𝟏 + 𝒕𝟐)𝐥𝐧(𝒕)

𝒕(𝟏 − 𝒕𝟐)

𝟏

√𝟐−𝟏

𝒅𝒕 = 

= −∫
𝐥𝐧(𝒕)

𝒕(𝟏 − 𝒕𝟐)
𝒅𝒕 −∫

𝒕𝒍𝒏(𝒕)

𝟏 − 𝒕𝟐
𝒅𝒕 = −(𝜴𝟏+𝜴𝟐)

𝟏

√𝟐−𝟏

𝟏

√𝟐−𝟏

 

𝜴𝟏 = ∫
𝐥𝐧(𝒕)

𝒕(𝟏− 𝒕𝟐)
𝒅𝒕 = ∫

𝐥𝐧(𝒕)

𝒕
𝒅𝒕 +∫

𝒕𝒍𝒏(𝒕)

𝟏 − 𝒕𝟐
𝒅𝒕

𝟏

√𝟐−𝟏

𝟏

√𝟐−𝟏

=
𝟏

√𝟐−𝟏

∫
𝐥𝐧(𝒕)

𝒕
𝒅𝒕

𝟏

√𝟐−𝟏

+𝜴𝟐 

𝜴𝟏 = [
𝒍𝒏𝟐(𝒕)

𝟐
]
√𝟐−𝟏
𝟏 +∑∫ 𝒕𝟐𝒏+𝟏 𝐥𝐧(𝒕)𝒅𝒕

𝟏

√𝟐−𝟏

∞

𝒏=𝟎

= 

= −
𝒍𝒏𝟐(𝟏+ √𝟐)

𝟐
+∑(

𝒕𝟐𝒏+𝟐

𝟐𝒏+𝟐
𝐥𝐧(𝒕)|

√𝟐−𝟏
𝟏 −

𝟏

𝟐𝒏+ 𝟐
∫ 𝒕𝟐𝒏+𝟏
𝟏

√𝟐−𝟏

𝒅𝒕)

∞

𝒏=𝟎

= 
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= −
𝒍𝒏𝟐(𝟏 +√𝟐)

𝟐
−
𝐥𝐧(√𝟐 −𝟏)

𝟐
∑

(√𝟐 − 𝟏)
𝟐𝒏

𝒏

∞

𝒏=𝟏

−
𝟏

𝟒
∑

𝟏

𝒏𝟐

∞

𝒏=𝟏

+
𝟏

𝟒
∑

(√𝟐 − 𝟏)
𝟐𝒏

𝒏𝟐

∞

𝒏=𝟏

= 

= −
𝒍𝒏𝟐(𝟏 + √𝟐)

𝟐
+
𝐥𝐧(√𝟐 −𝟏) 𝐥𝐧(𝟐√𝟐− 𝟐)

𝟐
−
𝛑𝟐

𝟐𝟒
+
𝟏

𝟒
𝐋𝐢𝟐(𝟑− 𝟐√𝟐) = 

= −
𝒍𝒏𝟐(𝟏 +√𝟐)

𝟐
+
𝒍𝒏𝟐(𝟏 + √𝟐)

𝟐
−
𝐥𝐧(𝟏 + √𝟐) 𝐥𝐧(𝟐)

𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟏

𝟒
𝑳𝒊𝟐(𝟑 − 𝟐√𝟐) = 

=
𝟏

𝟒
𝑳𝒊𝟐(𝟑− 𝟐√𝟐) −

𝝅𝟐

𝟐𝟒
−
𝐥𝐧(𝟏 +√𝟐) 𝐥𝐧(𝟐)

𝟐
 

𝜴𝟐 = 𝜴𝟏 +
𝒍𝒏𝟐(𝟏 + √𝟐)

𝟐
=
𝟏

𝟒
𝑳𝒊𝟐(𝟑− 𝟐√𝟐) −

𝝅𝟐

𝟐𝟒
−
𝐥𝐧(𝟏 + √𝟐) 𝐥𝐧(𝟐)

𝟐
+
𝒍𝒏𝟐(𝟏 + √𝟐)

𝟐
 

𝜴 = −(𝜴𝟏+𝜴𝟐) = −
𝟏

𝟐
𝑳𝒊𝟐(𝟑− 𝟐√𝟐) +

𝝅𝟐

𝟏𝟐
+ 𝐥𝐧(𝟏 + √𝟐) 𝐥𝐧(𝟐)−

𝒍𝒏𝟐(𝟏 + √𝟐)

𝟐
 

∫
𝐬𝐢𝐧𝐡−𝟏(𝒙)

𝒙
𝒅𝒙 = −

𝑳𝒊𝟐(𝟑 − 𝟐√𝟐)

𝟐
+
𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐(𝟏 +√𝟐)

𝟐
+ 𝐥𝐧(𝟏+ √𝟐)𝐥𝐧(𝟐)

𝟏

𝟎

⁡ 

 

2404. Prove that: 

∫ 𝐬𝐢𝐧𝐡−𝟏(𝒙) 𝐜𝐨𝐬𝐡−𝟏(𝒙)𝒅𝒙
𝟏

𝟎

=
𝝅

𝟐
(𝟏 −

𝟒√𝟐𝝅

г𝟐(𝟏/𝟒)
) 𝓲 

Proposed by Ankush Kumar Parcha-India 
Solution by Cosghun Memmedov-Azerbaijan 

∫ 𝐬𝐢𝐧𝐡−𝟏(𝒙) 𝐜𝐨𝐬𝐡−𝟏(𝒙)𝒅𝒙
𝟏

𝟎
= ∫ 𝒍𝒏(𝒙 + √𝒙𝟐 + 𝟏

𝟏

𝟎
 )𝒍𝒏(𝒙 + √𝒙𝟐 − 𝟏⁡)dx =⏞

𝑰𝑩𝑷

 

=-(∫
𝒙𝒍𝒏(𝒙+√𝒙𝟐−𝟏⁡)

√𝒙𝟐+𝟏

𝟏

𝟎
dx+∫

𝒙𝒍𝒏(𝒙+√𝒙𝟐+𝟏⁡)

√𝒙𝟐−𝟏

𝟏

𝟎
dx) =⏞

𝑰𝑩𝑷

ln(𝓲)+⁡∫
√𝒙𝟐+𝟏⁡

√𝒙𝟐−𝟏

𝟏

𝟎
dx+∫

√𝒙𝟐−𝟏⁡

√𝒙𝟐−𝟏

𝟏

𝟎
dx= 

=
𝝅𝓲

𝟐
⁡-⁡𝟐𝓲 ∫

𝒙

√𝟏−𝒙𝟒

𝟏

𝟎
𝒅𝒙 =⏞

(𝒙𝟒→𝒙)
𝝅𝓲

𝟐
⁡-∫ 𝒙−⁡

𝟏

𝟒
𝟏

𝟎
(𝟏⁡ − 𝒙)−⁡

𝟏

𝟐⁡dx=
𝝅𝓲

𝟐
−⁡

𝓲

𝟐
B(
𝟑

𝟒
,
𝟏

𝟐
)= 

=
𝝅𝓲

𝟐
−⁡

𝓲

𝟐
×
Г(
𝟑

𝟒
)×Г(

𝟏

𝟐
)

Г(
𝟓

𝟒
)

=
𝝅𝓲

𝟐
−
𝝅𝓲

𝟐
×
𝟒√𝟐𝛑

г𝟐(
𝟏

𝟒
)
=
𝝅

𝟐
(𝟏 −

𝟒√𝟐𝝅

г𝟐(𝟏/𝟒)
) 𝓲 

Notes:  Г(
𝟓

𝟒
) = ⁡Г(𝟏 +

𝟏

𝟒
) =

𝟏

𝟒
Г(
𝟏

𝟒
); Г(

𝟑

𝟒
) =

𝝅√𝟐

Г(
𝟏

𝟒
)
 ;  Г(

𝟏

𝟐
) = √𝝅 

2405. Prove that: 

∫ ∫
𝒆𝒙+𝒚 − 𝟏

𝒆𝒙+𝒚 + 𝟏

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝟒𝝌𝟐(𝒆
𝟐) − 𝟒𝑳𝒊𝟐(𝒆) +

𝝅𝟐

𝟔
− 𝟏 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 
 

𝝈 = ∫ ∫
𝒆𝒙+𝒚 − 𝟏

𝒆𝒙+𝒚 + 𝟏

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 
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𝒔𝒖𝒃𝒕𝒊𝒕𝒂𝒕𝒊𝒐𝒏⁡{𝒆𝒙+𝒚 = 𝒕, 𝒅𝒕 = 𝒕𝒅𝒙, 𝒕[𝒆𝟏+𝒚; 𝒆𝒚]} 

𝝈 = ∫ ∫
𝒕 − 𝟏

𝒕(𝒕 + 𝟏)

𝒆𝒚+𝟏

𝒆𝒚

𝟏

𝟎

𝒅𝒕𝒅𝒚 = ∫ ∫ (
𝟐

𝟏 + 𝒕
−
𝟏

𝒕
) 𝒅𝒕𝒅𝒚 =

𝒆𝟏+𝒚

𝒆𝒚

𝟏

𝟎

 

= ∫ [
𝟏

𝟎

𝟐 𝐥𝐧(𝟏 + 𝒕) − 𝐥𝐧(𝒕)]𝒆𝒚
𝒆𝟏+𝒚𝒅𝒚 = 

= 𝟐∫ 𝐥𝐧(𝟏 + 𝒆𝟏+𝒚)𝒅𝒚 − 𝟐∫ 𝐥𝐧(𝟏 + 𝒆𝒚)𝒅𝒚 − ∫ 𝒅𝒚
𝟏

𝟎

𝟏

𝟎

=
𝟏

𝟎

 

= −𝟐∑
(−𝟏)ⁿ

𝒏
∫ 𝒆𝒏(𝟏+𝒚)𝒅𝒚 + 𝟐∑

(−𝟏)ⁿ

𝒏
∫ 𝒆𝒏𝒚𝒅𝒚 − 𝟏
𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

= 

= 𝟐∑
(−𝟏)ⁿ

𝒏
[
𝒆𝒏𝒚

𝒏
]𝟎
𝟏

∞

𝒏=𝟏

− 𝟐∑
(−𝟏)ⁿ𝒆𝒏

𝒏
[
𝒆𝒏𝒚

𝒏
]𝟎
𝟏 − 𝟏

∞

𝒏=𝟏

= 

= 𝟐∑
(−𝟏)ⁿ𝒆𝒏

𝒏𝟐
− 𝟐∑

(−𝟏)ⁿ

𝒏𝟐
− 𝟐∑

(−𝟏)𝒏𝒆𝟐𝒏

𝒏𝟐
+ 𝟐∑

(−𝟏)𝒏𝒆𝒏

𝒏𝟐
− 𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

= 

= 𝟒𝑳𝒊𝟐(−𝒆) + 𝟐𝜼(𝟐) − 𝟐𝑳𝒊𝟐(−𝒆
𝟐) − 𝟏 

 
𝑵𝒐𝒕𝒆𝒔: 

𝑷𝒐𝒍𝒚𝒍𝒐𝒈𝒂𝒓𝒊𝒕𝒉𝒎⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏:⁡𝑳𝒊𝒂(𝒛) = ∑
𝒛ⁿ

𝒏𝒂

∞

𝒏=𝟏

, |𝒛| ≤ 𝟏 

𝑳𝒊𝒂(𝒛
𝟐) =

𝟏

𝟐𝟏−𝒂
(𝑳𝒊𝒂(𝒛) + 𝑳𝒊𝒂(−𝒛)) 

𝑳𝒆𝒈𝒆𝒏𝒅𝒓𝒆⁡𝒄𝒉𝒊⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏:𝝌𝒂(𝒛) = ∑
𝒛𝟐𝒏+𝟏

(𝟐𝒏 + 𝟏)𝒂

∞

𝒏=𝟎

=
𝟏

𝟐
(𝑳𝒊𝒂(𝒛) − 𝑳𝒊𝒂(−𝒛)) 

𝝈 = 𝟒𝑳𝒊𝟐(−𝒆) − 𝟒𝑳𝒊𝟐(𝒆) − 𝟒𝑳𝒊𝟐(−𝒆) + 𝟒𝝌𝟐(𝒆
𝟐) +

𝝅𝟐

𝟔
− 𝟏 = 

= 𝟒𝝌𝟐(𝒆
𝟐) − 𝟒𝑳𝒊𝟐(𝒆) +

𝝅𝟐

𝟔
− 𝟏 

2406. 𝑷𝒓𝒐𝒗𝒆⁡𝒕𝒉𝒂𝒕⁡ 

∫ ∫ 𝒆−𝒙
∞

𝟎

∞

𝟎

(
𝒙

𝒚
)
𝟐

𝐥𝐧(𝟏 +
𝒚𝟐

𝒙𝟐
) 𝐥𝐧(𝒚) 𝒅𝒙𝒅𝒚 = 𝝅(𝟐 − 𝜸) 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫ 𝒆−𝒙 (
𝒙

𝒚
)
𝟐

𝐥𝐧(𝟏 +
𝒚𝟐

𝒙𝟐
) 𝐥𝐧(𝒚)𝒅𝒙𝒅𝒚

∞

𝟎

∞

𝟎

, {
𝒚

𝒙
= 𝒕,𝒅𝒕 = 𝒅𝒚,𝒕[∞;𝟎]} 

𝜴 = ∫ ∫
𝒆−𝒙𝐱𝐥𝐧(𝟏+ 𝐭𝟐) 𝐥𝐧(𝐱𝐭)

𝐭𝟐

∞

𝟎

𝒅𝒙𝒅𝒕
∞

𝟎

= 
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= ∫ 𝒆−𝒙𝒙𝒍𝒏(𝒙)∫
𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

∞

𝟎

∞

𝟎

𝒅𝒙𝒅𝒕 +∫ 𝒆−𝒙𝒙∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐
𝒅𝒙𝒅𝒕

∞

𝟎

=
∞

𝟎

 

= 𝜴𝟏 +𝜴𝟐 

𝜴𝟏 = ∫ 𝒆−𝒙𝒙𝒍𝒏(𝒙)∫
𝐥𝐧(𝟏 + 𝒕𝟐)

𝒕𝟐

∞

𝟎

𝒅𝒙𝒅𝒕 = 𝑰 • 𝑱
∞

𝟎

 

𝑰 = ∫ 𝒆−𝒙𝒙𝒍𝒏(𝒙)
∞

𝟎

𝒅𝒙 = 𝐥𝐢𝐦
𝒂→𝟏

𝒅

𝒅𝒂
∫ 𝒙𝒂𝒆−𝒙𝒅𝒙
∞

𝟎

= 𝐥𝐢𝐦
𝒂→𝟏

𝒅

𝒅𝒂
𝜞(𝒂+𝟏) = 

= 𝐥𝐢𝐦
𝒂→𝟏

𝝍(𝟎)(𝒂+ 𝟏)𝜞(𝒂+ 𝟏) = 𝝍(𝟎)(𝟐) = 𝟏 − 𝜸 

𝒏𝒐𝒕𝒆:{𝑮𝒂𝒎𝒎𝒂⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏:⁡∫ 𝒆−𝒙𝒙𝒂−𝟏𝒅𝒙 =
∞

𝟎

𝜞(𝒂)} 

𝑱 = ∫
𝐥𝐧(𝟏 + 𝒕𝟐)

𝒕𝟐
𝒅𝒕

∞

𝟎

= ∫
𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

𝟏

𝟎

𝒅𝒕 + ∫
𝐥𝐧(𝟏 + 𝒕𝟐)

𝒕𝟐
𝒅𝒕

∞

𝟏

= 𝑱𝟏 + 𝑱𝟐 

𝑱𝟏 = ∫
𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐
𝒅𝒕

𝟏

𝟎

= −∑
(−𝟏)𝒏

𝒏
∫ 𝒕𝟐𝒏−𝟐
𝟏

𝟎

∞

𝒏=𝟏

𝒅𝒕 = −∑
(−𝟏)𝒏

𝒏(𝟐𝒏− 𝟏)

∞

𝒏=𝟏

= 

=∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

− 𝟐∑
(−𝟏)𝒏

𝟐𝒏−𝟏
=
𝝅

𝟐
− 𝐥𝐧(𝟐)

∞

𝒏=𝟏

 

𝑱𝟐 = ∫
𝐥𝐧(𝟏 + 𝒕𝟐)

𝒕𝟐

∞

𝟏

𝒅𝒕, {
𝟏

𝒕
= 𝒖⁡,𝒅𝒖 = −𝒖𝟐𝒅𝒕,𝒖[𝟎;𝟏]} 

𝑱𝟐 = ∫ 𝐥𝐧(𝟏+ 𝒖𝟐)𝒅𝒖−𝟐∫ 𝐥𝐧(𝒖)𝒅𝒖
𝟏

𝟎

𝟏

𝟎

= −∑
(−𝟏)𝒏

𝒏
∫ 𝒖𝟐𝒏𝒅𝒖
𝟏

𝟎

∞

𝒏=𝟏

−𝟐[𝒖𝒍𝒏(𝒖)− 𝒖]𝟎
𝟏 = 

= −∑
(−𝟏)𝒏

𝒏(𝟐𝒏+ 𝟏)

∞

𝒏=𝟏

+𝟐 = 𝟐∑
(−𝟏)𝒏

𝟐𝒏+ 𝟏
−

∞

𝒏=𝟏

∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

+ 𝟐 =
𝝅

𝟐
− 𝟐+ 𝐥𝐧(𝟐) + 𝟐 =

𝛑

𝟐
+ 𝐥𝐧(𝟐) 

𝑱 = 𝑱𝟏 + 𝑱𝟐 =
𝝅

𝟐
− 𝐥𝐧(𝟐)+

𝝅

𝟐
+ 𝐥𝐧(𝟐) = 𝝅, 𝜴𝟏 = 𝑱 • 𝑰 = 𝝅(𝟏− 𝜸) 

𝜴𝟐 = ∫ 𝒆−𝒙𝒙∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐
𝒅𝒕𝒅𝒙

∞

𝟎

=
∞

𝟎

𝑴 •𝑲 

𝑴 = ∫ 𝒆−𝒙𝒙𝒅𝒙 =
∞

𝟎

𝜞(𝟐) = 𝟏 

𝑲 = ∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

∞

𝟎

𝒅𝒕 = ∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

𝟏

𝟎

𝒅𝒕 + ∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

∞

𝟏

𝒅𝒕 = 𝑲𝟏 +𝑲𝟐 

𝑲𝟏 = ∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

𝟏

𝟎

𝒅𝒕 = −∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒕𝟐𝒏−𝟐
𝟏

𝟎

𝐥𝐧(𝐭)𝐝𝐭 =∑
(−𝟏)𝒏

𝒏(𝟐𝒏− 𝟏)𝟐

∞

𝐧=𝟏

= 

= ∑
(−𝟏)𝒏

𝒏
−

∞

𝒏=𝟏

𝟐∑
(−𝟏)𝒏

𝟐𝒏−𝟏
+

∞

𝒏=𝟏

𝟐∑
(−𝟏)𝒏

(𝟐𝒏− 𝟏)𝟐

∞

𝒏=𝟏

=
𝝅

𝟐
−𝟐𝑮− 𝐥𝐧(𝟐) 

𝑲𝟐 = ∫
𝐥𝐧(𝒕)𝐥𝐧(𝟏+ 𝒕𝟐)

𝒕𝟐

∞

𝟏

𝒅𝒕, {
𝟏

𝒕
= 𝒖,𝒅𝒖 = −𝒖𝟐𝒅𝒕,𝒖[𝟎;𝟏]} 

𝑲𝟐 = −∫ 𝐥𝐧(𝟏 +
𝟏

𝒖𝟐
) 𝐥𝐧(𝒖)𝒅𝒖

𝟏

𝟎

= −∫ 𝐥𝐧(𝒖)𝐥𝐧(𝟏+ 𝒖𝟐)𝒅𝒖+ 𝟐∫ 𝒍𝒏𝟐(𝒖)𝒅𝒖 =
𝟏

𝟎

𝟏

𝟎
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=∑
(−𝟏)𝒏

𝒏
∫ 𝒖𝟐𝒏 𝐥𝐧(𝒖)𝒅𝒖
𝟏

𝟎

+ 𝟐

∞

𝒏=𝟏

[𝟐𝒖+ 𝒖𝒍𝒏𝟐(𝒖) − 𝟐𝒖𝒍𝒏(𝒖)]𝟎
𝟏 =∑

(−𝟏)𝒏+𝟏

𝒏(𝟐𝒏+ 𝟏)𝟐

∞

𝒏=𝟏

+ 𝟒 = 

= 𝟐∑
(−𝟏)𝒏

𝟐𝒏+ 𝟏

∞

𝒏=𝟏

+ 𝟐∑
(−𝟏)𝒏

(𝟐𝒏+𝟏)𝟐

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

+ 𝟒 = 𝟐𝑮− 𝟒+
𝝅

𝟐
+ 𝐥𝐧(𝟐)+ 𝟒 = 

= 𝟐𝑮+
𝝅

𝟐
+ 𝐥𝐧(𝟐) 

𝑲 = 𝑲𝟏+𝑲𝟐 =
𝝅

𝟐
−𝟐𝑮− 𝐥𝐧(𝟐) + 𝟐𝑮+

𝝅

𝟐
+ 𝐥𝐧(𝟐) = 𝝅 

𝜴𝟐 = 𝑲 •𝑴 = 𝝅 
𝜴 = 𝜴𝟏+𝜴𝟐 = 𝝅+𝝅(𝟏 −𝜸) = 𝝅(𝟐 − 𝜸) 

∫ ∫ 𝒆−𝒙 (
𝒙

𝒚
)
𝟐

𝐥𝐧(𝟏 +
𝒚𝟐

𝒙𝟐
) 𝐥𝐧(𝒚)𝒅𝒙𝒅𝒚 = 𝝅(𝟐 − 𝜸)

∞

𝟎

⁡
∞

𝟎

 

2407. Prove that: 

∫∫ 𝐥𝐧(
𝟏

𝒆𝒙 + 𝒆𝒚
) 𝒅𝒙𝒅𝒚 =

[𝟎;𝟏]𝟐
𝟐𝑳𝒊𝟑(−𝒆) +

𝟑𝜻(𝟑)

𝟐
+
𝝅𝟐

𝟔
−
𝟏

𝟑
 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 
 

⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝜴 = ∫∫ 𝐥𝐧 (
𝟏

𝒆𝒙 + 𝒆𝒚
) 𝒅𝒙𝒅𝒚

[𝟎;𝟏]𝟐
= ∫∫ 𝐥𝐧 (

𝒆−𝒙

𝟏 + 𝒆𝒚−𝒙
) 𝒅𝒙𝒅𝒚

[𝟎;𝟏]𝟐
= 

= ∫∫ 𝐥𝐧(𝒆−𝒙)𝒅𝒙𝒅𝒚
[𝟎;𝟏]𝟐

−∫∫ 𝐥𝐧(𝟏 + 𝒆𝒚−𝒙)
[𝟎;𝟏]𝟐

𝒅𝒙𝒅𝒚 = 

= −∫∫ 𝒙𝒅𝒙𝒅𝒚
[𝟎;𝟏]𝟐

+∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫∫
𝒆𝒏𝒚

𝒆𝒏𝒙
𝒅𝒙𝒅𝒚

[𝟎;𝟏]𝟐
= 

= −
𝟏

𝟐
−∑

(−𝟏)𝒏

𝒏
∫ 𝒆𝒏𝒚[

𝒆−𝒏𝒙

𝒏[𝟎;𝟏]

∞

𝒏=𝟏

]𝟎
𝟏𝒅𝒚 = −

𝟏

𝟐
−∑

(−𝟏)𝒏

𝒏
(
𝒆−𝒏

𝒏
−
𝟏

𝒏
)∫ 𝒆𝒏𝒚𝒅𝒚

[𝟎;𝟏]

∞

𝒏=𝟏

= 

= −
𝟏

𝟐
−∑

(−𝟏)𝒏

𝒏
(
𝒆−𝒏

𝒏
−
𝟏

𝒏
) [
𝒆𝒏𝒚

𝒏
]𝟎
𝟏 = −

𝟏

𝟐
−∑

(−𝟏)𝒏

𝒏
(
𝒆−𝒏

𝒏
−
𝟏

𝒏
) (
𝒆𝒏

𝒏
−
𝟏

𝒏
) =

∞

𝒏=𝟏

∞

𝒏=𝟏

 

= −
𝟏

𝟐
−∑

(−𝟏)𝒏

𝒏
(
𝟐

𝒏𝟐
−
𝒆−𝒏

𝒏𝟐
−
𝒆𝒏

𝒏𝟐
)

∞

𝒏=𝟏

= 

= −
𝟏

𝟐
− 𝟐∑

(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

+∑
(−𝟏)𝒏𝒆−𝒏

𝒏𝟑

∞

𝒏=𝟏

+∑
(−𝟏)𝒆𝒏

𝒏𝟑

∞

𝒏=𝟏

= 

= −
𝟏

𝟐
+ 𝟐𝜼(𝟑) + 𝑳𝒊𝟑 (−

𝟏

𝒆
) + 𝑳𝒊𝟑(−𝒆) = 𝟐𝑳𝒊𝟑(−𝒆) +

𝟑𝜻(𝟑)

𝟐
+
𝝅𝟐

𝟔
−
𝟏

𝟑
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𝒏𝒐𝒕𝒆𝒔:

{
 
 
 

 
 
 𝑳𝒊𝒔(𝒛) + (−𝟏)

𝒔𝑳𝒊𝒔 (
𝟏

𝒛
) =

(𝟐𝝅𝒊)𝒔

𝜞(𝒔)
𝜻 (𝟏 − 𝒔;

𝟏

𝟐
+
𝐥𝐧(−𝐳)

𝟐𝛑𝐢
)

𝑳𝒊𝟑(−𝒛) − 𝑳𝒊𝟑 (−
𝟏

𝒛
) = −

𝟏

𝟔
𝐥𝐧𝟑(𝒛) − 𝜻(𝟐)𝐥𝐧(𝒛); ⁡𝑳𝒊𝟑(−𝒆) − 𝑳𝒊𝟑 (−

𝟏

𝒆
) = −

𝟏

𝟔
− 𝜻(𝟐)

𝜼(𝒛) = ∑
(−𝟏)𝒏+𝟏

𝒏𝒛
= (𝟏 − 𝟐𝟏−𝒛)𝜻(𝒛)

∞

𝒏=𝟏 }
 
 
 

 
 
 

 

 

2408. If: 

𝜴 = ∫
𝐥𝐧(𝟏 + 𝒙𝟐)𝐥𝐧(𝒙)

𝒙𝟐

∞

𝟎

𝒅𝒙 +
𝟏

𝟒
∫

𝐥𝐧 (𝟏 +
𝒚𝟐

𝟒
) 𝐥𝐧(𝒚)

𝒚𝟐

∞

𝟎

𝒅𝒚 +
𝟏

𝟗
∫

𝐥𝐧 (𝟏 +
𝒛𝟐

𝟗
) 𝐥𝐧(𝒛)

𝒛𝟐

∞

𝟎

𝒅𝒛

+⋯ 

𝑻𝒉𝒆𝒏, 𝒔𝒉𝒐𝒘⁡𝒕𝒉𝒂𝒕:⁡⁡𝜴 = 𝝅(𝜻(𝟑) − 𝜻′(𝟑)) 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 

𝜴 = ∑
𝟏

𝒏𝟐

∞

𝒏=𝟏

∫
𝐥𝐧 (𝟏 +

𝒙𝟐

𝒏𝟐
) 𝐥𝐧(𝒙)

𝒙𝟐
𝒅𝒙

∞

𝟎

= ∑
𝟏

𝒏𝟐
𝒇 (
𝟏

𝒏
)

∞

𝒏=𝟏

 

𝒇 (
𝟏

𝒏
) = ∫

𝐥𝐧 (𝟏 +
𝒙𝟐

𝒏𝟐
) 𝐥𝐧(𝒙)

𝒙𝟐

∞

𝟎

𝒅𝒙, {
𝟏

𝒏
= 𝒂} → ⁡𝒇(𝒂) = ∫

𝐥𝐧(𝟏 + 𝒂𝟐𝒙𝟐)𝐥𝐧(𝒙)

𝒙𝟐
𝒅𝒙

∞

𝟎

 

𝒅

𝒅𝒂
𝒇(𝒂) = 𝟐𝒂∫

𝐥𝐧(𝐱)

(𝟏 + 𝒂𝟐𝒙𝟐)

∞

𝟎

𝒅𝒙; {𝐭𝐚𝐧−𝟏(𝒂𝒙) = 𝒕 ;
𝒅𝒕

𝒅𝒙
=

𝒂

𝟏 + 𝒂𝟐𝒙𝟐
; ⁡𝒕 [

𝝅

𝟐
; 𝟎]} 

𝒅

𝒅𝒂
𝒇(𝒂) = 𝟐∫ 𝐥𝐧 (

𝐭𝐚𝐧(𝒕)

𝒂
)𝒅𝒕

𝝅
𝟐

𝟎

= 𝟐∫ 𝐥𝐧(𝐭𝐚𝐧(𝒕))𝒅𝒕 − 𝟐 𝐥𝐧(𝒂)∫ 𝒅𝒕

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

= 𝟐𝑰 − 𝝅 𝐥𝐧(𝒂) 

𝑰 = ∫ 𝐥𝐧(𝐭𝐚𝐧(𝒕))𝒅𝒕,

𝝅
𝟐

𝟎

⁡ {
𝝅

𝟐
− 𝒕 → 𝒕} ⁡𝑰 = ∫ 𝐥𝐧(𝐭𝐚𝐧 (

𝝅

𝟐
− 𝒕))𝒅𝒕 =

𝝅
𝟐

𝟎

∫ 𝐥𝐧(𝐜𝐨𝐭(𝒕))𝒅𝒕

𝝅
𝟐

𝟎

 

𝑰 =
𝟏

𝟐
(∫ 𝐥𝐧(𝐭𝐚𝐧(𝒕))𝒅𝒕

𝝅
𝟐

𝟎

+∫ 𝐥𝐧(𝐜𝐨𝐭(𝒕))𝒅𝒕

𝝅
𝟐

𝟎

) =
𝟏

𝟐
∫ 𝐥𝐧(𝐭𝐚𝐧(𝒕)𝐜𝐨𝐭(𝒕))𝒅𝒕 = 𝟎

𝝅
𝟐

𝟎

 

𝒅

𝒅𝒂
𝒇(𝒂) = −𝝅 𝐥𝐧(𝒂) ; 𝒇(𝒂) = −𝝅∫ 𝐥𝐧(𝒂)𝒅𝒂 = 𝝅𝒂− 𝝅𝒂𝒍𝒏(𝒂), {𝒂 =

𝟏

𝒏
} 

⁡𝒇 (
𝟏

𝒏
) =

𝝅

𝒏
−
𝝅

𝒏
𝐥𝐧 (

𝟏

𝒏
) = 𝝅(

𝐥𝐧(𝒏)

𝒏
+
𝟏

𝒏
) 

𝜴 = ∑
𝟏

𝒏𝟐
𝒇 (
𝟏

𝒏
) = 𝝅∑

𝐥𝐧(𝒏)

𝒏𝟑

∞

𝒏=𝟏

+

∞

𝒏=𝟏

𝝅∑
𝟏

𝒏𝟑

∞

𝒏=𝟏

= 𝝅 𝐥𝐢𝐦
𝒂→𝟎

𝒅

𝒅𝒂
∑

𝟏

𝒏𝟑−𝒂

∞

𝒏=𝟏

+ 𝝅𝜻(𝟑) = 

= 𝝅 𝐥𝐢𝐦
𝒂→𝟎

𝒅

𝒅𝒂
𝜻(𝟑 − 𝒏) + 𝝅𝜻(𝟑) = −𝝅𝜻′(𝟑) + 𝝅𝜻(𝟑) = 𝝅(𝜻(𝟑) − 𝜻′(𝟑)) 
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2409. Prove that: 

∫ ∫
𝒙/𝒚⁡

√𝐬𝐢𝐧𝐡 (
𝐱
𝐲
)

∞

𝟎

𝒅𝒙𝒅𝒚
𝟏

𝟎

=
𝝅

𝟐√𝟐
𝝕 

𝒘𝒉𝒆𝒓𝒆⁡𝝕, 𝒊𝒔⁡𝒕𝒉𝒆⁡𝒍𝒆𝒎𝒏𝒊𝒔𝒄𝒂𝒕𝒆⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕⁡. 
 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 

𝜴 = ∫ ∫
𝒙

𝒚√𝐬𝐢𝐧𝐡(
𝒙
𝒚
)

𝒅𝒙𝒅𝒚
∞

𝟎

𝟏

𝟎

; ⁡𝒔𝒖𝒃𝒕𝒊𝒕𝒂𝒕𝒊𝒐𝒏⁡ {
𝒙

𝒚
= 𝒕,𝒅𝒕 =

𝒅𝒙

𝒚
, 𝒕[∞;𝟎]} 

𝜴 = ∫ 𝒚∫
𝒕

√𝐬𝐢𝐧𝐡(𝒕)

∞

𝟎

𝒅𝒕𝒅𝒚 = 𝑲 •𝑴
𝟏

𝟎

,

𝑲 = ∫ 𝒚𝒅𝒚 =
𝟏

𝟐

𝟏

𝟎

𝑴 = ∫
𝒕

√𝐬𝐢𝐧𝐡(𝒕)

∞

𝟎

𝒅𝒕

 

𝑴= ∫
𝒕

√𝐬𝐢𝐧𝐡(𝒕)

∞

𝟎

𝒅𝒕 = √𝟐∫
𝒕

√𝒆𝒕 − 𝒆−𝒕

∞

𝟎

𝒅𝒕 

𝒔𝒖𝒃𝒕𝒊𝒕𝒂𝒕𝒊𝒐𝒏: {⁡𝒆−𝒕 = 𝒖,𝒅𝒖 = −𝒖𝒅𝒕; ⁡𝒖[𝟎;𝟏]} 

𝑴 = −√𝟐∫
√𝒖𝐥𝐧(𝒖)

𝒖√𝟏− 𝒖𝟐

𝟏

𝟎

𝒅𝒖,⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡{𝒖𝟐 → 𝒖} 

𝑴 = −
√𝟐

𝟒
∫

𝐥𝐧(𝒖)

𝒖−
𝟑
𝟒√𝟏 − 𝒖

𝟏

𝟎

𝒅𝒖 = −
√𝟐

𝟒
𝐥𝐢𝐦
𝒂→−

𝟑
𝟒

𝒅

𝒅𝒂
∫

𝒖𝒂

(𝟏− 𝒖)
𝟏
𝟐

𝟏

𝟎

𝒅𝒖 = 

= −
√𝟐

𝟒
𝐥𝐢𝐦
𝒂→−

𝟑
𝟒

𝒅

𝒅𝒂
𝜷(𝒂+ 𝟏;

𝟏

𝟐
) = −

√𝟐

𝟒
𝐥𝐢𝐦
𝒂→−

𝟑
𝟒

𝒅

𝒅𝒂
(
𝜞(𝒂+ 𝟏)𝜞(

𝟏
𝟐
)

𝜞 (𝒂+
𝟑
𝟐
)

) = 

= −
√𝟐𝝅

𝟒
𝐥𝐢𝐦
𝒂→−

𝟑
𝟒

(

 
 
𝜞(𝒂+ 𝟏)(𝝍(𝟎)(𝒂+ 𝟏) −𝝍(𝟎) (𝒂 +

𝟑
𝟐
))

𝜞(𝒂+
𝟑
𝟐
)

)

 
 
= 

= −
√𝟐𝝅

𝟒

(

 
 
𝜞(
𝟏
𝟒
)(𝝍(𝟎) (

𝟏
𝟒
)− 𝝍(𝟎) (𝟏 −

𝟏
𝟒
))

𝜞(
𝟑
𝟒
)

)

 
 
=
𝝅√𝟐𝝅

𝟒

𝜞𝟐 (
𝟏
𝟒
)

𝜞(
𝟏
𝟒
)𝜞 (

𝟑
𝟒
)
=
√𝝅

𝟒
𝜞𝟐 (

𝟏

𝟒
) = 

=
𝝅√𝟐

𝟐
𝝕 =

𝝅

√𝟐
𝝕,⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡∫ ∫

𝒙
𝒚

√𝐬𝐢𝐧𝐡(
𝒙
𝒚
)

∞

𝟎

𝒅𝒙𝒅𝒚 = 𝑲 •𝑴 =
𝝅

𝟐√𝟐
𝝕

𝟏

𝟎
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𝒏𝒐𝒕𝒆𝒔:

{
  
 

  
 𝒑𝒐𝒍𝒚𝒈𝒂𝒎𝒎𝒂:(−𝟏)𝒎𝝍(𝒎)(𝟏 − 𝒛) − 𝝍(𝒎)(𝒛) = 𝝅

𝒅𝒎

𝒅𝒛𝒎
𝐜𝐨𝐭(𝝅𝒛)

𝒈𝒂𝒎𝒎𝒂:⁡𝜞(𝟏− 𝒛)𝜞(𝒛) = 𝝅𝐜𝐬𝐜(𝝅𝒛); ⁡𝜞(
𝟏

𝟐
) = √𝝅⁡

𝒍𝒆𝒎𝒏𝒊𝒔𝒄𝒂𝒕𝒆⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕:𝝕 =
𝜞𝟐 (

𝟏
𝟒
)

𝟐√𝟐𝝅 }
  
 

  
 

 

2410. A Reciprocal integral relation: If we define the function 𝝍(𝒒) 

𝝍(𝒒) = ∫
𝐭𝐚𝐧𝐡(𝟒𝝅𝒙) − 𝒒

𝐜𝐨𝐬𝐡𝟐(𝟐𝝅𝒙) − 𝒒

∞

−∞

𝒅𝒙 

then prove the relation 

𝝍(𝒒)

𝒒
= 𝟐𝒒(𝒒 − 𝟏)⁡

𝝏𝟐𝝍(𝒒)

𝝏𝒒𝟐
+ (𝟐𝒒 + 𝟏)

𝝏𝝍(𝒒)

𝝏𝒒
 

Proposed by Srinivasa Raghava – AIRMC – India  
Solution by Rana Ranino – Algeria 
 

𝝍(𝒒) = ∫
𝐭𝐚𝐧𝐡(𝟒𝝅𝒙)

𝐜𝐨𝐬𝐡𝟐(𝟐𝝅𝒙) − 𝒒

∞

−∞⏟              
𝒐𝒅𝒅⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏⁡

𝒅𝒙 − 𝒒∫
𝒅𝒙

𝐜𝐨𝐬𝐡𝟐(𝟐𝝅𝒙) − 𝒒

∞

−∞

 

𝝍(𝒒) = 𝟐𝒒∫
𝒅𝒙

𝐜𝐨𝐬𝐡𝟐(𝟐𝝅𝒙) − 𝒒

∞

𝟎

=⏞
𝒕=𝐭𝐚𝐧𝐡(𝟐𝝅𝒙)

 

= −
𝟏

𝝅
∫

𝒅𝒕

𝟏 − 𝒒
𝒒

+ 𝒕𝟐

𝟏

𝟎

= −
𝟏

𝝅
√

𝒒

𝟏 − 𝒒
𝐭𝐚𝐧−𝟏(√

𝒒

𝟏 − 𝒒
) 

𝒅𝝍

𝒅𝒒
= −

𝟏

𝟐𝝅(𝟏 − 𝒒)√𝒒(𝟏 − 𝒒)
𝐭𝐚𝐧−𝟏√

𝒒

𝟏 − 𝒒
−

𝟏

𝟐𝝅(𝟏 − 𝒒)
 

𝒅𝝍

𝒅𝒒
=

𝟏

𝟐𝒒(𝟏 − 𝒒)
𝝍(𝒒) −

𝟐𝒒 + 𝟏

𝟐𝝅(𝟏 − 𝒒)
 

(𝟐𝒒 + 𝟏)
𝒅𝝍

𝒅𝒒
=

𝟐𝒒 + 𝟏

𝟐𝒒(𝟏 − 𝒒)
𝝍(𝒒) −

𝟐𝒒 + 𝟏

𝟐𝝅(𝟏 − 𝒒)𝟐
 

𝒅𝟐𝝍

𝒅𝒒𝟐
=

𝟏

𝟐𝒒(𝟏 − 𝒒)

𝒅𝟐𝝍

𝒅𝒒𝟐
+

𝟐𝒒 − 𝟏

𝟐𝒒𝟐(𝟏 − 𝒒)𝟐
𝝍(𝒒) −

𝟏

𝟐𝝅(𝟏 − 𝒒)𝟐
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𝟐𝒒(𝒒 − 𝟏)
𝒅𝟐𝝍

𝒅𝒒𝟐
= −

𝒅𝝍

𝒅𝒒
−
𝟐𝒒 − 𝟏

𝒒(𝟏 − 𝒒)
𝝍(𝒒) +

𝒒

𝝅(𝟏 − 𝒒)
 

𝟐𝒒(𝒒 − 𝟏)
𝒅𝟐𝝍

𝒅𝒒𝟐
= −

𝟒𝒒 − 𝟏

𝟐𝒒(𝟏 − 𝒒)
𝝍(𝒒) +

𝟐𝒒 + 𝟏

𝟐𝝅(𝟏 − 𝒒)
 

𝟐𝒒(𝒒 − 𝟏)
𝒅𝟐𝝍

𝒅𝒒𝟐
+ (𝟐𝒒 + 𝟏)

𝒅𝝍

𝒅𝒒
= −

𝟒𝒒−𝟏

𝟐𝒒(𝟏−𝒒)
𝝍(𝒒) +

𝟐𝒒+𝟏

𝟐𝝅(𝟏−𝒒)
+

𝟐𝒒+𝟏

𝟐𝒒(𝟏−𝒒)
𝝍(𝒒) −

𝟐𝒒+𝟏

𝟐𝝅(𝟏−𝒒)
  

𝟐𝒒(𝒒 − 𝟏)
𝒅𝟐𝝍

𝒅𝒒𝟐
+ (𝟐𝒒 + 𝟏)

𝒅𝝍

𝒅𝒒
=
𝝍(𝒒)

𝒒
 Proved 

𝝍(𝒒) = ∫
𝐭𝐚𝐧𝐡(𝟒𝝅𝒙) − 𝒒

𝐜𝐨𝐬𝐡𝟐(𝟐𝝅𝒙) − 𝒒

∞

−∞

𝒅𝒙 = −
𝟏

𝝅
√

𝒒

𝟏 − 𝒒
𝐭𝐚𝐧−𝟏(√

𝒒

𝟏 − 𝒒
) 

𝟐𝒒(𝒒 − 𝟏)
𝒅𝟐𝝍

𝒅𝒒𝟐
+ (𝟐𝒒 + 𝟏)⁡

𝒅𝝍

𝒅𝒒
=
𝝍(𝒒)

𝒒
 

2411. 𝑷𝒓𝒐𝒗𝒆⁡𝒕𝒉𝒂𝒕: 

∑
𝟏

𝒏𝟐𝟐𝒏
(
𝟐𝒏
𝒏
)∑

(−𝟏)𝒌−𝟏

𝒌

𝟐𝒏

𝒌=𝟏

∞

𝒏=𝟏

=
𝝅𝟐

𝟏𝟐
 

Proposed by Hikmat Mammadov-Azerbaijan 
Solution by Amin Hajiyev-Azerbaijan 
  

𝝈 =∑
𝟏

𝒏𝟐𝟐𝒏
(
𝟐𝒏
𝒏
)∑

(−𝟏)𝒌−𝟏

𝒌
;

𝟐𝒏

𝒌=𝟏

∞

𝒏=𝟏

⁡⁡ 

𝑵𝒐𝒕𝒆𝒔: 

{𝑺𝒌𝒆𝒘⁡𝒉𝒂𝒓𝒎𝒐𝒏𝒊𝒄⁡𝒔𝒆𝒓𝒊𝒆𝒔:⁡𝑯𝒏
− =∑

(−𝟏)𝒌−𝟏

𝒌
,

𝒏

𝒌=𝟏

⁡𝑯𝟐𝒏
− =∑

(−𝟏)𝒌−𝟏

𝒌

𝟐𝒏

𝒌=𝟏

= ∫
𝟏− 𝒙𝟐𝒏

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙

= 𝑯𝟐𝒏 −𝑯𝒏} 

{𝑮𝒆𝒏𝒆𝒓𝒂𝒕𝒊𝒏𝒈⁡𝑩𝒊𝒏𝒐𝒎𝒊𝒂𝒍⁡𝒔𝒆𝒓𝒊𝒆𝒔:⁡∑
𝒙𝟐𝒏−𝟏

𝟒𝒏

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) =

𝟏

𝒙√𝟏− 𝒙𝟐
−
𝟏

𝒙
;∫∑

𝒙𝟐𝒏−𝟏

𝟒𝒏

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
)𝒅𝒙

= ∫
𝟏− √𝟏 −𝒙𝟐

𝒙√𝟏 − 𝒙𝟐
𝒅𝒙} 

∑
𝒙𝟐𝒏

𝒏𝟒𝒏

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) = −𝟐𝐥𝐧(𝐱) − 𝟐⁡𝐭𝐚𝐧𝐡−𝟏√𝟏− 𝒙𝟐 
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𝝈 =∑
𝑯𝟐𝒏
−

𝒏𝟒𝒏

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) =∑

𝑯𝟐𝒏 −𝑯𝒏
𝒏𝟒𝒏

(
𝟐𝒏
𝒏
) =∑

𝟏

𝒏𝟒𝒏

∞

𝒏=𝟏

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
)∫

𝟏 − 𝒙𝟐𝒏

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = 

= ∫
𝟏

𝟏+ 𝒙
(∑

𝟏

𝒏𝟒𝒏
(
𝟐𝒏
𝒏
)−∑

𝒙𝟐𝒏

𝒏𝟒𝒏

∞

𝒏=𝟏

∞

𝒏=𝟏

𝟏

𝟎

(
𝟐𝒏
𝒏
))𝒅𝒙

= ∫
−𝟐𝐥𝐧(𝟏) − 𝟐𝐭𝐚𝐧𝐡−𝟏(𝟎) + 𝟐𝐭𝐚𝐧𝐡−𝟏√𝟏 − 𝒙𝟐 + 𝟐𝐥𝐧(𝒙)

⁡𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= 

= 𝟐∫
𝐭𝐚𝐧𝐡−𝟏√𝟏 −𝒙𝟐

𝟏+ 𝒙
𝒅𝒙 −𝟐∫

𝐥𝐧(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

⁡⁡𝑼𝒔𝒊𝒏𝒈⁡İ𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅:{𝒗 = 𝐥𝐧(𝟏 + 𝐱) , 𝐮
𝟏

𝟎

= 𝐭𝐚𝐧𝐡−𝟏√𝟏−𝒙𝟐 ,
𝒅𝒖

𝒅𝒙
= −

𝟏

𝒙√𝟏 − 𝒙𝟐
} 

𝝈 = 𝟐[𝐥𝐧(𝟏 + 𝒙)𝐭𝐚𝐧𝐡−𝟏√𝟏− 𝒙𝟐]𝟎
𝟏 + 𝟐∫

𝐥𝐧(𝟏 + 𝒙)

𝒙√𝟏 − 𝒙𝟐

𝟏

𝟎

𝒅𝒙−
𝝅𝟐

𝟔
= 𝟐∫

𝐥𝐧(𝟏 + 𝒙)

𝒙√𝟏 − 𝒙𝟐

𝟏

𝟎

𝒅𝒙−
𝝅²

𝟔
 

𝑼𝒔𝒊𝒏𝒈⁡𝑭𝒆𝒚𝒏𝒎𝒂𝒏′𝒔⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏⁡𝒎𝒆𝒕𝒉𝒐𝒅 

𝑰(𝒂) = 𝟐∫
𝐥𝐧(𝟏 +𝒂𝒙)

𝒙√𝟏 − 𝒙𝟐
𝒅𝒙,

𝟏

𝟎

𝒅

𝒅𝒂
𝑰(𝒂) = 𝟐∫

𝟏

(𝟏 +𝒂𝒙)√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

𝑺𝒖𝒃𝒕𝒊𝒕𝒂𝒕𝒊𝒐𝒏⁡{𝒙 = 𝐬𝐢𝐧(𝒕) , 𝒅𝒙 = 𝐜𝐨𝐬(𝒕) 𝒅𝒕} 

𝑰′(𝒂) = 𝟐∫
𝟏

𝒂⁡𝐬𝐢𝐧(𝒕)+ 𝟏

𝝅
𝟐

𝟎

𝒅𝒕, {𝐭𝐚𝐧(
𝒕

𝟐
) = 𝒖,𝒅𝒕 =

𝟐𝒅𝒖

𝟏 + 𝒖𝟐
, 𝐬𝐢𝐧(𝒕) =

𝟐𝒖

𝟏 + 𝒖𝟐
, 𝒖[𝟏;𝟎]} 

𝑰′(𝒂) = 𝟒∫
𝟏

𝟐𝒂𝒖
𝟏 + 𝒖𝟐

+𝟏

𝟏

𝟎

𝒅𝒖

𝟏 +𝒖𝟐
= 𝟒∫

𝟏

𝒖𝟐 +𝟐𝒖𝒂+ 𝟏

𝟏

𝟎

𝒅𝒖 = 𝟒[

𝐭𝐚𝐧−𝟏 (
𝒖 +𝒂

√𝟏 −𝒂𝟐
)⁡

√𝟏 −𝒂𝟐
]𝟎
𝟏 = 

=
𝟒

√𝟏 − 𝒂𝟐
(𝐭𝐚𝐧−𝟏 (

𝟏 + 𝒂

√𝟏 − 𝒂𝟐
) − 𝐭𝐚𝐧−𝟏 (

𝒂

√𝟏 − 𝒂𝟐
)) ;⁡⁡{𝑰(𝟏) = 𝝈⁡⁡⁡𝑰(𝟎) = 𝟎} 

𝑰 = 𝟒∫
𝟏

√𝟏 − 𝒂𝟐
(𝐭𝐚𝐧−𝟏 (

𝟏 + 𝒂

√𝟏 −𝒂𝟐
) − 𝐭𝐚𝐧−𝟏 (

𝒂

√𝟏 −𝒂𝟐
))𝒅𝒂

𝟏

𝟎

 

𝑺𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒐𝒏: {⁡𝐭𝐚𝐧−𝟏 (
𝒂 + 𝟏

√𝟏 − 𝒂𝟐
) − 𝒕𝒂𝒏−𝟏 (

𝒂

√𝟏 − 𝒂𝟐
) ; ⁡𝒅𝜽 = −

𝟏

𝟐√𝟏− 𝒂𝟐
; 𝜽 [𝟎;

𝝅

𝟒
]} 

𝑰 = 𝟖∫ 𝜽𝒅𝜽 = 𝟖⁡[
𝜽𝟐

𝟐

𝝅
𝟒

𝟎

]𝟎

𝝅
𝟒 =

𝟖𝝅𝟐

𝟑𝟐
=
𝝅𝟐

𝟒
 

𝝈 = ∑
𝟏

𝒏𝟐𝟐𝒏

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
)∑

(−𝟏)𝒌−𝟏

𝒌

𝟐𝒏

𝒌=𝟏

=
𝝅𝟐

𝟒
−
𝝅𝟐

𝟔
=
𝝅²

𝟏𝟐
 

2412. If: 

∑ ((−𝟏)
[
𝒎+𝟏
𝟓 ]

+ (−𝟏)
[
𝒎−𝟏
𝟓 ]
)

∞

𝒎=𝟎

𝒙𝒎 = 𝟐 

𝒕𝒉𝒆𝒏⁡𝒇𝒊𝒏𝒅⁡𝒕𝒉𝒆⁡𝒗𝒂𝒍𝒖𝒆⁡𝒐𝒇⁡𝒕𝒉𝒆⁡𝒆𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒐𝒏  𝒙𝟓 − 𝒙𝟑 − 𝒙𝟐 − 𝒙 
[∗]⁡𝒊𝒔⁡𝒕𝒉𝒆⁡𝒇𝒍𝒐𝒐𝒓⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 

Proposed by Srinivasa Raghava-AIRMC-India 
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Solution by Amin Hajiyev-Azerbaijan 

𝜴 = ∑(−𝟏)
[
𝒎+𝟏
𝟓 ]
𝒙𝒎 + ∑(−𝟏)

[
𝒎−𝟏
𝟓 ]
𝒙𝒎

∞

𝒎=𝟎

∞

𝒎=𝟎

= 𝜴𝟏 + 𝜴𝟐 = 𝟐 

𝟎 < 𝑥 < 1; ⁡⁡𝑘 = [
𝒎+ 𝟏

𝟓
] , 𝒏 = [

𝒎 − 𝟏

𝟓
] ,𝒎𝝐𝑵𝟎; ⁡

𝒎 + 𝟏 < 5, 𝑘 = 0⁡
𝒎 + 𝟏 > 5, 𝑘𝜖𝑁
𝒎 < 1, 𝑘𝜖𝒁−

 

𝜴𝟏 = ∑(−𝟏)
[
𝒎+𝟏
𝟓 ]

∞

𝒎=𝟎

𝒙𝒎 = 𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑 − 𝒙𝟒 − 𝒙𝟓 − 𝒙𝟔 − 𝒙𝟕 − 𝒙𝟖 + 𝒙𝟗… 

= ∑ 𝒙𝒎
𝟑

𝒎=𝟎

− ∑ 𝒙𝒎
𝟖

𝒎=𝟒

+ ∑ 𝒙𝒎
𝟏𝟑

𝒎=𝟗

−⋯ 

𝜴𝟐 = ∑(−𝟏)
[
𝒎−𝟏
𝟓 ]

∞

𝒎=𝟎

𝒙𝒎 = −𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑 + 𝒙𝟒 + 𝒙𝟓 − 𝒙𝟔 − 𝒙𝟕 − ⋯− 𝒙𝟏𝟎 + 𝒙𝟏𝟏 +⋯ 

𝜴𝟏 + 𝜴𝟐 = 𝟐, 𝟐𝒙 + 𝟐𝒙𝟐 + 𝟐𝒙𝟑 − 𝟐𝒙𝟔 − 𝟐𝒙𝟕 − 𝟐𝒙𝟖 +⋯ = 𝟐 
(𝒙 + 𝒙𝟐 + 𝒙𝟑) − 𝒙𝟓(𝒙 + 𝒙𝟐 + 𝒙𝟑) + 𝒙𝟏𝟎(𝒙 + 𝒙𝟐 + 𝒙𝟑)… = 𝟏 

(𝒙 + 𝒙𝟐 + 𝒙𝟑)(𝟏 − 𝒙𝟓 + 𝒙𝟏𝟎 − 𝒙𝟏𝟓 + 𝒙𝟐𝟎 − ⋯) = 𝟏 

(𝒙 + 𝒙𝟐 + 𝒙𝟑) ∑(−𝟏)𝒎𝒙𝟓𝒎 = 𝟏;
𝒙 + 𝒙𝟐 + 𝒙𝟑

𝟏 + 𝒙𝟓
= 𝟏

∞

𝒎=𝟎

 

−𝒙𝟓 + 𝒙 + 𝒙𝟐 + 𝒙𝟑 = 𝟏⁡;⁡⁡𝒙𝟓 − 𝒙𝟑 − 𝒙𝟐 − 𝒙 = −𝟏 

2413. Prove that: 

                            ∫ ∫
𝒆𝒙+𝒚−𝟏

𝒆𝒙+𝒚+𝟏

𝟏

𝟎

𝟏

𝟎
dxdy=4𝝌𝟐(𝒆

𝟐) - 4𝐋𝐢𝟐(𝐞)+
𝝅𝟐

𝟔
 – 1 

where 𝝌𝒗 is the Legendre’s chi function,⁡𝐋𝐢𝟐(𝐳) is the dilogarithm or Spence’s 

function. 

Proposed by Ankush Kumar Parcha-India 
Solution by Cosghun Memmedov-Azerbaijan 
 

∫ ∫
𝒆𝒙+𝒚−𝟏

𝒆𝒙+𝒚+𝟏

𝟏

𝟎

𝟏

𝟎
dxdy =⏞

{𝒙+𝒚=𝒕}

∫ ∫
𝒆𝒕−𝟏

𝒆𝒕+𝟏

𝒚+𝟏

𝒚

𝟏

𝟎
dtdy=∫ ∫

𝟏−𝒆−𝒕

𝟏+𝒆−𝒕

𝒚+𝟏

𝒚

𝟏

𝟎
dtdy= 

=∫ ∫ 𝒅𝒕
𝒚+𝟏

𝒚

𝟏

𝟎
dy- 2∫ ∫

𝒆−𝒕

𝟏+𝒆−𝒕
𝒚+𝟏

𝒚

𝟏

𝟎
dtdy=∫ 𝒅𝒚

𝟏

𝟎
+2∑ (−𝟏)𝒏∞

𝒏=𝟏 ∫ ∫ 𝒆−𝒕𝒏
𝒚+𝟏

𝒚

𝟏

𝟎
dtdy= 
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=1+2∑
(−𝟏)𝒏

𝒏
∞
𝒏=𝟏 ∫ (𝒆−𝒚𝒏 − 𝒆−(𝒚+𝟏)𝒏)

𝟏

𝟎
dtdy=1+2(-∑

(−𝟏)𝒏−𝟏

𝒏𝟐
∞
𝒏=𝟏  -   

2∑
(−𝒆−𝟏)

𝒏

𝒏𝟐
∞
𝒏=𝟏 +∑

(−𝒆−𝟐)
𝒏

𝒏𝟐
∞
𝒏=𝟏 )=1+2(-

𝝅𝟐

𝟏𝟐
+𝐋𝐢𝟐 (−

𝟏

𝒆𝟐
) - 2𝐋𝐢𝟐 (−

𝟏

𝒆
))= 

=1+2(-
𝝅𝟐

𝟏𝟐
-2-

𝝅𝟐

𝟔
-𝐋𝐢𝟐(−𝒆𝟐)+1+

𝝅𝟐

𝟑
+𝐋𝐢𝟐(𝒆𝟐)-2𝐋𝐢𝟐(𝐞))=1+

𝝅𝟐

𝟔
+ 𝟒𝝌𝟐(𝒆

𝟐) − 𝟒𝐋𝐢𝟐(𝐞)-2= 

=4𝝌𝟐(𝒆
𝟐) - 4𝐋𝐢𝟐(𝐞)+

𝝅𝟐

𝟔
 – 1 

Notes:     Dilogarithm formula 

𝐋𝐢𝟐(−𝐳)+𝐋𝐢𝟐 (−
𝟏

𝒛
)=-⁡

𝒍𝒏𝟐(𝒛)⁡

𝟐
⁡+2𝐋𝐢𝟐(−𝟏),⁡⁡⁡𝐋𝐢𝟐(𝐳) + 𝐋𝐢𝟐(−𝐳)=⁡

𝟏

𝟐
𝐋𝐢𝟐(𝒛

𝟐) 

Legendres chi function  𝝌𝒗(𝒛)=⁡
𝟏

𝟐
[𝐋𝐢𝐯(𝐳) ⁡− ⁡𝐋𝐢𝐯(−𝐳)] 

2414. 

 
Proposed by Sonu Aarnav-India 

Solution by Daniel Sitaru-Romania 

𝑮𝒓𝒆𝒆𝒏⁡𝒂𝒓𝒆𝒂 = ∫(𝒈(𝒙) − 𝒇(𝒙))

𝟏

𝟎

𝒅𝒙 = ∫(𝒙𝒕𝒂𝒏−𝟏 (
𝟏

𝒙
) − 𝒙𝒕𝒂𝒏−𝟏𝒙)𝒅𝒙

𝟏

𝟎

= 
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= ∫ (𝒙 (
𝝅

𝟐
− 𝒕𝒂𝒏−𝟏𝒙) − 𝒙𝒕𝒂𝒏−𝟏𝒙) 𝒅𝒙

𝟏

𝟎

= ∫ (
𝝅𝒙

𝟐
− 𝟐𝒙𝒕𝒂𝒏−𝟏𝒙)

𝟏

𝟎

𝒅𝒙 = 

=
𝝅

𝟐
(
𝟏

𝟐
−
𝟎

𝟐
) − 𝟐∫(

𝒙𝟐

𝟐
)

′𝟏

𝟎

𝒕𝒂𝒏−𝟏𝒙𝒅𝒙 =
𝝅

𝟒
− 𝟐 (

𝟏

𝟐
) 𝒕𝒂𝒏−𝟏𝟏 + 𝟐∫

𝒙𝟐

𝟐
∙

𝟏

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

= 

=
𝝅

𝟒
−
𝝅

𝟒
+∫

𝒙𝟐 + 𝟏 − 𝟏

𝒙𝟐 + 𝟏

𝟏

𝟎

𝒅𝒙 = ∫
𝒙𝟐 + 𝟏

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

−∫
𝟏

𝒙𝟐 + 𝟏

𝟏

𝟎

𝒅𝒙 = 

= 𝟏 − 𝒕𝒂𝒏−𝟏𝟏 + 𝒕𝒂𝒏−𝟏𝟎 = 𝟏 −
𝝅

𝟒
 

2415. Find a closed form: 

∫ ∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙𝟐)𝒂𝒓𝒄𝒕𝒂𝒏(𝒚𝟒)

𝒙𝟐𝒚𝟑
𝒅𝒙𝒅𝒚

∞

𝟎

∞

𝟎

 

Proposed by Ankush Kumar Parcha-India  
Solution by Shirvan Tahirov-Azerbaijan 
 

∫ ∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙𝟐)𝒂𝒓𝒄𝒕𝒂𝒏(𝒚𝟒)

𝒙𝟐𝒚𝟑
𝒅𝒙𝒅𝒚 =

∞

𝟎

∞

𝟎

= ∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙𝟐)

𝒙𝟐
𝒅𝒙⁡.∫

𝒂𝒓𝒄𝒕𝒂𝒏(𝒚𝟒)

𝒚𝟑

∞

𝟎

𝒅𝒚 = 𝑿⁡. 𝒀
∞

𝟎

⁡ 

𝑿 = ∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙𝟐)

𝒙𝟐
𝒅𝒙

∞

𝟎

⁡ =⏞
𝑰𝑩𝑷

⁡(−
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙𝟐)

𝒙𝟐
)
∞

𝟎
+ ⁡𝟐∫

𝒅𝒙

𝟏 + 𝒙𝟒

∞

𝟎

= ⁡
𝟏

𝟐
∫

𝒙−
𝟑
𝟒

𝟏 + 𝒙
𝒅𝒙

∞

𝟎

= 

=
𝟏

𝟐
𝜷(
𝟏

𝟒
⁡;⁡
𝟑

𝟒
) = ⁡

𝝅

√𝟐
 

𝒀 = ∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒚𝟒)

𝒚𝟑

∞

𝟎

𝒅𝒚⁡ =⏞
𝑰𝑩𝑷

(−
𝒂𝒓𝒄𝒕𝒂𝒏(𝒚𝟒)

𝟐𝒚𝟐
)
∞

𝟎
+ 𝟐∫

𝒚

𝟏 + 𝒚𝟖
𝒅𝒚

∞

𝟎

=⁡∫
𝒅𝒚

𝟏 + 𝒚𝟒
=⁡

∞

𝟎

 

=
𝟏

𝟒
∫

𝒚−
𝟑
𝟒

𝟏 + 𝒚

∞

𝟎

𝒅𝒚 =⁡
𝟏

𝟒
𝜷 (
𝟏

𝟒
⁡; ⁡
𝟑

𝟒
) = ⁡

𝝅

𝟐√𝟐
 

∫
𝒂𝒓𝒄𝒕𝒂𝒏(𝒙𝟐)

𝒙𝟐
𝒅𝒙⁡⁡.⁡⁡ ∫

𝒂𝒓𝒄𝒕𝒂𝒏(𝒚𝟒)

𝒚𝟑

∞

𝟎

𝒅𝒚 = 𝑿⁡⁡.⁡⁡𝒀
∞

𝟎

= ⁡
𝝅

√𝟐
⁡⁡.⁡⁡

𝝅

𝟐√𝟐
= ⁡
𝝅𝟐

𝟒
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2416. Find a closed form: 

∫ ∫
𝒍𝒏𝟑(𝒙)

(𝒙𝟑 − 𝟐𝒙𝟐 + 𝒙)(𝟏 + 𝒚 + 𝒚𝟐)
𝒅𝒙𝒅𝒚

∞

𝟏

∞

−∞

 

 
Proposed by Cosghun Memmedov-Azerbaijan 

Solution by Shirvan Tahirov-Azerbaijan 
 

∫ ∫
𝒍𝒏𝟑(𝒙)

(𝒙𝟑− 𝟐𝒙𝟐+ 𝒙)(𝟏+ 𝒚 +𝒚𝟐)
𝒅𝒙𝒅𝒚 = ∫

𝒅𝒚

(𝟏 + 𝒚 + 𝒚𝟐)𝟐
⁡ .∫

𝒍𝒏𝟑(𝒙)

(𝒙𝟑− 𝟐𝒙𝟐+ 𝒙)
𝒅𝒙

∞

𝟏

⁡
∞

−∞

⁡
∞

𝟏

∞

−∞
= 𝒀⁡.⁡⁡⁡𝑿 

 

𝒀 = ∫
𝒅𝒚

(𝟏 + 𝒚 + 𝒚𝟐)𝟐
=⁡

∞

−∞

∫
𝒅𝒚

(
𝟏
𝟒
+ 𝒚 + 𝒚𝟐 +

𝟑
𝟒
)𝟐

∞

−∞

= ∫
𝒅𝒚

((
𝟏
𝟐
+ 𝒚)

𝟐

+
𝟑
𝟒
)𝟐

∞

−∞

 

 

=⏟

𝒅𝒚=√
𝟑
𝟐 𝒔𝒆𝒄

𝟐(𝒛)

⏞      

𝒚+𝟏=√
𝟑
𝟐 𝐭𝐚𝐧⁡(𝐳)

= ∫

√𝟑
𝟐
𝒔𝒆𝒄𝟐(𝒛)

((
√𝟑
𝟐
𝐬𝐞𝐜(𝒛))𝟐)𝟐

𝒅𝒛

𝝅
𝟐

−
𝝅
𝟐

=
√𝟑

𝟐
.
𝟏𝟔

𝟗
. 𝟐∫ 𝒄𝒐𝒔𝟐(𝒛)𝒅𝒛 =

𝝅
𝟐

𝟎

𝟒𝝅

𝟑√𝟑
 

 

𝑿 =⁡∫
𝒍𝒏𝟑(𝒙)

(𝒙𝟑 − 𝟐𝒙𝟐 + 𝒙)
𝒅𝒙

∞

𝟏

=⏞

𝒙→
𝟏
𝒙

−∫
𝒙𝒍𝒏𝟑(𝒙)

(𝟏 − 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

= −∑𝒏∫ 𝒙𝒏𝒍𝒏𝟑(𝒙)𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟎

 

𝟔∑
𝒏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= 𝟔∑(
𝟏

(𝒏 + 𝟏)𝟑
−

𝟏

(𝒏 + 𝟏)𝟒
) =

∞

𝒏=𝟎

𝟔∑
𝟏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

− 𝟔∑
𝟏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

 

 

= 𝟔𝜻(𝟑) − 𝟔𝜻(𝟒) = 𝟔(𝜻(𝟑) −
𝝅𝟒

𝟗𝟎
) 

 

∫
𝒅𝒚

(𝟏 + 𝒚 + 𝒚𝟐)𝟐
⁡ . ∫

𝒍𝒏𝟑(𝒙)

(𝒙𝟑 − 𝟐𝒙𝟐 + 𝒙)
𝒅𝒙

∞

𝟏

⁡
∞

−∞

= 𝒀. 𝑿 =
𝟖𝝅

√𝟑
(𝜻(𝟑) −

𝝅𝟒

𝟗𝟎
) 

 

2417. 𝐈𝐟⁡𝟎 < 𝑎 ≤ 𝐛, 𝐭𝐡𝐞𝐧 ∶ 
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𝟒∫ 𝐭𝒂𝐧𝐡𝒙𝐝𝒙

𝐛

𝒂

≥ 𝐜𝐨𝐬𝟐𝒂 − 𝐜𝐨𝐬 𝟐𝐛 

⁡⁡Proposed by Daniel Sitaru-Romania 

Solution by Soumava Chakraborty-Kolkata-India 

𝟒∫𝐭𝒂𝐧𝐡𝒙𝐝𝒙

𝐛

𝒂

= 𝟒∫
𝐞𝒙 −𝐞−𝒙

𝐞𝒙 +𝐞−𝒙
𝐝𝒙

𝐛

𝒂

= 𝟒∫
(𝐞𝒙 + 𝐞−𝒙)′

𝐞𝒙 + 𝐞−𝒙
𝐝𝒙

𝐛

𝒂

 

= 𝟒 𝐥𝐧(𝐞𝐛+ 𝐞−𝐛) − 𝟒 𝐥𝐧(𝐞𝒂 + 𝐞−𝒂) ≥
?
𝐜𝐨𝐬𝟐𝒂− 𝐜𝐨𝐬𝟐𝐛 

⇔ 𝟒𝐥𝐧(𝐞𝐛 + 𝐞−𝐛) + 𝐜𝐨𝐬𝟐𝐛 ≥
?
𝟒 𝐥𝐧(𝐞𝒂 + 𝐞−𝒂) + 𝐜𝐨𝐬𝟐𝒂 

⇔ 𝐟(𝐛) − 𝐟(𝒂) ≥
?
𝟎⁡(𝐟(𝒙) = 𝟒 𝐥𝐧(𝐞𝒙 +𝐞−𝒙) + 𝐜𝐨𝐬 𝟐𝒙⁡∀⁡𝒙 > 0) ⇔

𝐯𝐢𝒂⁡𝐌𝐕𝐓
 

(𝐛 − 𝒂)𝐟⁡′(𝐜) ≥
?
𝟎⁡(𝒂 ≤ 𝐜 ≤ 𝐛) ⇔ 𝐟⁡′(𝐜) ≥

?
𝟎⁡(∵ 𝐛 ≥ 𝒂) ⇔ 𝟒.

𝐞𝐜 −𝐞−𝐜

𝐞𝐜 +𝐞−𝐜
− 𝟐𝐬𝐢𝐧𝟐𝐜 ≥

?
𝟎 

⇔ 𝟒.
𝐞𝟐𝐜 +𝟏− 𝟐

𝐞𝟐𝐜 + 𝟏
− 𝟐𝐬𝐢𝐧𝟐𝐜 ≥

?
𝟎 ⇔ 𝟐− 𝐬𝐢𝐧𝟐𝐜−

𝟒

𝐞𝟐𝐜 +𝟏
≥
?
𝟎 → (𝟏) 

𝐋𝐞𝐭⁡𝐅(𝐲) = 𝐬𝐢𝐧𝐲 − 𝐲 +
𝐲𝟑

𝟔
−
𝐲𝟓

𝟏𝟐𝟎
⁡∀⁡𝐲 ∈ [𝟎,∞) 

∴ 𝐅′(𝐲) = 𝐜𝐨𝐬𝐲 −
𝐲𝟒

𝟐𝟒
+
𝐲𝟐

𝟐
−𝟏⁡𝒂𝐧𝐝⁡𝐅′′(𝐲) = −(𝐬𝐢𝐧𝐲 − (𝐲 −

𝐲𝟑

𝟔
)) 

𝐋𝐞𝐭⁡𝐏(𝐲) = 𝐬𝐢𝐧𝐲 − 𝐲 +
𝐲𝟑

𝟔
⁡∀⁡𝐲 ∈ [𝟎,∞) ∴ 𝐏′(𝐲) = 𝐜𝐨𝐬𝐲 +

𝐲𝟐

𝟐
− 𝟏⁡𝒂𝐧𝐝⁡ 

𝐏′′(𝐲) = 𝐲 − 𝐬𝐢𝐧𝐲 ≥ 𝟎 ⇒ 𝐏′(𝐲)⁡𝐢𝐬 ↑ 𝐨𝐧⁡[𝟎,∞) ⇒ 𝐏′(𝐲) ≥ 𝐏′(𝟎) = 𝟎 ⇒ 𝐏(𝐲)⁡𝐢𝐬 ↑ 

𝐨𝐧⁡[𝟎,∞) ⇒ 𝐏(𝐲) ≥ 𝐏(𝟎) = 𝟎 ⇒ 𝐬𝐢𝐧𝐲 ≥ 𝐲 −
𝐲𝟑

𝟔
⁡∀⁡𝐲 ∈ [𝟎,∞) 

⇒ 𝐅′′(𝐲) ≤ 𝟎 ⇒ 𝐅′(𝐲)⁡𝐢𝐬 ↓ 𝐨𝐧⁡[𝟎,∞) ⇒ 𝐅′(𝐲) ≤ 𝐅′(𝟎) = 𝟎 ⇒ 𝐅(𝐲)⁡𝐢𝐬 ↓ 𝐨𝐧⁡[𝟎,∞) 

⇒ 𝐅(𝐲) ≤ 𝐅(𝟎) = 𝟎 ⇒ 𝐬𝐢𝐧𝐲 ≤ 𝐲−
𝐲𝟑

𝟔
+
𝐲𝟓

𝟏𝟐𝟎
⁡∀⁡𝐲 ∈ [𝟎,∞) 

∴ ∀⁡𝐲 ∈ (𝟎,∞), 𝐬𝐢𝐧 𝐲 < 𝐲 −
𝐲𝟑

𝟔
+
𝐲𝟓

𝟏𝟐𝟎
→ (𝐢) 

𝐋𝐞𝐭⁡𝐡(𝐲) = 𝐞𝐲 − 𝟏− 𝐲 −
𝐲𝟐

𝟐
⁡∀⁡𝐲 ∈ [𝟎,∞) ∴ 𝐡′(𝐲) = 𝐞𝐲 − 𝟏− 𝐲 ≥ 𝟎 ⇒ 𝐡(𝐲)⁡𝐢𝐬 ↑ 

𝐨𝐧⁡[𝟎,∞) ⇒ 𝐡(𝐲) ≥ 𝐡(𝟎) = 𝟎 ⇒ ∀⁡𝐲 ∈ (𝟎,∞), 𝐞𝐲 > 𝟏 + 𝐲+
𝐲𝟐

𝟐
→ (𝐢𝐢) 

𝐂𝒂𝐬𝐞⁡𝟏 ⁡𝐜 ≥ 𝟏⁡𝒂𝐧𝐝⁡𝐰𝐞⁡𝐡𝒂𝐯𝐞 ∶ 𝟐 − 𝐬𝐢𝐧𝟐𝐜 −
𝟒

𝐞𝟐𝐜 + 𝟏
> 1 − 𝐬𝐢𝐧𝟐𝐜 + 𝟏 −

𝟒

𝟐𝐜+ 𝟏 +𝟏
 

= 𝟏− 𝐬𝐢𝐧𝟐𝐜 + 𝟏 −
𝟐

𝐜 + 𝟏
= (𝟏 − 𝐬𝐢𝐧𝟐𝐜) +

𝐜 − 𝟏

𝐜 + 𝟏
≥ 𝟎 ⇒ (𝟏)⁡𝐢𝐬⁡𝐭𝐫𝐮𝐞 

𝐂𝒂𝐬𝐞⁡𝟐 ⁡𝟎 < 𝐜 < 1⁡𝒂𝐧𝐝⁡𝐯𝐢𝒂⁡(𝐢), (𝐢𝐢), 𝟐 − 𝐬𝐢𝐧𝟐𝐜 −
𝟒

𝐞𝟐𝐜 + 𝟏
> 
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𝟐 − (𝟐𝐜 −
𝟖𝐜𝟑

𝟔
+
𝟑𝟐𝐜𝟓

𝟏𝟐𝟎
) −

𝟒

(𝟏 + 𝐜 +
𝐜𝟐

𝟐
)
𝟐

+𝟏

 

= 𝟐(
𝟏𝟓− 𝟏𝟓𝐜 + 𝟐𝟎𝐜𝟑− 𝟒𝐜𝟓

𝟏𝟓
−

𝟖

𝟒(𝟏+ 𝐜)𝟐+ 𝐜𝟒 + 𝟒𝐜𝟐(𝟏 + 𝐜) + 𝟒
) 

=
−𝟐𝐜𝟑(𝟒𝐜𝟔 +𝟏𝟔𝐜𝟓 + 𝟏𝟐𝐜𝟒− 𝟒𝟖𝐜𝟑 − 𝟏𝟏𝟑𝐜𝟐 −𝟏𝟏𝟓𝐜 − 𝟏𝟎𝟎)

𝟏𝟓(𝟒(𝟏+ 𝐜)𝟐+ 𝐜𝟒 + 𝟒𝐜𝟐(𝟏+ 𝐜) + 𝟒)
 

=
−𝟐𝐜𝟑(𝟒(𝐜𝟔 −𝟏)+ 𝟏𝟔(𝐜𝟓− 𝟏)+ 𝟏𝟐(𝐜𝟒 − 𝟏)− 𝟒𝟖𝐜𝟑 − 𝟏𝟏𝟑𝐜𝟐 −𝟏𝟏𝟓𝐜 − 𝟔𝟖)

𝟏𝟓(𝟒(𝟏 + 𝐜)𝟐 + 𝐜𝟒 +𝟒𝐜𝟐(𝟏 + 𝐜) + 𝟒)
> 0 

∵ 𝟎 < 𝐜 < 1 ⇒ 𝟒(𝐜𝟔− 𝟏)+ 𝟏𝟔(𝐜𝟓 − 𝟏)+ 𝟏𝟐(𝐜𝟒 −𝟏)− 𝟒𝟖𝐜𝟑− 𝟏𝟏𝟑𝐜𝟐− 𝟏𝟏𝟓𝐜− 𝟔𝟖 

< 0 ⇒ (𝟏)⁡𝐢𝐬⁡𝐭𝐫𝐮𝐞 ∴ 𝐜𝐨𝐦𝐛𝐢𝐧𝐢𝐧𝐠⁡𝐛𝐨𝐭𝐡⁡𝐜𝒂𝐬𝐞𝐬, (𝟏)⁡𝐢𝐬⁡𝐭𝐫𝐮𝐞⁡∀⁡𝐜 ∈ (𝟎,∞) 

∴ 𝟒∫𝐭𝒂𝐧𝐡𝒙𝐝𝒙

𝐛

𝒂

≥ 𝐜𝐨𝐬𝟐𝒂− 𝐜𝐨𝐬𝟐𝐛 ⁡𝐰𝐡𝐞𝐧𝐞𝐯𝐞𝐫⁡𝟎 < 𝑎 ≤ 𝐛⁡(𝐐𝐄𝐃) 

2418. Find a closed form: 

𝛀 = ∫ ∫ (
𝐥𝐧(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
)

𝟐

𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

 

Proposed by Abbaszade Yusif-Azerbaijan 
Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫ (
𝐥𝐧(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
)

𝟐

𝒅𝒙𝒅𝒚, {∫ ∫ 𝒇(𝒙𝒚)𝒅𝒙𝒅𝒚 = −∫ 𝐥𝐧(𝒙) 𝒇(𝒙)
𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙
𝟏

𝟎

} 

 

𝜴 = −∫
𝐥𝐧(𝒙) 𝐥𝐧𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙, 𝒖𝒔𝒊𝒏𝒈⁡İ𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅⁡ 

{
 
 

 
 𝒖 = 𝐥𝐧(𝒙) 𝐥𝐧𝟐(𝟏 + 𝐱),⁡⁡⁡𝒅𝒖 = (

𝟐𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
+
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙
)𝒅𝒙

𝒗 = ∫
𝟏

(𝟏 + 𝒙)𝟐
𝒅𝒙 = −

𝟏

𝟏 + 𝒙 }
 
 

 
 

 

𝜴 = [
𝐥𝐧(𝒙) 𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙
]𝟎
𝟏 − 𝟐∫

𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

 

𝜴 = 𝟐𝜴𝟏 + 𝜴𝟐 

𝜴𝟏 = ∫
𝐥𝐧(𝒙)𝐥𝐧(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

, 𝒖𝒔𝒊𝒏𝒈⁡𝑰𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅 

{
 
 

 
 𝒖 = 𝐥𝐧(𝒙)𝐥𝐧(𝟏 + 𝒙),⁡⁡⁡𝒅𝒖 = (

𝐥𝐧(𝒙)

𝟏 + 𝒙
+
𝐥𝐧(𝟏 + 𝒙)

𝒙
) 𝒅𝒙

𝒗 = ∫
𝟏

(𝟏 + 𝒙)𝟐
𝒅𝒙 = −

𝟏

𝟏 + 𝒙 }
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𝜴𝟏 = [−
𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
]𝟎
𝟏 + ∫

𝐥𝐧(𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 +∫
𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

− ∫
𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = 

= −∑𝒏(−𝟏)𝒏∫ 𝒙𝒏−𝟏 𝐥𝐧(𝒙) 𝒅𝒙
𝟏

𝟎

−∑
(−𝟏)𝒏

𝒏
∫ 𝒙𝒏−𝟏𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟏

∞

𝒏=𝟏

− [
𝐥𝐧𝟐(𝟏 + 𝐱)

𝟐
]𝟎
𝟏 = 

= ∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

−
𝐥𝐧𝟐(𝟐)

𝟐
= − 𝐥𝐧(𝟐) +

𝛇(𝟐)

𝟐
−
𝐥𝐧𝟐(𝟐)

𝟐
 

𝜴𝟐 = ∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙,

𝟏

𝟎

⁡⁡⁡𝒖𝒔𝒊𝒏𝒈⁡𝑰𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅 

{
 

 𝒖 = 𝐥𝐧𝟐(𝟏 + 𝒙), 𝒅𝒖 =
𝟐 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝒗 = ∫
𝟏

𝒙(𝟏 + 𝒙)
𝒅𝒙 = ∫

𝟏

𝒙
𝒅𝒙 − ∫

𝟏

𝟏 + 𝒙
𝒅𝒙 = 𝐥𝐧(𝒙) − 𝐥𝐧(𝟏 + 𝒙) ⁡

}
 

 

 

𝜴𝟐 = [𝐥𝐧
𝟐(𝟏 + 𝐱)(𝐥𝐧(𝐱) − 𝐥𝐧(𝟏 + 𝐱))]𝟎

𝟏 − 𝟐∫
𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 + 𝟐∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= 
= −𝐥𝐧𝟑(𝟐) − 𝟐𝑰 + 𝟐𝑱 

𝑰 = ∫
𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = −∑(−𝟏)𝒏𝑯𝒏∫ 𝒙𝒏 𝐥𝐧(𝒙) 𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟏

= ∑
(−𝟏)𝒏𝑯𝒏
(𝒏 + 𝟏)𝟐

∞

𝒏=𝟏

= 

= ∑
(−𝟏)𝒏 (𝑯𝒏+𝟏 −

𝟏
𝒏 + 𝟏

)

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟏

= ∑
(−𝟏)𝒏𝑯𝒏+𝟏
(𝒏 + 𝟏)𝟐

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟏

= 

= 𝟏 −∑
(−𝟏)𝒏𝑯𝒏

𝒏𝟐

∞

𝒏=𝟏

−
𝟑𝜻(𝟑)

𝟒
− 𝟏 =

𝟓𝜻(𝟑)

𝟖
−
𝟑𝜻(𝟑)

𝟒
= −

𝜻(𝟑)

𝟖
 

𝑱 = ∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = ∫
𝐥𝐧𝟐(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏

= [𝐥𝐧𝟑(𝐱)]𝟏
𝟐 − 𝟐∫

𝐥𝐧𝟐(𝒙)

𝒙
𝒅𝒙 = 𝐥𝐧𝟑(𝟐) − 𝟐𝑱

𝟐

𝟏

 

𝟑𝑱 = 𝐥𝐧𝟑(𝟐)⁡⁡⁡⁡𝑱 =
𝐥𝐧𝟑(𝟐)

𝟑
 

𝜴𝟐 = −𝐥𝐧
𝟑(𝟐) +

𝜻(𝟑)

𝟒
+
𝟐𝐥𝐧𝟑(𝟐)

𝟑
=
𝜻(𝟑)

𝟒
−
𝐥𝐧𝟑(𝟐)

𝟑
 

∫ ∫ (
𝐥𝐧(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
)

𝟐

𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

= −𝟐𝜴𝟏 − 𝜴𝟐 = 𝟐 𝐥𝐧(𝟐) −
𝛑𝟐

𝟔
+ 𝐥𝐧𝟐(𝟐) −

𝛇(𝟑)

𝟒
+
𝐥𝐧𝟑(𝟐)

𝟑
 

 

Solution 2 by Togrul Ehmedov-Azerbaijan 
 

𝐈 = ∫∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙𝒚)

(𝟏 + 𝒙𝒚)𝟐

𝟏

𝟎

𝒅𝒙

𝟏

𝟎

𝐝𝐲]

𝒙𝒚=𝒎

= ∫
𝟏

𝒙
∫
𝐥𝐨𝐠𝟐(𝟏 +𝒎)

(𝟏 +𝒎)𝟐

𝟏

𝟎

𝒅𝒎

𝟏

𝟎

𝐝𝐱
𝑰𝑩𝑷

=
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𝑰𝑩𝑷

=
𝐥𝐨𝐠(𝒙)∫

𝐥𝐨𝐠𝟐(𝟏 +𝒎)

(𝟏 +𝒎)𝟐

𝒙

𝟎

𝒅𝒎]

𝒙=𝟎

𝒙=𝟏

−∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙

= −∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙
𝑰𝑩𝑷

=
 

𝑰𝑩𝑷

=

𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
]
𝒙=𝟎

𝒙=𝟏

− ∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 − 𝟐∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = 

= −∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 − 𝟐∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = −𝑰𝟏 − 𝟐𝑰𝟐 

 

𝑰𝟏 = ∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 = ∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 −∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟒
Ϛ(𝟑) −

𝟏

𝟑
𝐥𝐨𝐠𝟑(𝟐) 

 

𝑰𝟐 = ∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙
𝑰𝑩𝑷

=
−
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏+ 𝒙)

𝟏 + 𝒙
]
𝒙=𝟎

𝒙=𝟏

+∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙(𝟏+ 𝒙)

𝟏

𝟎

𝒅𝒙+∫
𝐥𝐨𝐠(𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 

 

= ∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 − ∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 + ∫
𝐥𝐨𝐠(𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
Ϛ(𝟐) −

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) − 𝐥𝐨𝐠(𝟐) 

 

𝑰 = −𝑰𝟏 − 𝟐𝑰𝟐 = −
𝟏

𝟒
Ϛ(𝟑) − Ϛ(𝟐) +

𝟏

𝟑
𝐥𝐨𝐠𝟑(𝟐) + 𝐥𝐨𝐠𝟐(𝟐) + 𝟐 𝐥𝐨𝐠(𝟐) 

 

2419. Find a closed form: 
 

𝛀 = ∫ ∫
𝐭𝐚𝐧𝐡−𝟏(𝒙𝒚)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Ankush Kumar Parcha-India 
Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫
𝐭𝐚𝐧𝐡−𝟏(𝒙𝒚)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚 =

𝟏

𝟎

𝟏

𝟎

−∫
𝐥𝐧(𝒙)𝐭𝐚𝐧𝐡−𝟏(𝒙)

𝟏 − 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = 

=
𝟏

𝟐
∫
𝐥𝐧(𝒙)𝐥𝐧 (

𝟏 − 𝒙
𝟏 + 𝒙

)

𝟏 − 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = −
𝟏

𝟐
∑∑

𝟏

𝟐𝒌 + 𝟏

∞

𝒌=𝟎

∞

𝒏=𝟎

∫ 𝒙𝟐𝒌+𝟐𝒏+𝟏𝐥𝐧(𝒙)
𝟏

𝟎

𝒅𝒙 = 
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=
𝟏

𝟐
∑∑

𝟏

(𝟐𝒌 + 𝟏)(𝟐𝒌 + 𝟐𝒏 + 𝟐)𝟐

∞

𝒌=𝟎

∞

𝒏=𝟎

=
𝟏

𝟒
∑∑

𝟏

(𝟐𝒌 + 𝟏)(𝒏 + 𝒌 + 𝟏)𝟐

∞

𝒌=𝟎

∞

𝒏=𝟎

 

{⁡𝒑𝒐𝒍𝒚𝒈𝒂𝒎𝒎𝒂⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏:⁡𝝍(𝒂)(𝒏 + 𝟏) = ∑
(−𝟏)𝒏+𝟏𝒂!

(𝒌 + 𝒏)𝒂+𝟏

∞

𝒌=𝟏

; ⁡𝒂𝝐{𝒁 ≥ 𝟏}} 

𝜴 =
𝟏

𝟒
∑

𝝍(𝟏)(𝒌 + 𝟏)

𝟐𝒌 + 𝟏

∞

𝒌=𝟎

=
𝟏

𝟒
∑

𝜻(𝟐) − 𝑯𝒌
(𝟐)

𝟐𝒌 + 𝟏

∞

𝒌=𝟎

=
𝟏

𝟒
(𝜻(𝟐)∑

𝟏

𝟐𝒌 + 𝟏

∞

𝒌=𝟎

−∑
𝑯𝒌
(𝟐)

𝟐𝒌 + 𝟏

∞

𝒌=𝟎

) = 

=
𝟏

𝟒
(𝜻(𝟐)∫

𝟏

𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

− ∫ ∑𝑯𝒌
(𝟐)
𝒙𝟐𝒌

∞

𝒌=𝟎

𝟏

𝟎

𝒅𝒙) =
𝟏

𝟒
(
𝟏

𝟐
𝜻(𝟐)[𝐥𝐧(

𝟏 − 𝒙

𝟏 + 𝒙
)]𝟎
𝟏 − 𝑰) 

{𝒘𝒆⁡𝒌𝒏𝒐𝒘 ≤>⁡∑ 𝒙𝒏𝑯𝒏
(𝒂)
=
𝑳𝒊𝒂(𝒙)

𝟏 − 𝒙
,⁡⁡⁡𝑳𝒊𝒂(𝟏) = 𝜻(𝒂)

∞

𝒏=𝟎

} 

𝑰 = ∫ ∑𝒙𝟐𝒌𝑯𝒌
(𝟐)
𝒅𝒙

∞

𝒌=𝟎

𝟏

𝟎

= ∫
𝑳𝒊𝟐(𝒙

𝟐)

𝟏 − 𝒙𝟐

𝟏

𝟎

𝒅𝒙, 𝒖𝒔𝒊𝒏𝒈⁡𝑰𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅 

𝑰 = [
𝟏

𝟐
𝑳𝒊𝟐(𝒙

𝟐)]𝟎
𝟏∫

𝟏

𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧(𝟏 − 𝒙𝟐)𝐥𝐧 (

𝟏 − 𝒙
𝟏 + 𝒙

)

𝒙

𝟏

𝟎

𝒅𝒙 = 

=
𝜻(𝟐)

𝟐
∫

𝟏

𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧(𝟏 − 𝒙𝟐)𝐥𝐧 (

𝟏 − 𝒙
𝟏 + 𝒙

)

𝒙

𝟏

𝟎

𝒅𝒙 

𝜴 =
𝟏

𝟒
(
𝟏

𝟐
𝜻(𝟐)∫

𝟏

𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

− 𝑰) =
𝟏

𝟒
∫
𝐥𝐧(𝟏 − 𝒙𝟐)𝐥𝐧 (

𝟏 − 𝒙
𝟏 + 𝒙

)

𝒙

𝟏

𝟎

𝒅𝒙 = 

=
𝟏

𝟒
∫
𝐥𝐧𝟐(𝟏 − 𝒙) − 𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟒
∫
𝐥𝐧𝟐(𝒙)

𝟏 − 𝒙

𝟏

𝟎

𝒅𝒙 −
𝟏

𝟒
∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = 

=
𝟏

𝟒
∑∫ 𝒙𝒏𝐥𝐧𝟐(𝒙)𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟎

−
𝟏

𝟒
𝑱 =

𝟏

𝟐
𝜻(𝟑) −

𝟏

𝟒
𝑱 

𝑱 = ∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙, 𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒐𝒏 {⁡
𝟏

𝟏 + 𝒙
= 𝒚, 𝒚 [

𝟏

𝟐
; ⁡𝟏]} 

𝑱 = ∫
𝐥𝐧𝟐(𝒚)

𝒚(𝟏 − 𝒚)

𝟏

𝟏
𝟐

𝒅𝒚 = ∫
𝐥𝐧𝟐(𝒚)

𝒚

𝟏

𝟏
𝟐

𝒅𝒚 +∫
𝐥𝐧𝟐(𝐲)

𝟏 − 𝒚
𝒅𝒚

𝟏

𝟏
𝟐

= 

=
𝐥𝐧𝟑(𝟐)

𝟑
+ ∫

𝐥𝐧𝟐(𝒚)

𝟏 − 𝒚

𝟏

𝟎

𝒅𝒚 −∫
𝐥𝐧𝟐(𝒚)

𝟏 − 𝒚

𝟏
𝟐

𝟎

𝒅𝒚 =
𝐥𝐧𝟑(𝟐)

𝟑
+ 𝟐𝜻(𝟑) −

𝟕

𝟒
𝜻(𝟑) −

𝐥𝐧𝟑(𝟐)

𝟑
= 

=
𝜻(𝟑)

𝟒
; ⁡⁡⁡𝜴 =

𝟏

𝟐
𝜻(𝟑) −

𝟏

𝟒
𝑱 =

𝟏

𝟐
𝜻(𝟑) −

𝟏

𝟏𝟔
𝜻(𝟑) =

𝟕

𝟏𝟔
𝜻(𝟑) 

∫ ∫
𝐭𝐚𝐧𝐡−𝟏(𝒙𝒚)

𝟏 − 𝒙²𝒚²
𝒅𝒙𝒅𝒚 =

𝟕

𝟏𝟔
𝜻(𝟑)

𝟏

𝟎

𝟏

𝟎
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Solution 2 by Togrul Ehmedov-Azerbaijan 
 

𝐈 = ∫∫
𝐭𝐚𝐧𝐡−𝟏(𝐱𝐲)

𝟏 − 𝐱𝟐𝐲𝟐

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲]

𝐱𝐲=𝐦

= ∫
𝟏

𝐱
∫
𝐭𝐚𝐧𝐡−𝟏(𝐦)

𝟏 −𝐦𝟐

𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=
𝐥𝐨𝐠(𝐱) ∫

𝐭𝐚𝐧𝐡−𝟏(𝐦)

𝟏 − 𝐦𝟐

𝐱

𝟎

𝐝𝐦]

𝐱=𝟎

𝐱=𝟏

− ∫
𝐥𝐨𝐠(𝐱) 𝐭𝐚𝐧𝐡−𝟏(𝐱)

𝟏 − 𝐱𝟐

𝟏

𝟎

𝐝𝐱 = −∫
𝐥𝐨𝐠(𝐱) 𝐭𝐚𝐧𝐡−𝟏(𝐱)

𝟏 − 𝐱𝟐

𝟏

𝟎

𝐝𝐱 

𝐭𝐚𝐧𝐡−𝟏(𝐱) =
𝟏

𝟐
𝐥𝐨𝐠 (

𝟏 + 𝐱

𝟏 − 𝐱
) 

𝐈 = −
𝟏

𝟐
∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠 (

𝟏 + 𝐱
𝟏 − 𝐱

)

𝟏 − 𝐱𝟐

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟐
∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠 (

𝟏 − 𝐱
𝟏 + 𝐱

)

𝟏 − 𝐱𝟐

𝟏

𝟎

𝐝𝐱]

𝟏−𝐱
𝟏+𝐱=𝐳

= 

=
𝟏

𝟒
∫
𝐥𝐨𝐠(𝐳) 𝐥𝐨𝐠 (

𝟏 − 𝐳
𝟏 + 𝐳

)

𝐳

𝟏

𝟎

𝐝𝐳 = 

=
𝟏

𝟒
∫
𝐥𝐨𝐠(𝐳) 𝐥𝐨𝐠(𝟏 − 𝐳)

𝐳

𝟏

𝟎

𝐝𝐳 −
𝟏

𝟒
∫
𝐥𝐨𝐠(𝐳) 𝐥𝐨𝐠(𝟏 + 𝐳)

𝐳

𝟏

𝟎

𝐝𝐳 = 

=
𝟏

𝟒
Ϛ(𝟑) −

𝟏

𝟒
{−
𝟑

𝟒
Ϛ(𝟑)} =

𝟕

𝟏𝟔
Ϛ(𝟑) 

2420. Find a closed form: 

𝛀 = ∫ ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+
𝒚

𝒙
)𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

 
Proposed by Ankush Kumar Parcha-India 

Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+
𝒚

𝒙
)𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

; 𝑰𝑩𝑷 →
𝒖 = 𝐭𝐚𝐧𝐡−𝟏 (

𝒙

𝒚
+
𝒚

𝒙
) ,⁡⁡⁡𝒅𝒖 =

𝒚(𝒚𝟐 − 𝒙𝟐)𝒅𝒙

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝒗 = ∫𝒅𝒙 = 𝒙

 

𝜴 = ∫ ([𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+
𝒚

𝒙
) 𝒙]𝟎

𝟏 −∫
𝒙𝒚(𝒚𝟐 − 𝒙𝟐)

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

)𝒅𝒚 = 

𝜴 = ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝟏

𝒚
+ 𝒚)𝒅𝒚

𝟏

𝟎

− ∫ ∫
𝒙𝒚(𝒚𝟐 − 𝒙𝟐)

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝜴𝟏 − 𝜴𝟐 
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𝜴𝟏 = ∫ 𝐭𝐚𝐧𝐡−𝟏 (𝒚 +
𝟏

𝒚
)𝒅𝒚

𝟏

𝟎

, 𝑰𝑩𝑷 →⁡
𝒖 = 𝐭𝐚𝐧𝐡−𝟏 (𝒚 +

𝟏

𝒚
) ,⁡⁡⁡𝒅𝒖 =

(𝟏 − 𝒚𝟐)

𝟏 + 𝒚𝟐 + 𝒚𝟒
𝒅𝒚

𝒗 = ∫𝒅𝒚 = 𝒚

 

𝜴𝟏 = [𝐭𝐚𝐧𝐡
−𝟏 (𝒚 +

𝟏

𝒚
) 𝒚]𝟎

𝟏 −∫
𝒚(𝟏 − 𝒚𝟐)

𝟏 + 𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝒅𝒚 = 𝐭𝐚𝐧𝐡−𝟏(𝟐) − ∫
𝒚 − 𝟐𝒚𝟑 + 𝒚𝟓

𝟏 − 𝒚𝟔

𝟏

𝟎

𝒅𝒚 = 

= 𝐭𝐚𝐧𝐡−𝟏(𝟐) −∑∫ 𝒚𝟔𝒏+𝟏 − 𝟐𝒚𝟔𝒏+𝟑 + 𝒚𝟔𝒏+𝟓𝒅𝒚 =
𝟏

𝟐
𝐥𝐧 (

𝟏 + 𝟐

𝟏 − 𝟐
)

𝟏

𝟎

∞

𝒏=𝟎

− 

−∑(
𝟏

𝟔𝒏 + 𝟐
−

𝟐

𝟔𝒏 + 𝟒
+

𝟏

𝟔𝒏 + 𝟔
)

∞

𝒏=𝟎

=
𝟏

𝟐
𝐥𝐧(𝟑) −

𝒊𝝅

𝟐
−
𝟏

𝟐
∑

𝟏

(𝟑𝒏 + 𝟏)(𝟑𝒏 + 𝟐)

∞

𝒏=𝟎

+ 

+
𝟏

𝟔
∑

𝟏

(𝒏 + 𝟏)(𝟑𝒏 + 𝟐)

∞

𝒏=𝟎

=
𝟏

𝟐
𝐥𝐧(𝟑) −

𝒊𝝅

𝟐
−
𝟏

𝟔
(𝝍(𝟎) (𝟏 −

𝟏

𝟑
) − 𝝍(𝟎) (

𝟏

𝟑
)) + 

+
𝟏

𝟔
(𝝍(𝟎)(𝟏) − 𝝍(𝟎) (

𝟐

𝟑
)) =

𝟏

𝟐
𝐥𝐧(𝟑) −

𝒊𝝅

𝟐
−

𝝅

𝟔√𝟑
+
𝐥𝐧(𝟑)

𝟒
−

𝝅

𝟏𝟐√𝟑
= 

=
𝟑 𝐥𝐧(𝟑)

𝟒
−

𝝅

𝟒√𝟑
−
𝒊𝝅

𝟐
= −

𝝅√𝟑

𝟏𝟐
+
𝟑 𝐥𝐧(𝟑)

𝟒
−
𝒊𝝅

𝟐
 

𝜴𝟐 = ∫ ∫
𝒙𝒚(𝒚𝟐 − 𝒙𝟐)

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 

= ∫ ∫
𝒙𝒚𝟑

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 −∫ ∫
𝒙𝟑𝒚

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝟎⁡{𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚} 

∫ ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+
𝒚

𝒙
)𝒅𝒙𝒅𝒚 = 𝜴𝟏 − 𝜴𝟐 = −

𝝅√𝟑

𝟏𝟐
+
𝟑𝐥𝐧(𝟑)

𝟒
−
𝒊𝝅

𝟐

𝟏

𝟎

𝟏

𝟎

 

 

Solution 2 by Togrul Ehmedov-Azerbaijan 

𝐈 = ∫∫𝐭𝐚𝐧𝐡−𝟏 (
𝐱

𝐲
+
𝐲

𝐱
)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲]

𝐲
𝐱
=𝐦

= ∫𝐱∫𝐭𝐚𝐧𝐡−𝟏 (𝐦 +
𝟏

𝐦
)

𝟏
𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=

𝐱𝟐

𝟐
∫𝐭𝐚𝐧𝐡−𝟏 (𝐦 +

𝟏

𝐦
)

𝟏
𝐱

𝟎

𝐝𝐦

]
 
 
 
 

𝐱=𝟎

𝐱=𝟏

+
𝟏

𝟐
∫𝐭𝐚𝐧𝐡−𝟏 (𝐱 +

𝟏

𝐱
)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟐
∫𝐭𝐚𝐧𝐡−𝟏 (𝐦 +

𝟏

𝐦
)

𝟏

𝟎

𝐝𝐦+ 

+
𝟏

𝟐
∫𝐭𝐚𝐧𝐡−𝟏 (𝐱+

𝟏

𝐱
)

𝟏

𝟎

𝐝𝐱 = ∫𝐭𝐚𝐧𝐡−𝟏 (𝐱 +
𝟏

𝐱
)

𝟏

𝟎

𝐝𝐱 



 
www.ssmrmh.ro 

28 RMM-CALCULUS MARATHON 2401-2500 

 

𝐭𝐚𝐧𝐡−𝟏 (𝐱 +
𝟏

𝐱
) = 𝐳 ⇒ 𝐭𝐚𝐧𝐡 (𝐭𝐚𝐧𝐡−𝟏 (𝐱 +

𝟏

𝐱
)) = 𝐭𝐚𝐧𝐡(𝐳) ⇒ 𝐱 +

𝟏

𝐱
= 𝐭𝐚𝐧𝐡(𝐳) ⇒ 𝐱 +

𝟏

𝐱

=
𝐞𝟐𝐳 − 𝟏

𝐞𝟐𝐳 + 𝟏
⇒ 𝐞𝟐𝐳 =

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
⇒ 𝐥𝐨𝐠(𝐞𝟐𝐳) = 𝐥𝐨𝐠 (

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
) ⇒ 𝐳

=
𝟏

𝟐
𝐥𝐨𝐠 (

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
) 

𝐭𝐚𝐧𝐡−𝟏 (𝐱 +
𝟏

𝐱
) =

𝟏

𝟐
𝐥𝐨𝐠(

𝐱𝟐 + 𝐱+ 𝟏

𝐱 − 𝟏 − 𝐱𝟐
) 

𝐈 =
𝟏

𝟐
∫ 𝐥𝐨𝐠 (

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟐
{∫ 𝐥𝐨𝐠(𝐱𝟐 + 𝐱 + 𝟏)

𝟏

𝟎

𝐝𝐱 − ∫ 𝐥𝐨𝐠(𝐱 − 𝟏 − 𝐱𝟐)

𝟏

𝟎

𝐝𝐱}

=
𝟏

𝟐
{(
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟐 +

𝛑

𝟐√𝟑
) − (𝐢𝛑 − 𝟐 +

𝛑

√𝟑
)} = −

𝛑√𝟑

𝟏𝟐
+
𝟑

𝟒
𝐥𝐨𝐠(𝟑) −

𝐢𝛑

𝟐
 

 
2421. Find a closed form: 

𝛀 = ∫
𝒙(𝒍𝒏√𝟏 + 𝒙𝟐 +⁡𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))⁡

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Amin Hajiyev-Azerbaijan 

Ω = ∫
𝒙(𝒍𝒏√𝟏 + 𝒙𝟐 +⁡𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))⁡

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= ⁡Ω𝟏 + Ω𝟐 ⁡

{
 
 

 
 Ω𝟏 = ∫

𝒙𝒍𝒏√𝟏 + 𝒙𝟐

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

Ω𝟐 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Ω𝟏 = ∫
𝒙𝒍𝒏√𝟏 + 𝒙𝟐

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=⏞
𝑰𝑩𝑷𝟏

𝟐
[
𝟏

𝟐
𝒍𝒏𝟐(𝟏 + 𝒙𝟐)]

𝟏

𝟎
−
𝟏

𝟐
∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟒
𝒍𝒏𝟐(𝟐) − Ω𝟏

𝟏

𝟎

 

𝟐Ω𝟏 =
𝟏

𝟒
𝒍𝒏𝟐(𝟐) ⁡≪=≫⁡Ω𝟏 =

𝟏

𝟖
𝒍𝒏𝟐(𝟐) 

Ω𝟐 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=⏞
𝑰𝑩𝑷

[
𝟏

𝟐
𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)𝐥𝐧⁡(𝟏 + 𝒙𝟐)]

𝟏

𝟎

− ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧⁡(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

 

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) − ∫

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 ≪=≫

𝟏

𝟎

⁡{𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) = 𝒕; ⁡⁡
𝒅𝒕

𝒅𝒙
=

𝟏

𝟏 + 𝒙𝟐
; 𝒙

= 𝐭𝐚𝐧(𝒕) 𝒕 [
𝝅

𝟒
; 𝟎]} 
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Ω𝟐=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) − ∫ 𝒕𝒍𝒏 (𝟏 + 𝒕𝒂𝒏𝟐(𝒕)) 𝒅𝒕

𝝅
𝟒

𝟎

=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + 𝟐∫ 𝒕𝒍𝒏(𝐜𝐨𝐬(𝒕))𝒅𝒕

𝝅
𝟒

𝟎

=
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + 𝟐𝑰 

𝑵𝒐𝒕𝒆 ∶ 

{𝑾𝒆⁡𝒌𝒏𝒐𝒘 → 𝐥𝐧(𝐜𝐨𝐬(𝒕)) = − 𝐥𝐧(𝟐) −∑
(−𝟏)𝒏 𝐜𝐨𝐬(𝟐𝒏𝒕)

𝒏
⁡

∞

𝒏=𝟏

⁡𝑭𝒐𝒖𝒓𝒊𝒆𝒓⁡𝒔𝒆𝒓𝒊𝒆𝒔⁡} 

𝑰 = ∫ 𝒕𝒍𝒏(𝐜𝐨𝐬(𝒕))𝒅𝒕 = −𝐥𝐧⁡(𝟐)∫ 𝒕𝒅𝒕 −∑
(−𝟏)𝒏

𝒏
∫ 𝒕𝒄𝒐𝒔(𝟐𝒏𝒕)𝒅𝒕 = −

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅
𝟒

𝟎

∞

𝒏=𝟏

𝝅
𝟒

𝟎

𝝅
𝟒

𝟎

 

∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

[
𝐜𝐨𝐬⁡(𝟐𝒏𝒕)

𝟒𝒏𝟐
+⁡
𝒕𝒔𝒊𝒏(𝟐𝒏𝒕)

𝟐𝒏
]

𝝅
𝟒
𝟎

= −
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

[
𝝅 𝐬𝐢𝐧 (

𝝅𝒏
𝟐
)

𝟖𝒏
+
𝐜𝐨𝐬 (

𝝅𝒏
𝟐
)

𝟒𝒏𝟐
−

𝟏

𝟒𝒏𝟐
] = 

−
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝝅

𝟖
∑

(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

𝐬𝐢𝐧 (
𝝅𝒏

𝟐
) −

𝟏

𝟒
∑

(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

𝐜𝐨𝐬 (
𝝅𝒏

𝟐
) +

𝟏

𝟒
∑

(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

= 

−
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅

𝟖
∑

(−𝟏)𝒏+𝟏

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

+
𝟏

𝟒
(
𝟏

𝟐𝟑
(𝟏 −

𝟏

𝟐𝟑
+
𝟏

𝟑𝟑
−⋯ )) −

𝟏

𝟒
(𝟏 − 𝟐𝟏−𝟑)𝜻(𝟑) = 

−
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅

𝟖
𝑮 +

𝟑𝜻(𝟑)

𝟏𝟔
+
𝟏

𝟑𝟐
∑

(−𝟏)𝒏+𝟏

𝒏𝟑

∞

𝒏=𝟏

=
𝝅

𝟖
𝑮 −

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝟑𝜻(𝟑)

𝟏𝟔
+
𝟑𝜻(𝟑)

𝟏𝟐𝟖
= 

𝝅

𝟖
𝑮 −

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝟐𝟏𝜻(𝟑)

𝟏𝟐𝟖
 

Ω𝟐 =
𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) + 𝟐𝑰 =

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) +

𝝅

𝟒
𝑮 −

𝝅𝟐

𝟏𝟔
𝐥𝐧(𝟐) −

𝟐𝟏𝜻(𝟑)

𝟔𝟒
=
𝝅

𝟒
𝑮−

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝟐𝟏𝜻(𝟑)

𝟔𝟒
 

∫
𝒙(𝒍𝒏√𝟏 + 𝒙𝟐 +⁡𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))⁡

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= ⁡Ω𝟏 + Ω𝟐 =
𝝅

𝟒
𝑮 −

𝝅𝟐

𝟑𝟐
𝐥𝐧(𝟐) −

𝟐𝟏𝜻(𝟑)

𝟔𝟒
+
𝟏

𝟖
𝒍𝒏𝟐(𝟐) 

 
Solution 2 by Ankush Kumar Parcha-India 
 

𝑾𝒆⁡⁡𝒉𝒂𝒗𝒆,
𝟏

𝟐
∫

𝒙𝒍𝒏(𝟏+𝒙𝟐)

𝟏+𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝑿

+ ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)

𝟏+𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟          
𝒀

       (1) 

𝑿 =
𝟏

𝟐
∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟              
=⏞
𝒙𝟐→𝒙𝟏

𝟒
∫
𝐥𝐧⁡(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

=> (
𝒍𝒏𝟐(𝟏 + 𝒙)

𝟖
)
𝟏

𝟎
 

𝑿 =
𝟏

𝟐
∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟              
=
𝒍𝒏𝟐(𝟐)

𝟖
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𝒀 = ∫
𝒙𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟            
=⏞

𝒕𝒂𝒏−𝟏(𝒙)→𝒙

∫ 𝒙𝟐 𝐭𝐚𝐧(𝒙)𝒅𝒙 =⏞
𝑰𝑩𝑷

𝝅
𝟒

𝟎

− (𝒙𝟐∫
𝒅

𝒅𝒙
𝒍𝒏𝒄𝒐𝒔(𝒙)𝒅𝒙)

𝝅
𝟒
𝟎
⁡+ 

𝟐∫ 𝒙𝒍𝒏𝒄𝒐𝒔(𝒙)𝒅

𝝅
𝟒

𝟎

𝒙 =⏟
(𝟏)

⏞
𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏⁡𝝅𝟐

𝟑𝟐
𝒍𝒏(𝟐)− 𝟐 𝐥𝐧(𝟐)∫ 𝒙𝒅𝒙

𝝅
𝟒

𝟎

− 𝟐∑
(−𝟏-)𝒏

𝒏
∫ 𝒙𝒄𝒐𝒔(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

=

𝒏∈𝑵

 

=⏞
𝑰𝑩𝑷𝝅𝟐

𝟑𝟐
𝒍𝒏(𝟐) −

𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟔

− 𝟐∑
(−𝟏-)𝒏

𝒏
[(
𝒙𝒔𝒊𝒏(𝟐𝒏𝒙)

𝟐𝒏
)

𝝅
𝟒
𝟎
− ∫

𝐬𝐢𝐧⁡(𝟐𝒏𝒙)

𝟐𝒏
𝒅𝒙

𝝅
𝟒

𝟎

] = −
𝝅𝟐

𝟑𝟐
𝒍𝒏(𝟐)⁡–

𝒏∈𝑵

 

𝟐∑
(−𝟏-)𝒏

𝒏
[
𝝅

𝟖𝒏
𝐬𝐢𝐧 (

𝝅𝒏

𝟐
) + (

𝐜𝐨𝐬(𝟐𝒏𝒙)

𝟒𝒏𝟐
)

𝝅
𝟒
𝟎
] = −

𝝅𝟐

𝟑𝟐
𝒍𝒏(𝟐)

𝒏∈𝑵

−
𝝅

𝟒
∑

(−𝟏)𝒏 𝐬𝐢𝐧 (
𝝅𝒏
𝟐
)

𝒏𝟐
𝒏∈𝑵⏟            

𝒏→𝟐𝒏+𝟏

− 

 

𝟏

𝟐
∑

(−𝟏)𝒏 𝐜𝐨𝐬 (
𝝅𝒏
𝟐
)

𝒏𝟑
𝒏∈𝑵⏟            ⏟            

𝒏→𝟐𝒏

+
𝟏

𝟐
∑

(−𝟏)𝒏+𝟏

𝒏𝟑
𝒏∈𝑵

=⏟
(𝟐)

⏞
𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏⁡

−
𝝅𝟐

𝟑𝟐
𝒍𝒏(𝟐) +

𝝅

𝟒
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
𝒏∈𝑵⁡∪{𝟎}

⁡+ 

𝟏

𝟏𝟔
∑

(−𝟏)𝒏+𝟏

𝒏𝟑
𝒏∈𝑵

−
𝟏

𝟐
∑

(−𝟏)𝒏+𝟏

𝒏𝟑
𝒏∈𝑵

= −
𝝅𝟐

𝟑𝟐
𝒍𝒏(𝟐) +

𝝅

𝟒
𝑮 −

𝟕

𝟏𝟔
𝜼(𝟑) 

𝑿 + 𝒀 = ∫
𝒙(𝒍𝒏√𝟏 + 𝒙𝟐 +⁡𝒂𝒓𝒄𝒕𝒂𝒏𝟐(𝒙))⁡

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=
𝝅

𝟒
𝑮 −

𝟐𝟏

𝟔𝟒
𝜻(𝟑) +

𝒍𝒏𝟐(𝟐)

𝟖
−
𝝅𝟐𝐥𝐧⁡(𝟐)

𝟑𝟐
 

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏 ∶ 

𝟏. ⁡⁡𝐥𝐧(𝟐 𝐜𝐨𝐬(𝒙)) = ∑
(−𝟏)𝒏+𝟏

𝒏
𝐜𝐨𝐬⁡(𝟐𝒏𝒙)

𝒏∈𝑵

,⁡⁡⁡ |𝒙| < ⁡
𝝅

𝟐
 

𝟐.⁡⁡ ∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
= 𝑮⁡⁡(𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕)

𝒏∈𝑵⁡∪{𝟎}

 

𝟑.⁡⁡⁡𝜼(𝒔) = (𝟏 − 𝟐𝟏−𝒔)⁡.⁡⁡𝜻(𝟑) 
 

2422. Find a closed form: 

𝛀 = ∫
𝐥𝐧(𝟏 + 𝒙𝟐) (𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) + 𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

Proposed by Shirvan Tahirov, Abbaszade Yusif-Azerbaijan 
Solution by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫
𝐥𝐧(𝟏 + 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 + ∫
𝒙 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = 𝜴𝟏 + 𝜴𝟐 
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𝜴𝟏 = ∫
𝐥𝐧(𝟏 + 𝒙𝟐)𝐭𝐚𝐧−𝟏(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙, {𝐭𝐚𝐧−𝟏(𝒙) = 𝒕 , 𝒅𝒕 =
𝒅𝒙

𝟏 + 𝒙𝟐
⁡ , 𝒕 [

𝝅

𝟒
; 𝟎]} 

𝜴𝟏 = ∫ 𝒕⁡𝐥𝐧⁡(𝟏 + 𝐭𝐚𝐧𝟐⁡

𝝅
𝟒

𝟎

(𝒕)) 𝒅𝒕 = −𝟐∫ 𝒕 𝐥𝐧(𝐜𝐨𝐬(𝒕)) 𝒅𝒕

𝝅
𝟒

𝟎

 

{𝑭𝒐𝒖𝒓𝒊𝒆𝒓⁡𝒔𝒆𝒓𝒊𝒆𝒔⁡𝒐𝒇⁡⁡ 𝐥𝐧(𝐜𝐨𝐬(𝒛)) = − 𝐥𝐧(𝟐) −∑
(−𝟏)𝒏 𝐜𝐨𝐬(𝟐𝒏𝒛)

𝒏

∞

𝒏=𝟏

} 

𝜴𝟏 = 𝟐 𝐥𝐧²(𝟐)∫ 𝒕𝒅𝒕

𝝅
𝟒

𝟎

+ 𝟐∑
(−𝟏)𝒏

𝒏
∫ 𝒕 𝐜𝐨𝐬(𝟐𝒏𝒕)𝒅𝒕

𝝅
𝟒

𝟎

∞

𝒏=𝟏

=
𝝅𝟐𝐥𝐧⁡(𝟐)

𝟏𝟔
+ 

+𝟐∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

[
𝒕 𝐬𝐢𝐧(𝟐𝒏𝒕)

𝟐𝒏
]𝟎

𝝅
𝟒 −

𝟏

𝟐𝒏
∫ 𝐬𝐢𝐧(𝟐𝒏𝒕)𝒅𝒕

𝝅
𝟒

𝟎

] = 𝝅𝟐
𝐥𝐧(𝟐)

𝟏𝟔
+
𝝅

𝟒
∑

(−𝟏)𝒏 𝐬𝐢𝐧 (
𝝅𝒏
𝟐
)

𝒏𝟐

∞

𝒏=𝟏

+ 

+∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

[
𝐜𝐨𝐬(𝟐𝒏𝒕)

𝟐𝒏
]
𝟎

𝝅
𝟒 = 

= 𝝅𝟐
𝐥𝐧(𝟐)

𝟏𝟔
+
𝝅

𝟒
∑

(−𝟏)𝒏

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

+
𝟏

𝟐
∑

(−𝟏)𝒏𝐜𝐨𝐬 (
𝝅𝒏
𝟐
)

𝒏𝟑

∞

𝒏=𝟏

−
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏𝟑

∞

𝒏=𝟏

= 

=
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟔
−
𝝅

𝟒
𝑮 −

𝟑

𝟔𝟒
𝜻(𝟑) +

𝟑

𝟖
𝜻(𝟑) =

𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟔
−
𝛑

𝟒
𝐆 +

𝟐𝟏

𝟔𝟒
𝛇(𝟑) 

𝜴𝟐 = ∫
𝒙 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

, {𝒙𝟐 = 𝒕, 𝒅𝒕 = 𝟐𝒙𝒅𝒙, 𝒕[𝟏; 𝟎]}⁡ 

𝜴𝟐 = ∫
𝐥𝐧(𝟏 + 𝒕)

𝟏 + 𝒕
𝒅𝒕

𝟏

𝟎

=
𝟏

𝟐
[
𝐥𝐧𝟐(𝟏 + 𝒕)

𝟐
]𝟎
𝟏 =

𝐥𝐧𝟐(𝟐)

𝟒
 

∫
𝐥𝐧(𝟏 + 𝒙𝟐)(𝐭𝐚𝐧−𝟏(𝒙) + 𝒙)

𝟏 + 𝒙²
𝒅𝒙

𝟏

𝟎

= 𝜴𝟏 + 𝜴𝟐 =
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟔
−
𝛑

𝟒
𝐆 +

𝟐𝟏

𝟔𝟒
𝛇(𝟑) +

𝐥𝐧𝟐(𝟐)

𝟒
 

2423. Find a closed form: 

𝛀 =∑∑
(−𝟏)𝒏+𝟏

𝟐𝒎+𝒏(𝒎 + 𝟏)𝟑

∞

𝒎=𝟏

∞

𝒏=𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 

Ω𝒂>0 = ∑∑
(−𝟏)𝒏+𝟏

𝒂⍺𝒏+𝜷𝒎(𝒎 + 𝟏)𝒌

∞

𝒎=𝟏

∞

𝒏=𝟏

= −∑ (
−𝟏

𝒂⍺
)
𝒏∞

𝒏=𝟏

∑
𝟏

(𝒎+ 𝟏)𝒌
(
𝟏

𝒂𝜷
)
𝒎+𝟏∞

𝒎=𝟏

= 

(𝟏 −∑ (−
𝟏

𝒂⍺
)
𝒏∞

𝒏=𝟎

)𝒂𝜷 (−
𝟏

𝒂𝜷
+ ∑

𝟏

(𝒎+ 𝟏)𝒌
(
𝟏

𝒂𝜷
)
𝒎+𝟏∞

𝒎=𝟎

)

= (𝟏 −
𝟏

𝟏 +
𝟏
𝒂⍺

)(−𝟏 + 𝒂𝜷𝑳𝒊𝒌 (
𝟏

𝒂𝜷
)) =

𝟏

𝒂⍺ + 𝟏
(𝒂𝜷𝑳𝒊𝒌 (

𝟏

𝒂𝜷
) − 𝟏) 
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𝑨𝒔: 𝒂 = 𝟐⁡, ⍺ = 𝜷 = 𝟏⁡, 𝒌 = 𝟑. 

∑∑
(−𝟏)𝒏+𝟏

𝟐𝒎+𝒏(𝒎+ 𝟏)𝟑

∞

𝒎=𝟏

∞

𝒏=𝟏

=
𝟏

𝟐 + 𝟏
(𝟐𝑳𝒊𝟑 (

𝟏

𝟐
)− 𝟏) =

𝟏

𝟑
{𝟐 (

𝟕

𝟖
𝜻(𝟑) +

𝒍𝒏𝟑(𝟐)

𝟔
−
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟐
) − 𝟏}

=
𝟕

𝟏𝟐
𝜻(𝟑)+

𝒍𝒏𝟑(𝟐)

𝟗
−
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟖
−
𝟏

𝟑
 

Solution 2 by Amin Hajiyev-Azerbaijan 

∑∑
(−𝟏)𝒏+𝟏

𝟐𝒎+𝒏(𝒎 + 𝟏)𝟑

∞

𝒎=𝟏

∞

𝒏=𝟏

= −∑
(−𝟏)𝒏

𝟐𝒏

∞

𝒏=𝟏

∑
𝟏

𝟐𝒎(𝒎 + 𝟏)𝟑

∞

𝒏=𝟏

=

𝟏
𝟐

𝟏 +
𝟏
𝟐

∑
𝟐

𝟐𝒎+𝟏(𝒎 + 𝟏)𝟑

∞

𝒎=𝟏

= 

𝟐

𝟑
(∑

𝟏

𝟐𝒎𝒎𝟑

∞

𝒎=𝟏

−
𝟏

𝟐
) =

𝟐

𝟑
𝑳𝒊𝟑 (

𝟏

𝟐
) −

𝟏

𝟑
=
𝟕

𝟏𝟐
𝜻(𝟑) +

𝒍𝒏𝟑(𝟐)

𝟗
−
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟖
−
𝟏

𝟑
 

 

Solution 3 by Pham Duc Nam-Vietnam 

∑∑
(−𝟏)𝒏+𝟏

𝟐𝒎+𝒏(𝒎+ 𝟏)𝟑

∞

𝒎=𝟏

∞

𝒏=𝟏

= ∑
(−𝟏)𝒏+𝟏

𝟐𝒏
(𝟐

∞

𝒏=𝟏

∑
𝟏

𝟐𝒎+𝟏(𝒎 + 𝟏)𝟑

∞

𝒎=𝟏

) =
𝟏

𝟑
(𝟐 ∑

𝟏

𝟐𝒎𝒎𝟑

∞

𝒎=𝟐

) = 

𝟏

𝟑
(𝟐(∑

𝟏

𝟐𝒎𝒎𝟑

∞

𝒎=𝟏

−
𝟏

𝟐
)) =

𝟐

𝟑
∑

𝟏

𝟐𝒎𝒎𝟑

∞

𝒎=𝟏

−
𝟏

𝟑
 

∗ ∑
𝟏

𝟐𝒎𝒎𝟑

∞

𝒎=𝟏

=
𝟏

𝟐
∑

𝟏

𝟐𝒎

∞

𝒎=𝟏

∫ 𝒙𝒎−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

=
𝟏

𝟐
∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

(∑
𝒙𝒎−𝟏

𝟐𝒎

∞

𝒎=𝟏

)

=
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟐 − 𝒙
𝒅𝒙

𝟏

𝟎

= 

𝟏

𝟐
∫
𝒍𝒏𝟐(𝟏 − 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
𝑰 

∗ 𝑰 = ∫
𝒍𝒏𝟐(𝟏 − 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙, 𝑱 = ∫
𝒍𝒏𝟐(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟑
𝒍𝒏𝟐(𝟐) 

𝑰 − 𝑱 = ∫
𝒍𝒏𝟐(𝟏 − 𝒙) − 𝒍𝒏𝟐(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = ∫
𝐥𝐧 (

𝟏 − 𝒙
𝟏 + 𝒙

) 𝐥𝐧(𝟏 − 𝒙𝟐)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

, 𝒙 →
𝟏 − 𝒙

𝟏 + 𝒙
= 

∫
𝐥𝐧(𝒙) 𝐥𝐧⁡(

𝟒𝒙
(𝟏+ 𝒙)𝟐

)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= ∫
𝐥𝐧⁡(𝒙)(𝟐𝐥𝐧(𝟐)+ 𝐥𝐧(𝒙) − 𝟐 𝐥𝐧(𝟏 + 𝒙))

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= 𝟐 𝐥𝐧(𝟐)∫
𝐥𝐧(𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙
⏟        

−
𝝅𝟐

𝟏𝟐

+ 
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∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙
⏟        

𝟑
𝟐
𝜻(𝟑)

− 𝟐∫
𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= −
𝝅𝟐

𝟔
𝐥𝐧(𝟐)+

𝟑

𝟐
𝜻(𝟑)+ 𝟐∑(−𝟏)𝒏𝑯𝒏∫ 𝒙𝒏 𝐥𝐧(𝒙)𝒅𝒙

𝟏

𝟎

=

∞

𝒏=𝟎

 

= −
𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝟑

𝟐
𝜻(𝟑) − 𝟐∑

(−𝟏)𝒏𝑯𝒏
(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

= −
𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝟑

𝟐
𝜻(𝟑) + 𝟐∑

(−𝟏)𝒏 (𝑯𝒏 −
𝟏
𝒏
)

𝒏𝟐

∞

𝒏=𝟏

= 

−
𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝟑

𝟐
𝜻(𝟑) + 𝟐(−

𝟓

𝟖
𝜻(𝟑) +

𝟑

𝟒
𝜻(𝟑)) = −

𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝟕

𝟒
𝜻(𝟑) ⁡=≫⁡ 

𝑰 =
𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝒍𝒏𝟐(𝟐)

𝟑
⁡=≫ 

𝑺 =
𝟏

𝟑
(
𝟕

𝟒
𝜻(𝟑) −

𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝒍𝒏𝟐(𝟐)

𝟑
) −

𝟏

𝟑
=
𝟕

𝟏𝟐
𝜻(𝟑) +

𝒍𝒏𝟑(𝟐)

𝟗
−
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟖
−
𝟏

𝟑
 

Solution 4 by Ankush Kumar Parcha-India 

∑𝒙𝒏 =
𝒙

𝟏 − 𝒙
𝒏∈𝑵

⁡⁡⁡ , |𝒙| < 1⁡ =≫ ∑
(−𝟏)𝒏+𝟏

𝟐𝒏+𝒎(𝒎+𝟏)𝟑
=⏟

𝒎→𝒎−𝟏𝒏,𝒎∈𝑵

𝟐

𝟑
(−
𝟏

𝟐
+ ∑

𝟏

𝟐𝒎𝒎𝟑
)

𝒏,𝒎∈𝑵

= 

−
𝟏

𝟑
+ 𝑳𝒊𝟑 (

𝟏

𝟐
)⁡⁡⁡⁡(𝟏) 

(𝑳𝒊𝟐(𝟏− 𝒛) + 𝑳𝒊𝟐 (
𝒛 − 𝟏

𝒛
) = −

𝒍𝒏𝟐(𝒛)

𝟐
⁡, 𝒛 ∈ 𝑪\{𝟎}⁡) 

𝑫𝒊𝒗𝒊𝒅𝒆⁡⁡𝒃𝒐𝒕𝒉⁡⁡𝒔𝒊𝒅𝒆𝒔⁡⁡𝒃𝒚− 𝒛(𝟏− 𝒛)⁡𝒂𝒏𝒅⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒆⁡⁡𝒊𝒇⁡⁡𝒘𝒊𝒕𝒉⁡⁡𝒓𝒆𝒔𝒑𝒆𝒄𝒕⁡⁡𝒕𝒐⁡⁡𝒛.⁡⁡𝑾𝒆⁡𝒈𝒆𝒕. 

−∫
𝑳𝒊𝟐(𝟏 − 𝒛)

𝒛(𝟏 − 𝒛)
𝒅𝒛− ∫𝑳𝒊𝟐 (

𝒛 − 𝟏

𝒛
)

𝒅𝒛

𝒛(𝟏 − 𝒛)
=
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒛)

𝒛(𝟏− 𝒛)
𝒅𝒛⁡ =≫ 

∫𝒅𝑳𝒊𝟑 (
𝒛 − 𝟏

𝒛
)− ∫

𝑳𝒊𝟐(𝟏 − 𝒛)

𝒛
𝒅𝒛

⏟          
𝑰𝑩𝑷

−∫
𝑳𝒊𝟐(𝟏− 𝒛)

𝟏 − 𝒛
𝒅𝒛

=
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒛)

𝒛
𝒅𝒛 +

𝟏

𝟐
∫
𝒍𝒏𝟐(𝒛)

𝟏 − 𝒛
𝒅𝒛𝑳𝒊𝟑 (

𝒛 − 𝟏

𝒛
)+ ∫𝒅𝑳𝒊𝟑(𝟏− 𝒛)

− 𝑳𝒊𝟐(𝟏 − 𝒛) 𝐥𝐧(𝒛) +
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒛)

𝟏 − 𝒛⏟      
𝑰𝑩𝑷

𝒅𝒛 = ∫
𝒅𝒍𝒏𝟑(𝒛)

𝟔
=≫ 

𝑳𝒊𝟑 (
𝒛 − 𝟏

𝒛
)+ 𝑳𝒊𝟑(𝟏− 𝒛) − 𝑳𝒊𝟐(𝟏 − 𝒛) 𝐥𝐧(𝒛) −

𝒍𝒏𝟐(𝒛) 𝐥𝐧(𝟏 − 𝒛)

𝟐
+∫

𝒍𝒏(𝒛) 𝐥𝐧(𝟏− 𝒛)

𝒛
𝒅𝒛

⏟              
𝑰𝑩𝑷

=
𝒍𝒏𝟑(𝒛)

𝟔
 

=≫ 𝑳𝒊𝟑 (
𝒛 − 𝟏

𝒛
)+ 𝑳𝒊𝟑(𝟏− 𝒛) − 𝑳𝒊𝟐(𝟏− 𝒛) 𝐥𝐧(𝒛) − 𝑳𝒊𝟐(𝒛) 𝐥𝐧(𝒛) + 𝑳𝒊𝟑(𝒛) =≫ 

𝒍𝒏𝟑(𝒛)

𝟔
+
𝒍𝒏𝟐(𝒛) 𝐥𝐧(𝟏 − 𝒛)

𝟐
+ 𝑪 

(∗ 𝑳𝒊𝟐(𝒛) + 𝑳𝒊𝟐(𝟏− 𝒛) =
𝝅𝟐

𝟔
− 𝐥𝐧(𝒛) 𝐥𝐧(𝟏− 𝒛) , 𝒛 ∈ 𝑪⁡) =≫ 
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𝑳𝒊𝟑(𝒛)+ 𝑳𝒊𝟑(𝟏 − 𝒛) + 𝑳𝒊𝟑 (
𝒛 − 𝟏

𝒛
) =

𝝅𝟐

𝟔
𝐥𝐧(𝟐) +

𝒍𝒏𝟑(𝒛)

𝟔
−
𝒍𝒏𝟐(𝒛) 𝐥𝐧(𝟏 − 𝒛)

𝟐
+𝑪⁡ =>>⏞  

𝒔𝒆𝒕⁡𝒛=𝟏

 

𝑳𝒊𝟑(𝟏) + 𝟎 = − 𝐥𝐢𝐦
𝒙→𝟏

𝒍𝒏𝟐(𝒛) 𝐥𝐧(𝟏− 𝒛)

𝟐⏟              
=𝟎

+ 𝑪 =≫ 𝑪 = 𝜻(𝟑) 

𝑳𝒊𝟑(𝒛)+ 𝑳𝒊𝟑(𝟏 − 𝒛) + 𝑳𝒊𝟑 (𝟏 −
𝟏

𝒛
) = 𝜻(𝟑) +

𝝅𝟐

𝟔
𝐥𝐧(𝟐)+

𝒍𝒏𝟑(𝒛)

𝟔
−
𝒍𝒏𝟐(𝒛) 𝐥𝐧(𝟏 − 𝒛)

𝟐
⁡=>>⏞  

𝒂𝒕⁡𝒛=
𝟏
𝟐

 

𝑳𝒊𝟑 (
𝟏

𝟐
) =

𝟕

𝟖
𝜻(𝟑)−

𝝅𝟐

𝟏𝟐
𝐥𝐧(𝟐)+

𝒍𝒏𝟑(𝟐)

𝟔
 

𝑷𝒖𝒕⁡𝒕𝒉𝒆⁡⁡𝒗𝒂𝒍𝒖𝒆⁡⁡𝒐𝒇⁡⁡𝑳𝒊𝟑 (
𝟏

𝟐
) ⁡𝒊𝒏⁡⁡𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏⁡ −⁡⁡(𝟏).⁡⁡𝑾𝒆⁡⁡𝒈𝒆𝒕: 

=≫⁡−
𝟏

𝟑
+
𝟐

𝟑
(
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
𝐥𝐧(𝟐) +

𝒍𝒏𝟑(𝟐)

𝟔
) ⁡=≫ ∑∑

(−𝟏)𝒏+𝟏

𝟐𝒎+𝒏(𝒎+ 𝟏)𝟑

∞

𝒎=𝟏

∞

𝒏=𝟏

=
𝟕

𝟏𝟐
𝜻(𝟑) +

𝒍𝒏𝟑(𝟐)

𝟗
−
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟖
−
𝟏

𝟑
 

𝑵𝒐𝒕𝒆⁡ ∶ ⁡𝜻(𝟑) → 𝑨𝒑𝒆𝒓𝒚′𝒔⁡⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
 

2424. Find a closed form: 

𝛀 = ∫ ∫
𝐥𝐧(𝟏 + 𝒙 + 𝒚 + 𝒙𝒚)𝐭𝐚𝐧−𝟏(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒚)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 

 
Proposed by Lamiye Quliyeva, Abbaszade Yusif-Azerbaijan 

Solution by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫
𝐥𝐧((𝟏 + 𝒙)(𝟏 + 𝒚)) 𝐭𝐚𝐧−𝟏(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒚)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝜴𝟏 + 𝜴𝟐 

𝜴𝟏 = ∫ ∫
𝐥𝐧(𝟏 + 𝒙)𝐭𝐚𝐧−𝟏(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒚)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝐥𝐧(𝟏 + 𝒚) |𝟎
𝟏∫

𝐥𝐧(𝟏 + 𝒙)𝒕𝒂𝒏−𝟏(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙

= 
= 𝐥𝐧(𝟐) • 𝑰 

𝑰 = ∫
𝐥𝐧(𝟏 + 𝒙)𝐭𝐚𝐧−𝟏(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = ∫
𝐥𝐧(𝒙)𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟐

𝟏

𝒅𝒙 = 

= ∫
𝐥𝐧(𝒙)𝐭𝐚𝐧−𝟏(𝒙)

𝒙
𝒅𝒙

𝟐

𝟎

−∫
𝐥𝐧(𝒙)𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = 𝑰𝟏 − 𝑰𝟐  

𝑰𝟏 = ∫
𝐥𝐧(𝒙)𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟐

𝟎

𝒅𝒙⁡, 𝒖𝒔𝒊𝒏𝒈⁡İ𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅⁡ 
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{
 
 

 
 𝒖 = 𝐥𝐧(𝒙), 𝒅𝒖 =

𝒅𝒙

𝒙

𝒗 = ∫
𝐭𝐚𝐧−𝟏(𝒙)

𝒙
𝒅𝒙 = ∑

(−𝟏)𝒏

𝟐𝒏 + 𝟏
∫𝒙𝟐𝒏𝒅𝒙 = ∑

(−𝟏)𝒏𝒙𝟐𝒏+𝟏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

İ𝑩𝑷

}
 
 

 
 

 

𝒏𝒐𝒕𝒆: {∑𝒂𝟐𝒏+𝟏

∞

𝒏=𝟎

=
𝟏

𝟐
(∑𝒂𝒏 −∑(−𝟏)𝒏𝒂𝒏

∞

𝒏=𝟎

∞

𝒏=𝟏

)} 

𝒗 =
𝟏

𝟐𝒊
∑

𝒊𝒏𝒙𝒏

𝒏𝟐

∞

𝒏=𝟏

−
𝟏

𝟐𝒊
∑

(−𝟏)𝒏𝒊𝒏𝒙𝒏

𝒏𝟐

∞

𝒏=𝟏

=
𝒊

𝟐
(𝑳𝒊𝟐(−𝒊𝒙) − 𝑳𝒊𝟐(𝒊𝒙)) 

𝑰𝟏 = [
𝒊 𝐥𝐧(𝒙)

𝟐
(𝑳𝒊𝟐(−𝒊𝒙) − 𝑳𝒊𝟐(𝒊𝒙)]𝟎

𝟐 −
𝒊

𝟐
∫
𝑳𝒊𝟐(−𝒊𝒙) − 𝑳𝒊𝟐(𝒊𝒙)

𝒙

𝟐

𝟎

𝒅𝒙 = 

=
𝒊 𝐥𝐧(𝟐)

𝟐
(𝑳𝒊𝟐(−𝟐𝒊) − 𝑳𝒊𝟐(𝟐𝒊)) −

𝒊

𝟐
[𝑳𝒊𝟑(−𝒊𝒙) − 𝑳𝒊𝟑(𝒊𝒙)]𝟎

𝟐 = 

=
𝒊

𝟐
𝐥𝐧(𝟐) (𝑳𝒊𝟐(−𝟐𝒊) − 𝑳𝒊𝟐(𝟐𝒊)) −

𝒊

𝟐
(𝑳𝒊𝟑(−𝟐𝒊) − 𝑳𝒊𝟑(𝟐𝒊)) 

𝑰𝟐 = ∫
𝐥𝐧(𝒙)𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒛 = ∑
(−𝟏)𝒏

𝟐𝒏 + 𝟏

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙)
𝟏

𝟎

𝒅𝒙 = 

= −∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

= −𝜷(𝟑) = −
𝝅𝟑

𝟑𝟐
 

𝜴𝟏 = 𝐥𝐧(𝟐) (𝑰𝟏 − 𝑰𝟐) = 

=
𝒊⁡𝐥𝐧𝟐(𝟐)

𝟐
(𝑳𝒊𝟐(−𝟐𝒊) − 𝑳𝒊𝟐(𝟐𝒊)) −

𝒊 𝐥𝐧(𝟐)

𝟐
(𝑳𝒊𝟑(−𝟐𝒊) − 𝑳𝒊𝟑(𝟐𝒊)) +

𝝅𝟑

𝟑𝟐
𝐥𝐧(𝟐) 

𝜴𝟐 = ∫ ∫
𝐥𝐧(𝟏 + 𝒚)𝐭𝐚𝐧−𝟏(𝟏 + 𝒙)

(𝟏 + 𝒚)(𝟏 + 𝒙)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 = 

= [
𝐥𝐧𝟐(𝟏 + 𝒚)

𝟐
] [𝟎; 𝟏]∫

𝐭𝐚𝐧−𝟏(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

=
𝐥𝐧𝟐(𝟐)

𝟐
∫
𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟐

𝟏

𝒅𝒙 = 

=
𝐥𝐧𝟐(𝟐)

𝟐
(∫

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙
𝒅𝒙

𝟐

𝟎

−∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙) = 

=
𝒊⁡𝐥𝐧𝟐(𝟐)

𝟒
(𝑳𝒊𝟐(−𝟐𝒊) − 𝑳𝒊𝟐(𝟐𝒊)) −

𝐥𝐧𝟐(𝟐)

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
𝒏≥𝟎

= 

= 𝒊
𝐥𝐧𝟐(𝟐)

𝟒
(𝐋𝐢𝟐(−𝟐𝐢) − 𝐋𝐢𝟐(𝟐𝐢)) −

𝐥𝐧𝟐(𝟐)

𝟐
𝐆 

∫ ∫
𝐥𝐧(𝟏 + 𝒙 + 𝒚 + 𝒙𝒚) 𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝟏 + 𝐱)

(𝟏 + 𝐱)(𝟏 + 𝒚)

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝜴𝟏 + 𝜴𝟐 = 

= 𝟑𝒊
𝐥𝐧𝟐(𝟐)

𝟐
(𝑳𝒊𝟐(−𝟐𝒊) − 𝑳𝒊𝟐(𝟐𝒊)) −

𝒊 𝐥𝐧(𝟐)

𝟐
(𝑳𝒊𝟑(−𝟐𝒊) − 𝑳𝒊𝟑(𝟐𝒊)) +

𝝅𝟑

𝟑𝟐
𝐥𝐧(𝟐) −

𝐥𝐧𝟐(𝟐)

𝟐
𝐆 

2425. Find a closed form: 
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𝛀 = ∫ ∫
√𝒙𝐥𝐧(𝒙) + 𝒚 𝐥𝐧(𝐚𝐫𝐜𝐜𝐨𝐬𝟐(𝟏 − 𝒚))

(𝟏 + 𝒙)𝟐

∞

𝟏

𝒅𝒙𝒅𝒚
𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫
√𝒙 𝐥𝐧(𝒙)

(𝟏 + 𝒙)𝟐

∞

𝟏

𝟏

𝟎

𝒅𝒙𝒅𝒚 + ∫ ∫
𝒚 𝐥𝐧 (𝐚𝐫𝐜𝐜𝐨𝐬𝟐(𝟏 − 𝐲))

(𝟏 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

∞

𝟏

𝟏

𝟎

= 𝜴𝟏 + 𝜴𝟐 

 

𝜴𝟏 = ∫ ∫
√𝒙 𝐥𝐧(𝒙)

(𝟏 + 𝒙)𝟐

∞

𝟏

𝟏

𝟎

𝒅𝒙𝒅𝒚, 𝒔𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒐𝒏 {
𝟏

𝒙
= 𝒕, 𝒅𝒕 = −𝒕𝟐𝒅𝒙, 𝒕[𝟎; 𝟏]} 

 

𝜴𝟏 = −∫
𝐥𝐧(𝒙)

√𝒙(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = ∑𝒏(−𝟏)𝒏∫ 𝒙𝒏−
𝟑
𝟐 𝐥𝐧(𝒙)

𝟏

𝟎

𝒅𝒙 =

∞

𝒏=𝟏

− 𝟒∑
(−𝟏)𝒏𝒏

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

= 

= −𝟐(∑
(−𝟏)𝒏

(𝟐𝒏 − 𝟏)

∞

𝒏=𝟏

+∑
(−𝟏)𝒏

(𝟐𝒏 − 𝟏)𝟐

∞

𝒏=𝟏

) = −𝟐(−𝑮−
𝝅

𝟒
) = 𝟐𝑮 +

𝝅

𝟐
 

 

𝜴𝟐 = ∫ ∫
𝒚 𝐥𝐧 (𝐚𝐫𝐜𝐜𝐨𝐬𝟐(𝟏 − 𝒚))

(𝟏 + 𝒙)𝟐

∞

𝟏

𝟏

𝟎

𝒅𝒙𝒅𝒚 = −[
𝟏

𝟏 + 𝒙
]𝟏
∞∫ 𝒚 𝐥𝐧 (𝐚𝐫𝐜𝐜𝐨𝐬𝟐(𝟏 − 𝒚)) 𝒅𝒚

𝟏

𝟎

= 

= ∫ 𝐥𝐧(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚
𝟏

𝟎

− ∫ 𝒚 𝐥𝐧 (𝐚𝐫𝐜𝐜𝐨𝐬𝟐(𝒚))
𝟏

𝟎

𝒅𝒚 = 𝑰 − 𝑱 

 

𝑰 = ∫ 𝐥𝐧(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚
𝟏

𝟎

, {𝐜𝐨𝐬−𝟏(𝒚) = 𝒕, 𝒅𝒕 = −
𝒅𝒚

√𝟏 − 𝒚𝟐
= −

𝒅𝒚

𝐬𝐢𝐧(𝒕)
, 𝒕 [𝟎;

𝝅

𝟐
]} 

𝑰 = ∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧(𝒕) 𝒅𝒕

𝝅
𝟐

𝟎

= [− 𝐥𝐧(𝐭) 𝐜𝐨𝐬(𝐭)]𝟎

𝛑
𝟐 +∫

𝐜𝐨𝐬(𝒕) − 𝟏 + 𝟏

𝒕
𝒅𝒕 =

𝛑
𝟐

𝟎

𝑪𝒊 (
𝝅

𝟐
) − 𝜸 

 

𝑱 = ∫ 𝒚 𝐥𝐧(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚
𝟏

𝟎

= ∫ 𝐬𝐢𝐧(𝒕) 𝐜𝐨𝐬(𝒕) 𝐥𝐧(𝒕) 𝒅𝒕

𝝅
𝟐

𝟎

=
𝟏

𝟐
∫ 𝐬𝐢𝐧(𝟐𝒕) 𝐥𝐧(𝒕) 𝒅𝒕

𝝅
𝟐

𝟎

= 

=
𝟏

𝟐
[−
𝐥𝐧(𝒕) 𝐜𝐨𝐬(𝟐𝒕)

𝟐
]𝟎

𝝅
𝟐 +

𝟏

𝟒
∫

𝐜𝐨𝐬(𝟐𝒕) − 𝟏

𝒕
{𝟐𝒕 → 𝒕}

𝝅
𝟐

𝟎

𝒅𝒕 +
𝟏

𝟒
∫

𝟏

𝒕
𝒅𝒕

𝝅
𝟐

𝟎

= 

=
𝟏

𝟒
(𝐥𝐧 (

𝝅

𝟐
) + 𝐥𝐧(𝟎)) +

𝟏

𝟒
(𝑪𝒊(𝝅) − 𝜸 − 𝐥𝐧(𝝅)) +

𝟏

𝟒
𝐥𝐧 (

𝝅

𝟐
) −

𝟏

𝟒
𝐥𝐧(𝟎) = 

=
𝟏

𝟐
𝐥𝐧 (

𝝅

𝟐
) +

𝟏

𝟒
𝑪𝒊(𝝅) −

𝜸

𝟒
−
𝐥𝐧(𝝅)

𝟒
=
𝟏

𝟒
𝑪𝒊 (

𝝅

𝟐
) −

𝟏

𝟒
𝐥𝐧 (

𝟒

𝝅
) −

𝜸

𝟒
 

𝜴𝟐 = 𝑰 − 𝑱 = 𝑪𝒊 (
𝝅

𝟐
) − 𝜸 −

𝟏

𝟒
𝑪𝒊(𝝅) +

𝟏

𝟒
𝐥𝐧 (

𝟒

𝝅
) +

𝜸

𝟒
= 𝑪𝒊 (

𝝅

𝟐
) −

𝟏

𝟒
𝑪𝒊(𝝅) −

𝟑𝜸

𝟒
+
𝟏

𝟒
𝐥𝐧 (

𝟒

𝝅
) 
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∫ ∫
√𝒙𝐥𝐧(𝒙) + 𝒚⁡𝐥𝐧 (𝐚𝐫𝐜𝐜𝐨𝐬𝟐(𝟏 − 𝒚))

(𝟏 + 𝒙)𝟐

∞

𝟏

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝜴𝟏 + 𝜴𝟐 = 

= 𝟐𝑮 +
𝝅

𝟐
+ 𝑪𝒊 (

𝝅

𝟐
) −

𝟏

𝟒
𝑪𝒊(𝝅) −

𝟑𝜸

𝟒
+
𝟏

𝟒
𝐥𝐧 (

𝟒

𝝅
) 

𝒏𝒐𝒕𝒆⁡ {𝒄𝒐𝒔𝒊𝒏𝒆⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍:⁡𝑪𝒊(𝒙) = 𝜸 + 𝐥𝐧(𝒙) + ∫
𝐜𝐨𝐬(𝒛) − 𝟏

𝒛
𝒅𝒛

𝒙

𝟎

} 

Solution 2 by Exodo Halcalias-Angola 

𝑯 = ∫
√𝒙𝐥𝐧⁡(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

∞

𝟏

+⁡∫ 𝒚𝒍𝒏(𝐚𝐫𝐜𝐜𝐨𝐬(𝟏 − 𝒚))𝟐𝒅𝒚
𝟏

𝟎

 

𝑯𝟏 = ∫
√𝒙𝐥𝐧⁡(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

∞

𝟏

=⏞
𝒙→𝟏/𝒙

∫
𝐥𝐧⁡(
𝟏
𝒙
)

√𝒙(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 =⏞
𝑰𝑩𝑷

∫
𝐚𝐫𝐜𝐭𝐚𝐧⁡(√𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

+∫
√𝒙

(𝟏 + 𝒙)𝒙
𝒅𝒙

𝟏

𝟎

= 

𝟐∫
𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

+ 𝟏∫
𝟏

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

= 𝟐𝑮 +
𝝅

𝟐
 

𝑯𝟐 = ∫ 𝒚𝒍𝒏(𝐚𝐫𝐜𝐜𝐨𝐬(𝟏 − 𝒚))𝟐𝒅𝒚
𝟏

𝟎

= 𝟐∫ 𝒚𝒍𝒏(𝐚𝐫𝐜𝐜𝐨𝐬(𝟏 − 𝒚))𝒅𝒚
𝟏

𝟎

=⏞
𝟏−𝒚→𝒚

 

𝟐(∫ 𝐥𝐧(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚 − ∫ 𝒚𝒍𝒏(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚⁡
𝟏

𝟎

)
𝟏

𝟎

 

𝑬𝟏 = ∫ 𝐥𝐧(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚 =⏞
𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)→𝒚𝟏

𝟎

∫ 𝐬𝐢𝐧(𝒚) 𝐥𝐧(𝒚)𝒅𝒚

𝝅
𝟐

𝟎

=⏞
𝑰𝑩𝑷

[𝐥𝐧(𝒙) (𝟏 − 𝐜𝐨𝐬(𝒚))]

𝝅
𝟐
𝟎
+ 

∫
𝐜𝐨𝐬(𝒚) − 𝟏

𝒚

𝝅
𝟐

𝟎

𝒅𝒚 = 𝐥𝐧 (
𝝅

𝟐
) + ∫

𝐜𝐨𝐬(𝒚) − 𝟏

𝒚
𝒅𝒚

𝝅
𝟐

𝟎

,

𝑪𝒊(𝒛) − ᵧ = 𝐥𝐧(𝒛) + ∫
𝐜𝐨𝐬(𝒚) − 𝟏

𝒚
𝒅𝒚

𝒛

𝟎

, 𝑬𝟏 = 𝑪𝒊(
𝝅

𝟐
) − ᵧ 

𝑬𝟐 = ∫ 𝒚𝒍𝒏(𝐚𝐫𝐜𝐜𝐨𝐬(𝒚))𝒅𝒚⁡ =⏞
𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)→𝒚𝟏

𝟎

∫ 𝐥𝐧(𝒚)𝒔𝒊𝒏

𝝅
𝟐

𝟎

(𝒚)𝐜𝐨𝐬(𝒚)𝒅𝒚 =
𝟏

𝟐
∫ 𝐥𝐧(𝒚)𝐬𝐢𝐧(𝟐𝒚)𝒅𝒚

𝝅
𝟐

𝟎

 

 

=⏞
𝟐𝒚→𝒚𝟏

𝟒
∫ 𝐥𝐧⁡(𝒚/𝟐
𝝅

𝟎

) 𝐬𝐢𝐧(𝒚) 𝒅𝒚 =
𝟏

𝟒
∫ 𝐥𝐧⁡(𝒚)
𝝅

𝟎

𝐬𝐢𝐧(𝒚)𝒅𝒚 −
𝟏

𝟒
𝐥𝐧(𝟐)∫ 𝐬𝐢𝐧(𝒚) 𝒅𝒚

𝝅

𝟎

=⏞
𝑰𝑩𝑷

 

𝟏

𝟒
{[𝐥𝐧⁡(𝒚)(𝟏 − 𝐜𝐨𝐬(𝒚))]

𝝅

𝟎
+ ∫

𝐜𝐨𝐬(𝒚) − 𝟏

𝒚
𝒅𝒚

𝝅

𝟎

} −
𝟐

𝟒
𝐥𝐧(𝟐) = 

𝑹𝒆𝒄𝒂𝒍𝒍𝒊𝒏𝒈⁡⁡𝒕𝒉𝒂𝒕:⁡⁡𝑪𝒊(𝒛) − ᵧ = 𝐥𝐧(𝒛) + ∫
𝐜𝐨𝐬(𝒚) − 𝟏

𝒚
𝒅𝒚

𝒛

𝟎

 

𝑬𝟐 =
𝟏

𝟒
(𝑪𝒊(𝝅) − ᵧ + 𝐥𝐧(𝝅) − 𝐥𝐧(𝟒)) =

𝟏

𝟒
(𝑪𝒊(𝝅) − ᵧ + 𝐥𝐧⁡(

𝝅

𝟒
) 

𝑯𝟐 = 𝟐(𝑬𝟏 − 𝑬𝟐) = 𝟐𝑪𝒊 (
𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
−
𝟑

𝟐
ᵧ −

𝟏

𝟐
𝐥𝐧⁡(
𝝅

𝟒
) 

𝑯 = 𝑯𝟏 +𝑯𝟐 = 𝟐𝑮 + 𝟐𝑪𝒊 (
𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
−
𝟑

𝟐
ᵧ +

𝟏

𝟐
𝐥𝐧 (

𝟒

𝝅
) +

𝝅

𝟐
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∫ ∫
√𝒙 𝐥𝐧(𝒙) + 𝒚𝒍𝒏(𝐚𝐫𝐜𝐜𝐨𝐬(𝟏 − 𝒚))𝟐

(𝟏 + 𝒙)𝟐
𝒅𝒙𝒅𝒚

∞

𝟏

𝟏

𝟎

= 𝟐𝑮 + 𝟐𝑪𝒊 (
𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+
𝟏

𝟐
(𝝅 − 𝟑ᵧ + 𝐥𝐧 (

𝟒

𝝅
)) 

2426. Find a closed form: 

Ω = ∫ 𝑳𝒊𝟐(−𝒙
𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝒅𝒙

𝟏

𝟎

 

Proposed by Abbaszade Yusif-Azerbaijan 
Solution by proposer 

𝑳𝒊𝟐(−𝒙
𝟐) = −∫

𝐥𝐧(𝟏 + 𝒙𝟐𝒚)

𝒚
𝒅𝒚⁡⁡ =>⁡

𝟏

𝟎

Ω = −∫ ∫
𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙𝟐𝒚)

𝒚

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲 

{
 

 𝒖 = 𝐥𝐧(𝟏 + 𝒙𝟐𝒚)⁡ ⁡⁡⁡𝒅𝒖 =
𝟐𝒙𝒚

𝟏 + 𝒙𝟐𝒚

𝒅𝒗 = 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) ⁡⁡⁡𝒗 = 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) −
𝟏

𝟐
𝐥𝐧(𝟏 + 𝒙𝟐)⁡⁡

 

 

Ω = −∫
𝟏

𝐲
[𝐥𝐧(𝟏 + 𝒚) (

𝝅

𝟒
−
𝟏

𝟐
𝐥𝐧(𝟐)) − ∫

𝟐𝒙𝟐𝒚𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟏 + 𝒙𝟐𝒚
𝒅𝒙 + ∫

𝒙𝒚 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐𝒚
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

⁡] 𝒅𝒚
𝟏

𝟎

 

 

Ω = −
𝝅

𝟒
∫
𝐥𝐧(𝟏 + 𝒚)

𝒚
𝒅𝒚

𝟏

𝟎

+
𝐥𝐧(𝟐)

𝟐
∫
𝐥𝐧(𝟏 + 𝒚)

𝒚
𝒅𝒚 + 𝟐∫ ∫

𝒙𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟏 + 𝒙𝟐𝒚⁡
𝒅𝒙𝒅𝒚−∫ ∫

𝒙 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐𝒚
𝒅𝒙𝒅𝒚 =⁡

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

 

= −
𝝅𝟑

𝟒𝟖
+
𝝅𝟐 𝐥𝐧(𝟐)

𝟐𝟒
+ 𝟐∫ 𝐥𝐧(𝟏 + 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)𝒅𝒙⁡

𝟏

𝟎

–∫
𝐥𝐧𝟐(𝟏 + 𝒙𝟐)

𝒙
𝒅𝒙

𝟏

𝟎

= −
𝝅𝟑

𝟒𝟖
+
𝝅𝟐 𝐥𝐧(𝟐)

𝟐𝟒
−
𝜻(𝟑)

𝟖
+ Ω𝟏 ,⁡⁡ 

Ω𝟏 = 𝟐∫ 𝐥𝐧(𝟏 + 𝒙𝟐) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) 𝒅𝒙
𝟏

𝟎

= 𝟐[𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) (𝒙 𝐥𝐧(𝟏 + 𝒙𝟐) + 𝟐𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝟐𝒙)]𝟎
𝟏

− 𝟐∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐) + 𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝟐𝒙⁡

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

 

Ω𝟏 =
𝛑

𝟐
(𝐥𝐧(𝟐) +

𝛑

𝟐
− 𝟐) − 𝟐∫

𝐱𝐥𝐧(𝟏 + 𝐱𝟐)

𝟏 + 𝒙𝟐
𝒅𝒙 − 𝟒∫

𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 + 𝟒∫

𝒙

𝟏 + 𝒙𝟐
𝒅𝒙⁡

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

Ω𝟏 =
𝝅 𝐥𝐧(𝟐)

𝟐
+
𝝅𝟐

𝟒
− 𝝅 −

𝐥𝐧𝟐(𝟐)

𝟐
−
𝝅𝟐

𝟖
+ 𝟐 𝐥𝐧(𝟐) 

Ω = −
𝝅𝟑

𝟒𝟖
+
𝝅𝟐 𝐥𝐧(𝟐)

𝟐𝟒
−
𝜻(𝟑)

𝟖
+
𝝅 𝐥𝐧(𝟐)

𝟐
+
𝝅𝟐

𝟒
− 𝝅 −

𝐥𝐧𝟐(𝟐)

𝟐
−
𝝅𝟐

𝟖
+ 𝟐 𝐥𝐧(𝟐) 
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Ω = −
𝝅𝟑

𝟒𝟖
+
𝝅𝟐 𝐥𝐧(𝟐)

𝟐𝟒
−
𝜻(𝟑)

𝟖
+
𝝅 𝐥𝐧(𝟐)

𝟐
− 𝝅 −

𝐥𝐧𝟐(𝟐)

𝟐
+
𝝅𝟐

𝟖
+ 𝟐 𝐥𝐧(𝟐) 

 
2427. Prove that: 

𝐈 = ∫ 𝐥𝐨𝐠√𝟏 + 𝐬𝐢𝐧(𝐱) + 𝐜𝐨𝐬(𝐱)

𝛑
𝟐

𝟎

𝐝𝐱 = 𝐆−
𝛑

𝟖
𝐥𝐨𝐠(𝟐) 

Proposed by Ankush Kumar Parcha-India 
Solution by Togrul Ehmedov-Azerbaijan 
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𝐈 = ∫ 𝐥𝐨𝐠√𝟏+ 𝐬𝐢𝐧(𝐱) + 𝐜𝐨𝐬(𝐱)

𝛑
𝟐

𝟎

𝐝𝐱

= ∫ 𝐥𝐨𝐠√𝐬𝐢𝐧𝟐 (
𝐱

𝟐
)+ 𝐜𝐨𝐬𝟐 (

𝐱

𝟐
)+ 𝟐𝐬𝐢𝐧 (

𝐱

𝟐
)𝐜𝐨𝐬(

𝐱

𝟐
)+ 𝐜𝐨𝐬𝟐 (

𝐱

𝟐
)− 𝐬𝐢𝐧𝟐 (

𝐱

𝟐
)

𝛑
𝟐

𝟎

𝐝𝐱

= ∫ 𝐥𝐨𝐠√(𝐬𝐢𝐧(
𝐱

𝟐
)+ 𝐜𝐨𝐬 (

𝐱

𝟐
))
𝟐

+ 𝐜𝐨𝐬𝟐 (
𝐱

𝟐
)− 𝐬𝐢𝐧𝟐 (

𝐱

𝟐
)

𝛑
𝟐

𝟎

𝐝𝐱

= ∫ 𝐥𝐨𝐠√𝟐(𝐬𝐢𝐧 (
𝐱

𝟐
)+ 𝐜𝐨𝐬 (

𝐱

𝟐
))𝐜𝐨𝐬(

𝐱

𝟐
)

𝛑
𝟐

𝟎

𝐝𝐱

= ∫ 𝐥𝐨𝐠√𝟐√𝟐𝐬𝐢𝐧(
𝛑

𝟒
+
𝐱

𝟐
)𝐜𝐨𝐬(

𝐱

𝟐
)

𝛑
𝟐

𝟎

𝐝𝐱 =
𝟏

𝟐
∫ 𝐥𝐨𝐠(𝟐√𝟐𝐬𝐢𝐧(

𝛑

𝟒
+
𝐱

𝟐
)𝐜𝐨𝐬(

𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱

=
𝟏

𝟐

{
 

 

∫ 𝐥𝐨𝐠(𝟐√𝟐)

𝛑
𝟐

𝟎

𝐝𝐱 +∫ 𝐥𝐨𝐠(𝐬𝐢𝐧 (
𝛑

𝟒
+
𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱 +∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(
𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱

}
 

 

=
𝟏

𝟐

{
 

 
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) +∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(

𝛑

𝟐
−
𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱 +∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(
𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱

}
 

 

=
𝟏

𝟐

{
 

 
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) + 𝟐∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(

𝐱

𝟐
))

𝛑
𝟐

𝟎

𝐝𝐱

}
 

 

=
𝟏

𝟐

{
 

 
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐) + 𝟒∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐱))

𝛑
𝟒

𝟎

𝐝𝐱

}
 

 

=
𝟏

𝟐
{
𝟑𝛑

𝟒
𝐥𝐨𝐠(𝟐)+ 𝟒{

𝟏

𝟐
𝐆 −

𝛑

𝟒
𝐥𝐨𝐠(𝟐)}}

= 𝐆 −
𝛑

𝟖
𝐥𝐨𝐠(𝟐) ⁡𝐍𝐨𝐭𝐞:∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐱))

𝛑
𝟒

𝟎

𝐝𝐱 =
𝟏

𝟐
𝐆 −

𝛑

𝟒
𝐥𝐨𝐠(𝟐) 

2428. Prove that 

𝐈 = ∫∫ 𝐥𝐨𝐠(
𝐬𝐢𝐧(𝐱)

𝐜𝐨𝐬(𝐲)
+
𝐜𝐨𝐬(𝐱)

𝐬𝐢𝐧(𝐲)
)

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 =
𝟕

𝟖
Ϛ(𝟑) +

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) 

Proposed by Ankush Kumar Parcha-India 
Solution by Togrul Ehmedov-Azerbaijan 
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𝐈 = ∫∫ 𝐥𝐨𝐠 (
𝐬𝐢𝐧(𝐱)

𝐜𝐨𝐬(𝐲)
+
𝐜𝐨𝐬(𝐱)

𝐬𝐢𝐧(𝐲)
)

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 = ∫∫𝐥𝐨𝐠(
𝟐𝐜𝐨𝐬⁡(𝐱− 𝐲)

𝐬𝐢𝐧(𝟐𝐲)
)

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 = ∫∫𝐥𝐨𝐠(𝟐)

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 + 

+∫∫𝐥𝐨𝐠(𝐜𝐨𝐬(𝐱 − 𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 − ∫∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝟐𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 =
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) + 𝐈𝟏 − 𝐈𝟐 

𝐈𝟏 = ∫∫𝐥𝐨𝐠(𝐜𝐨𝐬(𝐱 − 𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲

]
 
 
 

𝐱−𝐲=𝐦

= ∫ ∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐦))

𝛑
𝟐
−𝐲

−𝐲

𝐝𝐦

𝛑
𝟐

𝟎

𝐝𝐲
𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=
𝐲 ∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐦))

𝛑
𝟐
−𝐲

−𝐲

𝐝𝐦

]
 
 
 

𝐲=𝟎

𝐲=
𝛑
𝟐

+∫𝐲𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 − ∫𝐲 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 = 

=
𝛑

𝟐
∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐦))

𝟎

−
𝛑
𝟐

𝐝𝐦+∫𝐲 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 −∫ 𝐲𝐥𝐨𝐠(𝐜𝐨𝐬(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 = 

=
𝛑

𝟐
∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐦))

𝛑
𝟐

𝟎

𝐝𝐦+∫𝐲 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 − ∫(
𝛑

𝟐
− 𝐲)𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 = 

=
𝛑

𝟐
∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐦))

𝛑
𝟐

𝟎

𝐝𝐦+∫𝐲𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 −
𝛑

𝟐
∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 + ∫𝐲 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 = 

= 𝟐∫ 𝐲𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 = 𝟐 {−
𝛑𝟐

𝟖
𝐥𝐨𝐠(𝟐)+

𝟕

𝟏𝟔
Ϛ(𝟑)} = −

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) +

𝟕

𝟖
Ϛ(𝟑) 

 

𝐈𝟐 = ∫∫𝐥𝐨𝐠(𝐬𝐢𝐧(𝟐𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 = ∫∫ 𝐥𝐨𝐠(𝟐)

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 + ∫∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 + 

+∫∫ 𝐥𝐨𝐠(𝐜𝐨𝐬(𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 =
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)+ 𝟐∫∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐱

𝛑
𝟐

𝟎

𝐝𝐲 =
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)+ 

+𝛑∫ 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 =
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) + 𝛑(−

𝛑

𝟐
𝐥𝐨𝐠(𝟐)) = −

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) 

𝐈 =
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)+ 𝐈𝟏 − 𝐈𝟐 =

𝟕

𝟖
Ϛ(𝟑)+

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) 
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𝐍𝐨𝐭𝐞:⁡∫𝐲 𝐥𝐨𝐠(𝐬𝐢𝐧(𝐲))

𝛑
𝟐

𝟎

𝐝𝐲 −
𝛑𝟐

𝟖
𝐥𝐨𝐠(𝟐) +

𝟕

𝟏𝟔
Ϛ(𝟑) 

 

2429. Prove that 

𝐈 = ∫
𝐥𝐨𝐠(𝟏 + 𝐱)

𝐱(𝟏 + 𝐱)𝟒

∞

𝟎

𝐝𝐱 = Ϛ(𝟐) −
𝟒𝟗

𝟑𝟔
 

Proposed by Vasile Mircea Popa-Romania 
Solution by Togrul Ehmedov-Azerbaijan 
 

I = ∫
𝐥𝐨𝐠(𝟏 + 𝐱)

𝐱(𝟏 + 𝐱)𝟒

∞

𝟎

𝐝𝐱]

𝟏+𝐱=𝐲

= ∫
𝐥𝐨𝐠(𝐲)

(𝐲 − 𝟏)𝐲𝟒

∞

𝟏

𝐝𝐲]
𝟏
𝐲=𝐳

= −∫
𝐳𝟑 𝐥𝐨𝐠(𝐳)

𝟏 − 𝐳

𝟏

𝟎

𝐝𝐳

= −∑∫𝐳𝐤+𝟑 𝐥𝐨𝐠(𝐳)

𝟏

𝟎

𝐝𝐳

∞

𝐤=𝟎

= 

= −∑ {−
𝟏

(𝐤 + 𝟒)𝟐
}

∞

𝐤=𝟎

= ∑
𝟏

(𝐤 + 𝟒)𝟐

∞

𝐤=𝟎

= ∑
𝟏

(𝐤 + 𝟏)𝟐

∞

𝐤=𝟎

− (
𝟏

𝟏𝟐
+
𝟏

𝟐𝟐
+
𝟏

𝟑𝟐
) = Ϛ(𝟐) −

𝟒𝟗

𝟑𝟔
 

𝐍𝐨𝐭𝐞: ∫𝐱𝐦 𝐥𝐨𝐠𝐧(𝐱)

𝟏

𝟎

𝐝𝐱 = (−𝟏)𝐧
𝐧!

(𝐦 + 𝟏)𝐧+𝟏
 

2430. Find a closed form: 
 

𝛀 = ∫ ∫
𝒚𝒙𝟐(𝐥𝐧(𝒙) + 𝟏)𝟐𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

(𝒙𝟐 + 𝟏)𝟐(𝒚𝟐 + 𝟏)
𝒅𝒙𝒅𝒚

∞

𝟏

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov, Abbaszade Yusif-Azerbaijan 

Solution 1 by Djamel Arrouche-Algeria 
 

∫
𝒙𝟐(𝐥𝐧(𝒙) + 𝟏)𝟐

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙⁡.⁡⁡ ∫

𝒚𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

(𝒚𝟐 + 𝟏)
𝒅𝒚 =

𝟏

𝟎

∫
(𝟏 − 𝐥𝐧(𝒙))𝟐

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙.∫

𝒍𝒏𝟐(𝟏 + 𝒕)

𝟏 + 𝒕
.
𝒅𝒕

𝟐
=

𝟏

𝟎

𝟏

𝟎

∞

𝟏

 

=
𝟏

𝟔
𝒍𝒏𝟑(𝟐).∫

(𝒍𝒏𝟐(𝒙) − 𝟐 𝐥𝐧(𝒙) + 𝟏)

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟔
𝒍𝒏𝟑(𝟐)⁡.⁡⁡Ω 

Ω = ∫
𝒍𝒏𝟐(𝒙)

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

− 𝟐∫
𝐥𝐧(𝒙)

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙 + ∫

𝒅𝒙

(𝒙𝟐 + 𝟏)𝟐

𝟏

𝟎

𝟏

𝟎
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∫
𝒅𝒙

(𝒙𝟐 + 𝟏)𝟐

𝟏

𝟎

= ∫
𝒅𝒚

𝟏 + 𝒕𝒂𝒏𝟐(𝒚)
=

𝝅
𝟒

𝟎

∫ 𝒄𝒐𝒔𝟐(𝒚)𝒅𝒚 =

𝝅
𝟒

𝟎

∫
𝟏 + 𝐜𝐨𝐬⁡(𝟐𝒚)

𝟐
𝒅𝒚 =

𝝅
𝟒

𝟎

𝝅

𝟖
+
𝟏

𝟒
 

𝟏

(𝒙𝟐 + 𝟏)𝟐
= ∑𝒏(−𝟏)𝒏−𝟏𝒙𝟐𝒏−𝟐

𝒏≥𝟏

 

−𝟐∫
𝐥𝐧(𝒙)

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

=∑𝒏(−𝟏)𝒏−𝟏∫ 𝒙𝟐𝒏−𝟐 𝐥𝐧(𝒙)𝒅𝒙 = −𝟐
𝟏

𝟎𝒏≥𝟏

∑𝒏(−𝟏)𝒏−𝟏 [−
𝟏

(𝟐𝒏 − 𝟏)𝟐
] =

𝒏≥𝟏

 

∑
𝒏(−𝟏)𝒏−𝟏(𝟐𝒏 − 𝟏 + 𝟏)

(𝟐𝒏 − 𝟏)𝟐
=

𝒏≥𝟏

∑
(−𝟏)𝒏−𝟏

(𝟐𝒏 − 𝟏)𝟐
+∑

(−𝟏)𝒏−𝟏

(𝟐𝒏 − 𝟏)𝟐
= 𝑮 +

𝝅

𝟒
𝒏≥𝟏𝒏≥𝟏

 

∫
𝒍𝒏𝟐(𝒙)

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙 = ∫ 𝒍𝒏𝟐(𝒙)∑𝒏(−𝟏)𝒏−𝟏𝒙𝟐𝒏−𝟐

𝒏≥𝟏

𝒅𝒙 =
𝟏

𝟎

𝟏

𝟎

∑𝒏(−𝟏)𝒏−𝟏.

𝒏≥𝟏

𝟏

(𝟐𝒏 − 𝟏)𝟑
= 

∑
(−𝟏)𝒏−𝟏

(𝟐𝒏 − 𝟏)𝟑
+∑

(−𝟏)𝒏−𝟏

(𝟐𝒏 − 𝟏)𝟐
= 𝑮 +

𝝅𝟑

𝟑𝟐
𝒏≥𝟏𝒏≥𝟏

 

Ω =
𝝅

𝟖
+
𝟏

𝟒
+ 𝑮 +

𝝅

𝟒
+ 𝑮+

𝝅𝟑

𝟑𝟐
=
𝟏

𝟑𝟐
(𝟔𝟒𝑮 + 𝝅𝟑 + 𝟏𝟐𝝅 + 𝟖) 

 

Solution 2 by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫
𝒙𝟐(𝐥𝐧(𝒙) + 𝟏)𝟐

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙

∞

𝟏⏟              
𝑨

. ∫
𝒚𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎⏟            
𝑩

 

𝑨 = ∫
𝒙𝟐(𝐥𝐧(𝒙) + 𝟏)𝟐

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙

∞

𝟏

=⏟

𝒅𝒙=−
𝒅𝒙
𝒙𝟐

⏞    

𝒙→
𝟏
𝒙

= ∫
[− 𝐥𝐧(𝒙) + 𝟏]𝟐

𝒙𝟐 (
𝒙𝟐 + 𝟏
𝒙𝟐

)
𝟐 ⁡
𝒅𝒙

𝒙𝟐

𝟏

𝟎

= ∫
[− 𝐥𝐧(𝒙) + 𝟏]𝟐

(𝒙𝟐 + 𝟏)𝟐
𝒅𝒙 =

𝟏

𝟎

 

[− 𝐥𝐧(𝒙) + 𝟏]𝟐 [
𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝒙)

𝟐
+

𝒙

𝟐(𝒙𝟐 + 𝟏)
]
𝟏

𝟎
+ ∫

𝒅𝒙

𝒙𝟐 + 𝟏

𝟏

𝟎

+∫
𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧(𝒙) 𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

 

𝑨 =
𝝅

𝟖
+
𝟏

𝟒
+∑(−𝟏)𝒏∫ 𝒙𝟐𝒏𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟎

+∑
(−𝟏)𝒏

𝟐𝒏 + 𝟏

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏−𝟏+𝟏𝒅𝒙
𝟏

𝟎

−∑(−𝟏)𝒏∫ 𝒙𝟐𝒏𝐥𝐧⁡(𝒙)𝒅𝒙
𝟏

𝟎

−

∞

𝒏=𝟎

 

∑
(−𝟏)𝒏

𝟐𝒏 + 𝟏

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏+𝟏−𝟏𝐥𝐧⁡(𝒙)𝒅𝒙
𝟏

𝟎

=
𝝅

𝟖
+
𝟏

𝟒
+∑

(−𝟏)𝒏

𝟐𝒏 + 𝟏
+

∞

𝒏=𝟎

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
+

∞

𝒏=𝟎

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
+

∞

𝒏=𝟎
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∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

= 𝟐𝑮 +
𝝅𝟑

𝟑𝟐
+
𝟑𝝅

𝟖
+
𝟏

𝟒
 

𝑩 = ∫
𝒚𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎

=⏞
𝑰𝑩𝑷𝟏

𝟐
𝒍𝒏𝟑(𝒚𝟐 + 𝟏)

𝟏

𝟎
− 𝟐∫

𝒚𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

(𝒚𝟐 + 𝟏)
𝒅𝒚

𝟏

𝟎⏟            
𝑩

 

𝑩 + 𝟐𝑩 =
𝟏

𝟐
𝒍𝒏𝟑(𝒚𝟐 + 𝟏)

𝟏

𝟎
⁡⁡,⁡⁡⁡𝟑𝑩 =

𝟏

𝟐
𝒍𝒏𝟑(𝟐)⁡⁡⁡𝑩 =

𝟏

𝟔
𝒍𝒏𝟑(𝟐)⁡⁡⁡𝑻𝒉𝒊𝒔⁡⁡⁡𝑰 = 𝑨⁡.⁡⁡𝑩 

𝑰 =
𝟏

𝟔
𝒍𝒏𝟑(𝟐)⁡(𝟐𝑮 +

𝝅𝟑

𝟑𝟐
+
𝟑𝝅

𝟖
+
𝟏

𝟒
) =

𝟏

𝟔
𝒍𝒏𝟑(𝟐)⁡.⁡⁡⁡

𝟏

𝟑𝟐
(𝟔𝟒𝑮 + 𝝅𝟑 + 𝟏𝟐𝝅 + 𝟖) = 

𝟏

𝟏𝟗𝟐
𝒍𝒏𝟑(𝟐)(𝟔𝟒𝑮 + 𝝅𝟑 + 𝟏𝟐𝝅 + 𝟖)⁡⁡⁡𝑵𝒐𝒕𝒆 ∶ 𝑮 → 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 … 

 

2431. Find a closed form: 

𝑰 = ∫ ∫
𝐥𝐧(𝒙𝒚)𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙

𝟏

𝟎

𝒅𝒚
𝟏

𝟎

 

Proposed by Abbaszade Yusif-Azerbaijan 
Solution 1 by Ankush Kumar Parcha-India 

𝑾𝒆⁡𝒌𝒏𝒐𝒘, ∫ ∫ 𝒇(𝒙𝒚)𝒅𝒙
𝟏

𝟎

𝟏

𝟎

𝒅𝒚 = −∫ 𝐥𝐧(𝒕)𝒇(𝒕)
𝟏

𝟎

𝒅𝒕 

𝑰 = ∫ ∫
𝐥𝐧(𝒙𝒚)𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙

𝟏

𝟎

𝒅𝒚 = −∫
𝐥𝐧𝟐(𝒙)𝐥𝐧(𝟏 + 𝟐𝒙)

𝒙

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 = 

=𝑰𝑩𝑷 [𝐥𝐧𝟐(𝐱)∫ 𝐝(𝐋𝐢𝟐(−𝟐𝐱))]𝟎
𝟏
− 𝟐∫

𝐥𝐧(𝒙)𝑳𝒊𝟐(−𝟐𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =𝑰𝑩𝑷− 𝟐[𝐥𝐧(𝒙)∫ 𝒅(𝑳𝒊𝟑(−𝟐𝒙))]𝟎
𝟏
 

+𝟐∫
𝑳𝒊𝟑(−𝟐𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = 𝟐∫ 𝒅(𝑳𝒊𝟒(−𝟐𝒙)𝒅𝒙
𝟏

𝟎

= 𝟐𝑳𝒊𝟒(−𝟐) 

𝑳𝒊𝟒(−𝒛) + 𝑳𝒊𝟒 (−
𝟏

𝒛
) = −

𝟕𝝅𝟒

𝟑𝟔𝟎
− 𝝅𝟐𝐥𝐧𝟐(𝐳) −

𝐥𝐧𝟒(𝐳)

𝟐𝟒
⁡ 

𝑰 = ∫ ∫
𝐥𝐧(𝒙𝒚)𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙

𝟏

𝟎

𝒅𝒚
𝟏

𝟎

= 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) −

𝟕𝝅𝟒

𝟑𝟔𝟎
−
𝝅𝟐𝐥𝐧𝟐(𝟐)

𝟏𝟐
−
𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

 

Solution 2 by Arowolo Isaiah-Nigeria 

𝑰 = −∫
𝐥𝐧𝟐(𝒙)𝐥𝐧(𝟏 + 𝟐𝒙)

𝒙

𝟏

𝟎

=𝑰𝑩𝑷− ([
𝐥𝐧𝟑(𝒙) 𝐥𝐧(𝟏 + 𝟐𝐱)

𝟑
]
𝟎

𝟏

−
𝟐

𝟑
∫

𝐥𝐧𝟑(𝒙)

𝟏 + 𝟐𝒙

𝟏

𝟎

𝐝𝐱) 
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𝑰 =
𝟐

𝟑
∫
𝐥𝐧𝟑(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =
𝟐

𝟑
(∑(−𝟐)𝒏∫ 𝒙𝟑𝒏𝐥𝐧𝟑(𝒙)

𝟏

𝟎

𝐝𝐱)

∞

𝒏=𝟎

=⁡−
𝟏

𝟑
(∑(−𝟐)𝒏∫ 𝒙𝒏−𝟏𝐥𝐧𝟑(𝒙)

𝟏

𝟎

𝒅𝒙)⁡

∞

𝒏=𝟏

 

𝑰 = −
𝟏

𝟑
∑(−𝟐)𝒏 ⁡(

𝒅𝟑

𝒅𝒏𝟑
(
𝟏

𝒏
))

∞

𝒏=𝟏

= 𝟐∑
(−𝟐)𝒏

𝒏𝟒

∞

𝒏=𝟏

= 𝟐𝑳𝒊𝟒(−𝟐) = 𝑳𝒊𝟒(−𝟐) + 𝑳𝒊𝟒(−𝟐) 

𝑰 = 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) + 𝐥𝐧𝟐(𝟐)𝐋𝐢𝟐(−𝟏) + 𝟐𝐋𝐢𝟒(−𝟏) −

𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

𝑰 = 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) + 𝐥𝐧𝟐(𝟐) (−

𝟏

𝟐
𝛇(𝟐)) + 𝟐(−

𝟕

𝟖
𝛇(𝟒)) −

𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

𝑰 = 𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒 (−
𝟏

𝟐
) −

𝝅𝟐𝐥𝐧𝟐(𝟐)

𝟏𝟐
−
𝟕𝝅𝟒

𝟑𝟔𝟎
−
𝐥𝐧𝟒(𝟐)

𝟐𝟒
 

2432. Find a closed form: 

𝐈 = ∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)𝟐(𝒙 + 𝟑)𝟑
𝒅𝒙⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡

∞

𝟎

 

 
Proposed by Ankush Kumar Parcha-India 

Solution by Alireza Askari-Iran 
 

𝐈 = ∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)𝟐

∞

𝟎

𝒅𝒙 −
𝟓

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟑)𝟐
𝒅𝒙 +

𝟗

𝟒

∞

𝟎

∫
𝒙𝒍𝒏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)

∞

𝟎

𝒅𝒙

+
𝟏𝟎

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)

∞

𝟎

𝒅𝒙 = ⁡𝑨 + 𝑩 + 𝑪 + 𝑫+𝑾⁡⁡⁡⁡⁡⁡ 

-------------------------------------------------------------------------------------------------------------------

----------------------- 

𝑾+ 𝑫 =
𝟗

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)𝒙

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)
𝒅𝒙

∞

𝟎

+
𝟏𝟎

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒙 + 𝟐)(𝒙 + 𝟑)
𝒅𝒙 =⏟

𝒙+𝟐→𝒙

− 𝟐∫
𝐥𝐧(𝒙 − 𝟏)

𝒙(𝒙𝟐 − 𝟏)

∞

𝟐

∞

𝟎

𝒅𝒙

+
𝟗

𝟒
∫

𝐥𝐧(𝒙 − 𝟏)

𝒙𝟐 − 𝟏

∞

𝟐

𝒅𝒙 = 

 

𝐱 →
𝟏

𝒙
= −𝟐∫

𝒙𝒍𝒏(𝟏 − 𝒙)

𝟏 − 𝒙𝟐

𝟏
𝟐

𝟎

𝒅𝒙 +
𝟗

𝟒
∫
𝐥𝐧(𝟏 − 𝒙)

𝟏 − 𝒙𝟐

𝟏
𝟐

𝟎

𝒅𝒙 +
𝟗

𝟒
∫
(𝒙 − 𝟏)𝒍𝒏(𝒙)

𝟏 − 𝒙𝟐

𝟏
𝟐

𝟎

𝒅𝒙

−
𝟏

𝟒
∫
⁡𝒙⁡𝐥𝐧(𝒙)

𝟏 − 𝒙𝟐

𝟏
𝟐

𝟎

𝒅𝒙 = 𝚽 + 𝚼 +𝚿+ 𝚲 = 𝑾+ 𝑫 
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𝚽 = −𝟐∫
𝒙𝒍𝒏(𝟏 − 𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙 =⏟

𝑰𝑩𝑷

𝟏
𝟐

𝟎

− 𝟐 𝐥𝐧(𝟐) 𝐥𝐧 (
𝟑

𝟒
) + ∫

𝐥𝐧(𝟏 − 𝒙𝟐)

𝟏 − 𝒙
𝒅𝒙 = −𝟐 𝐥𝐧(𝟐) 𝐥𝐧 (

𝟑

𝟒
)

𝟏
𝟐

𝟎

+∫
𝐥𝐧(𝟏 − 𝒙)

𝟏 − 𝒙
𝒅𝒙 + ∫

𝐥𝐧(𝟏 + 𝒙)

𝟏 − 𝒙

𝟏
𝟐

𝟎

𝟏
𝟐

𝟎

𝒅𝒙 = −𝟐 𝐥𝐧(𝟐) 𝐥𝐧 (
𝟑

𝟒
) −

𝐥𝐧(𝟐)𝟐

𝟐
+ 𝑷 → 

 

𝑷 = ∫
𝒍𝒏(𝟏 + 𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏/𝟐

𝟎

=⏟
𝟏−𝒙→𝒙

∫
𝐥𝐧⁡(𝟐 − 𝒙)

𝒙

𝟏

𝟏/𝟐

𝒅𝒙 = 𝐥𝐧(𝟐)∫
𝐥𝐧 (𝟏 −

𝒙
𝟐
)

𝒙

𝟏

𝟏
𝟐

𝒅𝒙

= (𝐥𝐧(𝟐))𝟐 −∑
𝟏

𝒏𝟐𝒏

∞

𝒏=𝟏

∫ 𝒙𝒏−𝟏
𝟏

𝟏
𝟐

𝒅𝒙 = 𝐥𝐧(𝟐))𝟐 −∑
(
𝟏
𝟐
)
𝒏

𝒏𝟐
+∑

(
𝟏
𝟒
)
𝒏

𝒏𝟐

∞

𝒏=𝟏

∞

𝒏=𝟏

= 

=(𝐥𝐧𝟐)𝟐 − 𝑳𝒊𝟐 (
𝟏

𝟐
) + 𝑳𝒊𝟐 (

𝟏

𝟒
) → ⁡𝚽 = − 𝐥𝐧(𝟐) 𝐥𝐧(𝟑) + 𝟑 𝐥𝐧(𝟐)𝟐 + 𝑳𝒊𝟐 (

𝟏

𝟒
) −

𝝅𝟐

𝟏𝟐
⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝒏𝒐𝒕𝒆: 𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−
(𝒍𝒏𝟐)𝟐

𝟐
 

 

𝚼 =
𝟗

𝟒
∫

𝐥𝐧⁡(𝟏 − 𝒙)

𝟏 − 𝒙𝟐

𝟏/𝟐

𝟎

𝒅𝒙

=
𝟗

𝟖
∫

𝐥𝐧⁡(𝟏− 𝒙)

𝟏 − 𝒙
𝒅𝒙+

𝟗

𝟖
∫

𝐥𝐧⁡(𝟏− 𝒙)

𝟏 + 𝒙

𝟏/𝟐

𝟎

𝒅𝒙 =⁡
𝟏/𝟐

𝟎

−
𝟗

𝟏𝟔
(𝒍𝒏𝟐)𝟐 +

𝟗 𝐥𝐧(𝟐)

𝟑𝟐
∑

(
𝟏
𝟒
)
𝒏

𝒏 +𝟏

∞

𝒏=𝟎

−
𝟗

𝟏𝟔
∑

(𝟏− (
𝟏
𝟐
)
𝒏+𝟏

)

𝟐𝒏(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

 

→ ⁡⁡⁡𝚼 =
𝟗

𝟖
𝐥𝐧(𝟐) 𝐥𝐧(𝟑) +

𝟗

𝟒
(𝒍𝒏𝟐)𝟐 −

𝟗𝝅𝟐

𝟗𝟔
+
𝟗

𝟖
𝑳𝒊𝟐(

𝟏

𝟒
) 

𝚲 =
−𝟏

𝟒
∫
𝒙𝒍𝒏(𝒙)

𝟏 − 𝒙𝟐

𝟏
𝟐

𝟎

𝒅𝒙

=
−𝟏

𝟒
∑∫ 𝒙𝟐𝒏+𝟏 𝐥𝐧(𝒙) 𝒅𝒙 =⏟

𝑰𝑩𝑷

⁡

𝟏
𝟐

𝟎

∞

𝒏=𝟎

𝐥𝐧(𝟐)

𝟖
∑

𝟏

𝟒𝒏+𝟏(𝒏 + 𝟏)

∞

𝒏=𝟎

+
𝟏

𝟒
∑

𝟏

𝟐𝒏 + 𝟐

∞

𝒏=𝟎

∫ 𝒙𝟐𝒏+𝟏𝒅𝒙 =
𝟏

𝟏𝟔

𝟏
𝟐

𝟎

∑
𝟐𝒍𝒏𝟐(𝒏 + 𝟏) + 𝟏

𝟒𝒏+𝟏(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

= 

𝚲 =
− 𝐥𝐧(𝟐) 𝐥𝐧⁡(𝟑)

𝟖
+
(𝐥𝐧𝟐)𝟐

𝟒
+
𝟏

𝟏𝟔
𝑳𝒊𝟐(

𝟏

𝟒
) 
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𝚿 =
𝟗

𝟒
∫

(𝒙 − 𝟏)𝐥𝐧⁡(𝒙)

𝟏 − 𝒙𝟐

𝟏/𝟐

𝟎

𝒅𝒙

=
−𝟗

𝟒
∫

𝐥𝐧⁡(𝒙)

𝒙 + 𝟏

𝟏/𝟐

𝟎

𝒅𝒙 =⏟
𝑰𝑩𝑷

𝟗𝐥𝐧⁡(𝟐)

𝟖
∑

(−
𝟏
𝟐
)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

+
𝟗

𝟒
∑

(−𝟏)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

∫ 𝒙𝒏𝒅𝒙 =⁡
𝟏/𝟐

𝟎

𝟗𝐥𝐧⁡(𝟐)

𝟖
∑

(−
𝟏
𝟐
)𝒏

𝒏+ 𝟏

∞

𝒏=𝟎

+
𝟗

𝟖
∑

(−
𝟏
𝟐
)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

 

 

𝚿 =
𝟗 𝐥𝐧(𝟐) 𝐥𝐧⁡(𝟑)

𝟒
−
𝟗(𝐥𝐧𝟐)𝟐

𝟒
−
𝟗

𝟒
𝑳𝒊𝟐 (−

𝟏

𝟐
)

=
𝟗 𝐥𝐧(𝟐) 𝐥𝐧(𝟑)

𝟒
−
𝟐𝟕(𝒍𝒏𝟐)𝟐

𝟖
−
𝟗

𝟖
𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝟗𝝅𝟐

𝟒𝟖
⁡⁡⁡⁡⁡⁡⁡⁡⁡𝒏𝒐𝒕𝒆: 𝑳𝒊𝟐(𝒛)

+ 𝑳𝒊𝟐(−𝒛) =
𝟏

𝟐
𝑳𝒊𝟐(𝒛

𝟐) 

→ 𝑾+ 𝑫 = 𝚽 + 𝚼 + 𝚿+ 𝚲 =
𝟏𝟕

𝟖
(𝒍𝒏𝟐)𝟐 +

𝟏𝟕

𝟖
𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝝅𝟐

𝟗𝟔
 

 

⁡⁡⁡⁡⁡⁡𝑨 = −∫
𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟐)𝟐
𝒅𝒙 =⏟

𝑰𝑩𝑷

∞

𝟎

∫
𝒅𝒙

(𝒙 + 𝟏)(𝒙 + 𝟐)
= 𝐥𝐧⁡(

𝒙 + 𝟏

𝒙 + 𝟐

∞

𝟎

]
∞

𝟎
= −𝐥𝐧⁡(𝟐)⁡⁡⁡⁡⁡ 

 

⁡⁡⁡⁡𝑩 =
−𝟓

𝟒
∫

𝐥𝐧(𝒙 + 𝟏)

(𝒙 + 𝟑)𝟐
𝒅𝒙 =⏟

𝑰𝑩𝑷

∞

𝟎

−
𝟓

𝟒
∫

𝒅𝒙

(𝒙 + 𝟏)(𝒙 + 𝟑)

∞

𝟎

= −
𝟓

𝟖
𝐥𝐧⁡(
𝒙 + 𝟏

𝒙 + 𝟑
]
∞

𝟎
=
𝟓

𝟖
𝐥𝐧⁡(𝟑) 

 

𝑪 = ∫
𝐥𝐧⁡(𝒙 + 𝟏)

(𝒙 + 𝟑)𝟑

∞

𝟎

𝒅𝒙 =⏟
𝑰𝑩𝑷

−
𝟏

𝟒
∫

𝟏

(𝒙 + 𝟏)(𝒙 + 𝟑)𝟐

∞

𝟎

𝒅𝒙

=
−𝟏

𝟏𝟔
∫ (

𝟏

𝒙 + 𝟏

∞

𝟎

−
𝟏

𝒙 + 𝟑
)𝒅𝒙 +

𝟏

𝟖
∫

𝟏

(𝒙 + 𝟑)𝟐

∞

𝟎

𝒅𝒙

=
−𝟏

𝟏𝟔
𝐥𝐧⁡(
𝒙 + 𝟏

𝒙 + 𝟑
]
∞

𝟎
−

𝟏

𝟖(𝒙 + 𝟑)
]
∞

𝟎
= −

𝐥𝐧(𝟑)

𝟏𝟔
+
𝟏

𝟐𝟒
 

 

ANSWER: I=A+B+C+D+W=
𝟏𝟕

𝟏𝟔
𝑳𝒊𝟐 (

𝟏

𝟒
) +

𝝅𝟐

𝟗𝟔
+
𝟏𝟕

𝟖
(𝐥𝐧𝟐)𝟐 −

𝟏𝟏

𝟏𝟔
𝐥𝐧(𝟑) − 𝐥𝐧(𝟐) +

𝟏

𝟐𝟒
 

2433. Prove that 

𝐈 = ∫∫
𝐲𝐥𝐨𝐠(𝟏 + 𝐱𝐲𝟐)

𝟏 − 𝐱𝐲𝟐

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = ∫∫
𝐱𝐥𝐨𝐠(𝟐 − 𝐱𝟐)

𝟏 − 𝐱𝟐𝐲

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 =
𝐚

𝐛
Ϛ(𝐛) 𝐥𝐨𝐠(√𝐛

𝐛
) −

𝟏

𝐛
Ϛ(𝐚) 

For: 𝐚, 𝐛 ∈ 𝐙+ and 𝐆𝐂𝐃(𝐚, 𝐛) = 𝟏. Find a,b. 
 

Proposed by Bui Hong Suc-Vietnam 
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Solution by Togrul Ehmedov-Azerbaijan 

I = ∫∫
𝐲𝐥𝐨𝐠(𝟏 + 𝐱𝐲𝟐)

𝟏 − 𝐱𝐲𝟐

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲]

𝐱𝐲𝟐=𝐦

=
𝟏

𝟐
∫
𝟏

𝐱
∫
𝐥𝐨𝐠(𝟏 + 𝐦)

𝟏 −𝐦

𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=

𝟏

𝟐
[𝐥𝐨𝐠(𝐱) ∫

𝐥𝐨𝐠(𝟏 + 𝐦)

𝟏 − 𝐦

𝐱

𝟎

𝐝𝐦]

𝐱=𝟎

𝐱=𝟏

− ∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱] = 

= −
𝟏

𝟐
∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = −
𝟏

𝟐
{Ϛ(𝟑) −

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)} = −

𝟏

𝟐
Ϛ(𝟑) +

𝛑𝟐

𝟖
𝐥𝐨𝐠(𝟐)

= −
𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟒
Ϛ(𝟐) 𝐥𝐨𝐠(𝟐) = −

𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟐
Ϛ(𝟐) 𝐥𝐨𝐠(√𝟐) ⇒ 𝐚 = 𝟑; 𝐛 = 𝟐 

𝐍𝐨𝐭𝐞:⁡ ∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = Ϛ(𝟑) −
𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐) 

𝐈 = ∫∫
𝐱𝐥𝐨𝐠(𝟐 − 𝐱𝟐)

𝟏 − 𝐱𝟐𝐲

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = −∫
𝐥𝐨𝐠(𝟏 − 𝐱𝟐) 𝐥𝐨𝐠(𝟐 − 𝐱𝟐)

𝐱

𝟏

𝟎

𝐝𝐱]

𝐱𝟐→𝐱

= −
𝟏

𝟐
∫
𝐥𝐨𝐠(𝟏 − 𝐱) 𝐥𝐨𝐠(𝟐 − 𝐱)

𝐱

𝟏

𝟎

𝐝𝐱]

𝐱→𝟏−𝐱

= −
𝟏

𝟐
∫
𝐥𝐨𝐠(𝐱) 𝐥𝐨𝐠(𝟏 + 𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱

= −
𝟏

𝟐
{Ϛ(𝟑) −

𝛑𝟐

𝟒
𝐥𝐨𝐠(𝟐)} = −

𝟏

𝟐
Ϛ(𝟑) +

𝛑𝟐

𝟖
𝐥𝐨𝐠(𝟐)

= −
𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟒
Ϛ(𝟐) 𝐥𝐨𝐠(𝟐) = −

𝟏

𝟐
Ϛ(𝟑) +

𝟑

𝟐
Ϛ(𝟐) 𝐥𝐨𝐠(√𝟐) ⇒ 𝐚 = 𝟑; 𝐛 = 𝟐 

2434. Find a closed form: 

𝛀 = ∫∫
𝐥𝐧(𝟏 − 𝐱𝐲) 𝐋𝐢𝟒(𝟏 − 𝐱)

𝐱(𝟏 − 𝐱)(𝟏 − 𝐱𝐲)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 

Proposed by Bui Hong Suc-Vietnam 
Solution by Togrul Ehmedov-Azerbaijan 

𝛀 = ∫∫
𝐥𝐧(𝟏 − 𝐱𝐲)𝐋𝐢𝟒(𝟏 − 𝐱)

𝐱(𝟏 − 𝐱)(𝟏− 𝐱𝐲)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = −
𝟏

𝟐
∫
𝐥𝐧𝟐(𝟏 − 𝐱) 𝐋𝐢𝟒(𝟏− 𝐱)

𝐱𝟐(𝟏 − 𝐱)

𝟏

𝟎

𝐝𝐱

= −
𝟏

𝟐
∫
𝐥𝐧𝟐(𝐱)𝐋𝐢𝟒(𝐱)

𝐱(𝟏− 𝐱)𝟐

𝟏

𝟎

𝐝𝐱

= −
𝟏

𝟐
{∫

𝐥𝐧𝟐(𝐱)𝐋𝐢𝟒(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱+ ∫
𝐥𝐧𝟐(𝐱)𝐋𝐢𝟒(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱+ ∫
𝐥𝐧𝟐(𝐱) 𝐋𝐢𝟒(𝐱)

(𝟏 − 𝐱)𝟐

𝟏

𝟎

𝐝𝐱} 
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𝛀𝟏 = ∫
𝐥𝐧𝟐(𝐱) 𝐋𝐢𝟒(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱 = ∑
𝟏

𝐤𝟒

∞

𝐤=𝟏

∫𝐱𝐤−𝟏 𝐥𝐧𝟐(𝐱)

𝟏

𝟎

𝐝𝐱 = 𝟐∑
𝟏

𝐤𝟕

∞

𝐤=𝟏

= 𝟐Ϛ(𝟕) 

 

𝛀𝟐 = ∫
𝐥𝐧𝟐(𝐱) 𝐋𝐢𝟒(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = 𝟐Ϛ(𝟑)Ϛ(𝟒) + 𝟐𝟎Ϛ(𝟐)Ϛ(𝟓) − 𝟑𝟔Ϛ(𝟕) 

 

𝛀𝟑 = ∫
𝐥𝐧𝟐(𝐱) 𝐋𝐢𝟒(𝐱)

(𝟏 − 𝐱)𝟐

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
− ∫

𝐋𝐢𝟑(𝐱) 𝐥𝐧
𝟐(𝐱)

𝐱(𝟏 − 𝐱)

𝟏

𝟎

𝐝𝐱 − 𝟐∫
𝐋𝐢𝟒(𝐱) 𝐥𝐧(𝐱)

𝐱(𝟏 − 𝐱)

𝟏

𝟎

𝐝𝐱 = 

 

= −∫
𝐋𝐢𝟑(𝐱) 𝐥𝐧

𝟐(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱 −∫
𝐋𝐢𝟑(𝐱) 𝐥𝐧

𝟐(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 − 𝟐∫
𝐋𝐢𝟒(𝐱) 𝐥𝐧(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱 − 𝟐∫
𝐋𝐢𝟒(𝐱) 𝐥𝐧(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 

 

𝛀𝟑𝐚 = ∫
𝐋𝐢𝟑(𝐱) 𝐥𝐧

𝟐(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱 = ∑
𝟏

𝐤𝟑

∞

𝐤=𝟏

∫𝐱𝐤−𝟏 𝐥𝐧𝟐(𝐱)

𝟏

𝟎

𝐝𝐱 = 𝟐∑
𝟏

𝐤𝟔

∞

𝐤=𝟏

= 𝟐Ϛ(𝟔) 

 

𝛀𝟑𝐛 = ∫
𝐋𝐢𝟑(𝐱) 𝐥𝐧

𝟐(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = Ϛ𝟐(𝟑) − Ϛ(𝟔) 

𝛀𝟑𝐜 = ∫
𝐋𝐢𝟒(𝐱) 𝐥𝐧(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱 = ∑
𝟏

𝐤𝟒

∞

𝐤=𝟏

∫𝐱𝐤−𝟏 𝐥𝐧(𝐱)

𝟏

𝟎

𝐝𝐱 = −∑
𝟏

𝐤𝟔

∞

𝐤=𝟏

= −Ϛ(𝟔) 

 

𝛀𝟑𝐝 = ∫
𝐋𝐢𝟒(𝐱) 𝐥𝐧(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 = Ϛ𝟐(𝟑) −
𝟐𝟓

𝟏𝟐
Ϛ(𝟔) 

 

𝛀𝟑 = 𝛀𝟑𝐚 − 𝛀𝟑𝐛 − 𝟐𝛀𝟑𝐜 − 𝟐𝛀𝟑𝐝 =
𝟑𝟏

𝟔
Ϛ(𝟔) − 𝟑Ϛ𝟐(𝟑) 

 

𝛀 = −
𝟏

𝟐
{𝛀𝟏 + 𝛀𝟐 + 𝛀𝟑} = 𝟏𝟕Ϛ(𝟕) − Ϛ(𝟑)Ϛ(𝟒) − 𝟏𝟎Ϛ(𝟐)Ϛ(𝟓) −

𝟑𝟏

𝟏𝟐
Ϛ(𝟔) +

𝟑

𝟐
Ϛ𝟐(𝟑) 

2435. Find a closed form: 

𝑰 = ∫ ∫
𝒍𝒐𝒈𝒙(𝒚

𝒙) + 𝒍𝒐𝒈𝒚(𝒙
𝒚)

⁡√𝒙𝒚
𝒅𝒙𝒅𝒚

𝒆𝟐

𝒆

𝒆𝟐

𝒆

 

 
Proposed by Lamiye Quliyeva-Azerbaijan 
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Solution by Abbaszade Yusif-Azerbaijan 
 

𝑰 = ∫ ∫
𝐥𝐨𝐠𝒙(𝒚

𝒙) + 𝐥𝐨𝐠𝒚(𝒙
𝒚)

⁡√𝒙𝒚
𝒅𝒙𝒅𝒚

𝒆𝟐

𝒆

𝒆𝟐

𝒆

= ∫ ∫

𝒙⁡𝐥𝐧(𝒚)
𝐥𝐧(𝒙)

+
𝒚⁡𝐥𝐧(𝒙)
𝐥𝐧(𝒚)

⁡√𝒙𝒚
𝒅𝒙𝒅𝒚

𝒆𝟐

𝒆

𝒆𝟐

𝒆

 

 

𝑰 = ∫ ∫ (
√𝒙𝐥𝐧(𝒚)

√𝐲𝐥𝐧(𝒙)
+
√𝒚𝐥𝐧(𝒙)

√𝐱𝐥𝐧(𝒚)
) 𝒅𝒙𝒅𝒚 =𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚

𝒃𝒚
𝒆𝟐

𝒆

𝟐∫ ∫
√𝒙𝐥𝐧(𝒚)

√𝐲𝐥𝐧(𝒙)
𝒅𝒙𝒅𝒚

𝒆𝟐

𝒆

𝒆𝟐

𝒆

𝒆𝟐

𝒆

= 𝟐∫
√𝒙

𝐥𝐧(𝒙)
∫

𝐥𝐧(𝒚)

√𝒚⁡

𝒆𝟐

𝒆

𝒆𝟐

𝒆

𝒅𝒙𝒅𝒚 = 𝟐𝑰𝟏 × 𝑰𝟐⁡ 

 

𝑰𝟏 = ∫
√𝒙

𝐥𝐧(𝒙)
𝒅𝒙 =𝐥𝐧(𝒙)=𝒕

𝒕[𝟏;𝟐]
= ∫

𝒆
𝟑𝒕
𝟐

𝒕
𝒅𝒕

𝟐

𝟏

𝒆𝟐

𝒆

= 𝑬𝒊 [
𝟑𝒙

𝟐
]
𝟏

𝟐

= 𝑬𝒊(𝟑) − 𝑬𝒊 (
𝟑

𝟐
) 

 

𝑰𝟐 = ∫
𝐥𝐧(𝒚)

√𝒚
⁡𝒅𝒚 =𝑰𝑩𝑷 [𝟐√𝒚𝐥𝐧(𝒚)]

𝒆

𝒆𝟐

−∫
𝟐

√𝒚
⁡𝒅𝒚

𝒆𝟐

𝒆

= [𝟐√𝒚𝐥𝐧(𝒚) − 𝟒√𝒚]
𝒆

𝒆𝟐
𝒆𝟐

𝒆

= 𝟐√𝒆⁡⁡ 

𝑰 = 𝟐𝑰𝟏 × 𝑰𝟐 = 𝟒√𝒆 (𝑬𝒊(𝟑) − 𝑬𝒊 (
𝟑

𝟐
)) 

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏 ∶⁡ 

∫ (
𝒆𝒂𝒙

𝒙
)𝒅𝒙 = 𝑬𝒊(𝒂𝒙) + 𝒄 

2436. Prove that 

𝐈 = ∫
𝐱√𝐱𝐥𝐨𝐠⁡(𝐱)

𝐱𝟑 + 𝐱√𝐱 + 𝟏

∞

𝟏

𝐝𝐱 =
𝟒

𝟖𝟏
(𝛗𝟏 (

𝟏

𝟗
) − 𝛗𝟏 (

𝟒

𝟗
)) 

where 𝝋𝟏(𝒔) denotes trigamma function 
Proposed by Vasile Mircea Popa-Romania 

Solution by Togrul Ehmedov-Azerbaijan 
 

𝐋𝐞𝐭⁡𝐱𝟑 = 𝐦 

𝐈 =
𝟒

𝟗
∫
𝐦
𝟐
𝟑𝐥𝐨𝐠⁡(𝐦)

𝐦𝟐 + 𝐦+ 𝟏

∞

𝟏

𝐝𝐦 =
𝟒

𝟗
∫
𝐦
𝟐
𝟑(𝟏 − 𝐦)𝐥𝐨𝐠⁡(𝐦)

𝟏 −𝐦𝟑

∞

𝟏

𝐝𝐦 

𝐋𝐞𝐭⁡𝐦 = 𝟏/𝐳 
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𝐈 = −
𝟒

𝟗
∫
𝐳−
𝟐
𝟑(𝐳 − 𝟏) 𝐥𝐨𝐠(𝐳)

𝐳𝟑 − 𝟏

𝟏

𝟎

𝐝𝐳 = −
𝟒

𝟗
∫
𝐳
𝟏
𝟑 𝐥𝐨𝐠(𝐳)

𝐳𝟑 − 𝟏

𝟏

𝟎

𝐝𝐳 +
𝟒

𝟗
∫
𝐳−
𝟐
𝟑 𝐥𝐨𝐠(𝐳)

𝐳𝟑 − 𝟏

𝟏

𝟎

𝐝𝐳

=
𝟒

𝟗
∫
𝐳
𝟏
𝟑 𝐥𝐨𝐠(𝐳)

𝟏 − 𝐳𝟑

𝟏

𝟎

𝐝𝐳 −
𝟒

𝟗
∫
𝐳−
𝟐
𝟑 𝐥𝐨𝐠(𝐳)

𝟏 − 𝐳𝟑

𝟏

𝟎

𝐝𝐳

=
𝟒

𝟗
∑∫𝐳𝟑𝐤+

𝟏
𝟑 𝐥𝐨𝐠(𝐳)

𝟏

𝟎

𝐝𝐳

∞

𝐤=𝟎

−
𝟒

𝟗
∑∫𝐳𝟑𝐤−

𝟐
𝟑 𝐥𝐨𝐠(𝐳)

𝟏

𝟎

𝐝𝐳

∞

𝐤=𝟎

= −
𝟒

𝟗
∑

𝟏

(𝟑𝐤 +
𝟒
𝟑
)
𝟐

∞

𝐤=𝟎

+
𝟒

𝟗
∑

𝟏

(𝟑𝐤 +
𝟏
𝟑
)
𝟐

∞

𝐤=𝟎

= −
𝟒

𝟖𝟏
∑

𝟏

(𝐤 +
𝟒
𝟗
)
𝟐

∞

𝐤=𝟎

+
𝟒

𝟖𝟏
∑

𝟏

(𝐤 +
𝟏
𝟗
)
𝟐

∞

𝐤=𝟎

=
𝟒

𝟖𝟏
(𝛗𝟏 (

𝟏

𝟗
) − 𝛗𝟏 (

𝟒

𝟗
)) 

 

2437. Find a closed form: 

𝛀 = ∫ ∫ ∫
𝒙𝟐𝒚𝟐𝒛𝐥𝐧(𝒙𝒚𝒛)

𝟏 − (𝒙𝒚𝒛)𝟐

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚𝒅𝒛 

 
Proposed by Cosghun Memmedov-Azerbaijan 

Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫ ∫
𝒙𝟐𝒚𝟐𝒛 𝐥𝐧(𝒙𝒚𝒛)

𝟏 − 𝒙𝟐𝒚𝟐𝒛𝟐

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚𝒅𝒛, {∫ ∫ 𝒇(𝒙𝒚)𝒅𝒙𝒅𝒚 = −∫ 𝐥𝐧(𝒙) 𝒇(𝒙)𝒅𝒙
𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

} 

𝜴 = −∫ ∫
𝒙𝟐𝒛 𝐥𝐧(𝒙𝒛)𝒍𝒏(𝒙) ⁡

𝟏 − 𝒙𝟐𝒛𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒛

= −∑∫ ∫ 𝒙𝟐𝒏+𝟐𝒛𝟐𝒏+𝟏(𝐥𝐧²(𝒙) + 𝐥𝐧(𝐱) 𝐥𝐧(𝒛))𝒅𝒙𝒅𝒛
𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟎

= 

= −∑∫ 𝒛𝟐𝒏+𝟏𝒅𝒛∫ 𝒙𝟐𝒏+𝟐 𝐥𝐧 ²(𝒙)
𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝒅𝒙 −∑∫ 𝒛𝟐𝒏+𝟏𝐥𝐧(𝒛)𝒅𝒛 ∫ 𝒙𝟐𝒏+𝟐 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟎

= 

= −𝟐∑
𝟏

(𝟐𝒏 + 𝟐)(𝟐𝒏 + 𝟑)𝟑

∞

𝒏=𝟎

−∑
𝟏

(𝟐𝒏 + 𝟐)𝟐(𝟐𝒏 + 𝟑)𝟐

∞

𝒏=𝟎

= 

= ∑
𝟏

(𝟐𝒏 + 𝟑)𝟐

∞

𝒏=𝟎

+ 𝟐∑
𝟏

(𝟐𝒏+ 𝟑)𝟑

∞

𝒏=𝟎

−
𝟏

𝟒
∑

𝟏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

 

⁡𝒘𝒆⁡𝒉𝒂𝒗𝒆.⁡⁡ {∑ 𝒂𝒏

∞

𝒏=𝟏

= ∑𝒂𝟐𝒏+𝟏

∞

𝒏=𝟎

+∑𝒂𝟐𝒏

∞

𝒏=𝟏

} 
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𝜴 = ∑
𝟏

(𝒏 + 𝟐)𝟐

∞

𝒏=𝟏

−∑
𝟏

(𝟐𝒏 + 𝟐)𝟐

∞

𝒏=𝟏

+ 𝟐∑
𝟏

(𝒏 + 𝟐)𝟑

∞

𝒏=𝟏

− 𝟐∑
𝟏

(𝟐𝒏 + 𝟐)𝟑

∞

𝒏=𝟏

−
𝜻(𝟐)

𝟒
= 

=
𝝅𝟐

𝟔
−
𝟓

𝟒
−
𝝅𝟐

𝟐𝟒
+
𝟏

𝟒
+ 𝟐𝜻(𝟑) −

𝟗

𝟒
−
𝟏

𝟒
𝜻(𝟑) +

𝟏

𝟒
−
𝝅𝟐

𝟐𝟒
= 

=
𝝅𝟐

𝟏𝟐
+
𝟕𝜻(𝟑)

𝟒
− 𝟑 

∫ ∫ ∫
𝐱𝟐𝐲𝟐𝐳⁡𝐥𝐧(𝒙𝒚𝒛)

𝟏 − 𝒙²𝒚²𝒛²

𝟏

𝟎

𝒅𝒙𝒅𝒚𝒅𝒛
𝟏

𝟎

𝟏

𝟎

=
𝝅𝟐

𝟏𝟐
+
𝟕𝜻(𝟑)

𝟒
− 𝟑 

 

Solution 2 by Togrul Ehmedov-Azerbaijan 
 

𝛀 = ∫∫∫
𝐱𝟐𝐲𝟐𝐳𝐥𝐨𝐠(𝐱𝐲𝐳)

𝟏 − 𝐱𝟐𝐲𝟐𝐳𝟐

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐳 = ∑∫∫∫𝐱𝐲(𝐱𝐲𝐳)𝟐𝐤+𝟏 𝐥𝐨𝐠(𝐱𝐲𝐳)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐳

∞

𝐤=𝟎

 

𝐋𝐞𝐭⁡𝐱𝐲𝐳 = 𝐦 

𝛀 = ∑∫∫∫ 𝐦𝟐𝐤+𝟏 𝐥𝐨𝐠(𝐦)

𝐱𝐲

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=
∑∫{[𝐲∫ 𝐦𝟐𝐤+𝟏 𝐥𝐨𝐠(𝐦)

𝐱𝐲

𝟎

𝐝𝐦]

𝐲=𝟎

𝐲=𝟏

− ∫(𝐱𝐲)𝟐𝐤+𝟐 𝐥𝐨𝐠(𝐱𝐲)

𝟏

𝟎

𝐝𝐲}

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

= 

= ∑∫∫𝐦𝟐𝐤+𝟏 𝐥𝐨𝐠(𝐦)

𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

−∑∫∫(𝐱𝐲)𝟐𝐤+𝟐 𝐥𝐨𝐠(𝐱𝐲)

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

= 

= ∑{[𝐱∫𝐦𝟐𝐤+𝟏 𝐥𝐨𝐠(𝐦)

𝐱

𝟎

𝐝𝐦]

𝐱=𝟎

𝐱=𝟏

−∫𝐱𝟐𝐤+𝟐 𝐥𝐨𝐠(𝐱)

𝟏

𝟎

𝐝𝐱}

∞

𝐤=𝟎

−∑∫
𝟏

𝐱
∫𝐩𝟐𝐤+𝟐 𝐥𝐨𝐠(𝐩)

𝐱

𝟎

𝐝𝐩

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

= 

= ∑∫𝐦𝟐𝐤+𝟏 𝐥𝐨𝐠(𝐦)

𝟏

𝟎

𝐝𝐦

∞

𝐤=𝟎

−∑∫𝐱𝟐𝐤+𝟐 𝐥𝐨𝐠(𝐱)

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

+∑∫𝐱𝟐𝐤+𝟐 𝐥𝐨𝐠𝟐(𝐱)

𝟏

𝟎

𝐝𝐱

∞

𝐤=𝟎

= 

= −∑
𝟏

(𝟐𝐤 + 𝟐)𝟐

∞

𝐤=𝟎

+∑
𝟏

(𝟐𝐤 + 𝟑)𝟐

∞

𝐤=𝟎

+ 𝟐∑
𝟏

(𝟐𝐤 + 𝟑)𝟑

∞

𝐤=𝟎

= 

= −
𝟏

𝟒
∑

𝟏

(𝐤 + 𝟏)𝟐

∞

𝐤=𝟎

+ (∑
𝟏

(𝟐𝐤 + 𝟏)𝟐

∞

𝐤=𝟎

− 𝟏) + 𝟐(∑
𝟏

(𝟐𝐤 + 𝟏)𝟑

∞

𝐤=𝟎

− 𝟏) = 

= −
𝛑𝟐

𝟐𝟒
+ (

𝛑𝟐

𝟖
− 𝟏) + 𝟐(

𝟕

𝟖
Ϛ(𝟑) − 𝟏) =

𝛑𝟐

𝟏𝟐
+
𝟕

𝟒
Ϛ(𝟑) − 𝟑 =

𝟏

𝟐
Ϛ(𝟐) +

𝟕

𝟒
Ϛ(𝟑) − 𝟑 
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2438. Find a closed form: 

∫ (𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))
𝟏

𝟎

+ (𝐥𝐧(
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐)𝒅𝒙 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Djamel Arrouche-Algeria 

∫ 𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))
𝟏

𝟎

𝒅𝒙 = Ω𝟏⁡⁡𝟏 − 𝒙
𝟐 = 𝒚⁡; ⁡Ω =

𝟏

𝟐
∫ 𝐥𝐧 (𝒄𝒐𝒔−𝟏(𝒚))𝒅𝒚
𝟏

𝟎

; ⁡𝒚 = 𝐜𝐨𝐬⁡(𝒔) 

Ω =
𝟏

𝟐
∫ 𝐥𝐧(𝒔) 𝐬𝐢𝐧(𝒔)𝒅𝒔

𝝅
𝟐

𝟎

=⏞
𝑰𝑩𝑷

𝒖 = 𝐥𝐧(𝒔) , 𝒗′ = 𝐬𝐢𝐧(𝒔) ; 𝒖′ =
𝟏

𝒔
⁡⁡𝒗(𝒔) = 𝟏 − 𝐜𝐨𝐬⁡(𝒔) 

Ω =
𝟏

𝟐
[(𝟏− 𝐜𝐨𝐬(𝒔) 𝐥𝐧⁡(𝒔)]

𝝅
𝟐
𝟎
−
𝟏

𝟐
∫

𝟏 − 𝐜𝐨𝐬(𝒔)

𝒔
𝒅𝒔

𝝅
𝟐

𝟎

=
𝟏

𝟐
𝐥𝐧 (

𝝅

𝟐
) −

𝟏

𝟐
∫

𝟏 − 𝐜𝐨𝐬(𝒔)

𝒔
𝒅𝒔

𝝅
𝟐

𝟎

 

𝑪𝒊(𝒛) = 𝐥𝐧(𝒛) + ᵧ + ∫
𝐜𝐨𝐬(𝒙) − 𝟏

𝒙
𝒅𝒙

𝒛

𝟎

 

Ω𝟏 =
𝟏

𝟐
[𝑪𝒊 (

𝝅

𝟐
) − ᵧ] 

Ω𝟐 = ∫ (𝐥𝐧(
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐𝒅𝒙

𝟏

𝟎

; ⁡⁡
𝒙

𝟏 + 𝒙
= 𝒚 → 𝒙 =

𝒚

𝟏 − 𝒚
=> 𝑑𝑥 =

𝒅𝒚

(𝟏 − 𝒚)𝟐
 

𝑨 = ∫ (𝐥𝐧(𝒚) + 𝟏)𝟐.

𝟏
𝟐

𝟎

𝒅𝒚

(𝟏 − 𝒚)𝟐
= ∫

𝒍𝒏𝟐(𝒚)

(𝟏 − 𝒚)𝟐

𝟏
𝟐

𝟎

+ 𝟐∫
𝒍𝒏(𝒚)

(𝟏 − 𝒚)𝟐

𝟏
𝟐

𝟎

+
𝒅𝒚

(𝟏 − 𝒚)𝟐
 

𝐥𝐢𝐦
𝒙→𝟎

[

𝟏
𝟐
𝒙
⁡
𝒍𝒏𝟐(𝒚)

𝟏 − 𝒚
⁡] − ∫

𝟐 𝐥𝐧(𝒚)

𝒚(𝟏 − 𝒚)
𝒅𝒚

𝟏
𝟐

𝒙

+ 𝟐[

𝟏
𝟐
𝒙
⁡
𝐥𝐧(𝒚)

𝟏 − 𝒚
𝒅𝒚⁡] − ∫

𝟐

𝒚(𝟏 − 𝒚)
𝒅𝒚

𝟏
𝟐

𝒙

+ 𝟏 = 𝟐𝒍𝒏𝟐(𝟐) + 

𝐥𝐢𝐦
𝒙→𝟎

−
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
− 𝒍𝒏𝟐 (

𝟏

𝟐
) + 𝒍𝒏𝟐(𝒙) − 𝟒 𝐥𝐧(𝟐) −

𝟐 𝐥𝐧(𝒙)

𝟏 − 𝒙
− 𝟐 𝐥𝐧 (

𝟏

𝟐
) + 𝟐 𝐥𝐧 (

𝟏

𝟐
) + 𝟐 𝐥𝐧(𝒙) + 

𝟐 𝐥𝐧(𝟏 − 𝒙) − 𝟐∫
𝐥𝐧(𝒚)

𝟏 − 𝒚
𝒅𝒚 =⁡ 𝒍𝒏𝟐(𝟐)

𝟏
𝟐

𝟎

− 𝟒 𝐥𝐧(𝟐) + 𝟏 + 𝟐∫
𝐥𝐧(𝟏 − (𝟏 − 𝒚))

𝟏 − 𝒚
𝒅(𝟏 − 𝒚)

𝟏
𝟐

𝟎

+ 

𝐥𝐢𝐦
𝒙→
[−
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
+ 𝒍𝒏𝟐(𝒙) + 𝟐 𝐥𝐧(𝒙) −

𝟐 𝐥𝐧(𝒙)

𝟏 − 𝒙
+ 𝟐𝒌𝒏(𝟏 − 𝒙)]

.

𝒙 = 𝟎
, ′′ 𝐥𝐢𝐦

𝒙→𝟎
𝒙𝒍𝒏𝒏(𝒙) = 𝟎′′ 

= 𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟏 − 𝟐 [𝑳𝒊𝟐 (
𝟏

𝟐
) − 𝑳𝒊𝟐(𝟏)] ⁡⁡⁡𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐(𝟐)

𝟐
,

𝑳𝒊𝟐(𝟏) =
𝝅𝟐

𝟔
 

Ω𝟐 = 𝟐𝒍𝒏
𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟏 +

𝝅𝟐

𝟔
⁡ 
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Ω = Ω𝟏 +⁡Ω𝟐 =
𝟏

𝟐
[𝑪𝒊 (

𝝅

𝟐
) − ᵧ] + 𝟐𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟏 +

𝝅𝟐

𝟔
 

 

Solution 2 by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫ (𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))
𝟏

𝟎

+ (𝐥𝐧 (
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐)𝒅𝒙 = ∫ 𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐)) 𝒅𝒙

𝟏

𝟎⏟                  
𝑨

+ 

+∫ (𝐥𝐧 (
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐𝒅𝒙

𝟏

𝟎⏟              
𝑩

 

𝑨 = ∫ 𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))𝒅𝒙
𝟏

𝟎

=⏟

𝒅𝒙=
𝒅𝒑
𝟐𝒙

⏞  
𝒙𝟐=𝒑

⁡∫ 𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒑))
𝒅𝒑

𝟐𝒙

𝟏

𝟎

=
𝟏

𝟐
∫ 𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒑))𝒅𝒑
𝟏

𝟎

= 

𝟏

𝟐
𝑪𝒊 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒑)) +

𝟏

𝟐
(𝒑 − 𝟏) 𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))|

𝟏

𝟎
=⁡ 

=
𝟏

𝟐
[𝑪𝒊 (

𝝅

𝟐
) − ᵧ] 

𝑩 = ∫ (𝐥𝐧(
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐𝒅𝒙

𝟏

𝟎

= ∫ 𝒍𝒏𝟐 (
𝒙

𝒙 + 𝟏
)𝒅𝒙

𝟏

𝟎

+ 𝟐∫ 𝐥𝐧⁡(
𝒙

𝒙 + 𝟏
)𝒅𝒙

𝟏

𝟎

+∫ 𝒅𝒙
𝟏

𝟎

= 

∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

− 𝟐∫ 𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

+∫ 𝒍𝒏𝟐(𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

+ 𝟐∫ 𝐥𝐧(𝒙) 𝒅𝒙 −
𝟏

𝟎

𝟐∫ 𝐥𝐧⁡(𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

 

+∫ 𝒅𝒙
𝟏

𝟎

= 𝟐 + 𝟐∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒙𝒏
𝟏

𝟎

𝐥𝐧(𝒙) 𝒅𝒙 + ∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟐

𝟏

− 𝟐

+ 𝟐∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒙𝒏𝒅𝒙 + 𝟏
𝟏

𝟎

⁡ 

𝑩 = 𝟐 + 𝟐∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

𝒅

𝒅𝒏
(
𝒙𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
) + 𝟐(𝐥𝐧(𝟐) − 𝟏)𝟐 − 𝟐 + 𝟐∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

(
𝒙𝒏+𝟏

𝒏 + 𝟏
|
𝟏

𝟎
) + 𝟏⁡ 

𝑩 = 𝟏 − 𝟒 +
𝝅𝟐

𝟔
+ 𝟒 𝐥𝐧(𝟐) + 𝟐𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟐 + 𝟐 − 𝟒𝐥𝐧⁡(𝟐) 

𝑩 = 𝟏 +
𝝅𝟐

𝟔
− 𝟒 𝐥𝐧(𝟐) + 𝟐𝒍𝒏𝟐(𝟐)⁡⁡⁡⁡𝑻𝒉𝒊𝒔 ∶ ⁡⁡𝑰 = 𝑨 + 𝑩 
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∫ (𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))
𝟏

𝟎

+ (𝐥𝐧 (
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐)𝒅𝒙

=
𝟏

𝟐
[𝑪𝒊 (

𝝅

𝟐
) − ᵧ] + 𝟐𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟏 +

𝝅𝟐

𝟔
 

𝑵𝒐𝒕𝒆 ∶ ⁡′′𝑪𝒊(𝒛)′′⁡𝑪𝒐𝒔𝒊𝒏𝒆⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍 … ⁡𝑪𝒊(𝒛) = 𝐥𝐧(𝒛) + ᵧ + ∫
𝐜𝐨𝐬(𝒙) − 𝟏

𝒙
𝒅𝒙

𝒛

𝟎

⁡ 

Solution 3 by Exodo Halcalias-Angola 

∫ (𝒙𝒍𝒏 (𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))
𝟏

𝟎

+ (𝐥𝐧 (
𝒙

𝒙 + 𝟏
) + 𝟏)𝟐)𝒅𝒙 

𝑯𝟏 = ∫ 𝒙
𝟏

𝟎

𝒍𝒏(𝒄𝒐𝒔−𝟏(𝟏 − 𝒙𝟐))𝒅𝒙 =⏞
𝟏−𝒙𝟐→⁡𝒙 𝟏

𝟐
∫ 𝒍𝒏(𝒄𝒐𝒔−𝟏(𝟏− 𝒙𝟐))𝒅𝒙 =⏞

𝒄𝒐𝒔−𝟏(𝒙)→𝒙𝟏

𝟎

𝟏

𝟐
∫ 𝐥𝐧(𝒙) 𝐬𝐢𝐧(𝒙)𝒅𝒙

𝝅
𝟐

𝟎

 

=⏞
𝑰𝑩𝑷𝟏

𝟐
[(𝐥𝐧(𝒙) (𝟏 − 𝐜𝐨𝐬(𝒙)))|

𝝅
𝟐
𝟎
+ ∫

𝐜𝐨𝐬(𝒙) − 𝟏

𝒙
𝒅𝒙

𝝅
𝟐

𝟎

] =
𝟏

𝟐
[𝐥𝐧 (

𝝅

𝟐
) + ∫

𝐜𝐨𝐬(𝒙) − 𝟏

𝒙
𝒅𝒙

𝝅
𝟐

𝟎

] = 

𝟏

𝟐
(𝐂𝐢 (

𝝅

𝟐
) + ᵧ) ⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝑯𝟏 =

𝟏

𝟐
(𝐂𝐢 (

𝝅

𝟐
) + ᵧ) 

𝑯𝟐 = ∫ (𝐥𝐧 (
𝒙

𝟏 + 𝒙
) + 𝟏)𝟐𝒅𝒙 =⁡

𝟏

𝟎

∫ 𝒍𝒏𝟐 (
𝒙

𝟏 + 𝒙
)𝒅𝒙 + 𝟐∫ 𝐥𝐧 (

𝒙

𝒙 + 𝟏
)𝒅𝒙 + ∫ 𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑨 = ∫ 𝒍𝒏𝟐 (
𝒙

𝟏 + 𝒙
)𝒅𝒙⁡

𝟏

𝟎

= ∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙 + ∫ 𝒍𝒏𝟐(𝟏 + 𝒙)𝒅𝒙
𝟏

𝟎

𝟏

𝟎

− 𝟐∫ 𝐥𝐧(𝒙) 𝐥𝐧(𝒙 + 𝟏)𝒅𝒙
𝟏

𝟎

= 

𝑨𝟏 = ∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙 + ∫ 𝒍𝒏𝟐(𝟏 + 𝒙)𝒅𝒙
𝟏

𝟎

𝟏

𝟎

= ∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙
𝟏

𝟎

+∫ 𝒍𝒏𝟐(𝒙)𝒅𝒙⁡
𝟐

𝟏

 

∫𝒍𝒏𝟐(𝒛)𝒅𝒛 = 𝒛(𝒍𝒏𝟐(𝒛) − 𝟐 𝐥𝐧(𝒛) − 𝟐)⁡⁡⁡⁡⁡⁡⁡⁡⁡𝑨𝟏 = 𝟐𝒍𝒏
𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟒 

⁡⁡𝑨𝟐 = ∫ 𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙) 𝒅𝒙 =⏞
𝑰𝑩𝑷𝟏

𝟎

[𝒙𝒍𝒏(𝟏 + 𝒙)(𝐥𝐧(𝒙) − 𝟏)]
𝟏

𝟎
− ∫

𝒙(𝐥𝐧(𝒙) − 𝟏)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

 

𝑨𝟐 = − 𝐥𝐧(𝟐) + ∫
𝒙

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

− ∫
𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= − 𝐥𝐧(𝟐) + ∫
𝟏 + 𝒙 − 𝟏

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

− 

∑(−𝟏)𝒌−𝟏
∞

𝒌=𝟏

∫ 𝒙𝒌 𝐥𝐧(𝒙)𝒅𝒙 =
𝟏

𝟎

− 𝐥𝐧(𝟐) + 𝟏 − 𝐥𝐧(𝟐) +∑
(−𝟏)𝒌−𝟏

(𝒌 + 𝟏)𝟐
=⁡

∞

𝒌=𝟏

− 𝟐 𝐥𝐧(𝟐) + 𝟐 −
𝝅𝟐

𝟏𝟐
 

𝑨 = 𝑨𝟏 − 𝟐𝑨𝟐 =
𝝅𝟐

𝟔
+ 𝟐𝒍𝒏𝟐(𝟐) 

𝑩 = ∫ 𝐥𝐧 (
𝒙

𝟏 + 𝒙
)𝒅𝒙 = ∫ 𝐥𝐧(𝒙) 𝒅𝒙 − ∫ 𝐥𝐧(𝟏 + 𝒙)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟎

𝟏

𝟎

∫ 𝐥𝐧(𝒙)𝒅𝒙 − ∫ 𝐥𝐧(𝒙)𝒅𝒙
𝟐

𝟏

=
𝟏

𝟎

− 𝟐𝐥𝐧⁡(𝟐) 

𝑯𝟐 = 𝑨 + 𝟐𝑩 + 𝟏 =
𝝅𝟐

𝟔
+ 𝟐𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟏⁡ 

𝑯 = 𝑯𝟏 +𝑯𝟐 =
𝟏

𝟐
[𝑪𝒊 (

𝝅

𝟐
) − ᵧ] + 𝟐𝒍𝒏𝟐(𝟐) − 𝟒 𝐥𝐧(𝟐) + 𝟏 +

𝝅𝟐

𝟔
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2439. Find a closed form: 

𝛀 = ∫
𝐥𝐧⁡(𝟏 + 𝒙𝟐)(𝐭𝐚𝐧−𝟏(𝒙) + 𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

Proposed by Abbaszade Yusif, Shirvan Tahirov-Azerbaijan 
Solution by Alireza Askari-Iran 

 

𝛀 = ∫
𝐥𝐧⁡(𝟏 + 𝒙𝟐) 𝐭𝐚𝐧−𝟏 𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 + ∫
𝐥𝐧(𝟏 + 𝒙𝟐) 𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = 𝑨 + 𝑩 

𝑨 = ∫
𝐥𝐧(𝟏 + 𝒙𝟐) 𝐭𝐚𝐧−𝟏 𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

=⏟
𝐭𝐚𝐧−𝟏(𝒙)→𝒙

− 𝟐∫ 𝐱⁡𝐥𝐧𝐜𝐨𝐬𝐱

𝝅
𝟒

𝟎

𝒅𝒙 = 𝟐∫ 𝒙𝒍𝒏𝟐𝒅𝒙

𝝅
𝟒

𝟎

+ 𝟐∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒙𝒄𝒐𝒔(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

 

=
𝝅𝟐

𝟏𝟔
𝒍𝒏𝟐 + 𝟐∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫𝒙𝒄𝒐𝒔(𝟐𝒏𝒙)𝒅𝒙

𝝅
𝟒

𝟎

= {𝐈𝐁𝐏⁡𝐌𝐄𝐓𝐇𝐎𝐃} 

𝝅𝟐

𝟏𝟔
𝒍𝒏𝟐 +

𝝅

𝟒
∑

(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

𝐬𝐢𝐧
𝒏𝝅

𝟐
−∑

(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫ 𝐬𝐢𝐧(𝟐𝒏𝒙) 𝒅𝒙

𝝅
𝟒

𝟎

= 

𝝅𝟐

𝟏𝟔
𝒍𝒏𝟐 +

𝝅

𝟒
∑

(−𝟏)𝒏+𝟏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

+∑
(−𝟏)𝒏

𝟐𝒏𝟑
𝐜𝐨𝐬

𝒏𝝅

𝟐

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

𝟐𝒏𝟑

∞

𝒏=𝟏

 

𝑨 =
𝝅𝟐

𝟏𝟔
𝒍𝒏𝟐 +

𝝅

𝟒
∑

(−𝟏)𝒏+𝟏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

−
𝟕

𝟏𝟔
∑

(−𝟏)𝒏

(𝒏)𝟑

∞

𝒏=𝟏

=
𝝅𝟐

𝟏𝟔
𝒍𝒏𝟐 −

𝝅

𝟒
𝑪 +

𝟐𝟏

𝟔𝟒
𝜻(𝟑) 

𝑩 = ∫
𝐥𝐧(𝟏 + 𝒙𝟐) 𝒙

𝟏 + 𝒙𝟐
𝒅𝒙 =

(𝐥𝐧⁡(𝟏 + 𝒙𝟐))𝟐

𝟒
]

𝟏

𝟎

𝟏
𝟎
=
(𝒍𝒏𝟐)𝟐

𝟒
 

𝐀𝐍𝐒𝐖𝐄𝐑 = 𝐀 + 𝐁 =
𝛑𝟐

𝟏𝟔
𝐥𝐧𝟐 −

𝛑

𝟒
𝐂 +

𝟐𝟏

𝟔𝟒
𝛇(𝟑) +

(𝐥𝐧𝟐)𝟐

𝟒
 

2440. Find a closed form: 

𝛀 = ∫∫
𝐥𝐧(𝒙𝒚) 𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙𝒅𝒚⁡⁡

𝟏

𝟎

𝟏

𝟎

 

Proposed by Abbaszade Yusif-Azerbaijan 
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Solution by Alireza Askari-Iran 

𝛀 = ∫∫
𝐥𝐧(𝒙𝒚) 𝐥𝐧(𝟏 + 𝟐𝒙𝒚)

𝒙𝒚
𝒅𝒙𝒅𝒚 =⁡⁡

𝟏

𝟎

𝟏

𝟎

 

=⏟
𝒙𝒚→𝒕

∫∫
𝐥𝐧(𝒕) 𝐥𝐧(𝟏 + 𝟐𝒕)

𝒕𝒚

𝒚

𝟎

𝟏

𝟎

𝒅𝒕𝒅𝒚 = −∑
(−𝟐)𝒏

𝒏
∫∫ ⁡

𝟏

𝒚
𝐥𝐧(𝒕) 𝒕𝒏−𝟏𝒅𝒕𝒅𝒚 = {𝑰𝑩𝑷⁡𝒎𝒆𝒕𝒉𝒐𝒅}

𝒚

𝟎

𝟏

𝟎

∞

𝒏=𝟏

 

= −∑
(−𝟐)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫𝐥𝐧(𝒚) 𝒚𝒏−𝟏𝒅𝒚

𝟏

𝟎

+∑
(−𝟐)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫∫
𝒕𝒏−𝟏

𝒚
𝒅𝒕𝒅𝒚

𝒚

𝟎

𝟏

𝟎

= 𝑨 + 𝑩 

𝑨 = −∑
(−𝟐)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫ 𝐥𝐧(𝒚)𝒚𝒏−𝟏𝒅𝒚 =

𝟏

𝟎

∑
(−𝟐)𝒏

𝒏𝟒
⁡⁡⁡⁡{𝒏𝒐𝒕𝒆 ∫𝒙𝒎 (𝒍𝒏𝒙)𝒏𝒅𝒙 =

(−𝟏)𝒏𝒏!

(𝒎 + 𝟏)𝒏+𝟏
}

𝟏

𝟎

∞

𝒏=𝟏

 

𝐁 = ∑
(−𝟐)𝒏

𝒏𝟐

∞

𝒏=𝟏

∫∫
𝒕𝒏−𝟏

𝒚
𝒅𝒕𝒅𝒚

𝒚

𝟎

𝟏

𝟎

= ∑
(−𝟐)𝒏

𝒏𝟑
∫𝒚𝒏−𝟏𝒅𝒚 =

𝟏

𝟎

∞

𝒏=𝟏

∑
(−𝟐)𝒏

𝒏𝟒
⁡⁡⁡⁡

∞

𝒏=𝟏

 

𝑰 = 𝑨 + 𝑩 = 𝟐∑
(−𝟐)𝒏

𝒏𝟒
= 𝟐𝑳𝒊𝟒(−𝟐)⁡⁡⁡⁡{𝒏𝒐𝒕𝒆⁡⁡𝑳𝒊𝟒(−𝟐) = −𝑳𝒊𝟒 (

𝟏

𝟐
) −

𝟕𝝅𝟒

𝟑𝟔𝟎
−
𝝅𝟐(𝒍𝒏𝟐)𝟐

𝟏𝟐

∞

𝒏=𝟏

−
(𝒍𝒏𝟐)𝟒

𝟐𝟒
} 

I =⁡𝑳𝒊𝟒(−𝟐) − 𝑳𝒊𝟒(
−𝟏

𝟐
) −

𝝅𝟐(𝒍𝒏𝟐)𝟐

𝟏𝟐
−
𝟕𝝅𝟒

𝟑𝟔𝟎
−
(𝒍𝒏𝟐)𝟒

𝟐𝟒
 

 
2441. Find a closed form: 

𝛀 = ∫∫
𝐥𝐧(𝟏 + 𝒙 + 𝒚 + 𝒙𝒚) 𝐭𝐚𝐧−𝟏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡

⁡⁡

𝟏

𝟎

𝟏

𝟎

 

Proposed by Abbaszade Yusif, Lamiye Quliyeva-Azerbaijan 
Solution by Alireza Askari-Iran 

 

𝛀 = ∫∫
𝐥𝐧(𝟏 + 𝒙 + 𝒚 + 𝒙𝒚) 𝐭𝐚𝐧−𝟏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚 =⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡

⁡⁡

𝟏

𝟎

𝟏

𝟎

 

= ∫∫
𝐥𝐧⁡(𝟏 + 𝒚) 𝐭𝐚𝐧−𝟏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚 + ∫∫

𝐥𝐧⁡(𝟏 + 𝒙) 𝐭𝐚𝐧−𝟏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒚 + 𝟏)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝐀 + 𝐁 

𝐁 = ∫
𝒅𝒚

𝟏 + 𝒚
∫
𝐥𝐧⁡(𝟏 + 𝒙) 𝐭𝐚𝐧−𝟏(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 =⏟

𝒙+𝟏→𝒙

𝟏

𝟎

𝟏

𝟎

𝐥𝐧(𝟐)∫
𝐥𝐧(𝒙) 𝐭𝐚𝐧−𝟏(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏

⁡⁡{𝐈𝐁𝐏⁡} 
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=
(𝒍𝒏𝟐)𝟑 𝐭𝐚𝐧−𝟏(𝟐)

𝟐
−
𝒍𝒏𝟐

𝟐
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐
𝒅𝒙 =

(𝒍𝒏𝟐)𝟑 𝐭𝐚𝐧−𝟏(𝟐)

𝟐
−
𝒍𝒏𝟐

𝟐
⁡𝑪

𝟐

𝟏

 

𝑪 = ∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐
𝒅𝒙 =⏟

𝒙→𝟏 𝒙⁄

𝟐

𝟏

𝟏

𝟐
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒊𝒙
𝒅𝒙 +

𝟏

𝟐

𝟏

𝟏
𝟐

∫
(𝒍𝒏𝒙)𝟐

𝟏 − 𝒊𝒙
𝒅𝒙

𝟏

𝟏
𝟐

=⁡∑
𝒊𝒏 + (−𝒊)𝒏

𝟐

∞

𝒏=𝟎

∫(𝒍𝒏𝒙)𝟐𝒙𝒏
𝟏

𝟏
𝟐

𝒅𝒙 =⏟
𝑰𝑩𝑷

 

−
(𝒍𝒏𝟐)𝟐

𝟒
∑(

𝒊𝒏 + (−𝒊)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

)(𝟐−𝒏) −∑
𝒊𝒏 + (−𝒊)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

∫𝒙𝒏
𝟏

𝟏
𝟐

𝐥𝐧(𝒙) 𝒅𝒙⁡⁡⁡⁡⁡{𝐈𝐁𝐏} 

= −
(𝒍𝒏𝟐)𝟐

𝟒
⁡∑(

𝒊𝒏 + (−𝒊)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

)(𝟐−𝒏) −
𝒍𝒏𝟐

𝟐
∑

𝒊𝒏 + (−𝒊)𝒏

(𝒏 + 𝟏)𝟐
(𝟐−𝒏) +∑

𝒊𝒏 + (−𝒊)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

∫𝒙𝒏𝒅𝒙

𝟏

𝟏
𝟐

= 

𝑪 = −
(𝒍𝒏𝟐)𝟐

𝟒
∑

𝒊𝒏 + (−𝒊)𝒏

𝒏 + 𝟏

∞

𝒏=𝟎

(𝟐−𝒏) −
𝒍𝒏𝟐

𝟐
∑

𝒊𝒏 + (−𝒊)𝒏

(𝒏 + 𝟏)𝟐
(𝟐−𝒏) −

𝟏

𝟐

∞

𝒏=𝟎

∑
𝒊𝒏 + (−𝒊)𝒏

(𝒏 + 𝟏)𝟑
(𝟐−𝒏)

∞

𝒏=𝟎

+∑
𝒊𝒏 + (−𝒊)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

 

𝑩 =
(𝒍𝒏𝟐)𝟑 𝐭𝐚𝐧−𝟏(𝟐)

𝟐
+
(𝒍𝒏𝟐)𝟑

𝟖
∑

(
𝒊
𝟐
)
𝒏−𝟏

+ (−
𝒊
𝟐
)
𝒏−𝟏

𝒏

∞

𝒏=𝟏

+
(𝒍𝒏𝟐)𝟐

𝟒
∑

(
𝒊
𝟐
)
𝒏−𝟏

+ (−
𝒊
𝟐
)
𝒏−𝟏

𝒏𝟐

∞

𝒏=𝟏

+
𝒍𝒏𝟐

𝟒
∑

(
𝒊
𝟐
)
𝒏−𝟏

+ (−
𝒊
𝟐
)
𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

−
𝒍𝒏𝟐

𝟐
∑

𝒊𝒏−𝟏+(−𝒊)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏

 

𝑩 =
(𝒍𝒏𝟐)𝟑 𝐭𝐚𝐧−𝟏(𝟐)

𝟐
+
(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏 (

𝟏

𝟐
) +

(𝒍𝒏𝟐)𝟐

𝟐𝒊
(𝑳𝒊𝟐 (

𝒊

𝟐
) − 𝑳𝒊𝟐 (

−𝒊

𝟐
)) 

−
𝒍𝒏𝟐

𝟐𝒊
(𝑳𝒊𝟑(𝒊) − 𝑳𝒊𝟑(−𝒊) + 𝑳𝒊𝟑 (

−𝒊

𝟐
) − 𝑳𝒊𝟑 (

𝒊

𝟐
)) 

∫∫
𝐥𝐧(𝟏 + 𝒚) 𝐭𝐚𝐧−𝟏(𝒙 + 𝟏)

(𝒙 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

=⏟
𝟏+𝒚→𝒚

∫
𝐥𝐧(𝒚)

𝒚

𝟐

𝟏

𝒅𝒚∫
𝐭𝐚𝐧−𝟏(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏

=
𝒍𝒏𝟐)𝟐

𝟐
∫
𝐭𝐚𝐧−𝟏(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏
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(𝒍𝒏𝟐)𝟐

𝟐
∫
𝐭𝐚𝐧−𝟏(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏

=⏟
𝑰𝑩𝑷

(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏(𝟐) −

(𝒍𝒏𝟐)𝟐

𝟐
∫
𝐥𝐧(𝒙)

𝒙𝟐 + 𝟏

𝟐

𝟏

𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

 

(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏 𝟐 +

(𝒍𝒏𝟐)𝟐

𝟐
∫
𝐥𝐧(𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟏
𝟐

𝐝𝐱 =
(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏 𝟐 +

(𝒍𝒏𝟐)𝟐

𝟐
𝑾 

𝑾 = ∫
𝐥𝐧(𝒙)

𝒙𝟐 + 𝟏

𝟏

𝟏
𝟐

𝐝𝐱 =
𝟏

𝟐
∫
𝐥𝐧(𝒙)

𝟏 + 𝒊𝒙

𝟏

𝟏
𝟐

𝒅𝒙 +
𝟏

𝟐
∫
𝐥𝐧(𝒙)

𝟏 − 𝒊𝒙

𝟏

𝟏
𝟐

𝒅𝒙) = ∑
(𝒊𝒏 + (−𝒊)𝒏)

𝟐
∫𝒙𝒏 𝐥𝐧(𝒙) 𝒅𝒙⁡

𝟏

𝟏/𝟐

∞

𝒏=𝟎

 

{𝑰𝑩𝑷} ⁡⁡⁡⁡=
𝒍𝒏𝟐

𝟒
∑

(
𝒊
𝟐
)𝒏−𝟏 + (

−𝒊
𝟐
)𝒏−𝟏

𝒏
−∑

𝒊𝒏 + (−𝒊)𝒏

𝟐(𝒏 + 𝟏)
∫𝒙𝒏𝒅𝒙⁡

𝟏

𝟏/𝟐

∞

𝒏=𝟎

∞

𝒏=𝟏

 

𝑾 =
𝒍𝒏𝟐

𝟒
∑

(
𝒊
𝟐
)𝒏−𝟏 + (

−𝒊
𝟐
)𝒏−𝟏

𝒏

∞

𝒏=𝟏

−∑
𝒊𝒏−𝟏 + (−𝒊)𝒏−𝟏

𝟐𝒏𝟐

∞

𝒏=𝟏

+∑
(
𝒊
𝟐
)𝒏−𝟏 + (

−𝒊
𝟐
)𝒏−𝟏

𝟒𝒏𝟐

∞

𝒏=𝟏

 

𝑨 =
(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏 𝟐 +

(𝒍𝒏𝟐)𝟑

𝟖
∑

(
𝒊
𝟐
)𝒏−𝟏 + (

−𝒊
𝟐
)𝒏−𝟏

𝒏

∞

𝒏=𝟏

−
(𝒍𝒏𝟐)𝟐

𝟒
∑

𝒊𝒏−𝟏 + (−𝒊)𝒏−𝟏

𝒏𝟐

∞

𝒏=𝟏

+
(𝒍𝒏𝟐)𝟐

𝟖
∑

(
𝒊
𝟐
)𝒏−𝟏 + (

−𝒊
𝟐
)𝒏−𝟏

𝒏𝟐

∞

𝒏=𝟏

 

𝑨 =
(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏 𝟐 +

(𝒍𝒏𝟐)𝟑

𝟐
𝐭𝐚𝐧−𝟏 (

𝟏

𝟐
) 

−
(𝒍𝒏𝟐)𝟐

𝟒𝒊
(𝑳𝒊𝟐(𝒊) − 𝑳𝒊𝟐(−𝒊) − 𝑳𝒊𝟐 (

𝒊

𝟐
) + 𝑳𝒊𝟐 (

−𝒊

𝟐
)) 

 

𝐀𝐍𝐒𝐖𝐄𝐑 = 𝑨 + 𝑩 =
𝝅(𝒍𝒏𝟐)𝟑

𝟐
+
𝟑(𝒍𝒏𝟐)𝟐

𝟒𝒊
(𝑳𝒊𝟐 (

𝒊

𝟐
) − 𝑳𝒊𝟐 (

−𝒊

𝟐
)) 

−
𝒍𝒏𝟐

𝟐𝒊
(𝑳𝒊𝟑(𝒊) − 𝑳𝒊𝟑(−𝒊) + 𝑳𝒊𝟑 (

−𝒊

𝟐
) − 𝑳𝒊𝟑 (

𝒊

𝟐
)) 

 

2442. Solve for real numbers: 
 

𝒙𝟐 + √
𝝅

𝟐
𝜞−𝟐(

𝟑

𝟒
)∫

𝒙𝒔𝒊𝒏(𝒙)

√𝐜𝐨𝐬⁡(𝒙)
𝒅𝒙 = 𝟑𝒙

𝝅
𝟐

𝟎

 

Proposed by Daniel Sitaru-Romania 
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Solution by Shirvan Tahirov-Azerbaijan 

𝒙𝟐 +√
𝝅

𝟐
𝜞−𝟐(

𝟑

𝟒
)∫

𝒙𝒔𝒊𝒏(𝒙)

√𝐜𝐨𝐬⁡(𝒙)
𝒅𝒙 = 𝟑𝒙

𝝅
𝟐

𝟎

 

𝑭𝒊𝒓𝒔𝒕⁡, 𝒍𝒆𝒕′𝒔⁡𝒍𝒐𝒐𝒌⁡⁡𝒂𝒕⁡⁡𝒕𝒉𝒆⁡⁡𝒔𝒐𝒍𝒖𝒕𝒊𝒐𝒏⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍…⁡ 

∫
𝒙𝒔𝒊𝒏(𝒙)

√𝐜𝐨𝐬(𝒙)
𝒅𝒙 =⏞

𝑰.𝑩.𝑷
𝝅
𝟐

𝟎

(−𝟐𝒙√𝐜𝐨𝐬(𝒙))

𝝅
𝟐
𝟎
+ 𝟐∫ √𝐜𝐨𝐬(𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 = 𝟐∫ √𝐜𝐨𝐬(𝒙)

𝝅
𝟐

𝟎

𝒅𝒙 

𝑺𝒖𝒃𝒔𝒕𝒊𝒕𝒖𝒕𝒊𝒐𝒏⁡ ∶ ⁡ 𝐜𝐨𝐬(𝒙) = 𝒕⁡, − 𝐬𝐢𝐧(𝒙)𝒅𝒙 = 𝒅𝒕⁡, 𝒅𝒙 = −
𝟏

√𝟏 − 𝒕𝟐
⁡𝒕[𝟎; 𝟏] 

Ω = 𝟐∫
√𝒕

√𝟏 − 𝒕𝟐
𝒅𝒕

𝟏

𝟎

=⏞
𝟐𝒕𝒅𝒕=𝒅𝒚

⏟  

𝒅𝒕=
𝒅𝒚

𝟐√𝒚

⁡∫
√𝒚
𝟒

√𝟏 − 𝒚

𝒅𝒚

√𝒚
=⁡

𝟏

𝟎

∫ 𝒚
𝟏
𝟒
−
𝟏
𝟐

𝟏

𝟎

(𝟏 − 𝒚)−
𝟏
𝟐𝒅𝒚

= ∫ 𝒚−
𝟏
𝟒(𝟏 − 𝒚)−

𝟏
𝟐𝒅𝒚 =

𝟏

𝟎

𝜷(
𝟑

𝟒
⁡,
𝟏

𝟐
) =

𝜞 (
𝟑
𝟒
) 𝜞 (

𝟏
𝟐
)

𝜞 (
𝟑
𝟒
+
𝟏
𝟐
)
= ⁡
𝜞 (
𝟑
𝟒
)√𝝅

𝜞 (
𝟓
𝟒
)

 

𝑻𝒉𝒆⁡⁡𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏⁡⁡𝒐𝒇⁡⁡𝒐𝒖𝒓⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍⁡⁡𝒊𝒔⁡⁡𝒄𝒐𝒎𝒑𝒍𝒆𝒕𝒆𝒅⁡, 𝒏𝒐𝒘⁡⁡𝒍𝒆𝒕′𝒔⁡⁡𝒓𝒆𝒕𝒖𝒓𝒏⁡⁡𝒕𝒐⁡⁡𝒕𝒉𝒆⁡⁡𝒑𝒓𝒆𝒗𝒊𝒐𝒖𝒔⁡⁡ 
𝒆𝒙𝒑𝒓𝒆𝒔𝒔𝒊𝒐𝒏 … 

𝒙𝟐 +√
𝝅

𝟐
𝜞−𝟐(

𝟑

𝟒
)∫

𝒙𝒔𝒊𝒏(𝒙)

√𝐜𝐨𝐬⁡(𝒙)
𝒅𝒙 = 𝟑𝒙

𝝅
𝟐

𝟎

 

𝒙𝟐 +√
𝝅

𝟐

𝟏

𝜞𝟐(
𝟑
𝟒
)
∫

𝒙𝒔𝒊𝒏(𝒙)

√𝐜𝐨𝐬⁡(𝒙)
𝒅𝒙 = 𝟑𝒙

𝝅
𝟐

𝟎

 

𝒙𝟐 + √
𝝅

𝟐
⁡.⁡⁡

𝟏

𝜞𝟐(
𝟑
𝟒
)
⁡.
𝜞 (
𝟑
𝟒
)√𝝅

𝜞(
𝟓
𝟒
)

= 𝟑𝒙 

𝒙𝟐 +√
𝝅

𝟐
⁡.

√𝝅

𝟏
𝟒
⁡. 𝜞 (𝟏 −

𝟏
𝟒
)⁡. 𝜞 (𝟏 +

𝟏
𝟒
)⁡
= 𝟑𝒙 

𝒙𝟐 + √
𝝅

𝟐
⁡.
𝟒√𝝅

√𝟐⁡𝝅
− 𝟑𝒙 = 𝟎 

𝒙𝟐 − 𝟑𝒙 + 𝟐 = 𝟎⁡ → (𝒙 − 𝟏)(𝒙 − 𝟐) = 𝟎 → ⁡⁡𝑨𝒏𝒔𝒘𝒆𝒓⁡ ∶ ⁡⁡𝒙 = 𝟏⁡⁡𝒂𝒏𝒅⁡⁡𝒙 = 𝟐 

2443. Find a closed form: 
 

𝛀 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐) (𝟏 +
𝟏 − 𝒙
𝟏 + 𝒙

𝒆𝒙)

𝟏

−𝟏

𝒅𝒙 

 
Proposed by Abbaszade Yusif-Azerbaijan 
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Solution by Alireza Askari-Iran 
 

𝛀 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐) (𝟏 +
𝟏 − 𝒙
𝟏 + 𝒙

𝒆𝒙)

𝟏

−𝟏

𝒅𝒙 =⏟
𝒙→−𝒙

∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙) 𝒆𝒙

𝒙(𝟏 + 𝒙𝟐) (𝒆𝒙 +
𝟏 + 𝒙
𝟏 − 𝒙

)
𝒅𝒙

𝟏

−𝟏

= 𝑰 

𝟐𝑰 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

−𝟏

𝒅𝒙 

= ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟎

−𝟏

𝒅𝒙 +∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 = 𝑨 + 𝑩 = 

𝑨 =⏟
𝒙→−𝒙

∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙⁡⁡⁡⁡&⁡⁡⁡⁡⁡⁡𝐵 = ∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 

𝟐𝑰 = 𝑨 + 𝑩 = 𝟐∫
(𝐥𝐧(𝒙𝟐))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 →
𝑰

𝟒
= ∫

(𝐥𝐧(𝒙))𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

𝟏

𝟎

𝒅𝒙 ⇒ 𝐈 =? 

𝑰

𝟒
= ∫

(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 − ∫
𝒙(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 = 𝛀 −𝚿 

𝛀 = ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 =
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∫𝒙𝒂−𝟏
𝟏

𝟎

𝐭𝐚𝐧−𝟏(𝒙) 𝒅𝒙

=
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
(−𝟏)𝒏

𝟐𝒏+ 𝟏

∞

𝒏=𝟎

∫𝒙𝒂+𝟐𝒏
𝟏

𝟎

𝒅𝒙 

𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)(𝒂 + 𝟐𝒏+ 𝟏)

∞

𝒏=𝟎

= 𝟐∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= 𝟐𝛃(𝟒) 

𝚿 = ∫
𝒙(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏 (

𝟏
𝒙
)

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 

=
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 − ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 

=
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 −∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 + ∫

(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

∞

𝟎

 

𝚿 =
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 −∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 +

∞

𝟎

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 −𝚿 
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𝟐𝚿 =
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 −∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 +

∞

𝟎

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = 𝑴 − 𝑵+ 𝛀 

𝛀 = 𝟐𝛃(𝟒) 

𝑴 =
𝝅

𝟐
∫

(𝒍𝒏𝒙)𝟐

𝒙(𝟏 + 𝒙𝟐)

∞

𝟏

𝒅𝒙 =⏟

𝒙→
𝟏
𝒙

𝝅

𝟐

𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑(−𝟏)𝒏
∞

𝒏=𝟎

∫𝒙𝟐𝒏+𝒂+𝟏
𝟏

𝟎

𝒅𝒙 = 

=
𝝅

𝟐

𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
(−𝟏)𝒏

𝒂 + 𝟐𝒏 + 𝟐

∞

𝒏=𝟎

= −
𝝅

𝟖
∑

(−𝟏)𝒏

(𝒏)𝟑

∞

𝒏=𝟏

= −
𝝅

𝟖
∑

−𝟑

𝟒𝒏𝟑

∞

𝒏=𝟏

=
𝟑𝝅𝜻(𝟑)

𝟑𝟐
= 𝑴 

𝑵 = ∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙 ⇛ 𝒇(𝒂) =

∞

𝟎

∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒂𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎

⇛ 𝒇(𝟏) = 𝑵 

(𝐅𝐞𝐲𝐧𝐦𝐚𝐧⁡𝐭𝐫𝐢𝐜𝐤} →
𝒅

𝒅𝒂
𝒇(𝒂) =

𝒅

𝒅𝒂
∫
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒂𝒙)

𝒙(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎

= ∫
𝝏

𝝏𝒂
(
(𝒍𝒏𝒙)𝟐 𝐭𝐚𝐧−𝟏(𝒂𝒙)

𝒙(𝟏 + 𝒙𝟐)
)𝒅𝒙

∞

𝟎

 

𝒅

𝒅𝒂
𝒇(𝒂) = ∫

(𝒍𝒏𝒙)𝟐

(𝟏 + (𝒂𝒙)𝟐)(𝟏 + 𝒙𝟐)

∞

𝟎

𝒅𝒙 =
𝒂𝟐

𝒂𝟐 − 𝟏
∫

(𝒍𝒏𝒙)𝟐

𝟏 + (𝒂𝒙)𝟐

∞

𝟎

𝒅𝒙 −
𝟏

𝒂𝟐 − 𝟏
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙

= 𝑲 − 𝑯 

𝑲 =
𝒂𝟐

𝒂𝟐 − 𝟏
∫

(𝒍𝒏𝒙)𝟐

𝟏 + (𝒂𝒙)𝟐

∞

𝟎

𝒅𝒙 =⏟
𝒂𝒙→𝒙

𝒂

𝒂𝟐 − 𝟏
∫
(𝐥𝐧 (

𝒙
𝒂
))
𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 = 

𝒂

𝒂𝟐 − 𝟏
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 −
𝟐𝒂𝒍𝒏(𝒂)

𝒂𝟐 − 𝟏
∫
𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 +
𝒂(𝒍𝒏𝒂)𝟐

𝒂𝟐 − 𝟏
∫

𝟏

𝒙𝟐 + 𝟏

∞

𝟎

𝒅𝒙 

{𝒏𝒐𝒕𝒆:⁡∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 =
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∫ (𝐭𝐚𝐧 𝒙)𝒂 𝒅𝒙 =
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

𝟏

𝟐
𝜷(
𝒂 + 𝟏

𝟐
∙

𝝅
𝟐

𝟎

𝟏 − 𝒂

𝟐
=
𝝅𝟑

𝟖
} 

{
 

 

𝒏𝒐𝒕𝒆:⁡∫
𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 =
𝝏

𝝏𝒂
|
𝒂=𝟎

∫ (𝐭𝐚𝐧 𝒙)𝒂 𝒅𝒙 =
𝝏

𝝏𝒂
|
𝒂=𝟎

𝟏

𝟐
𝜷(
𝒂 + 𝟏

𝟐
∙

𝝅
𝟐

𝟎

𝟏 − 𝒂

𝟐
= 𝟎

}
 

 

 

𝑯 =
𝟏

𝒂𝟐 − 𝟏
∫
(𝒍𝒏𝒙)𝟐

𝟏 + 𝒙𝟐

∞

𝟎

𝒅𝒙 =
𝝅𝟑

𝟖(𝒂𝟐 − 𝟏)
 

=⏟
𝒇(𝟎)=𝟎⁡&⁡𝑓(𝟏)=𝑵

⁡𝒇(𝟏) = ∫𝒅𝒇(𝒂) =

𝟏

𝟎

∫(𝑲 −𝑯)𝒅𝒂 =

𝟏

𝟎

𝝅𝟑

𝟖
∫

𝒅𝒂

𝒂 + 𝟏

𝟏

𝟎

+
𝝅

𝟐
∫
𝒂(𝒍𝒏𝒂)𝟐

𝒂𝟐 − 𝟏

𝟏

𝟎

𝒅𝒂 
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𝑵 = 𝒇(𝟏) =
𝝅𝟑

𝟖
𝐥𝐧(𝟐) −

𝝅

𝟐

𝝏𝟐

𝝏𝒃𝟐
|
𝒃=𝟎

∑∫𝒂𝟐𝒏+𝒃+𝟏
𝟏

𝟎

𝒅𝒂

∞

𝒏=𝟎

 

𝝅𝟑

𝟖
𝐥𝐧(𝟐) −

𝝅

𝟐

𝝏𝟐

𝝏𝒃𝟐
|
𝒃=𝟎

∑
𝟏

𝟐𝒏 + 𝒃 + 𝟐

∞

𝒏=𝟎

=
𝝅𝟑

𝟖
𝐥𝐧(𝟐) − 𝝅∑

𝟏

𝟖𝒏𝟑
=

∞

𝒏=𝟏

𝝅𝟑

𝟖
𝐥𝐧(𝟐) −

𝝅𝜻(𝟑)

𝟖
= 𝑵 

𝑰 = 𝟒𝛀 − 𝟒𝚿 = 𝟒𝛀 − 𝟒(
𝑴

𝟐
−
𝑵

𝟐
+
𝛀

𝟐
) = 𝟐𝛀 − 𝟐𝑴+ 𝟐𝑵 

𝑰 = 𝟒𝜷(𝟒) −
𝟑𝝅

𝟏𝟔
𝜻(𝟑) +

𝝅𝟑

𝟒
𝒍𝒏(𝟐) −

𝝅

𝟒
𝜻(𝟑) 

𝐀𝐍𝐒𝐖𝐄𝐑 = 𝑰 =
𝝍(𝟑)(

𝟏
𝟒
)

𝟏𝟗𝟐
−
𝝅𝟒

𝟐𝟒
−
𝟕𝝅

𝟏𝟔
𝜻(𝟑) +

𝝅𝟑

𝟒
𝒍𝒏(𝟐) 

 
{𝐧𝐨𝐭𝐞⁡𝐬𝐞𝐜𝐭𝐢𝐨𝐧} 

𝜷(𝟒) =
𝝍(𝟑)(

𝟏
𝟒
)

𝟕𝟔𝟖
−
𝟖𝝅𝟒

𝟕𝟔𝟖
 

2444. Find a closed form: 

𝛀 = ∫𝑳𝒊𝟐(−𝒙
𝟐

𝟏

𝟎

) 𝐭𝐚𝐧−𝟏(𝒙)𝒅𝒙 

Proposed by Abbaszade Yusif-Azerbaijan 
Solution by Alireza Askari-Iran 

𝛀 = ∫𝑳𝒊𝟐(−𝒙
𝟐

𝟏

𝟎

) 𝐭𝐚𝐧−𝟏(𝒙)𝒅𝒙 = 

=⏟
𝑰𝑩𝑷

𝑳𝒊𝟐(−𝟏) (
𝝅

𝟒
−
𝒍𝒏𝟐

𝟐
) + 𝟐∫ 𝐥𝐧⁡(𝟏 + 𝒙𝟐) 𝐭𝐚𝐧−𝟏(𝒙)𝒅𝒙

𝟏

𝟎

− ∫
(𝐥𝐧⁡(𝟏 + 𝒙𝟐))𝟐

𝒙

𝟏

𝟎

𝒅𝒙 

𝐀 = ∫ 𝐥𝐧(𝟏 + 𝒙𝟐) 𝐭𝐚𝐧−𝟏(𝒙)𝒅𝒙

𝟏

𝟎

⁡⁡⁡⁡&⁡⁡⁡⁡𝑩 = ∫
(𝐥𝐧(𝟏 + 𝒙𝟐))𝟐

𝒙

𝟏

𝟎

𝒅𝒙 

𝑨 = ∫ 𝐥𝐧(𝟏 + 𝒙𝟐) 𝐭𝐚𝐧−𝟏(𝒙)𝒅𝒙

𝟏

𝟎

=⏟
𝑰𝑩𝑷

𝛑

𝟒
𝒍𝒏𝟐 −

(𝒍𝒏𝟐)𝟐

𝟐
− ∫

𝟐𝒙𝟐 𝐭𝐚𝐧−𝟏(𝒙) − 𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

𝛑

𝟒
𝒍𝒏𝟐 −

(𝒍𝒏𝟐)𝟐

𝟐
− 𝟐∫𝐭𝐚𝐧−𝟏 𝒙

𝟏

𝟎

𝒅𝒙 + 𝟐∫
𝐭𝐚𝐧−𝟏 𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 +∫
𝒙𝒍𝒏(𝟏 + 𝒙𝟐)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙⁡⁡ 

⁡⁡⁡⁡𝑨 = (⁡
𝛑

𝟒
+ 𝟏) 𝒍𝒏𝟐 −

(𝒍𝒏𝟐)𝟐

𝟒
+
𝝅𝟐

𝟏𝟔
−
𝝅

𝟐
⁡⁡ 
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𝑩 = ∫
(𝐥𝐧(𝟏 + 𝒙𝟐))𝟐

𝒙

𝟏

𝟎

𝒅𝒙 =⏟
𝒙𝟐→𝒙

∫
(𝐥𝐧(𝟏 + 𝐱))𝟐

𝟐𝒙

𝟏

𝟎

𝒅𝒙 =⏟
𝟏+𝒙→𝒙

∫
(𝒍𝒏𝒙)𝟐

𝟐(𝒙 − 𝟏)

𝟐

𝟏

𝒅𝒙 

=⏟

𝒙→
𝟏
𝒙

∫
(𝒍𝒏𝒙)𝟐

𝟐𝒙(𝟏 − 𝒙)

𝟏

𝟏
𝟐

𝒅𝒙 = ∫
(𝒍𝒏𝒙)𝟐

𝟐𝒙(𝟏 − 𝒙)

𝟏

𝟏
𝟐

𝒅𝒙 = ∫
(𝒍𝒏𝒙)𝟐

𝟐𝒙

𝟏

𝟏
𝟐

𝒅𝒙 + ∫
(𝒍𝒏𝒙)𝟐

𝟐(𝟏 − 𝒙)

𝟏

𝟏
𝟐

𝒅𝒙 = 

(𝒍𝒏𝟐)𝟑

𝟔
+
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑∫
𝒙𝒂+𝒏

𝟐
𝒅𝒙

𝟏

𝟏
𝟐

∞

𝒏=𝟎

=
(𝒍𝒏𝟐)𝟑

𝟔
+
𝝏𝟐

𝝏𝒂𝟐
|
𝒂=𝟎

∑
𝟏− (

𝟏
𝟐
)
𝒂+𝒏+𝟏

𝟐(𝒂 + 𝒏 + 𝟏)

∞

𝒏=𝟎

= 

𝑩 =
(𝒍𝒏𝟐)𝟑

𝟔
+ ∑

𝟏

(𝒏)𝟑

∞

𝒏=𝟏`

−∑
(
𝟏
𝟐
)
𝒏

(𝒏)𝟑

∞

𝒏=𝟏

−
(𝒍𝒏𝟐)𝟐

𝟐
∑

(
𝟏
𝟐
)
𝒏

𝒏

∞

𝒏=𝟏

− 𝒍𝒏𝟐∑
(
𝟏
𝟐
)
𝒏

𝒏𝟐

∞

𝒏=𝟏

 

𝑩 =
(𝒍𝒏𝟐)𝟑

𝟔
+ 𝜻(𝟑) − 𝑳𝒊𝟑 (

𝟏

𝟐
) −

(𝒍𝒏𝟐)𝟑

𝟐
− 𝒍𝒏𝟐𝑳𝒊𝟐 (

𝟏

𝟐
) ⇒ ⁡𝑩 =

𝜻(𝟑)

𝟖
 

{𝐧𝐨𝐭𝐞:⁡𝐋𝐢𝟐 (
𝟏

𝟐
) =

𝛑𝟐

𝟏𝟐
−
(𝐥𝐧𝟐)𝟐

𝟐
⁡&⁡𝐋𝐢𝟑 (

𝟏

𝟐
) =

(𝐥𝐧𝟐)𝟑

𝟔
−
𝛑𝟐

𝟏𝟐
𝐥𝐧𝟐 +

𝟕𝛇(𝟑)

𝟖
⁡&⁡𝐋𝐢𝟐(−𝟏) = −

𝛑𝟐

𝟏𝟐
⁡ 

𝑨𝑵𝑺𝑾𝑬𝑹 = −
𝝅𝟑

𝟒𝟖
+
𝝅𝟐𝒍𝒏𝟐

𝟐𝟒
+ 𝟐𝑨 − 𝑩

= −
𝝅𝟑

𝟒𝟖
+
𝝅𝟐𝒍𝒏𝟐

𝟐𝟒
+ (⁡

𝛑

𝟐
+ 𝟐) 𝒍𝒏𝟐 −

(𝒍𝒏𝟐)𝟐

𝟐
+
𝝅𝟐

𝟖
− 𝝅 −

𝜻(𝟑)

𝟖
⁡ 

 

2445. Find a closed form: 

𝑰 = ∫
𝑳𝒊𝟐(−𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝒙(𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

Proposed by Abbaszade Yusif-Azerbaijan 
Solution by Alireza Askari-Iran 

𝛀 = 𝑨 − 𝑩 = ∫
𝑳𝒊𝟐(−𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 −∫
𝑳𝒊𝟐(−𝒙) 𝐥𝐧(𝟏 + 𝒙)

(𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

𝑨 = ∫
𝑳𝒊𝟐(−𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 = −
(𝑳𝒊𝟐(−𝟏))

𝟐

𝟐
= {𝒏𝒐𝒕𝒆: 𝒅𝑳𝒊𝟐(−𝒙) = −

𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙 

𝑩 = ∫
𝑳𝒊𝟐(−𝒙) 𝐥𝐧(𝟏 + 𝒙)

(𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 =⏟
𝑰𝑩𝑷

𝑳𝒊𝟐(−𝟏)(𝐥𝐧(𝟐))
𝟐

𝟐
+ ∫

(𝐥𝐧(𝟏 + 𝒙))𝟑

𝟐𝒙
𝒅𝒙

𝟏

𝟎

 

𝑪 = ∫
(𝐥𝐧(𝟏 + 𝒙))𝟑

𝟐𝒙
𝒅𝒙

𝟏

𝟎

=⏟
𝟏+𝒙→𝒙

∫
(𝐥𝐧(𝒙))𝟑

𝟐(𝒙 − 𝟏)
𝒅𝒙

𝟐

𝟏

=⏟

𝒙→
𝟏
𝒙

∫
(𝐥𝐧⁡(𝒙))𝟑

𝟐(𝒙 − 𝒙𝟐)

𝟏

𝟏/𝟐

𝒅𝒙 
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= ∫
(𝐥𝐧(𝒙))𝟑

𝟐𝒙

𝟏

𝟏/𝟐

𝒅𝒙 + ∫
(𝐥𝐧(𝒙))𝟑

𝟐(𝟏 − 𝒙)

𝟏

𝟏/𝟐

𝒅𝒙 =
(𝐥𝐧(𝟐))𝟒

𝟖
+∑

𝟏

𝟐
∫𝒙𝒏(𝐥𝐧(𝒙))𝟑
𝟏

𝟏
𝟐

𝒅𝒙

∞

𝒏=𝟎

= 

→ 𝑫 =∑
𝟏

𝟐
∫𝒙𝒏(𝐥𝐧(𝒙))𝟑
𝟏

𝟏
𝟐

𝒅𝒙 =

∞

𝒏=𝟎

∑
𝟏

𝟐
(∫𝒙𝒏(𝐥𝐧(𝒙))𝟑𝒅𝒙 − ∫𝒙𝒏(𝐥𝐧(𝒙))𝟑𝒅𝒙) =

𝟏
𝟐

𝟎

𝟏

𝟎

∞

𝒏=𝟎

𝚿− 𝚽 

{𝒏𝒐𝒕𝒆:⁡ ∫𝒙𝒎(𝐥𝐧(𝒙))𝒏
𝟏

𝟎

𝒅𝒙 =
(−𝟏)𝒏𝒏!

(𝒎 + 𝟏)𝒏+𝟏
⁡⁡{𝒏 > −1⁡^⁡𝑚 ≠ −1}} 

𝚿 =∑
𝟏

𝟐
∫𝒙𝒏(𝐥𝐧(𝒙))𝟑𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟎

= ∑
𝟑

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= 𝟑𝛇(𝟒) 

𝚽 =∑
𝟏

𝟐

∞

𝒏=𝟎

∫𝒙𝒏(𝐥𝐧(𝒙))𝟑𝒅𝒙

𝟏
𝟐

𝟎

= 

=⏟
𝑰𝑩𝑷

−
(𝐥𝐧(𝟐))𝟑

𝟐
∑

(
𝟏
𝟐
)
𝒏+𝟏

𝒏 + 𝟏

∞

𝒏=𝟎

−
𝟑

𝟐
∑

𝟏

(𝒏 + 𝟏)

∞

𝒏=𝟎

∫𝒙𝒏

𝟏
𝟐

𝟎

(𝐥𝐧(𝒙))𝟐𝒅𝒙 

=⏟
𝑰𝑩𝑷

−
(𝐥𝐧(𝟐))𝟑

𝟐
∑

(
𝟏
𝟐
)
𝒏+𝟏

𝒏 + 𝟏
−
𝟑(𝒍𝒏𝟐)𝟐

𝟐
∑

(
𝟏
𝟐
)
𝒏+𝟏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

+∑
𝟑

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∫𝒙𝒏

𝟏
𝟐

𝟎

𝐥𝐧⁡(𝒙)𝒅𝒙 

=⏟
𝑰𝑩𝑷

− 𝟑𝒍𝒏𝟐∑
(
𝟏
𝟐
)
𝒏+𝟏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

−∑
𝟑

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

∫𝒙𝒏

𝟏
𝟐

𝟎

𝒅𝒙 = 

𝚽 = −
(𝐥𝐧(𝟐))𝟑

𝟐
∑

(
𝟏
𝟐
)
𝒏+𝟏

𝒏 + 𝟏
−
𝟑(𝒍𝒏𝟐)𝟐

𝟐
∑

(
𝟏
𝟐
)
𝒏+𝟏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

− 𝟑𝒍𝒏𝟐∑
(
𝟏
𝟐
)
𝒏+𝟏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟎

− 𝟑∑
(
𝟏
𝟐
)
𝒏+𝟏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

 

𝜱 = −
(𝒍𝒏𝟐)𝟑

𝟐
𝑳𝒊𝟏 (

𝟏

𝟐
) −

𝟑(𝒍𝒏𝟐)𝟐

𝟐
𝑳𝒊𝟐 (

𝟏

𝟐
) − 𝟑𝒍𝒏𝟐𝑳𝒊𝟑 (

𝟏

𝟐
) − 𝟑𝑳𝒊𝟒 (

𝟏

𝟐
) 

𝚽 =
−(𝒍𝒏𝟐)𝟒

𝟒
+
𝝅𝟐(𝒍𝒏𝟐)𝟐

𝟖
−
𝟐𝟏

𝟖
𝒍𝒏𝟐⁡𝜻(𝟑) − 𝟑𝑳𝒊𝟒 (

𝟏

𝟐
) 

𝑪 = −
(𝐥𝐧(𝟐))𝟒

𝟖
+𝚿− 𝚽 = 𝟑𝛇(𝟒) +

(𝒍𝒏𝟐)𝟒

𝟖
+
𝝅𝟐(𝒍𝒏𝟐)𝟐

𝟖
+
𝟐𝟏

𝟖
𝒍𝒏𝟐⁡𝜻(𝟑) + 𝟑𝑳𝒊𝟒 (

𝟏

𝟐
) 

{
 

 𝑩 =
𝑳𝒊𝟐(−𝟏)(𝐥𝐧(𝟐))

𝟐

𝟐
+ 𝑪 = −

𝝅𝟐(𝒍𝒏𝟐)𝟐

𝟐𝟒
+ 𝑪

𝑨 = −
𝝅𝟒

𝟐𝟖𝟖
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𝐀𝐍𝐒𝐖𝐄𝐑:⁡𝑨 − 𝑩 =
𝟐𝟏

𝟖
𝒍𝒏𝟐⁡𝜻(𝟑) + 𝟑𝑳𝒊𝟒 (

𝟏

𝟐
) +

(𝒍𝒏𝟐)𝟒

𝟖
−
𝝅𝟐(𝒍𝒏𝟐)𝟐

𝟏𝟐
−
𝟓𝟑𝝅𝟒

𝟏𝟒𝟒𝟎
 

 
{𝒏𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏} 

𝛇(𝟒) =
𝝅𝟒

𝟗𝟎
⁡⁡.⁡⁡𝑳𝒊𝟑 (

𝟏

𝟐
) =

(𝒍𝒏𝟐)𝟑

𝟔
−
𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐 +

𝟕

𝟖
𝛇(𝟑)⁡⁡. ⁡𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟐

𝟏𝟐
−
(𝒍𝒏𝟐)𝟐

𝟐
 

 
2446. Find a closed form: 

𝛀 = ∫ ∫ ∫
𝐥𝐨𝐠𝐞 (

𝟏
(𝒙 + 𝒚 + 𝒛)𝒙+𝒚+𝒛

)

𝟏 + 𝒆𝒙+𝒚+𝒛

∞

𝟎

∞

𝟎

∞

𝟎

𝒅𝒙𝒅𝒚𝒅𝒛 

 
Proposed by Amin Hajiyev-Azerbaijan 

Solution by Pham Duc Nam-Vietnam 

 

∗ 𝛀 = −∫ ∫ ∫
(𝒙 + 𝒚 + 𝒛)𝐥𝐧(𝒙 + 𝒚 + 𝒛)

𝟏 + 𝒆𝒙+𝒚+𝒛

∞

𝟎

𝒅𝒙𝒅𝒚𝒅𝒛
∞

𝟎

∞

𝟎

 

𝑳𝒆𝒕:⁡𝒙 → ⁡𝒆−𝒙, 𝒚 → ⁡𝒆−𝒚, 𝒛 → ⁡𝒆−𝒛 → ⁡𝜴

= −∫ ∫ ∫
𝐥𝐧(𝒙𝒚𝒛) 𝐥𝐧(−𝐥𝐧(𝒙𝒚𝒛))

𝟏 + 𝒙𝒚𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚𝒅𝒛 

𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚 →
𝟏

𝟐
∫
𝐥𝐧𝟑(𝒙) 𝐥𝐧(−𝐥𝐧(𝒙))

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = −
𝟏

𝟐
∫

𝒙𝟑 𝐥𝐧(𝒙)

𝟏 + 𝒆−𝒙

∞

𝟎

𝒆−𝒙𝒅𝒙 

= −
𝟏

𝟐
∫ 𝒙𝟑𝐥𝐧(𝒙)𝒆−𝒙 (∑(−𝟏)𝒏𝒆−𝒏𝒙

∞

𝒏=𝟎

)𝒅𝒙
∞

𝟎

= −
𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒙𝟑𝐥𝐧(𝒙)𝒆−𝒙(𝒏+𝟏)𝒅𝒙
∞

𝟎

= 

= −
𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

⁡
𝒅

𝒅𝒔
|𝒔=𝟒∫ 𝒙𝒔−𝟏𝒆−(𝒏+𝟏)𝒙

∞

𝟎

𝒅𝒙

= −
𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

𝒅

𝒅𝒔
|𝒔=𝟒𝑴{𝒆

−(𝒏+𝟏)𝒙}(𝒔) = 

= −
𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

𝒅

𝒅𝒔
|𝒔=𝟒

𝜞(𝒔)

(𝒏 + 𝟏)𝒔

= −
𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

(
𝝍(𝒔)𝜞(𝒔)

(𝒏 + 𝟏)𝒔
−
𝐥𝐧(𝒏 + 𝟏)𝜞(𝒔)

(𝒏 + 𝟏)𝒔
) |𝒔=𝟒 = 
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−
𝟏

𝟐
∑(−𝟏)𝒏 (

−𝟔𝐥𝐧(𝒏 + 𝟏) − 𝟔𝜸 + 𝟏𝟏

(𝒏 + 𝟏)𝟒
)

∞

𝒏=𝟎

= 

= −
𝟏𝟏

𝟐
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

+ 𝟑𝜸∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

+ 𝟑∑
(−𝟏)𝒏𝐥𝐧(𝒏 + 𝟏)

(𝒏 + 𝟏)𝟒

∞

𝒏=𝟎

= 

= −
𝟏𝟏

𝟐

𝟕𝝅𝟒

𝟕𝟐𝟎
+ 𝟑𝜸

𝟕𝝅𝟒

𝟕𝟐𝟎
+ 𝟑 (−

𝟕𝜻′(𝟒)

𝟖
−
𝝅𝟒

𝟕𝟐𝟎
𝐥𝐧(𝟐)) = 

=
𝟕𝛑𝟒

𝟐𝟒𝟎
𝛄 −

𝟕𝟕𝛑𝟒

𝟏𝟒𝟒𝟎
−
𝟐𝟏𝛇′(𝟒)

𝟖
−
𝝅𝟒

𝟐𝟒𝟎
𝐥𝐧(𝟐) 

 
𝒏𝒐𝒕𝒆𝒔: 

∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝒔

∞

𝒏=𝟎

= 𝜻(𝒔)(𝟏 − 𝟐𝟏−𝒔) →
𝒅

𝒅𝒔
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝒔

∞

𝒏=𝟎

=
𝒅

𝒅𝒔
𝜻(𝒔)(𝟏 − 𝟐𝟏−𝒔) 

∑
(−𝟏)𝒏𝐥𝐧(𝒏 + 𝟏)

(𝒏 + 𝟏)𝒔

∞

𝒏=𝟎

= −𝟐−𝒔((𝟐𝒔 − 𝟐)𝜻′(𝒔) + 𝟐 𝐥𝐧(𝟐) 𝛇(𝐬)) 

 

2447. Prove that: 
 

Ω⁡ = ∫ ∫ ∫
𝐬𝐢𝐧(𝒙+ 𝒚 + 𝒛) ⁡.⁡⁡𝐜𝐨𝐬⁡(𝒙+ 𝒚 + 𝒛)

√𝒙√𝒚√𝒛

𝒅𝒙𝒅𝒚𝒅𝒛 = −𝝅𝟓/𝟐
√𝟏𝟓 + 𝟏𝟏√𝟐− 𝟐√𝟏𝟏𝟔+ 𝟖𝟐√𝟐
𝟒

𝟒√𝟖
𝟒
⁡.⁡⁡𝜞 (

𝟏
𝟒)⁡ . 𝜞 (

𝟏
𝟖)

∞

𝟎

∞

𝟎

∞

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan, Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 
 

∫ ∫ ∫
𝐬𝐢𝐧(𝒙 + 𝒚 + 𝒛) ⁡.⁡⁡𝐜𝐨𝐬⁡(𝒙 + 𝒚 + 𝒛)

√𝒙√𝒚√𝒛

𝒅𝒙𝒅𝒚𝒅𝒛
∞

𝟎

∞

𝟎

∞

𝟎

=
𝟏

𝟐
∫ ∫ ∫

𝐬𝐢𝐧⁡(𝟐𝒙 + 𝟐𝒚 + 𝟐𝒛)

√𝒙√𝒚√𝒛

𝒅𝒙𝒅𝒚𝒅𝒛
∞

𝟎

=
∞

𝟎

∞

𝟎

 

=
𝟏

𝟐
𝑰𝒎{∫ ∫ ∫

𝒆𝟐𝒙𝒊𝒆𝟐𝒚𝒊𝒆𝟐𝒛𝒊

𝒙
𝟏
𝟐. 𝒚

𝟏
𝟒. 𝒛

𝟏
𝟖

𝒅𝒙𝒅𝒚𝒅𝒛
∞

𝟎

=
∞

𝟎

∞

𝟎

}

=
𝟏

𝟐
𝑰𝒎∫ ∫ ∫ 𝒆𝟐𝒊𝒙𝒙−

𝟏
𝟐𝒆𝟐𝒊𝒚𝒚−

𝟏
𝟒𝒆𝟐𝒊𝒛𝒛−

𝟏
𝟔𝒅𝒙𝒅𝒚𝒅𝒛

∞

𝟎

=
∞

𝟎

∞

𝟎
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=
𝟏

𝟐
𝑰𝒎(𝑲⁡.⁡⁡𝑴⁡⁡. 𝑵) 

𝑲 = ∫ 𝒆𝟐𝒙𝒊
∞

𝟎

𝒙−
𝟏
𝟐𝒅𝒙 =

𝜞(
𝟏
𝟐
)

√𝟐𝒊𝟑
=
√𝝅

𝒊√𝟐𝒊
= 𝒊−

𝟑
𝟐√
𝝅

𝟐
= 𝒆−

𝟑
𝟒𝐥𝐧⁡(𝒊

𝟐)√
𝝅

𝟐
= −𝒆−

𝟑
𝟒𝒊𝝅√

𝝅

𝟐
 

𝑴 = ∫ 𝒆𝟐𝒚𝒊𝒚−
𝟏
𝟒𝒅𝒚 =

∞

𝟎

𝜞 (
𝟑
𝟒
)

(−𝟐𝒊)
𝟑
𝟒

=
𝜞 (
𝟑
𝟒
) 𝒊
𝟑
𝟒

√𝟖
𝟒 =

𝜞 (
𝟑
𝟒
) 𝒆

𝟑
𝟖𝐥𝐧⁡(𝒊

𝟐)

√𝟖
𝟒 = 𝒆

𝟑
𝟖𝒊𝝅
𝜞 (
𝟑
𝟒
)

√𝟖
𝟒  

𝑵 = ∫ 𝒆𝟐𝒛𝒊𝒛−
𝟏
𝟖𝒅𝒛 =

∞

𝟎

𝜞 (
𝟕
𝟖
)

(−𝟐𝒊)
𝟕
𝟖

=
𝜞(
𝟕
𝟖
) 𝒊
𝟕
𝟖

𝟐
𝟕
𝟖

= 𝒆
𝟕
𝟏𝟔𝒊𝝅

𝜞 (
𝟕
𝟖
)

𝟐
𝟕
𝟖

 

Ω =
𝟏

𝟐
𝑰𝒎(𝑲⁡.⁡⁡𝑴⁡⁡. 𝑵) = −

𝟏

𝟐
𝑰𝒎{√

𝝅

𝟐
⁡ . 𝒆

𝟕
𝟏𝟔𝒊𝝅

𝜞 (
𝟕
𝟖
)

𝟐
𝟕
𝟖

⁡ . 𝒆−
𝟑
𝟒𝒊𝝅. 𝒆

𝟑
𝟖𝒊𝝅
𝜞(
𝟑
𝟒
)

√𝟖
𝟒 ⁡} = 

−
𝟏

𝟐
𝑰𝒎{√

𝝅

𝟐
⁡.⁡⁡
𝜞 (
𝟕
𝟖
) 𝜞(

𝟑
𝟒
)

𝟐
𝟕
𝟖⁡.⁡⁡√𝟖

𝟒

⁡ . 𝒆
𝟏
𝟏𝟔𝒊𝝅⁡} = −

𝟏

𝟐
⁡.⁡⁡√

𝝅

𝟐
.
𝜞 (
𝟕
𝟖
) 𝜞 (

𝟑
𝟒
)

𝟐
𝟕
𝟖⁡.⁡⁡√𝟖

𝟒

⁡ . 𝐬𝐢𝐧 (
𝝅

𝟏𝟔
) 

Ω = −
𝟏

𝟐
⁡. √
𝝅

𝟐

𝝅𝟐 𝐬𝐢𝐧 (
𝝅
𝟏𝟔
)

𝟐
𝟕
𝟖⁡.⁡⁡√𝟖

𝟒
⁡. 𝐬𝐢𝐧 (

𝝅
𝟒
) . 𝐬𝐢𝐧(

𝝅
𝟖
) 𝜞(

𝟏
𝟒
)𝜞 (

𝟏
𝟖
)⁡⁡

= −𝝅𝟓/𝟐
√𝟏𝟓 + 𝟏𝟏√𝟐 − 𝟐√𝟏𝟏𝟔 + 𝟖𝟐√𝟐
𝟒

𝟒√𝟖
𝟒
⁡.⁡⁡𝜞 (

𝟏
𝟒
)⁡ . 𝜞 (

𝟏
𝟖
)

 

2448. Prove that: 

∫ (
𝟏

𝒙
−
𝐬𝐢𝐧(𝒙)

𝒙𝟐
)

𝟐

𝒅𝒙 =
𝝅

𝟑𝑹

 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ (
𝒙 − 𝐬𝐢𝐧(𝒙)

𝒙𝟐
)

𝟐∞

−∞

𝒅𝒙 = 𝟐∫
𝒙𝟐 − 𝟐𝒙⁡𝐬𝐢𝐧(𝒙) + 𝒔𝒊𝒏²(𝒙)

𝒙𝟒
𝒅𝒙

∞

𝟎

= 

= 𝟐∫ 𝑳−𝟏 {
𝟏

𝒙𝟒
} (𝒔)𝑳{𝒙𝟐 − 𝟐𝒙⁡𝒔𝒊𝒏(𝒙) + 𝒔𝒊𝒏𝟐(𝒙)}(𝒔)𝒅𝒔

∞

𝟎

 

𝑳𝒂𝒑𝒍𝒂𝒄𝒆⁡𝒕𝒓𝒂𝒏𝒔𝒇𝒐𝒓𝒎:⁡𝑳{𝒇}(𝒔) = ∫ 𝒇(𝒕)𝒆−𝒔𝒕𝒅𝒕
∞

𝟎
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𝑰𝒏𝒗𝒆𝒓𝒔𝒆⁡𝑳𝒂𝒑𝒍𝒂𝒄𝒆⁡𝒕𝒓𝒂𝒏𝒔𝒇𝒐𝒓𝒎:⁡𝑳−𝟏{𝑭(𝒔)}(𝒕) = 𝒇(𝒕) =
𝟏

𝟐𝝅𝒊
𝐥𝐢𝐦
𝑻→∞

∫ 𝒆𝒔𝒕𝑭(𝒔)𝒅𝒔
𝜸+𝒊𝑻

𝜸−𝒊𝑻

 

 

𝑳{𝒕𝒏}(𝒔) =
𝒏!

𝒔𝒏+𝟏
;⁡𝑳−𝟏 {

𝒂

𝒔𝒎
} (𝒕) =

𝒂⁡𝒕𝒎−𝟏

(𝒎 − 𝟏)!
⁡⁡⁡→ ⁡⁡⁡ 𝑳−𝟏 {

𝟏

𝒙𝟒
} (𝒔) =

𝒔𝟑

𝟑!
=
𝒔𝟑

𝟔
 

 

𝑳{𝒙𝟐}(𝒔) =
𝟐!

𝒔𝟐+𝟏
=
𝟐

𝒔𝟑
 

 

𝑳{𝒕𝒏 𝐬𝐢𝐧(𝒂𝒕)}(𝒔) = (−𝟏)𝒏 ⁡
𝒅𝒏

𝒅𝒔𝒏
(

𝒂

𝒔𝟐 + 𝒂𝟐
) ⁡→ ⁡𝑳{𝟐𝒙𝐬𝐢𝐧(𝒙)}(𝒔) =

𝟒𝒔

(𝒔𝟐 + 𝟏)𝟐
 

 

𝑳{𝐜𝐨𝐬(𝒂𝒕)}(𝒔) =
𝒔

𝒔𝟐 + 𝒂𝟐
⁡⁡⁡→ ⁡⁡⁡𝑳{𝒔𝒊𝒏𝟐(𝒙)}(𝒔) = 𝑳 {

𝟏

𝟐
−
𝐜𝐨𝐬(𝟐𝒙)

𝟐
} (𝒔) = 

=
𝟏

𝟐𝒔
−

𝒔

𝟐(𝒔𝟐 + 𝟒)
=

𝟐

𝒔(𝒔𝟐 + 𝟒)
 

𝜴 = 𝟐∫
𝒔𝟑

𝟔
(
𝟐

𝒔𝟑
−

𝟒𝒔

(𝒔𝟐 + 𝟏)𝟐
+

𝟐

𝒔(𝒔𝟐 + 𝟒)
)𝒅𝒔 =

∞

𝟎

 

 

=
𝟖

𝟑
∫

𝟏

𝒔𝟐 + 𝟏
𝒅𝒔

∞

𝟎

−
𝟖

𝟑
∫

𝟏

𝒔𝟐 + 𝟒
𝒅𝒔

∞

𝟎

−
𝟒

𝟑
∫

𝟏

(𝒔𝟐 + 𝟏)𝟐

∞

𝟎

𝒅𝒔 =
𝟖

𝟑
.
𝝅

𝟐
−
𝟖

𝟑
.
𝝅

𝟒
−
𝟒

𝟑
.
𝝅

𝟒
=
𝝅

𝟑
 

2449. Find: 

𝛀 = ∫ (
𝐭𝐚𝐧−𝟏 𝒙

𝒙 − 𝐭𝐚𝐧−𝟏 𝒙
)

𝟐√𝟑

𝟏

𝒅𝒙 

Proposed by Daniel Sitaru – Romania  

Solution 1 by Yen Tung Chung-Taiwan 

∫ (
𝐭𝐚𝐧−𝟏 𝒙

𝒙 − 𝐭𝐚𝐧−𝟏 𝒙
)

𝟐√𝟑

𝟏

𝒅𝒙
⏟              

𝒍𝒆𝒕⁡𝒚=𝐭𝐚𝐧−𝟏 𝒙⇒𝒙=𝐭𝐚𝐧𝒚,𝒅𝒙=𝐬𝐞𝐜𝟐 𝒚𝒅𝒚

= ∫ (
𝒚

𝐭𝐚𝐧𝒚 − 𝒚
)
𝟐

𝝅
𝟑

𝝅
𝟒

𝐬𝐞𝐜𝟐 𝒚𝒅𝒚 = 

= ∫
𝒚𝟐

(𝐬𝐢𝐧 𝒚 − 𝒚𝐜𝐨𝐬 𝒚)𝟐

𝝅
𝟑

𝝅
𝟒

𝒅𝒚 

= ∫
𝒚𝟐

(𝟏 + 𝒚𝟐) (
𝟏

√𝟏 + 𝒚𝟐
𝐬𝐢𝐧 𝒚 −

𝒚

√𝟏 + 𝒚𝟐
𝐜𝐨𝐬 𝒚)

𝝅
𝟑

𝝅
𝟒

𝒅𝒚 = 
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= ∫

𝟏 −
𝟏

𝟏 + 𝒚𝟐

(𝐜𝐨𝐬(𝐭𝐚𝐧−𝟏 𝒚) 𝐬𝐢𝐧 𝒚 − 𝐬𝐢𝐧(𝐭𝐚𝐧−𝟏 𝒚) 𝐜𝐨𝐬 𝒚)𝟐

𝝅
𝟑

𝝅
𝟒

𝒅𝒚 

= ∫
𝟏

𝐬𝐢𝐧𝟐(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚)

𝝅
𝟑

𝝅
𝟒

𝒅(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚) = 

= ∫ 𝐜𝐬𝐜𝟐(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚)

𝝅
𝟑

𝝅
𝟒

𝒅(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚) = −𝐜𝐨𝐭(𝒚 − 𝐭𝐚𝐧−𝟏 𝒚)|𝝅
𝟒

𝝅
𝟑  

=
𝟏 + 𝐭𝐚𝐧𝒚 𝐭𝐚𝐧(𝐭𝐚𝐧−𝟏 𝒚)

𝐭𝐚𝐧(𝐭𝐚𝐧−𝟏 𝒚) − 𝐭𝐚𝐧𝒚
|
𝝅
𝟒

𝝅
𝟑

=
𝟏 + 𝒚 𝐭𝐚𝐧𝒚

𝟏 − 𝐭𝐚𝐧𝒚
|
𝝅
𝟒

𝝅
𝟑
=

𝟏 +
𝝅

√𝟑
𝝅
𝟑
− √𝟑

−
𝟏 +

𝝅
𝟒

𝝅
𝟒
− 𝟏

= 

=
𝝅√𝟑 + 𝟑

𝝅 − 𝟑√𝟑
+
𝟒 + 𝝅

𝟒 − 𝝅
 

Solution 2 by Pham Duc Nam-Vietnam 

∫
𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙)

(𝒙 − 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙))𝟐
𝒅𝒙 = ∫

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐 − (𝒙𝟐 − 𝟐𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙))

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙 

= 𝒙 −∫
𝒙𝟐 − 𝟐𝒙 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙 = 𝒙 −∫

𝒙𝟐 (𝟏 −
𝟐𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙
) (𝟏 + 𝒙𝟐)

(𝟏 + 𝒙𝟐)(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙 

{
 
 

 
 𝒖 = (𝟏 −

𝟐 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙
) (𝟏 + 𝒙𝟐)

𝒅𝒗 =
𝒙𝟐

𝟏 + 𝒙𝟐
𝟏

(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)𝟐
𝒅𝒙

⇒

{
 

 𝒅𝒖 =
𝟐(𝟏 − 𝒙𝟐)(𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙)

𝒙𝟐

𝒗 =
𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙

 

⇒ ∫
𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙)

(𝒙 − 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙))𝟐
𝒅𝒙 = 

= 𝒙−
𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙
(𝟏 −

𝟐𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝒙
) (𝟏 + 𝒙𝟐) + 𝟐∫

𝟏 − 𝒙𝟐

𝒙𝟐
𝒅𝒙 

=
𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) + 𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙
+ 𝑪 ⇒ ∫

𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙)

(𝒙 − 𝐚𝐫𝐜𝐭𝐚𝐧𝟐(𝒙))𝟐

√𝟑

𝟏

𝒅𝒙 = 

=
𝒙𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) + 𝟏

𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝒙
|
𝟏

√𝟑

=
𝟒 + 𝝅

𝟒 − 𝝅
−
𝝅√𝟑 + 𝟑

𝟑√𝟑 − 𝝅
 

Solution 3 by Ravi Prakash-India 
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Put 𝐭𝐚𝐧−𝟏 𝒙 = 𝜽, 𝒙 = 𝐭𝐚𝐧𝜽 

𝛀 = ∫ (
𝜽

𝐭𝐚𝐧 𝜽 − 𝜽
)
𝟐𝝅

𝟑

𝝅
𝟒

𝐬𝐞𝐜𝟐 𝜽𝒅𝜽 = ∫
𝒙𝟐

(𝐬𝐢𝐧𝒙 − 𝒙 𝐜𝐨𝐬 𝒙)𝟐

𝝅
𝟑

𝝅
𝟒

𝒅𝒙 

= ∫
𝒙 𝐬𝐢𝐧 𝒙

(𝐬𝐢𝐧𝒙 − 𝒙 𝐜𝐨𝐬 𝒙)𝟐

𝝅
𝟑

𝝅
𝟒

⋅
𝒙

𝐬𝐢𝐧 𝒙
𝒅𝒙 

=
−𝟏

𝐬𝐢𝐧 𝒙 − 𝒙 𝐜𝐨𝐬 𝒙
⋅
𝒙

𝐬𝐢𝐧 𝒙
|
𝝅
𝟒

𝝅
𝟑
+∫

𝟏

𝐬𝐢𝐧 𝒙 − 𝒙𝐜𝐨𝐬 𝒙

𝝅
𝟑

𝝅
𝟒

(𝐬𝐢𝐧 𝒙 − 𝒙 𝐜𝐨𝐬 𝒙)𝒅𝒙

𝐬𝐢𝐧𝟐 𝒙
 

=
−𝟏

𝐬𝐢𝐧𝒙 − 𝒙 𝐜𝐨𝐬 𝒙
⋅
𝒙

𝐬𝐢𝐧𝒙
|
𝝅
𝟑

𝝅
𝟑
− 𝐜𝐨𝐭 𝒙|𝝅

𝟒

𝝅
𝟑 

=
−𝟏

√𝟑
𝟐
−
𝝅
𝟑
⋅
𝟏
𝟐

⋅

𝝅
𝟑

√𝟑
𝟐

+
𝟏

𝟏

√𝟐
−
𝝅
𝟒
⋅
𝟏

√𝟐

⋅

𝝅
𝟒
𝟏

√𝟐

−
𝟏

√𝟑
+ 𝟏 

=
𝟐𝝅

𝟒 − 𝝅
−

𝟒𝝅

𝟗 − √𝟑𝝅
+ 𝟏 −

𝟏

√𝟑
=
𝝅 + 𝟒

𝟒 − 𝝅
− [
𝟒𝝅√𝟑 + 𝟗 − √𝟑𝝅

√𝟑(𝟗 − √𝟑𝝅)
] 

=
𝝅 + 𝟒

𝟒 − 𝝅
−
𝟗 + 𝟑√𝟑𝝅

𝟑(𝟑√𝟑 − 𝝅)
=
𝝅 + 𝟒

𝟒 − 𝝅
−
𝟑 + √𝟑𝝅

𝟑√𝟑 − 𝝅
 

Solution 4 by Hikmat Mammadov-Azerbaijan 

𝛀 = ∫ (
𝐭𝐚𝐧−𝟏 𝒙

𝒙 − 𝐭𝐚𝐧−𝟏 𝒙
)

𝟐√𝟑

𝟏

𝒅𝒙 

= ∫ (𝟏 +
𝒙𝟐

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))𝟐
−

𝟐𝒙

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))
)

√𝟑

𝟏

𝒅𝒙 

= (√𝟑 − 𝟏) + ∫
−𝒙𝟐 + 𝟐𝒙 ⋅ 𝐭𝐚𝐧−𝟏(𝒙)

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))𝟐

√𝟑

𝟏

𝒅𝒙 ⟶
𝒔𝒂𝒚

𝑺 

Note: 
𝟏

(𝒙−𝐭𝐚𝐧−𝟏(𝒙))
= 𝒖 → 𝒖′ =

−
𝒙𝟐

𝟏+𝒙𝟐

(𝒙−𝐭𝐚𝐧−𝟏(𝒙))
𝟐 

𝑺 = (√𝟑 − 𝟏) + ∫

𝒙𝟐

(𝟏 + 𝒙𝟐)

̇
(𝟏 + 𝒙𝟐) − (𝟏 + 𝒙𝟐) ⋅ (− 𝐭𝐚𝐧−𝟏(𝒙) + 𝒙)

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))𝟐

√𝟑

𝟏

𝒅𝒙 
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= (√𝟑 − 𝟏) + ∫
−(𝐭𝐚𝐧−𝟏(𝒙) − 𝒙)′ ⋅ (𝟏 + 𝒙𝟐) + (𝟏 + 𝒙𝟐) ⋅ (𝐭𝐚𝐧−𝟏(𝒙) − 𝒙)

(𝒙 − 𝐭𝐚𝐧−𝟏(𝒙))

√𝟑

𝟏

𝒅𝒙 

= √𝟑 − 𝟏 + [
𝒙𝟐 + 𝟏

𝐭𝐚𝐧−𝟏(𝒙) − 𝒙
]
𝟏

√𝟑

= √𝟑 − 𝟏 +
𝟏𝟐

𝝅 − 𝟑√𝟑
−

𝟖

𝝅 − 𝟒
 

⇒ 𝛀 = √𝟑 − 𝟏 +
𝟏𝟐

𝝅 − 𝟑√𝟑
−

𝟖

𝝅 − 𝟒
 

2450. Find: 

𝛀 = ∫
√𝒍𝒏(𝟗 − 𝒙)

𝟐𝟎𝟐𝟒

√𝒍𝒏(𝟗 − 𝒙)
𝟐𝟎𝟐𝟒 + √𝒍𝒏(𝒙 + 𝟑)

𝟐𝟎𝟐𝟒

𝟒

𝟐

𝒅𝒙 

 
Proposed by Nguyen Hung Cuong-Vietnam 

Solution by Tapas Das-India 
 

𝒚 = 𝟔 − 𝒙 ⟹ 𝒙 = 𝟔 − 𝒚 ⟹ 𝒅𝒙 = −𝒅𝒚 
𝒙 = 𝟐 ⟹ 𝒚 = 𝟒,⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡𝒙 = 𝟒 ⟹ 𝒚 = 𝟐 

 

𝛀 = ∫
√𝒍𝒏(𝟗 − 𝟔 + 𝒚)

𝟐𝟎𝟐𝟒

√𝒍𝒏(𝟗 − 𝟔 + 𝒚)
𝟐𝟎𝟐𝟒 + √𝒍𝒏(𝟔 − 𝒚 + 𝟑)

𝟐𝟎𝟐𝟒

𝟐

𝟒

(−𝒅𝒚) 

𝛀 = ∫
√𝒍𝒏(𝟑 + 𝒚)

𝟐𝟎𝟐𝟒

√𝒍𝒏(𝟑 + 𝒚)
𝟐𝟎𝟐𝟒 + √𝒍𝒏(𝟗 − 𝒚)

𝟐𝟎𝟐𝟒

𝟒

𝟐

𝒅𝒚,

𝛀 = ∫
√𝒍𝒏(𝟑 + 𝒙)

𝟐𝟎𝟐𝟒

√𝒍𝒏(𝟑 + 𝒙)
𝟐𝟎𝟐𝟒

+ √𝒍𝒏(𝟗 − 𝒙)
𝟐𝟎𝟐𝟒

𝟒

𝟐

𝒅𝒙 

𝟐𝛀 = ∫
√𝒍𝒏(𝟗 − 𝒙)

𝟐𝟎𝟐𝟒 + √𝒍𝒏(𝒙 + 𝟑)
𝟐𝟎𝟐𝟒

√𝒍𝒏(𝟗 − 𝒙)
𝟐𝟎𝟐𝟒 + √𝒍𝒏(𝒙 + 𝟑)

𝟐𝟎𝟐𝟒

𝟒

𝟐

𝒅𝒙 

 
𝟐𝛀 = 𝟒 − 𝟐 ⟺ 𝛀 = 𝟏 

2451. Find a closed form: 
 

𝛀 = ∫ ∫
𝐥𝐧⁡(𝟏 + 𝒙𝟑)(𝐥𝐧(𝟏 + 𝒚) + 𝒕𝒂𝒏−𝟏(𝒚))

(𝟏 + 𝒚)𝟐(𝟏 + 𝒙𝟐)
𝒅𝒙𝒅𝒚

∞

𝟎

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan 
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Solution by Ankush Kumar Parcha-India 
 

𝑾𝒆⁡𝒉𝒂𝒗𝒆 ∶ ⁡∫ ∫
𝐥𝐧⁡(𝟏+ 𝒙𝟑)(𝐥𝐧(𝟏 + 𝒚)+ 𝒕𝒂𝒏−𝟏(𝒚))

(𝟏 + 𝒚)𝟐(𝟏 + 𝒙𝟐)
𝒅𝒙𝒅𝒚

∞

𝟎

𝟏

𝟎

→⁡ 

∫
𝐥𝐧⁡(𝟏+ 𝒙𝟑)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎⏟            
Ω𝟏

∫
𝐥𝐧(𝟏 + 𝒚) + 𝒕𝒂𝒏−𝟏(𝒚)

(𝟏 + 𝒚)𝟐
𝒅𝒚

𝟏

𝟎⏟                  
Ω𝟐

⁡⁡(𝟏) 

𝑪𝒐𝒏𝒔𝒊𝒅𝒆𝒓, Ω(𝒂) = ⁡∫
𝐥𝐧⁡(𝒂 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎

⁡⁡(𝟐) 

𝑫𝒊𝒇𝒇𝒆𝒓𝒆𝒏𝒕𝒊𝒂𝒕𝒆⁡⁡𝒂𝒃𝒐𝒗𝒆⁡⁡𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏⁡⁡𝒃𝒐𝒕𝒉⁡⁡𝒔𝒊𝒅𝒆𝒔⁡⁡𝒘𝒊𝒕𝒉⁡⁡𝒓𝒆𝒔𝒑𝒆𝒄𝒕⁡⁡𝒕𝒐 𝒂′ ′. 𝑾𝒆⁡𝒈𝒆𝒕, 

−>⏞
𝑳𝒆𝒊𝒃𝒏𝒊𝒛⁡𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒍⁡(𝒓𝒖𝒍𝒆)

𝒅

𝒅𝒂
Ω(𝒂) = ∫

𝝏

𝝏𝒂
(

∞

𝟎

𝐥𝐧⁡(𝒂+ 𝒙)

𝟏 + 𝒙𝟐
)𝒅𝒙 → ∫

𝒅𝒙

(𝒂 + 𝒙)(𝟏+ 𝒙𝟐)⏟          
𝑷𝒂𝒓𝒕𝒊𝒄𝒂𝒍⁡⁡𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏

∞

𝟎

 

→
𝒂

𝟏+ 𝒂𝟐
∫

𝒅𝒙

𝟏 +𝒙𝟐
+

𝟏

𝟏 +𝒂𝟐
∫ (

𝟏

𝒂 + 𝒙
−

𝟏

𝟏 + 𝒙𝟐
)𝒅𝒙

∞

𝟎

→
𝒂

𝟏+𝒂𝟐
∫ 𝒅𝒂𝒓𝒄𝒕𝒂𝒏(𝒙)
∞

𝟎

∞

𝟎

 

+
𝒂

𝟏 +𝒂𝟐
∫ 𝒅𝒍𝒏(

𝒂 + 𝒙

√𝟏+ 𝒙𝟐
)

∞

𝟎

→
𝒅

𝒅𝒂
Ω(𝒂) =

𝝅𝒂

𝟐(𝟏+ 𝒂𝟐)
−
𝐥𝐧⁡(𝒂)

𝟏 + 𝒂𝟐
⁡ 

𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒆⁡𝒂𝒃𝒐𝒗𝒆⁡𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏⁡𝒃𝒐𝒕𝒉⁡𝒔𝒊𝒅𝒆𝒔⁡𝒘𝒊𝒕𝒉⁡𝒓𝒆𝒔𝒑𝒆𝒄𝒕⁡𝒕𝒐.𝑾𝒆⁡𝒈𝒆𝒕⁡ 

→ ∫
𝒅

𝒅𝒂
Ω(𝒂) ⁡𝒅𝒂 =

𝝅

𝟐
∫

𝒂

𝟏 +𝒂𝟐
𝒅𝒂−∫

𝐥𝐧(𝒂)

𝟏 +𝒂𝟐
𝒅𝒂

⏟        
𝑰.𝑩.𝑷

→ Ω(𝒂) + 𝑪 = 

𝝅

𝟒
∫𝒅𝒍𝒏(𝟏+ 𝒂𝟐) − 𝐥𝐧(𝒂) 𝐚𝐫𝐜𝐭𝐚𝐧(𝒂) + 𝕴∫

𝐥𝐧⁡(𝟏 + 𝒊𝒂)

𝒂⏟        
=−𝑳𝒊𝟐(𝒊𝒂)

= Ω(𝒂) + 𝑪 = 

𝝅

𝟒
𝐥𝐧(𝟏+ 𝒂𝟐) − 𝐥𝐧(𝒂)𝐚𝐫𝐜𝐭𝐚𝐧(𝒂) − 𝕴{𝑳𝒊𝟐(−𝒊𝒂} →⏟

𝑺𝒆𝒕⁡𝒂=𝟎

Ω(𝒂 = 𝟎) +𝑪 = −𝑪 

∫
𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎

= 𝑪 →⁡∫
𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎

−∫
𝐥𝐧(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎

= −𝟐𝑪 → 𝑪 = 𝟎 

Ω(𝒂) = ∫
𝐥𝐧⁡(𝒂 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

∞

𝟎

𝝅

𝟒
𝐥𝐧(𝟏 + 𝒂𝟐) − 𝐥𝐧(𝒂)𝐚𝐫𝐜𝐭𝐚𝐧(𝒂) − 𝕴{𝑳𝒊𝟐(−𝒊𝒂}⁡⁡(𝟑) 

𝑵𝒐𝒘,Ω𝟏 = ∫
𝐥𝐧⁡(𝟏+ 𝒙𝟑)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎

→ ∫
𝐥𝐧⁡(𝟏+ 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟎

+∫ 𝐥𝐧(𝒙−
𝟏

𝟐
−
𝒊√𝟑

𝟐
)

𝒅𝒙

𝟏 + 𝒙𝟐

∞

𝟎

 

+∫ 𝐥𝐧(𝒙−
𝟏

𝟐
+
𝒊√𝟑

𝟐
)

𝒅𝒙

𝟏 + 𝒙𝟐

∞

𝟎

−−>⏞  

𝑼𝒕𝒊𝒍𝒊𝒔𝒊𝒏𝒈⁡⁡𝑬𝒒𝒖𝒂𝒕𝒊𝒐𝒏−(𝟑)
𝝅

𝟒
𝐥𝐧(𝟐)− 𝕴{𝑳𝒊𝟐(−𝒊)} +

𝝅

𝟒
𝐥𝐧(

𝟏 + 𝒊√𝟑

𝟐
)− 

−𝐥𝐧(
−𝟏− 𝒊√𝟑

𝟐
)𝒂𝒓𝒄𝒕𝒂𝒏(

−𝟏− 𝒊√𝟑

𝟐
) −𝕴{𝑳𝒊𝟐(

𝒊 − √𝟑

𝟐
)}+

𝝅

𝟒
𝐥𝐧(

𝟏 + 𝒊√𝟑

𝟐
)− 

𝐥𝐧 (
−𝟏+ 𝒊√𝟑

𝟐
)𝒂𝒓𝒄𝒕𝒂𝒏(

−𝟏+ 𝒊√𝟑

𝟐
)− 𝕴{𝑳𝒊𝟐 (

𝒊+ √𝟑

𝟐
)} 

(𝐥𝐧(𝒙 ± 𝒊𝒚) =
𝐥𝐧(𝒙𝟐+ 𝒚𝟐)

𝟐
± 𝒊𝒂𝒓𝒄𝒕𝒂𝒏(

𝒚

𝒙
) , 𝒙 > 0⁡𝑎𝑛𝑑⁡𝑦 > 0) 
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(𝑳𝒊𝒔(±𝒊) = −𝟐
−𝒔𝜼(𝒔)± 𝒊𝜷(𝒔)) 

(𝑪𝒍𝟐𝒎(𝜽) = 𝕴{𝑳𝒊𝟐𝒎(𝒆
𝒊𝜽))⁡𝒎 ≥ 𝟏} 

𝝅

𝟒
𝐥𝐧(𝟐)+ 𝜷(𝟐) −

𝟐𝒊𝝅

𝟑
(
𝝅

𝟒
+ 𝒊

𝐥𝐧(𝟐 + √𝟑)

𝟐
)−

𝟐𝒊𝝅

𝟑
(−

𝝅

𝟒
+ 𝒊

𝐥𝐧(𝟐 + √𝟑)

𝟐
)− 𝑪𝒍𝟐 (

𝝅

𝟔
) −𝑪𝒍𝟐 (

𝟓𝝅

𝟔
) 

−−>⏞  

𝜷(𝟐)=𝑮

−𝟐∑
𝒔𝒊𝒏(

𝝅𝒏
𝟐
)𝒄𝒐𝒔(

𝝅𝒏
𝟑
)

𝒏𝟐
+ 𝑮

𝒏∈𝑵

+
𝝅

𝟒
𝐥𝐧(𝟐) −

𝒊𝝅𝟐

𝟔
+
𝝅

𝟑
𝐥𝐧(𝟐+ √𝟑) +

𝒊𝝅𝟐

𝟔
+
𝝅

𝟑
𝐥𝐧(𝟐 + √𝟑) = 

−𝟐 ∑
(−𝟏)𝒏

(𝟔𝒏+ 𝟑)𝟐
𝒏∈𝒁𝟎

+

− ∑
(−𝟏)𝒏

(𝟐𝒏+ 𝟏)𝟐
𝒏∈𝒁𝟎

+

−∑
(−𝟏)𝒏−𝟏

(𝟔𝒏−𝟑)𝟐
+𝑮+

𝟐𝝅

𝟑
𝐥𝐧(𝟐 + √𝟑)+

𝝅

𝟒
𝐥𝐧(𝟐)

𝒏∈𝑵

−→ 

−
𝟐𝑮

𝟗
− 𝑮−

𝑮

𝟗
+𝑮 +

𝟐𝝅

𝟑
𝐥𝐧(𝟐 + √𝟑) +

𝝅

𝟒
𝐥𝐧(𝟐) 

𝑵𝒐𝒘,Ω𝟐 = ∫
𝐥𝐧(𝟏 + 𝒚)+ 𝒕𝒂𝒏−𝟏(𝒚)

(𝟏+ 𝒚)𝟐
𝒅𝒚

𝟏

𝟎

=⏞
𝑰.𝑩.𝑷

−(
𝐥𝐧(𝟏+ 𝒚) + 𝐚𝐫𝐜𝐭𝐚𝐧(𝒚)

𝟏 + 𝒚
)
𝟏

𝟎
+∫

𝒅𝒚

(𝟏 + 𝒚)𝟐

𝟏

𝟎

+ 

+∫
𝒅𝒚

(𝟏 + 𝒚)(𝟏+ 𝒚𝟐)⏟          
𝑷𝒂𝒓𝒕𝒊𝒂𝒍⁡𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏⁡⁡

𝟏

𝟎

= −
𝟏

𝟐
(
𝝅

𝟒
+ 𝐥𝐧(𝟐)) −∫ 𝒅(

𝟏

𝟏 + 𝒚
)−

𝟏

𝟐
∫

𝒚

𝟏 + 𝒚𝟐
𝒅𝒚

𝟏

𝟎

+
𝟏

𝟐

𝟏

𝟎

∫
𝒅𝒚

𝟏 + 𝒚
+

𝟏

𝟎

 

+
𝟏

𝟐
∫

𝟏

𝟏 + 𝒚𝟐
𝒅𝒚

𝟏

𝟎

= −
𝝅

𝟖
−
𝐥𝐧(𝟐)

𝟐
−
𝐥𝐧(𝟐)

𝟒
+
𝐥𝐧(𝟐)

𝟐
+
𝟏

𝟐
+
𝝅

𝟖
 

Ω𝟐 = ∫
𝐥𝐧(𝟏 + 𝒚) + 𝒕𝒂𝒏−𝟏(𝒚)

(𝟏 + 𝒚)𝟐
𝒅𝒚

𝟏

𝟎

=
𝟐− 𝐥𝐧⁡(𝟐)

𝟒
 

𝑷𝒖𝒕⁡𝒕𝒉𝒆⁡𝒗𝒂𝒍𝒖𝒆⁡𝒐𝒇⁡⁡Ω𝟏⁡𝒂𝒏𝒅⁡Ω𝟐⁡𝒊𝒏⁡𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏− (𝟏).⁡⁡𝑾𝒆⁡𝒈𝒆𝒕 ∶  

Ω𝟏⁡. ⁡Ω𝟐 =⁡∫ ∫
𝐥𝐧⁡(𝟏 + 𝒙𝟑)(𝐥𝐧(𝟏+ 𝒚) + 𝒕𝒂𝒏−𝟏(𝒚))

(𝟏 + 𝒚)𝟐(𝟏+ 𝒙𝟐)
𝒅𝒙𝒅𝒚

∞

𝟎

𝟏

𝟎

=⁡ 

⁡(
𝟐− 𝐥𝐧(𝟐)

𝟒
)(−

𝑮

𝟑
+
𝟐𝝅

𝟑
𝐥𝐧(𝟐 +√𝟑) +

𝝅

𝟒
𝐥𝐧(𝟐)) 

𝑵𝒐𝒕𝒆 ∶ 𝑮 → 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
 

2452. Prove that: 

∫
𝒙

𝐬𝐢𝐧𝐡⁡(𝒙)
𝒅𝒙

∞

𝟎

−∫
𝒚

𝐬𝐢𝐧𝐡⁡(𝟑𝒚)
𝒅𝒚 +

∞

𝟎

∫
𝒛

𝐬𝐢𝐧𝐡⁡(𝟓𝒛)
𝒅𝒛 − ⋯ =

𝝅𝟐

𝟒
𝑮

∞

𝟎

 

 

Proposed by Ankush Kumar Parcha-India 
Solution by Shirvan Tahirov-Azerbaijan 
 

∑(−𝟏)𝒏∫
𝒙

𝐬𝐢𝐧𝐡⁡(𝒙(𝟐𝒏 + 𝟏))
𝒅𝒙

∞

𝟎

=

∞

𝒏=𝟎

∑(−𝟏)𝒏∫
𝒙

𝒆𝒙(𝟐𝒏+𝟏) − 𝒆−𝒙(𝟐𝒏+𝟏)

𝟐

𝒅𝒙
∞

𝟎

∞

𝒏=𝟎

= 

= ∑(−𝟏)𝒏∫
𝟐𝒙

𝒆𝒙(𝟐𝒏+𝟏) − 𝒆−𝒙(𝟐𝒏+𝟏)
𝒅𝒙

∞

𝟎

∞

𝒏=𝟎

= 𝟐∑(−𝟏)𝒏∫
𝒙

𝒆𝒙(𝟐𝒏+𝟏) − 𝒆−𝒙(𝟐𝒏+𝟏)
𝒅𝒙

∞

𝟎

∞

𝒏=𝟎

= 
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= −𝟐∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
∫

𝐥𝐧(𝒕)

𝟏 − 𝒕𝟐
𝒅𝒕

𝟏

𝟎

∞

𝒏=𝟎

= −𝟐∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∑ ∫ 𝒕𝟐𝒎𝐥𝐧⁡(𝒕)
𝟏

𝟎

𝒅𝒕 =

∞

𝒎=𝟎

 

 

𝟐𝑮 (𝜻(𝟐) −
𝟏

𝟒
−
𝟏

𝟏𝟔
−⋯ ) = 𝟐𝑮(𝜻(𝟐) −

𝜻(𝟐)

𝟒
) =

𝝅𝟐

𝟒
𝑮 

𝑵𝒐𝒕𝒆𝒔 ∶ 

𝟏)⁡∑
𝟏

𝒏𝟐
=
𝝅𝟐

𝟔
= 𝜻(𝟐)

∞

𝒏=𝟏

 

𝟐)⁡∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
= 𝑮

∞

𝒏=𝟎

 

𝟑)⁡𝐬𝐢𝐧𝐡(𝒙) =
𝒆𝒙 − 𝒆−𝒙

𝟐
 

𝟒) 𝐬𝐢𝐧𝐡(𝒙(𝟐𝒏 + 𝟏)) =
𝒆𝒙(𝟐𝒏+𝟏) − 𝒆−𝒙(𝟐𝒏+𝟏)

𝟐
 

2453. Find a closed form: 

𝛀 = ∫ ∫
𝐬𝐢𝐧⁡(𝒚)

𝐬𝐢𝐧⁡(𝒙)
√
𝐬𝐢𝐧⁡(𝟐𝒙)

𝐬𝐢𝐧⁡(𝟐𝒚)

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

𝒅𝒙𝒅𝒚 

Proposed by Ankush Kumar Parcha-India 
Solution by Shirvan Tahirov-Azerbaijan 
 

𝛀 = ∫ ∫
𝐬𝐢𝐧⁡(𝒚)

𝐬𝐢𝐧⁡(𝒙)
√
𝐬𝐢𝐧⁡(𝟐𝒙)

𝐬𝐢𝐧⁡(𝟐𝒚)

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

𝒅𝒙𝒅𝒚 =⁡∫ ∫ √
𝐬𝐢𝐧⁡(𝟐𝒙)

𝒔𝒊𝒏𝟐(𝒙)
.√
𝒔𝒊𝒏𝟐(𝒚)

𝐬𝐢𝐧⁡(𝟐𝒚)
𝒅𝒙𝒅𝒚 =

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

 

∫ √
𝐬𝐢𝐧⁡(𝟐𝒙)

𝒔𝒊𝒏𝟐(𝒙)
𝒅𝒙∫ √

𝒔𝒊𝒏𝟐(𝒚)

𝐬𝐢𝐧⁡(𝟐𝒚)

𝝅
𝟐

𝟎

𝒅𝒚 = ∫ √
𝟐𝐬𝐢𝐧(𝒙) 𝐜𝐨𝐬⁡(𝒙)

𝐬𝐢𝐧(𝒙) . 𝐬𝐢𝐧⁡(𝒙)
𝒅𝒙

𝝅
𝟐

𝟎

⁡ . ∫ √
𝐬𝐢𝐧(𝒚) . 𝐬𝐢𝐧⁡(𝒚)

𝟐 𝐬𝐢𝐧(𝒚) 𝐜𝐨𝐬⁡(𝒚)
𝒅𝒚

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

 

∫ √
𝟐𝐜𝐨𝐬⁡(𝒙)

𝐬𝐢𝐧⁡(𝒙)
𝒅𝒙.∫ √

𝐬𝐢𝐧⁡(𝒚)

𝟐𝐜𝐨𝐬⁡(𝒚)
𝒅𝒚

𝝅
𝟐

𝟎

=

𝝅
𝟐

𝟎

∫ √𝟐

𝝅
𝟐

𝟎

𝐜𝐨𝐬⁡(𝒙)
𝟏
𝟐𝐬𝐢𝐧⁡(𝒙)−

𝟏
𝟐𝒅𝒙.∫

𝟏

√𝟐

𝝅
𝟐

𝟎

𝐬𝐢𝐧⁡(𝒚)
𝟏
𝟐𝐜𝐨𝐬⁡(𝒚)−

𝟏
𝟐𝒅𝒚 = 

𝟏

𝟐
𝜷(

𝟏
𝟐
+ 𝟏

𝟐
⁡,
−
𝟏
𝟐
+ 𝟏

𝟐
)⁡.

𝟏

⁡𝟐
𝜷(

−
𝟏
𝟐
+ 𝟏

𝟐
⁡,

𝟏
𝟐
+ 𝟏

𝟐
) =

𝟏

𝟒
𝜷(
𝟑

𝟒
⁡,
𝟏

𝟒
)⁡. 𝜷 (

𝟏

𝟒
⁡⁡ ,
𝟑

𝟒
) = 
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𝟏

𝟒
𝜞 (
𝟏

𝟒
⁡,
𝟑

𝟒
)⁡. 𝜞 (

𝟏

𝟒
⁡ ,
𝟑

𝟒
) = ⁡

𝟏

𝟒
⁡.

𝝅

𝐬𝐢𝐧 (
𝝅
𝟒
)
⁡.

𝝅

𝐬𝐢𝐧 (
𝝅
𝟒
)
=
𝟏

𝟒
⁡.
𝟒𝝅𝟐

𝟐
=
𝝅𝟐

𝟐
 

𝑵𝒐𝒕𝒆 ∶ 

𝜷(𝒎,𝒏) =
𝜞(𝒎)⁡.⁡⁡𝜞(𝒏)

𝜞(𝒎 + 𝒏)
⁡⁡⁡,⁡⁡⁡𝜞(𝒏)⁡.⁡⁡𝜞(𝟏 − 𝒏) =

𝝅

𝐬𝐢𝐧⁡(𝒏𝝅)
 

2454. Find a closed form: 

∫ ∫
𝐥𝐧(𝟏 − 𝒙𝟐𝒚𝟐) − 𝒙𝒚𝒍𝒏 (

𝟏 − 𝒙𝒚
𝟏 + 𝒙𝒚

)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan, Ankush Kumar Parcha-India 

Solution by Quadri Faruk Temitope-Nigeria 
 

∫ ∫
𝐥𝐧(𝟏 − 𝒙𝟐𝒚𝟐) − 𝒙𝒚𝒍𝒏 (

𝟏 − 𝒙𝒚
𝟏 + 𝒙𝒚

)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚 =

𝟏

𝟎

𝟏

𝟎

 

𝑰 = ∫ ∫
𝐥𝐧(𝟏 − 𝒙𝟐𝒚𝟐)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚 −⁡∫ ∫

𝒙𝒚𝒍𝒏 (
𝟏 − 𝒙𝒚
𝟏 + 𝒙𝒚

)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚 =⁡

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

 

∫ ∫
𝐥𝐧(𝟏 − 𝒙𝒚) + 𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚 −⁡∫ ∫

𝒙𝒚(𝐥𝐧(𝟏 − 𝒙𝒚) − 𝐥𝐧(𝟏 + 𝒙𝒚))

𝟏 − 𝒙𝟐𝒚𝟐
𝒅𝒙𝒅𝒚 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 − 𝒙𝒚)

𝟏 + 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 − 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚 +

𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
𝒅𝒙𝒅𝒚 +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

+
𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚 +

𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 − 𝒙𝒚)

𝟏 + 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

−𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 − 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚 −

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
𝒅𝒙𝒅𝒚 +

𝟏

𝟐
∫ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰 = ∫ ∫
𝐥𝐧⁡(𝟏 − 𝒙𝒚)

𝟏 + 𝒙𝒚
𝒅𝒙𝒅𝒚 +⁡∫ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰 = ∫ [
𝐥𝐧(𝟏 − 𝒙𝒚) 𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝒙

𝟏

𝟎
+ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒚

𝟏

𝟎

] 𝒅𝒙 + ∫ ∫
𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰 = ∫
𝐥𝐧(𝟏 − 𝒙) 𝐥𝐧⁡(𝟏 + 𝒙)

𝒙
𝒅𝒙⁡ + ⁡⁡𝟐 ∫ ∫

𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑹𝒆𝒄𝒂𝒍𝒍⁡𝒕𝒉𝒂𝒕 ∶ 
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∫
𝐥𝐧(𝟏 − 𝒙) 𝐥𝐧⁡(𝟏 + 𝒙)

𝒙
𝒅𝒙 = −

𝟓

𝟖
𝜻(𝟑)

𝟏

𝟎

 

𝑯𝒆𝒏𝒄𝒆 ∶ 

∫ ∫
𝐥𝐧⁡(𝟏 + 𝒙𝒚)

𝟏 − 𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

=
𝝅𝟐

𝟒
𝐥𝐧(𝟐) − 𝜻(𝟑) 

𝑰 = −
𝟓

𝟖
𝜻(𝟑) + 𝟐 [

𝝅𝟐

𝟒
𝐥𝐧(𝟐) − 𝜻(𝟑)] =

𝝅𝟐

𝟐
𝐥𝐧(𝟐) −

𝟐𝟏

𝟖
𝜻(𝟑) 

2455. Find a closed form: 

∫ ((𝒍𝒏𝟒(𝒙) + 𝒙𝟒) +
𝒙𝟑

𝟑 − 𝒙𝟑
)𝒅𝒙

𝟏

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Quadri Faruk Temitope-Nigeria 
 

𝑰 = ∫ ((𝒍𝒏𝟒(𝒙) + 𝒙𝟒) ⁡+⁡
𝒙𝟑

𝟑 − 𝒙𝟑
)𝒅𝒙 = ∫ 𝒍𝒏𝟒(𝒙)𝒅𝒙

𝟏

𝟎⏟        
𝑨

+⁡∫ 𝒙𝟒𝒅𝒙
𝟏

𝟎⏟    
𝑩

+⁡∫
𝒙𝟑

𝟑 − 𝒙𝟑
𝒅𝒙

𝟏

𝟎⏟        
𝑪

𝟏

𝟎

 

𝑨 = ∫ 𝒍𝒏𝟒(𝒙)𝒅𝒙
𝟏

𝟎

⁡⁡⁡⁡⁡⁡=⁡⁡⁡⁡⁡⁡⁡⁡⁡⏟      
𝒅𝒙=−𝒆𝒑𝒅𝒑
[−∞;𝟎]

⏞      

𝐥𝐧(𝒙)=−𝒑

𝒙=𝒆−𝒑

⁡∫ (−𝒑)𝟒. (⁡−𝒆−𝒑)𝒅𝒑 = ∫ 𝒑𝟓−𝟏𝒆−𝒑 = 𝜞(𝟓) = 𝟐𝟒
+∞

𝟎

𝟎

−∞

 

𝑩 = ∫ 𝒙𝟒𝒅𝒙 =
𝟏

𝟓
𝒙𝟓
𝟏

𝟎
=
𝟏

𝟓

𝟏

𝟎

 

𝑪 = ∫
𝒙𝟑

𝟑 − 𝒙𝟑
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟑
∫

𝒙𝟑

𝟏 − (
𝒙

√𝟑
)𝟑
𝒅𝒙 =

𝟏

𝟑
∑∫ (

𝒙

√𝟑
)𝟑𝒏. 𝒙𝟑

𝟏

𝟎

𝒅𝒙 =

∞

𝒏=𝟎

𝟏

𝟎

 

 

𝟏

𝟑
∑

𝟏

(√𝟑)𝟑𝒏

∞

𝒏=𝟎

∫ 𝒙𝟑𝒏+𝟑
𝟏

𝟎

𝒅𝒙 =
𝟏

𝟑
∑

𝟏

𝟑𝒏
⁡ . (

𝒙𝟑𝒏+𝟒

𝟑𝒏 + 𝟒
)
𝟏

𝟎
=
𝟏

𝟑
∑

𝟏

𝟑𝒏
⁡.⁡⁡

𝟏

(𝟑𝒏 + 𝟒)
=

∞

𝒏=𝟎

∞

𝒏=𝟎

 

= −
𝟒√𝟑𝝅⁡.⁡⁡𝜞 (

𝟑
𝟒
)

𝟓𝜞 (−
𝟏
𝟔
)

 

 
𝑯𝒆𝒏𝒄𝒆 ∶⁡ 

𝑰 = 𝑨 + 𝑩 + 𝑪 = 𝟐𝟒 +⁡
𝟏

𝟓
− ⁡
𝟒√𝟑𝝅⁡.⁡⁡𝜞 (

𝟑
𝟒
)

𝟓𝜞 (−
𝟏
𝟔
)

=
𝟏𝟐𝟏

𝟓
−⁡
𝟒√𝟑𝝅⁡.⁡⁡𝜞 (

𝟑
𝟒
)

𝟓𝜞 (−
𝟏
𝟔
)
⁡ 
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∫ ((𝒍𝒏𝟒(𝒙) + 𝒙𝟒) +
𝒙𝟑

𝟑 − 𝒙𝟑
)𝒅𝒙 =

𝟏𝟐𝟏

𝟓
−⁡
𝟒√𝟑𝝅⁡.⁡⁡𝜞 (

𝟑
𝟒
)

𝟓𝜞 (−
𝟏
𝟔
)

𝟏

𝟎

 

2456. Prove that: 

∫ (√𝐭𝐚𝐧𝐡(𝝅𝒙) + 𝟏)
∞

𝟎

(√𝐜𝐨𝐭𝐡(𝝅𝒙) + 𝟏) 𝒆−𝝅𝒙𝒅𝒙 =
𝟐

𝝅
+
𝟒√𝟐𝚪(

𝟓
𝟒
)
𝟐

𝝅
𝟑
𝟐

 

Proposed by Srinivasa Raghava-AIRMC-India 
Solution by Pham Duc Nam-Vietnam 

𝛀 = ∫ (√𝐭𝐚𝐧𝐡(𝝅𝒙) + 𝟏)
∞

𝟎

(√𝐜𝐨𝐭𝐡(𝝅𝒙) + 𝟏) 𝒆−𝝅𝒙𝒅𝒙 =
𝟐

𝝅
+
𝟒√𝟐

𝝅√𝝅
𝚪𝟐 (

𝟓

𝟒
) ? 

𝛀 = ∫ (√𝐭𝐚𝐧𝐡(𝝅𝒙) + 𝟏)
∞

𝟎

(√𝐜𝐨𝐭𝐡(𝝅𝒙) + 𝟏) 𝒆−𝒙𝒅𝒙⁡ =
𝒙→𝝅𝒙

 

=
𝟏

𝝅
∫ (√𝐜𝐨𝐭𝐡(𝒙) + √𝐭𝐚𝐧𝐡(𝒙) + 𝟐)
∞

𝟎

𝒆−𝒙𝒅𝒙 

=
𝟐

𝝅
+
𝟏

𝝅
∫ (√𝐜𝐨𝐭𝐡(𝒙) + √𝐭𝐚𝐧𝐡(𝒙))
∞

𝟎

𝒆−𝒙𝒅𝒙 

Let: 𝒕 = √𝐜𝐨𝐭𝐡(𝒙) ⇒ 𝒙 = 𝐚𝐫𝐜𝐜𝐨𝐭𝐡(𝒕𝟐) ⇒ 𝒅𝒙 =
𝟐𝒕

𝟏−𝒕𝟒
𝒅𝒕, also: 𝒆−𝐚𝐫𝐜𝐜𝐨𝐭𝐡(𝒕

𝟐) = √
𝒕𝟐−𝟏

𝒕𝟐+𝟏
 

⇒ 𝛀 =
𝟐

𝝅
+
𝟏

𝝅
∫ (𝒕 +

𝟏

𝒕
)

∞

𝟏

√
𝒕𝟐 − 𝟏

𝒕𝟐 + 𝟏

𝟐𝒕

𝒕𝟒 − 𝟏
𝒅𝒕 =

𝟐

𝝅
+
𝟐

𝝅
∫

𝟏

√𝒕𝟒 − 𝟏

∞

𝟏

𝒅𝒕 ⟶
𝒕→
𝟏
𝒕
 

𝟐

𝝅
+
𝟐

𝝅
∫

𝟏

√𝟏 − 𝒕𝟒

𝟏

𝟎

𝒅𝒕 = 

=
𝟐

𝝅
+
𝟏

𝟐𝝅
∫ (𝒕𝟒)

𝟏
𝟒−𝟏

𝟏

𝟎

(𝟏 − 𝒕𝟒)
𝟏
𝟐−𝟏𝒅(𝒕𝟒) =

𝟐

𝝅
+
𝟏

𝟐𝝅
𝑩 (
𝟏

𝟒
,
𝟏

𝟐
) =

𝟐

𝝅
+
𝟏

𝟐𝝅

𝚪 (
𝟏
𝟐
) 𝚪 (

𝟏
𝟒
)

𝚪 (
𝟑
𝟒
)

 

∵ (
𝟑

𝟒
) 𝚪 (

𝟏

𝟒
) = 𝝅√𝟐 ⇒ 𝚪 (

𝟑

𝟒
) =

𝝅√𝟐

𝚪(
𝟏

𝟒
)
   and 𝚪 (

𝟓

𝟒
) =

𝟏

𝟒
𝚪 (

𝟏

𝟒
) ⇒ 𝚪(

𝟑

𝟒
) =

𝝅√𝟐

𝟒𝚪(
𝟓

𝟒
)
 

⇒ 𝛀 =
𝟐

𝝅
+
√𝝅

𝟐𝝅

𝟒𝚪(
𝟓

𝟒
)

𝝅√𝟐
𝟒𝚪 (

𝟓

𝟒
) =

𝟐

𝝅
+
𝟒√𝟐

𝝅√𝝅
𝚪𝟐 (

𝟓

𝟒
), hence proved. 

2457. If 𝟎 < 𝑎 ≤ 𝑏 then: 
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𝒆𝒂 + 𝒆−𝒂 + 𝟐∫
𝒙𝟐

𝐥𝐧(𝒙 + √𝒙𝟐 + 𝟏)

𝒃

𝒂

𝒅𝒙 ≤ 𝒆𝒃 + 𝒆−𝒃 

Proposed by Daniel Sitaru – Romania  
Solution by Hikmat Mammadov-Azerbaijan 

𝟎 < 𝑎 ≤ 𝑏; 𝒄𝒂 + 𝒄−𝒂 + 𝟐∫
𝒙𝟐

𝐥𝐧(𝒙 + √𝒙𝟐 + 𝟏)

𝒃

𝒂

𝒅𝒙 ≤ 𝒄𝒃 + 𝒄−𝒃 

Since 𝐬𝐢𝐧𝐡 ⁡convex on ℝ+ ⇒ ∀𝒕 ∈ ℝ+, 𝐬𝐢𝐧𝐡(𝒕) ≥ 𝒕 ≥ 𝟎 

∀𝒕 ∈ ℝ+, 𝐬𝐢𝐧𝐡
𝟐(𝒕) ≥ 𝒕𝟐,⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡⁡∀𝒕 ∈ ℝ+, 𝟏 + 𝐬𝐢𝐧𝐡

𝟐(𝒕) ≥ 𝟏 + 𝒕𝟐 

∀𝒕 ∈ ℝ+, 𝐜𝐨𝐬𝐡
𝟐(𝒕) ≥ 𝟏 + 𝒕𝟐 

∀𝒕 ∈ ℝ+, √𝐜𝐨𝐬𝐡(𝒕) ≥ √𝟏 + 𝒕𝟐
𝟒

 

So ⇒ ∀𝒕 ∈ ℝ+,
√𝐜𝐨𝐬𝐡(𝒕)

√𝟏+𝒕𝟐
𝟒 ≥ 𝟏 

The Cauchy – Schwarz inequality gives ⇒ 

∀𝒙 ∈ ℝ+, ∫ 𝐜𝐨𝐬𝐡(𝒕)
𝒙

𝟎

𝒅𝒕∫
𝒅𝒕

√𝟏 + 𝒕𝟐

𝒙

𝟎

≥ (∫
√𝐜𝐨𝐬𝐡(𝒕)

√𝟏 + 𝒕𝟐
𝟒

𝒙

𝟎

)

𝟐

 

∀𝒙 ∈ ℝ+, ∫ 𝐜𝐨𝐬𝐡(𝒕)𝒅𝒕∫
𝒅𝒕

√𝟏 + 𝒕𝟐

𝒙

𝟎

≥ (∫ 𝒅𝒕
𝒙

𝟎

)

𝟐

 

i.e: ∀𝒙 ∈ ℝ+, 𝐬𝐢𝐧𝐡(𝒙) 𝐚𝐫𝐜𝐬𝐢𝐧𝐡(𝒙) ≥ 𝒙
𝟐  

So ⇒ ∀𝒙 ∈ [𝒂; 𝒃],
𝒙𝟐

𝐚𝐫𝐜𝐬𝐢𝐧𝐡(𝒙)
≤ 𝐬𝐢𝐧𝐡(𝒙) 

∫
𝒙𝟐

𝐚𝐫𝐜𝐬𝐢𝐧𝐡(𝒙)

𝒃

𝒂

𝒅𝒙 ≤ ∫ 𝐬𝐢𝐧𝐡(𝒙)
𝒃

𝒂

𝒅𝒙 

i.e: ∫
𝒙𝟐

𝐥𝐧(𝒙+√𝟏+𝒙𝟐)

𝒃

𝒂
𝒅𝒙 ≤ 𝐜𝐨𝐬𝐡(𝒂) − 𝐜𝐨𝐬𝐡(𝒃) 

𝟐∫
𝒙𝟐

𝐥𝐧(𝒙 + √𝟏 + 𝒙𝟐)

𝒃

𝒂

𝒅𝒙 ≤ 𝒆𝒃 + 𝒆−𝒃 − 𝒆𝒂 − 𝒆−𝒂 

Finally ⇒ 𝒄𝒂 + 𝒄−𝒂 + 𝟐 ∫
𝒙𝟐

𝐥𝐧(𝒙+√𝟏+𝒙𝟐)

𝒃

𝒂
𝒅𝒙 ≤ 𝒄𝒃 + 𝒄−𝒃 

 
2458. Find: 
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𝛀 = 𝐥𝐢𝐦
𝒏→∞

𝟏

𝒏
⋅∑√

(𝒌 − 𝟏)𝒌

𝟐𝒌 − 𝟏 + 𝟐√(𝒌 − 𝟏)𝒌

𝒏

𝒌=𝟐

⋅ (∑√𝒌

𝒏

𝒌=𝟏

)

−𝟏

 

Proposed by Daniel Sitaru – Romania  

Solution by Hikmat Mammadov-Azerbaijan 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

𝟏

𝒏
⋅∑√

(𝒌 − 𝟏)𝒌

𝟐𝒌 − 𝟏 + 𝟐√(𝒌 − 𝟏)𝒌

𝒏

𝒌=𝟐

⋅ (∑√𝒌

𝒏

𝒌=𝟏

)

−𝟏

 

= 𝐥𝐢𝐦
𝒏→∞

𝟏

𝒏
⋅∑

√𝒌 ⋅ (𝒌 − 𝟏)

√(√𝒌 − 𝟏 + √𝒌)
𝟐

𝒏

𝒌=𝟐

⋅ (∑√𝒌

𝒏

𝒌=𝟏

)

−𝟏

 

𝑺𝟏 = ∑
√𝒌 ⋅ (𝒌 − 𝟏)

√𝒌 − 𝟏 + 𝒌

𝒏

𝒌=𝟐

= ∑
√𝒌 ⋅ (𝒌 − 𝟏)

√𝒌 − 𝟏 + √𝒌

𝒏

𝒌=𝟏

= ∑(𝒌 ⋅ √𝒌 − 𝟏 − (𝒌 − 𝟏) ⋅ √𝒌)

𝒏

𝒌=𝟐

 

= ∑((𝒌 − 𝟏) ⋅ √𝒌 − 𝟏 + √𝒌 − 𝟏 − 𝒌 ⋅ √𝒌 + √𝒌)

𝒏

𝒌=𝟐

 

= ∑((𝒌 − 𝟏) ⋅ √𝒌 − 𝟏 − 𝒌 ⋅ √𝒌)

𝒏

𝒌=𝟐

+∑(√𝒌+ √𝒌− 𝟏)

𝒏

𝒌=𝟐

 

= −𝒏 ⋅ √𝒏 + 𝟏 + (𝟐∑√𝒌

𝒏

𝒌=𝟐

− √𝒏 − 𝟏 + 𝟏) ⇒ √𝒌 − 𝟏 ≤ ∫ √𝒙
𝒌

𝒌−𝟏

≤ √𝒌 

⇒∑√𝒌 − 𝟏

𝒏

𝒌=𝟐

≤ ∫ √𝒙
𝒏

𝟏

≤ ∑√𝒌

𝒏

𝒌=𝟐

= 𝑺 ⇒ 𝑺 − √𝒏 + 𝟏 ≤
𝟐

𝟑
⋅ 𝒏√𝒏 −

𝟐

𝟑
≤ 𝑺 ⇒ 

⇒ 𝑺 ∼
𝟐

𝟑
⋅ 𝒏√𝒏 

⇒ 𝛀 =

𝟏
𝒏
⋅ (−𝒏√𝒏+ 𝟐 + 𝟐𝑺 − 𝟐√𝒏 − 𝟏 + 𝟏)

𝑺
⇒ 

⇒ 𝛀 ∼
𝟏

𝒏
⋅ (
𝟏

𝟑
⋅ 𝒏√𝒏) ⋅ (

𝟐

𝟑
⋅ 𝒏√𝒏)

−𝟏

= 𝟎 ⇒ 𝛀 = 𝟎 
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2459. 

Ω(𝒙) = 𝜞(
𝒙

𝟐
) ⁡.⁡⁡𝜞 (

𝒙 + 𝟏

𝟐
) ⁡.⁡⁡𝜞(

𝟏 − 𝒙

𝟐
)⁡. 𝜞 (

𝟐 − 𝒙

𝟐
)⁡. 𝐬𝐢𝐧⁡(𝝅𝒙) 

 
Solve for real numbers: 

𝒙𝟐 −⁡
𝟒𝒙

Ω(𝒙)
+⁡

𝟏

𝝅𝟒⁡
= 𝟎 

 
Proposed by Daniel Sitaru-Romania 

Solution by Shirvan Tahirov-Azerbaijan 
 

Ω(𝒙) = 𝜞 (
𝒙

𝟐
) ⁡.⁡⁡𝜞 (

𝒙 + 𝟏

𝟐
) ⁡.⁡⁡𝜞 (

𝟏 − 𝒙

𝟐
)⁡. 𝜞 (

𝟐 − 𝒙

𝟐
)⁡. 𝐬𝐢𝐧⁡(𝝅𝒙) 

𝑵𝒐𝒕𝒆 ∶ ⁡⁡𝜞(𝒙)⁡⁡.⁡⁡𝜞(𝟏 − 𝒙) ⁡=
𝝅

𝐬𝐢𝐧⁡(𝝅𝒙)
 

𝜞(
𝒙

𝟐
) ⁡.⁡⁡𝜞 (

𝟐 − 𝒙

𝟐
) = 𝜞 (

𝒙

𝟐
) ⁡.⁡⁡𝜞 (𝟏 −⁡

𝒙

𝟐
) =

𝝅

𝐬𝐢𝐧⁡(
𝝅
𝟐
𝒙)

 

𝜞 (
𝒙 + 𝟏

𝟐
)⁡. 𝜞 (

𝟏 − 𝒙

𝟐
) ⁡= 𝜞 (

𝒙 + 𝟏

𝟐
)⁡ . 𝜞 (𝟏 −

𝒙 + 𝟏

𝟐
) = ⁡

𝝅

𝐬𝐢𝐧⁡(
𝝅
𝟐
−
𝝅
𝟐
𝒙)
=

𝝅

𝐜𝐨𝐬⁡(
𝝅
𝟐
𝒙)

 

Ω(𝒙) = 𝜞 (
𝒙

𝟐
) ⁡.⁡⁡𝜞 (

𝒙 + 𝟏

𝟐
) ⁡.⁡⁡𝜞 (

𝟏 − 𝒙

𝟐
)⁡. 𝜞 (

𝟐 − 𝒙

𝟐
)⁡. 𝐬𝐢𝐧(𝝅𝒙)

=
𝝅

𝐬𝐢𝐧⁡(
𝝅
𝟐
𝒙)
⁡.

𝝅

𝐜𝐨𝐬⁡(
𝝅
𝟐
𝒙)
⁡. 𝐬𝐢𝐧(𝝅𝒙) =⁡⁡ 

𝟐𝝅𝟐

𝐬𝐢𝐧⁡(𝟐⁡.⁡⁡
𝝅
𝟐
𝒙)
⁡ . 𝐬𝐢𝐧(𝝅𝒙) = 𝟐𝝅𝟐⁡⁡ 

𝒙𝟐 −⁡
𝟒𝒙

Ω(𝒙)
+ ⁡

𝟏

𝝅𝟒⁡
= 𝟎⁡ → ⁡𝒙𝟐 −⁡

𝟒𝒙

𝟐𝝅𝟐
+⁡

𝟏

𝝅𝟒⁡
= 𝟎 → ⁡ (𝒙 −

𝟏

𝝅𝟐⁡
)
𝟐

= 𝟎⁡ 

𝑨𝒏𝒔𝒘𝒆𝒓⁡ ∶ ⁡⁡𝒙⁡ =
𝟏

𝝅𝟐⁡
⁡ 

2460. Find a closed form: 
 

𝝃 = ∫ ∫ ∫ ∑
√𝒙𝒚

√𝒚𝒛 + √𝒙
𝒅𝒙𝒅𝒚𝒅𝒛

𝒙,𝒚,𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

 
Proposed by Cosghun Memmedov-Azerbaijan 
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Solution by Abbaszade Yusif-Azerbaijan 
 

𝝃 = ⁡∫ ∫ ∫ ∑
√𝒙𝒚

√𝒚𝒛 + √𝒙
𝒅𝒙𝒅𝒚𝒅𝒛

𝒙,𝒚,𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

=𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚
𝒃𝒚

= 𝟑∫ ∫ ∫
√𝒙𝒚

√𝒚𝒛 + √𝒙
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝒂𝟐 = 𝒙, 𝒃𝟐 = 𝒚, 𝒄𝟐 = 𝒛⁡⁡⁡⁡⁡⁡⁡𝒅𝒙 = 𝟐𝒂𝒅𝒂, 𝒅𝒚 = 𝟐𝒃𝒅𝒃, 𝒅𝒛 = 𝟐𝒄𝒅𝒄⁡⁡⁡⁡⁡𝒂, 𝒃, 𝒄 ∈ [𝟎, 𝟏] 

𝝃 = 𝟑∫ ∫ ∫
𝒂𝟐𝒃𝟐𝒄

𝒂 + 𝒃𝒄
× 𝟖𝒅𝒂𝒅𝒃𝒅𝒄

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

= 𝟐𝟒∫ ∫ ∫
𝒂𝟐𝒃𝟐𝒄

𝒂 + 𝒃𝒄
𝒅𝒂𝒅𝒃𝒅𝒄

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

⁡⁡⁡⁡⁡{𝒂 + 𝒃𝒄 = 𝒕, 𝒃𝒅𝒄 = 𝒅𝒕} 

𝝃 = 𝟐𝟒∫ ∫ ∫
𝒂𝟐𝒃𝟐

𝒕
×
𝒕 − 𝒂

𝒃
×
𝒅𝒕

𝒃
𝒅𝒂𝒅𝒃

𝒂+𝒃

𝒂

𝟏

𝟎

𝟏

𝟎

= 𝟐𝟒∫ ∫ ∫
𝒂𝟐(𝒕 − 𝒂)

𝒕
𝒅𝒕𝒅𝒂𝒅𝒃

𝒂+𝒃

𝒂

𝟏

𝟎

𝟏

𝟎

 

 

𝝃 = 𝟐𝟒∫ ∫ (𝒂𝟐(𝒂+ 𝒃− 𝒂) − 𝒂𝟑 𝐥𝐧 (𝟏 +
𝒃

𝒂
))𝒅𝒂𝒅𝒃

𝟏

𝟎

=
𝟏

𝟎

 

= 𝟐𝟒(∫ ∫ 𝒂𝟐𝒃𝒅𝒂𝒅𝒃
𝟏

𝟎

𝟏

𝟎

−∫ 𝒂𝟑𝐥𝐧 (𝟏 +
𝟏

𝒂
)𝒅𝒂

𝟏

𝟎

+∫ ∫
𝒂𝟑𝒃

𝒂 + 𝒃
𝒅𝒂𝒅𝒃

𝟏

𝟎

𝟏

𝟎

)⁡⁡{𝒂 + 𝒃 = 𝒕} 

 

𝝃 = 𝟐𝟒 (
𝟏

𝟔
−
𝒂𝟒

𝟒
𝐥𝐧 (𝟏 +

𝟏

𝒂
)
𝟎

𝟏

+ ∫
𝒂𝟒

𝟒
(
𝟏

𝟏 + 𝒂
−
𝟏

𝒂
)𝒅𝒂

𝟏

𝟎

+∫ ∫
𝒂𝟑

𝒕
× (𝒕 − 𝒂)𝒅𝒕𝒅𝒂

𝒂+𝟏

𝒂

𝟏

𝟎

) 

 

𝝃 = 𝟐𝟒(
𝟏

𝟔
−
𝟏

𝟒
𝐥𝐧(𝟐)+

𝟏

𝟒
𝐥𝐧(𝟐)−

𝟏

𝟒
×
𝟕

𝟏𝟐
−
𝟏

𝟏𝟔
+∫ (𝒂𝟑(𝒂 + 𝟏 − 𝒂) −𝒂𝟒 𝐥𝐧 (𝟏 +

𝟏

𝒂
))

𝟏

𝟎

𝒅𝒂) 

𝝃 = 𝟐𝟒(
𝟏

𝟔
−
𝟕

𝟒𝟖
−
𝟏

𝟏𝟔
+ ∫ 𝒂𝟑𝒅𝒂

𝟏

𝟎

−
𝒂𝟓

𝟓
𝐥𝐧 (𝟏 +

𝟏

𝒂
)
𝟎

𝟏

+ ∫
𝒂𝟓

𝟓

𝟏

𝟎

(
𝟏

𝟏 + 𝒂
−
𝟏

𝒂
)𝒅𝒂⁡) 

𝝃 = 𝟐𝟒(−
𝟏

𝟐𝟒
+
𝟏

𝟒
−
𝟏

𝟓
𝐥𝐧(𝟐) +

𝟏

𝟓
×
𝟒𝟕

𝟔𝟎
−
𝟏

𝟓
𝐥𝐧(𝟐) −

𝟏

𝟐𝟓
) 

 

𝝃 = 𝟐𝟒(
𝟑𝟗

𝟏𝟐𝟎
−
𝟐

𝟓
𝐥𝐧(𝟐)) 

 

𝝃 =
𝟑𝟗

𝟓
−
𝟒𝟖

𝟓
𝐥𝐧(𝟐) 

2461. Find: 

𝛀 =∑
𝑯𝒌𝟐

−𝒌

(𝒌 + 𝟏)

∞

𝒌=𝟏

 

Proposed by Vincenzo Dima-Italy 
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Solution by Shirvan Tahirov-Azerbaijan 

∑
𝑯𝒌𝟐

−𝒌

(𝒌 + 𝟏)
= ∑

𝑯𝒌

𝟐𝒌(𝒌 + 𝟏)
⁡

∞

𝒌=𝟏

= ∑(
𝑯𝒌

𝟐𝒌
.

𝟏

(𝒌 + 𝟏)
) = ∑

𝑯𝒌

𝟐𝒌
∫ 𝒙𝒌𝒅𝒙 =
𝟏

𝟎

∞

𝒌=𝟏

∞

𝒌=𝟏

⁡

∞

𝒌=𝟏

 

 

∫ (
𝟏

𝟎

∑𝑯𝒌(
𝒙

𝟐
)𝒌)⁡𝒅𝒙 = −∫

𝐥 𝐧 (𝟏 −
𝒙
𝟐
)

(𝟏 −
𝒙
𝟐
)
𝒅𝒙 = −(− 𝐥𝐧 (𝟏 −

𝒙

𝟐
))
𝟏

𝟎
=

𝟏

𝟎

⁡

∞

𝒌=𝟏

 

= − (−𝒍𝒏𝟐(𝟐)) = 𝒍𝒏𝟐(𝟐)⁡ 

 
𝑵𝒐𝒕𝒆 ∶⁡ 

∑𝑯𝒌𝒙
𝒌 = −

𝐥𝐧⁡(𝟏 − 𝒙)

𝟏 − 𝒙

∞

𝒌=𝟏

 

𝑾𝒉𝒆𝒓𝒆⁡⁡𝑯𝒌⁡⁡𝒊𝒔⁡⁡𝒕𝒉𝒆⁡⁡𝒉𝒂𝒓𝒎𝒐𝒏𝒊𝒄⁡⁡𝒏𝒖𝒎𝒃𝒆𝒓. 

2462. Prove that: 

∑
𝑭𝟐𝒏

𝟐𝟔𝒏−𝟏(𝟒𝒏 − 𝟑)

∞

𝒏=𝟏

(
𝟒𝒏
𝟐𝒏
) =

𝟏

𝟑
√
𝟏

𝟓
(𝟑 + √𝟓− √𝟐√𝟓 + 𝟓) 

Proposed by Srinivasa Raghava-AIRMC-India 

Solution by Pham Duc Nam-Vietnam 

𝑺 = ∑
𝑭𝟐𝒏

𝟐𝟔𝒏−𝟏(𝟒𝒏 − 𝟑)

∞

𝒏=𝟏

(
𝟒𝒏
𝟐𝒏
) =

𝟏

𝟑
√
𝟏

𝟓
(𝟑 + √𝟓 − √𝟐√𝟓 + 𝟓) 

𝑺 = 𝟐∑
𝑭𝟐𝒏

(𝟖)𝟐𝒏(𝟒𝒏 − 𝟑)
(
𝟒𝒏
𝟐𝒏
)

∞

𝒏=𝟏

= ∑∑𝒆𝝅𝒊𝒏𝒌
𝟐

𝒌=𝟏

∞

𝒏=𝟏

𝑭𝒏
(𝟖)𝒏(𝟐𝒏 − 𝟑)

(
𝟐𝒏
𝒏
) 

Now, using the ordinary generating function of central binomial coefficients:  

∑𝒙𝒏
∞

𝒏=𝟎

(
𝟐𝒏
𝒏
) =

𝟏

√𝟏 − 𝟒𝒙
⇒ ∑𝒙𝟐𝒏−𝟒

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) =

𝟏

𝒙𝟒√𝟏 − 𝟒𝒙𝟐
−
𝟏

𝒙𝟒
⇒ 

⇒∑
𝒙𝟐𝒏−𝟑

𝟐𝒏 − 𝟑

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) = −

𝟖𝒙𝟐√𝟏 − 𝟒𝒙𝟐 + √𝟏 − 𝟒𝒙𝟐 − 𝟏

𝟑𝒙𝟑
+ 𝑪 

⇒∑
𝒙𝟐𝒏

𝟐𝒏 − 𝟑

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) = −

𝟖𝒙𝟐√𝟏 − 𝟒𝒙𝟐 + √𝟏 − 𝟒𝒙𝟐 − 𝟏

𝟑
⇒ 



 
www.ssmrmh.ro 

84 RMM-CALCULUS MARATHON 2401-2500 

 

⇒∑
𝒙𝒏

𝟐𝒏 − 𝟑

∞

𝒏=𝟏

(
𝟐𝒏
𝒏
) = −

𝟖𝒙√𝟏 − 𝟒𝒙 + √𝟏 − 𝟒𝒙 − 𝟏

𝟑
 

And the Binet’s formula for Fibonacci sequence: 𝑭𝒏 =
𝟏

√𝟓
(𝝋𝒏 − (𝟏 − 𝝋)𝒏), where 𝝋 =

𝟏+√𝟓

𝟐
 is the golden ratio 

⇒ 𝑺 =
𝟏

√𝟓
∑∑((

𝝋𝒆𝝅𝒊𝒌

𝟖
)

𝒏

− (
(𝟏 − 𝝋)𝒆𝝅𝒊𝒌

𝟖
)

𝒏

)

∞

𝒏=𝟏

𝟐

𝒌=𝟏

𝟏

𝟐𝒏 − 𝟑
(
𝟐𝒏
𝒏
) 

=
𝟏

√𝟓
∑

(

 
 
 
 
𝟏

𝟑
(𝒆𝒊𝝅𝒌(𝟏 − 𝝋)√𝟏 +

𝟏

𝟐
𝒆𝒊𝝅𝒌(𝝋 − 𝟏) + √𝟏 +

𝟏

𝟐
𝒆𝒊𝝅𝒌(𝝋 − 𝟏) − 𝟏) +

+
𝟏

𝟑
(−𝒆𝒊𝝅𝒌𝝋√𝟏 −

𝟏

𝟐
𝒆𝒊𝝅𝒌𝝋− √𝟏 −

𝟏

𝟐
𝒆𝒊𝝅𝒌𝝋 + 𝟏)

)

 
 
 
 𝟐

𝒌=𝟏

 

=
𝟏

𝟑

𝟏

√𝟓
(√
𝟏

𝟐
(𝟐√𝟓 + 𝟓) −

𝟏

√𝟐
) =

𝟏

𝟑

𝟏

√𝟓
√(√

𝟏

𝟐
(𝟐√𝟓 + 𝟓) −

𝟏

√𝟐
)

𝟐

= 

=
𝟏

𝟑

𝟏

√𝟓
√𝟑 + √𝟓 − √𝟐√𝟓 + 𝟓 =

𝟏

𝟑
√
𝟏

𝟓
(𝟑 + √𝟓 − √𝟐√𝟓 + 𝟓), hence proved. 

2463. Find a closed form: 
 

𝛀 = ∫ ∫ ∫
𝐥𝐨𝐠(𝒙𝟐) 𝐥𝐨𝐠(𝒚𝟐) 𝐥𝐨𝐠(𝒛𝟐) 𝐥𝐨𝐠⁡(𝒙𝒚𝒛)

𝟏 + 𝒙𝒚𝒛
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

 
Proposed by Hikmat Mammadov-Azerbaijan 

Solution by Shirvan Tahirov-Azerbaijan 
 

𝛀 = ∫ ∫ ∫
𝐥𝐧(𝒙𝟐) 𝐥𝐧(𝒚𝟐) 𝐥𝐧(𝒛𝟐) 𝒙𝒚𝒛

𝟏 + 𝒙𝒚𝒛
𝒅𝒙𝒅𝒚𝒅𝒛 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

 

𝐥𝐢𝐦
𝒂→𝟎

𝝏

𝝏𝒂
∫ ∫ ∫

𝐥𝐧(𝒙𝟐) 𝐥𝐧(𝒚𝟐) 𝐥𝐧(𝒛𝟐) (𝒙𝒚𝒛)𝒂

𝟏 + 𝒙𝒚𝒛
𝒅𝒙𝒅𝒚𝒅𝒛 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎
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𝟖 𝐥𝐢𝐦
𝒂→𝟎

𝝏

𝝏𝒂
∑(−𝟏)𝒏∫ ∫ ∫ 𝒙𝒂

𝟏

𝟎

𝟏

𝟎

𝐥𝐧(𝒙) 𝒚𝒂 𝐥𝐧(𝒚) 𝒛𝒂 𝐥𝐧(𝒛) (𝒙𝒚𝒛)𝒏𝒅𝒙𝒅𝒚𝒅𝒛 =
𝟏

𝟎𝒏≥𝟎

 

 

𝟖 𝐥𝐢𝐦
𝒂→𝟎

𝝏

𝝏𝒂
∑(−𝟏)𝒏∫ ∫ ∫ 𝐥𝐧(𝒙) 𝐥𝐧(𝒚) 𝐥𝐧(𝒛) 𝒙𝒂+𝒏𝒚𝒂+𝒏𝒛𝒂+𝒏𝒅𝒙𝒅𝒚𝒅𝒛 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎𝒏≥𝟎

 

 

𝟖 𝐥𝐢𝐦
𝒂→𝟎

𝝏

𝝏𝒂
∑(−𝟏)𝒏(∫ 𝒙𝒂+𝒏 𝐥𝐧(𝒙)𝒅𝒙 + ∫ 𝒚𝒂+𝒏 𝐥𝐧(𝒚)𝒅𝒙 + ∫ 𝒛𝒂+𝒏 𝐥𝐧(𝒛)𝒅𝒛) =⁡

𝟏

𝟎

⁡
𝟏

𝟎

⁡
𝟏

𝟎𝒏≥𝟎

 

 

𝜟 ∶ ⁡∫ 𝒙𝒂+𝒏 𝐥𝐧(𝒙) 𝒅𝒙 =⏞
𝑰.𝑩.𝑷𝟏

𝟎

(
𝐥𝐧(𝒙) . 𝒙𝒏+𝒂+𝟏

𝒏 + 𝒂 + 𝟏
)
𝟏

𝟎

− ∫
𝒙𝒏+𝒂

𝒏 + 𝒂 + 𝟏
𝒅𝒙 = 𝟎 −

𝟏

(𝒏 + 𝒂 + 𝟏)
∫ 𝒙𝒏+𝒂𝒅𝒙 = −

𝟏

(𝒏 + 𝒂 + 𝟏)𝟐

𝟏

𝟎

𝟏

𝟎

 

 
𝑻𝒉𝒆⁡⁡𝒐𝒕𝒉𝒆𝒓⁡⁡𝒕𝒘𝒐⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍′𝒔⁡𝒂𝒓𝒆⁡⁡𝒔𝒐𝒍𝒗𝒆𝒅⁡⁡𝒊𝒏⁡⁡𝒕𝒉𝒆⁡𝒔𝒂𝒎𝒆⁡⁡𝒇𝒐𝒓𝒎… 

𝟖 𝐥𝐢𝐦
𝒂→𝟎

𝝏

𝝏𝒂
∑(−𝟏)𝒏((−

𝟏

(𝒏 + 𝒂 + 𝟏)𝟐
) ⁡. (−

𝟏

(𝒏 + 𝒂 + 𝟏)𝟐
)⁡.⁡⁡(−

𝟏

(𝒏 + 𝒂 + 𝟏)𝟐
)) =

𝒏≥𝟎

 

−𝟖 𝐥𝐢𝐦
𝒂→𝟎

𝝏

𝝏𝒂
∑

(−𝟏)𝒏

(𝒏 + 𝒂 + 𝟏)𝟔
= 𝟒𝟖 𝐥𝐢𝐦

𝒂→𝟎
∑

(−𝟏)𝒏

(𝒏 + 𝒂 + 𝟏)𝟕
= 𝟒𝟖∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟕
=

𝒏≥𝟎𝒏≥𝟎𝒏≥𝟎

 

= 𝟒𝟖∑
(−𝟏)𝒏+𝟏

(𝒏)𝟕
= 𝟒𝟖𝜼(𝟕)

𝒏≥𝟏

 

𝑾𝒉𝒆𝒓𝒆⁡⁡𝜼(𝝂)⁡⁡𝒊𝒔⁡⁡𝒕𝒉𝒆⁡⁡𝑫𝒊𝒓𝒊𝒄𝒉𝒍𝒆𝒕⁡⁡𝒆𝒕𝒂⁡⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏. 
 

2464. Prove the below closed form: 

∫
𝐬𝐢𝐧(𝒙) + 𝐜𝐨𝐬(𝒙) + 𝐭𝐚𝐧(𝒙)

(𝟏 + 𝐬𝐢𝐧(𝒙))(𝟏 + 𝐜𝐨𝐬(𝒙))(𝟏 + 𝐭𝐚𝐧(𝒙))

𝝅
𝟒

𝟎

𝒅𝒙 = 𝐥𝐧(
𝟏

𝟐
+
𝟏

√𝟐
) − 𝟐√𝟐 + 𝟑 

Proposed by Ankush Kumar Parcha-India 

Solution by Pham Duc Nam-Vietnam 

𝛀 = ∫
𝐬𝐢𝐧(𝒙) + 𝐜𝐨𝐬(𝒙) + 𝐭𝐚𝐧(𝒙)

(𝟏 + 𝐬𝐢𝐧(𝒙))(𝟏 + 𝐜𝐨𝐬(𝒙))(𝟏 + 𝐭𝐚𝐧(𝒙))

𝝅
𝟒

𝟎

𝒅𝒙 =? 

* By letting: 𝒕 = 𝐭𝐚𝐧(𝒙), we have: 𝛀 = ∫ (−
𝒕

√𝟏+𝒕𝟐
+

𝟏

𝟏+√𝟏+𝒕𝟐
+

𝒕

𝟏+𝒕
)

𝟏

𝟎
𝒅𝒕 
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= (−√𝟏 + 𝒕𝟐 + 𝒕 − 𝐥𝐧(𝟏 + 𝒕))|
𝟎

𝟏
+∫

𝟏

𝟏 + √𝟏 + 𝒕𝟐
𝒅𝒕

𝟏

𝟎⏟            

√𝟏+𝒕𝟐=𝒖+𝒕

= 

= 𝟐 − √𝟐 − 𝐥𝐧(𝟐) + ∫
𝒖𝟐 + 𝟏

𝒖(𝟏 + 𝒖)𝟐

𝟏

√𝟐−𝟏

𝒅𝒖 

= 𝟐 − √𝟐 − 𝐥𝐧(𝟐) + ∫ (
𝟏

𝒖
−

𝟐

(𝟏 + 𝒖)𝟐
)

𝟏

√𝟐−𝟏

𝒅𝒖 = 𝟐 − √𝟐 − 𝐥𝐧(𝟐) + (
𝟐

𝟏 + 𝒖
+ 𝐥𝐧(𝒖))|

√𝟐−𝟏

𝟏

 

= 𝟐 − √𝟐 − 𝐥𝐧(𝟐) − √𝟐 + 𝟏 − 𝐥𝐧(√𝟐 − 𝟏) = 𝟑 − 𝟐√𝟐 − 𝐥𝐧(𝟐√𝟐 − 𝟐) = 

= 𝟑 − 𝟐√𝟐 + 𝐥𝐧 (
𝟏

𝟐√𝟐 − 𝟐
) = 𝐥𝐧 (

𝟏

𝟐
+
𝟏

√𝟐
) − 𝟐√𝟐 + 𝟑 

2465. Prove that: 

∫
𝐥𝐨𝐠𝟐(𝒙) 𝐬𝐢𝐧 ³(𝒙)

𝒙
𝒅𝒙

𝑹+
=
𝝅𝜸𝟐

𝟒
−
𝝅𝜸

𝟒
𝐥𝐨𝐠(𝟑) +

𝛑𝟑

𝟒𝟖
−
𝝅

𝟖
𝐥𝐨𝐠𝟐(𝟑) 

 
Proposed by Ankush Kumar Parcha-India 

Solution by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫
𝐥𝐨𝐠𝟐(𝒙)

𝒙
𝐬𝐢𝐧𝟑(𝒙)

∞

𝟎

𝒅𝒙 = 𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐
∫ 𝒙𝒂−𝟏𝐬𝐢𝐧𝟑(𝒙)𝒅𝒙
∞

𝟎

= 

 

= 𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐
∫ 𝑳𝒙

−𝟏{𝒙𝒂−𝟏}(𝒔)𝑳𝒙{𝐬𝐢𝐧
𝟑(𝒙)}(𝒔)𝒅𝒔

∞

𝟎

= 

 

= 𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐
𝟔

𝜞(𝟏− 𝒂)
∫

𝒔−𝒂

(𝟏 + 𝒔𝟐)(𝟗 + 𝒔𝟐)

∞

𝟎

𝒅𝒔 = 

 

=
𝟑

𝟒
𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐
𝟏

𝜞(𝟏− 𝒂)
(∫

𝒔−𝒂

𝒔𝟐 + 𝟏

∞

𝟎

𝒅𝒔 −∫
𝒔−𝒂

𝒔𝟐+ 𝟗
𝒅𝒔

∞

𝟎

) 

 

𝑰(𝒂) = ∫
𝒔−𝒂

𝟏 + 𝒔𝟐
𝒅𝒔

∞

𝟎

, {𝒔𝟐 = 𝒕, 𝒅𝒕 = 𝟐√𝒕𝒅𝒔, 𝒕[𝟎;∞]} 

 

𝑰(𝒂) =
𝟏

𝟐
∫

𝒕
𝟏
𝟐
−
𝒂
𝟐
−𝟏

(𝟏+ 𝒕)
𝟏
𝟐
−
𝒂
𝟐
+
𝒂
𝟐
+
𝟏
𝟐

∞

𝟎

𝒅𝒕 =
𝟏

𝟐
𝜷(
𝟏

𝟐
−
𝒂

𝟐
;
𝟏

𝟐
+
𝒂

𝟐
) 
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𝑱(𝒂) = ∫
𝒔−𝒂

𝟗 + 𝒔𝟐
𝒅𝒔

∞

𝟎

=
𝟏

𝟗
∫

𝒔−𝒂

𝒔𝟐

𝟗
+ 𝟏

∞

𝟎

𝒅𝒔⁡⁡{
𝒔𝟐

𝟗
= 𝒕, 𝒅𝒕 =

𝟐

𝟑
√𝒕𝒅𝒔, 𝒕[𝟎;∞]} 

 

𝑱(𝒂) =
𝟑−𝒂

𝟔
∫

𝒕
𝟏
𝟐
−
𝒂
𝟐
−𝟏

(𝟏+ 𝒕)
𝟏
𝟐
−
𝒂
𝟐
+
𝟏
𝟐
+
𝒂
𝟐

∞

𝟎

𝒅𝒕 =
𝟑−𝒂−𝟏

𝟐
𝜷(
𝟏

𝟐
−
𝒂

𝟐
;
𝟏

𝟐
+
𝒂

𝟐
) 

 

𝜴 =
𝟑

𝟖
𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐

(𝟏 − 𝟑−𝒂−𝟏)𝜷 (
𝟏
𝟐
−
𝒂
𝟐
;
𝟏
𝟐
+
𝒂
𝟐
)

𝜞(𝟏− 𝒂)
=
𝟑

𝟖
𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐
(𝟏 − 𝟑−𝟏−𝒂)

𝜞(
𝟏
𝟐
−
𝒂
𝟐
)𝜞(

𝟏
𝟐
+
𝒂
𝟐
)

𝜞(𝟏− 𝒂)
 

 

𝒏𝒐𝒕𝒆: {𝜞(𝟏− 𝜶)𝜞(𝟏+ 𝜶) = 𝝅𝜶𝐜𝐬𝐜(𝝅𝜶) , 𝜞(
𝟏 −𝜶

𝟐
)𝜞(

𝟏 +𝜶

𝟐
) = 𝝅𝐬𝐞𝐜(

𝝅𝜶

𝟐
)} 

 

𝜴 =
𝟑𝝅

𝟖
𝐥𝐢𝐦
𝒂→𝟎

𝒅𝟐

𝒅𝒂𝟐

(𝟏 − 𝟑−𝟏−𝒂) 𝐬𝐞𝐜(
𝝅𝒂
𝟐
)

𝜞(𝟏− 𝒂)
=
𝟑𝝅

𝟖
(𝜴𝟏 −𝜴𝟐) 

 

𝜴𝟏 = 𝐥𝐢𝐦
𝒂→𝟎

(
𝐬𝐞𝐜(

𝝅𝒂
𝟐
)

𝜞(𝟏−𝒂)
)

(𝟐)

= 𝐥𝐢𝐦
𝒂→𝟎

𝐬𝐞𝐜(
𝝅𝒂
𝟐
)

𝟒𝜞(𝟏− 𝒂)
(𝟒𝝍(𝟎)(𝟏 − 𝒂)𝟐 −𝟒𝝍(𝟏)(𝟏− 𝒂) + 𝝅𝟐 (𝐭𝐚𝐧𝟐 (

𝛑𝐚

𝟐
) + 𝐬𝐞𝐜𝟐 (

𝛑𝐚

𝟐
)) 

+𝟒𝝅𝐭𝐚𝐧(
𝝅𝒂

𝟐
)𝝍(𝟎)(𝟏− 𝒂)) = 

 

= 𝝍(𝟎)(𝟏)𝟐−𝝍(𝟏)(𝟏) +
𝝅𝟐

𝟒
= 𝜸𝟐−

𝝅𝟐

𝟔
+
𝝅𝟐

𝟒
= 𝜸𝟐 +

𝝅𝟐

𝟏𝟐
 

 

𝜴𝟐 =
𝟏

𝟑
𝐥𝐢𝐦
𝒂→𝟎

(
𝟑−𝒂 𝐬𝐞𝐜(

𝝅𝒂
𝟐
)

𝜞(𝟏− 𝒂)
)

(𝟐)

=
𝟏

𝟑
𝐥𝐢𝐦
𝒂→𝟎

𝟑−𝒂𝐬𝐞𝐜𝟑 (
𝝅𝒂
𝟐
)

𝟒𝜞(𝟏− 𝒂)
(𝝅𝟐𝒔𝒊𝒏𝟐 (

𝝅𝒂

𝟐
) +𝝅𝟐 + 𝟐𝝅𝐬𝐢𝐧(𝝅𝒂)(𝝍(𝟎)(𝟏− 𝒂) − 𝐥𝐨𝐠(𝟑)) 

+𝟒𝐜𝐨𝐬𝟐 (
𝛑𝐚

𝟐
) (𝛙(𝟎)(𝟏 − 𝐚)𝟐 −𝛙(𝟏)(𝟏 − 𝐚) − 𝟐 𝐥𝐨𝐠(𝟑)𝝍(𝟎)(𝟏 − 𝒂) + 𝐥𝐨𝐠𝟐(𝟑))) = 

 

=
𝟏

𝟏𝟐
(𝝅𝟐 + 𝟒𝝍(𝟎)(𝟏)𝟐 −𝟒𝝍(𝟏)(𝟏) − 𝟖 𝐥𝐨𝐠(𝟑)𝝍(𝟎)(𝟏) + 𝟒𝐥𝐨𝐠𝟐(𝟑)) = 

 

=
𝝅𝟐

𝟏𝟐
+
𝜸𝟐

𝟑
−
𝝅𝟐

𝟏𝟖
+
𝟐𝜸𝐥𝐨𝐠(𝟑)

𝟑
+
𝐥𝐨𝐠𝟐(𝟑)

𝟑
=
𝝅𝟐

𝟑𝟔
+
𝜸𝟐

𝟑
+
𝟐𝜸𝐥𝐨𝐠(𝟑)

𝟑
+
𝐥𝐨𝐠𝟐(𝟑)

𝟑
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𝜴 =
𝟑𝝅

𝟖
(𝜴𝟏− 𝜴𝟐) =

𝟑𝝅

𝟖
(
𝝅𝟐

𝟏𝟖
+
𝟐𝜸𝟐

𝟑
−
𝟐𝜸𝐥𝐨𝐠(𝟑)

𝟑
−
𝐥𝐨𝐠𝟐(𝟑)

𝟑
) = 

 

=
𝝅𝟑

𝟒𝟖
+
𝝅𝜸𝟐

𝟒
−
𝜸𝛑𝐥𝐨𝐠(𝟑)

𝟒
−
𝝅𝐥𝐨𝐠𝟐(𝟑)

𝟖
 

2466. 

Ω𝟏 = ∫ 𝒙𝒍𝒏 (
𝟏

𝐜𝐨𝐬(𝒙)
⁡+ ⁡

𝟏

𝐬𝐢𝐧(𝒙)
)𝒅𝒙⁡⁡𝒂𝒏𝒅⁡⁡

𝝅
𝟐

𝝅
𝟒

 

Ω𝟐 = ∫ 𝒚𝒍𝒏 (
𝟏

𝐜𝐨𝐬(𝒚)
⁡−⁡

𝟏

𝐬𝐢𝐧(𝒚)
) 𝒅𝒚⁡⁡⁡

𝝅
𝟐

𝝅
𝟒

 

𝑷𝒓𝒐𝒗𝒆⁡⁡𝒕𝒉𝒂𝒕 ∶ ⁡Ω𝟏 ⁡+⁡Ω𝟐⁡ = ⁡
𝟐𝟏

𝟔𝟒
𝜻(𝟑) ⁡+⁡

𝟗

𝟑𝟐
𝝅𝟐𝐥𝐧⁡(𝟐)⁡ 

Proposed by Shirvan Tahirov-Azerbaijan, Ankush Kumar Parcha-India 
Solution by Quadri Faruk Temitope-Nigeria 

 

𝑵 = ∫ 𝒙𝒍𝒏(
𝟏

𝐜𝐨𝐬(𝒙)
⁡+⁡

𝟏

𝐬𝐢𝐧(𝒙)
)𝒅𝒙 = ∫ 𝒙𝒍𝒏(

𝐬𝐢𝐧(𝒙) + 𝐜𝐨𝐬(𝒙)

𝐬𝐢𝐧(𝒙)𝐜𝐨𝐬(𝒙)
)𝒅𝒙 =

𝝅
𝟐

𝝅
𝟒

⁡⁡⁡⁡

𝝅
𝟐

𝝅
𝟒

 

∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙) + 𝐜𝐨𝐬(𝒙))𝒅𝒙⁡ −⁡∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙)𝐜𝐨𝐬(𝒙))𝒅𝒙 =

𝝅
𝟐

𝝅
𝟒

⁡

𝝅
𝟐

𝝅
𝟒

 

∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙) + 𝐜𝐨𝐬(𝒙))𝒅𝒙− ∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙))𝒅𝒙 −∫ 𝒙𝒍𝒏(𝐜𝐨𝐬(𝒙))𝒅𝒙⁡

𝝅
𝟐

𝝅
𝟒

⁡

𝝅
𝟐

𝝅
𝟒

⁡

𝝅
𝟐

𝝅
𝟒

= 𝑨𝟏+ 𝑨𝟐+ 𝑨𝟑 

𝑻𝒉𝒊𝒔 ∶ 

𝑨𝟏 = ∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙) + 𝐜𝐨𝐬(𝒙))𝒅𝒙 = ∫ 𝒙𝒍𝒏 (√𝟐𝐬𝐢𝐧(
𝟑

𝟒
𝝅 − 𝒙))𝒅𝒙 =⁡

𝝅
𝟐

𝝅
𝟒

𝝅
𝟐

𝝅
𝟒

 

∫ 𝒙𝒍𝒏(√𝟐)

𝝅
𝟐

𝝅
𝟒

𝒅𝒙 +∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(
𝟑

𝟒
𝝅− 𝒙))𝒅𝒙 =

𝟏

𝟐
𝐥𝐧(𝟐)∫ 𝒙𝒅𝒙

𝝅
𝟐

𝝅
𝟒

+∫ (
𝟑

𝟒
𝝅 −𝒙) 𝐥𝐧(𝒔𝒊𝒏(𝒙))𝒅𝒙 =

𝝅
𝟐

𝝅
𝟒

𝝅
𝟐

𝝅
𝟒

 

𝒙𝟐

𝟒
𝐥𝐧(𝟐) +

𝟑

𝟒
𝝅∫ 𝐥𝐧(𝐬𝐢𝐧(𝒙))𝒅𝒙 −∫ 𝒙 𝐥𝐧(𝐬𝐢𝐧(𝒙))𝒅𝒙 =

𝟏

𝟒
𝐥𝐧(𝟐)(

𝝅𝟐

𝟒
−
𝝅𝟐

𝟏𝟔
)+

𝟑

𝟒
𝝅(
𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐))−⁡

𝝅
𝟐

𝝅
𝟒

𝝅
𝟐

𝝅
𝟒

 

(
𝝅

𝟖
𝑮 +

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) −

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐)⁡)⁡⁡,⁡⁡⁡⁡ 

⁡⁡⁡⁡𝑨𝟏 =
𝝅

𝟒
𝑮⁡ −⁡

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑)⁡−⁡

𝟑

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐) 

𝑨𝟐 = ∫ 𝒙𝒍𝒏(𝐬𝐢𝐧(𝒙))𝒅𝒙 =
𝝅

𝟖
𝑮+

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑)−

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐)⁡

𝝅
𝟐

𝝅
𝟒

 

𝑨𝟑 = ∫ 𝒙𝒍𝒏(𝐜𝐨𝐬(𝒙))𝒅𝒙⁡

𝝅
𝟐

𝝅
𝟒

= −
𝝅

𝟖
𝑮−

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐)−

𝟑𝟓

𝟏𝟐𝟖
𝜻(𝟑) 
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𝑰 = 𝑨𝟏− 𝑨𝟐− 𝑨𝟑 = (
𝝅

𝟒
𝑮⁡ −⁡

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑)⁡−⁡

𝟑

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐))− (

𝝅

𝟖
𝑮+

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) −

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐))− 

(−
𝝅

𝟖
𝑮 −

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐) −

𝟑𝟓

𝟏𝟐𝟖
𝜻(𝟑)) =

𝝅

𝟒
𝑮−

𝟕

𝟏𝟐𝟖
𝜻(𝟑)+

𝟗

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐) 

𝑯𝒆𝒏𝒄𝒆 ∶ 

𝑴 = ∫ 𝒚𝒍𝒏(
𝟏

𝐜𝐨𝐬(𝒚)
⁡−⁡

𝟏

𝐬𝐢𝐧(𝒚)
)𝒅𝒚 =⁡∫ 𝒚𝒍𝒏(

𝐬𝐢𝐧(𝒚) − 𝐜𝐨𝐬(𝒚)

𝐬𝐢𝐧(𝒚)𝐜𝐨𝐬(𝒚)
)𝒅𝒚 =

𝝅
𝟐

𝝅
𝟒

⁡

𝝅
𝟐

𝝅
𝟒

 

∫ 𝒚𝒍𝒏(𝐬𝐢𝐧(𝒚) − 𝐜𝐨𝐬(𝒚))𝒅𝒚⁡−⁡∫ 𝒚𝒍𝒏(𝐬𝐢𝐧(𝒚)𝐜𝐨𝐬(𝒚))𝒅𝒚

𝝅
𝟐

𝝅
𝟒

= 𝑩𝟏 − 𝑩𝟐 − 𝑩𝟑⁡

𝝅
𝟐

𝝅
𝟒

 

 
𝑺𝒊𝒏𝒄𝒆⁡⁡𝒕𝒉𝒆⁡⁡𝑴− 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍⁡⁡𝒊𝒔⁡⁡𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒊𝒄⁡⁡𝒘𝒊𝒕𝒉⁡⁡𝒕𝒉𝒆⁡⁡𝑵− 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 𝒘𝒆⁡⁡⁡𝒄𝒂𝒏 
𝒅𝒊𝒓𝒆𝒄𝒕𝒍𝒚⁡⁡𝒘𝒓𝒊𝒕𝒆⁡⁡𝒕𝒉𝒆⁡⁡𝒂𝒏𝒔𝒘𝒆𝒓⁡⁡𝒐𝒇⁡⁡𝒕𝒉𝒆⁡⁡𝑴− 𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍, 𝒕𝒉𝒆⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍′𝒔⁡⁡𝒂𝒓𝒆⁡⁡𝒔𝒊𝒎𝒊𝒍𝒂𝒓… 

𝑩𝟏 =
𝟏

𝟒
𝐥𝐧(𝟐)(

𝝅𝟐

𝟒
−
𝝅𝟐

𝟏𝟔
)+

𝟑

𝟒
𝝅(−

𝑮

𝟐
−
𝝅

𝟒
𝐥𝐧(𝟐))− (−

𝝅

𝟖
𝑮−

𝟑𝟓

𝟏𝟐𝟖
𝜻(𝟑)−

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐)) 

𝑩𝟏 = −
𝝅

𝟒
𝑮+

𝟑𝟓

𝟏𝟐𝟖
𝜻(𝟑) −

𝟑

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐) ⁡,⁡⁡⁡𝑴 = 𝑩𝟏 − 𝑩𝟐 −𝑩𝟑 

𝑴= (−
𝟑

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐)−

𝝅

𝟒
𝑮+

𝟑𝟓

𝟏𝟐𝟖
𝜻(𝟑)) − (

𝝅

𝟖
𝑮+

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) −

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐))− 

(−
𝝅

𝟖
𝑮 −

𝟑𝟓

𝟏𝟐𝟖
𝜻(𝟑)−

𝟑

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐)) =

𝟒𝟗

𝟏𝟐𝟖
𝜻(𝟑) −

𝝅

𝟒
𝑮 +

𝟗

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐) 

𝑻𝒉𝒆𝒏 ∶ Ω𝟏 + Ω𝟐 = 𝑵+𝑴 

Ω𝟏 +Ω𝟐 =
𝝅

𝟒
𝑮 −

𝟕

𝟏𝟐𝟖
𝜻(𝟑) +

𝟗

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐) +

𝟒𝟗

𝟏𝟐𝟖
𝜻(𝟑)−

𝝅

𝟒
𝑮+

𝟗

𝟔𝟒
𝝅𝟐 𝐥𝐧(𝟐) 

Ω𝟏 + Ω𝟐 =
𝟐𝟏

𝟔𝟒
𝜻(𝟑) +

𝟗

𝟑𝟐
𝝅𝟐 𝐥𝐧(𝟐) 

2467. Suppose: 

𝒇(𝒙) = ∫ 𝐥𝐧(𝟏 + 𝒆−𝟐𝒕)
∞

𝟎

𝒅𝒕 

Prove without any software: 

𝟑

𝟖
≤ 𝒇(𝒙) ≤

𝟏

𝟒
(𝟏 + 𝐥𝐧(𝟐)) 

Proposed by Khaled Abd Imouti-Syria 
Solution by Pham Duc Nam-Vietnam 

∗ 𝑰 = ∫ 𝐥𝐧(𝟏 + 𝒆−𝟐𝒕)
∞

𝟎

𝒅𝒕, 𝒖 = 𝒆−𝟐𝒕 ⇒ −𝟐𝒕 = 𝐥𝐧(𝒖) ⇒ 𝒅𝒕 = −
𝟏

𝟐

𝒅𝒖

𝒖
⇒ 

⇒ 𝑰 =
𝟏

𝟐
∫
𝐥𝐧(𝟏 + 𝒖)

𝒖

𝟏

𝟎

𝒅𝒖 = −
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

∫ 𝒖𝒏−𝟏
𝟏

𝟎

𝒅𝒖 = −
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

=
𝝅𝟐

𝟐𝟒
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* We need to prove: 
𝟑

𝟖
≤
𝝅𝟐

𝟐𝟒
≤
𝟏

𝟒
(𝟏 + 𝐥𝐧(𝟐)) 

a) 
𝟑

𝟖
≤
𝝅𝟐

𝟐𝟒
⇔ 𝝅𝟐 ≥ 𝟗 

Since the series expansion of 𝐬𝐢𝐧(𝒙) = 𝒙 −
𝒙𝟑

𝟑!
+
𝒙𝟓

𝟓!
… ⇒ 

⇒ 𝐬𝐢𝐧(𝒙) ≤ 𝒙⁡⁡∀𝒙 ∈ ℝ ⇒ 𝐬𝐢𝐧 (
𝝅

𝟔
) =

𝟏

𝟐
≤
𝝅

𝟔
⇒ 𝝅 > 3 ⇔ 𝝅𝟐 ≥ 𝟗, done. 

b) 
𝝅𝟐

𝟐𝟒
≤
𝟏

𝟒
(𝟏 + 𝐥𝐧(𝟐)) ⇔ 𝝅𝟐 ≤ 𝟔 + 𝟔 𝐥𝐧(𝟐). We will show that: 𝝅𝟐 ≤ 𝟏𝟎 

Indeed, we have: 𝟎 < ∫
𝒙𝟒(𝟏−𝒙)𝟒

𝟏+𝒙𝟐

𝟏

𝟎
𝒅𝒙 =

𝟐𝟐

𝟕
− 𝝅 ⇒ 𝝅 <

𝟐𝟐

𝟕
⇒ 

⇒ 𝝅𝟐 <
𝟒𝟖𝟒

𝟒𝟗
≤ 𝟏𝟎, true since: 𝟏𝟎 =

𝟒𝟗𝟎

𝟒𝟗
 

Now, we will show that: 𝟏𝟎 ≤ 𝟔 + 𝟔 𝐥𝐧(𝟐) ⇔ 𝐥𝐧(𝟐) ≥
𝟐

𝟑
, 

Since the series expansion of: 𝐥𝐧 (
𝟏+𝒙

𝟏−𝒙
) = 𝟐𝒙 +

𝟐

𝟑
𝒙𝟑 +

𝟐

𝟓
𝒙𝟓 +⋯ ⇒ 

⇒ 𝐥𝐧(
𝟏+

𝟏

𝟑

𝟏−
𝟏

𝟑

) =
𝟐

𝟑
+
𝟐

𝟑
(
𝟏

𝟑
)
𝟑
+⋯ ⇒ 𝐥𝐧(𝟐) =

𝟐

𝟑
+
𝟐

𝟑
(
𝟏

𝟑
)
𝟑
+⋯ ⇒ 𝐥𝐧(𝟐) ≥

𝟐

𝟑
, true 

⇒ 𝝅𝟐 ≤ 𝟏𝟎 ≤ 𝟔 + 𝟔 𝐥𝐧(𝟐), done. Combine all results we conclude that: 

𝟑

𝟖
≤
𝝅𝟐

𝟐𝟒
≤
𝟏

𝟒
(𝟏 + 𝐥𝐧(𝟐)) 

2468. Find: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

𝐥𝐨𝐠𝒏 ⋅ (∑
𝐥𝐨𝐠𝒌

𝒌

𝒏

𝒌=𝟐

)

𝟏
𝒏

⋅ (∫
|𝐬𝐢𝐧𝒙|

𝒙

𝒏

𝟎

)

−𝟏

 

Proposed by Khaled Abd Imouti-Syria 

Solution by Hikmat Mammadov-Azerbaijan 

Euler – Maclaurin summation gives us  

∑
𝐥𝐨𝐠𝒌

𝒌

𝒏

𝒌=𝟐

= ∑
𝐥𝐨𝐠 𝒌

𝒌

𝒏

𝒌=𝟏

∼
𝐥𝐨𝐠𝟐 𝒏

𝟐
 

as 𝒏 → ∞,⁡so that 



 
www.ssmrmh.ro 

91 RMM-CALCULUS MARATHON 2401-2500 

 

𝐥𝐢𝐦
𝒏→∞

(∑
𝐥𝐨𝐠 𝒌

𝒌

𝒏

𝒌=𝟐

)

𝟏
𝒏

= 𝟏. 

We also have ∫
|𝐬𝐢𝐧𝒙|

𝒙

𝒏

𝟏
𝒅𝒙 ∼

𝟐

𝝅
𝐥𝐨𝐠 𝒏 as 𝒏 → ∞ (proved below), and it follows that 

𝐥𝐢𝐦
𝒏→∞

𝐥𝐨𝐠 𝒏(∑
𝐥𝐨𝐠𝒌

𝒌

𝒏

𝒌=𝟐

)

𝟏
𝒏

(∫
|𝐬𝐢𝐧 𝒙|

𝒙

𝒏

𝟏

𝒅𝒙)

−𝟏

=
𝝅

𝟐
 

Let 𝒎 = ⌊
𝒏

𝝅
⌋ so that 𝒎𝝅 ≤ 𝒏 < 𝑚𝜋 + 𝜋. We have 

∫
|𝐬𝐢𝐧𝒙|

𝒙

𝒏

𝟏
𝒅𝒙 = ∫

|𝐬𝐢𝐧𝒙|

𝒙

𝝅

𝟏
𝒅𝒙 + ∑ ∫

|𝐬𝐢𝐧𝒙|

𝒙

𝒌𝝅

(𝒌−𝟏)𝝅
𝒎
𝒌=𝟐 𝒅𝒙 + ∫

|𝐬𝐢𝐧𝒙|

𝒙

𝒏

𝒎𝝅
𝒅𝒙          (1) 

Using ∫ |𝐬𝐢𝐧 𝒙|
𝒋𝝅+𝝅

𝒋𝝅
𝒅𝒙 = 𝟐, we can find the following upper and lower bounds for the 

terms on the RHS of (1): 

𝟎 ≤ ∫
|𝐬𝐢𝐧𝒙|

𝒙

𝝅

𝟏
𝒅𝒙 ≤ 𝐥𝐨𝐠 𝝅 ,

𝟐

𝝅
∑

𝟏

𝒌

𝒎
𝒌=𝟐 ≤ ∑ ∫

|𝐬𝐢𝐧𝒙|

𝒙
𝒅𝒙

𝒌𝝅

(𝒌−𝟏)𝝅
𝒎
𝒌=𝟐 ≤

𝟐

𝝅
∑

𝟏

𝒌−𝟏

𝒎
𝒌=𝟐       (2) 

𝟎 ≤ ∫
|𝐬𝐢𝐧 𝒙|

𝒙

𝒏

𝒎𝝅

𝒅𝒙 ≤ ∫ 𝒅𝒙
𝒎𝝅+𝝅

𝒎𝝅

≤
𝟐

𝒎𝝅 + 𝝅
 

Dividing both sides of (1) by 𝐥𝐨𝐠𝒏⁡and applying the bounds in (2), we get 

𝟐

𝝅 𝐥𝐨𝐠 𝒏
∑

𝟏

𝒌

𝒎

𝒌=𝟐

≤
𝟏

𝐥𝐨𝐠 𝒏
∫
|𝐬𝐢𝐧𝒙|

𝒙

𝒏

𝟏

𝒅𝒙 ≤
𝐥𝐨𝐠 𝝅

𝐥𝐨𝐠𝒏
+

𝟐

𝝅 𝐥𝐨𝐠𝒏
∑

𝟏

𝒌
+

𝟐

(𝒎𝝅 + 𝝅) 𝐥𝐨𝐠 𝒏

𝒎−𝟏

𝒌=𝟏

 

Taking the limit as 𝒏 → ∞, the first and third terms on the RHS of (3) tend to 0. We also 

have the following asymptotic behavior for the harmonic sums, where 𝜸 is the Euler-

Mascheroni constant, 

∑
𝟏

𝒌

𝒎

𝒌=𝟐

∼ 𝜸 + 𝐥𝐨𝐠𝒎 ≤ 𝜸 + 𝐥𝐨𝐠
𝒏

𝝅
∼ 𝐥𝐨𝐠 𝒏 , ∑

𝟏

𝒌

𝒎−𝟏

𝒌=𝟏

∼ 𝜸 + 𝐥𝐨𝐠(𝒎 − 𝟏) ≤ 𝜸 + 𝐥𝐨𝐠 (
𝒏

𝝅
− 𝟏)

∼ 𝐥𝐨𝐠𝒏 

and it follows from the squeeze theorem applied to (3) that 

𝐥𝐢𝐦
𝒏→∞

𝟏

𝐥𝐨𝐠𝒏
∫
|𝐬𝐢𝐧 𝒙|

𝒙

𝒏

𝟏

𝒅𝒙 =
𝟐

𝝅
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2469. Find: 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

(
𝟏

√(𝒏+ 𝟏)!
𝒏+𝟏

⋅ √
(𝒏 + 𝟏)𝑯𝒏
𝒏𝑯𝒏+𝟏

𝟓

) 

Proposed by Daniel Sitaru – Romania  

Solution by Adrian Popa – Romania  

First, we will calculate: 

𝐥𝐢𝐦
⁡𝒏→∞

√
𝒏𝒏

𝒏!

𝒏

=
𝑪.𝑫.

𝐥𝐢𝐦
𝒏→∞

(𝒏 + 𝟏)𝒏+𝟏

(𝒏 + 𝟏)!
⋅
𝒏!

𝒏𝒏
= 

= 𝐥𝐢𝐦
𝒏→∞

(𝒏 + 𝟏)𝒏 ⋅ (𝒏 + 𝟏) ⋅ 𝒏!

𝒏! (𝒏 + 𝟏)𝒏𝒏
= 𝐥𝐢𝐦
𝒏→∞

(
𝒏 + 𝟏

𝒏
)
𝒏

= 𝐥𝐢𝐦
𝒏→∞

(𝟏 +
𝟏

𝒏
)
𝒏

= 𝒆 ⇒ 

⇒ 𝐥𝐢𝐦
𝒏→∞

√
(𝒏+ 𝟏)𝒏+𝟏

(𝒏 + 𝟏)!

𝒏+𝟏

= 𝒆 

𝛀 = 𝐥𝐢𝐦
𝒏→∞

𝟏

√(𝒏 + 𝟏)!
𝒏+𝟏

√
(𝒏 + 𝟏)𝑯𝒏

𝒏𝑯𝒏+𝟏

𝟓

= 𝐥𝐢𝐦
𝒏→∞

√
(𝒏 + 𝟏)𝒏+𝟏

(𝒏 + 𝟏)!

𝒏+𝟏

⋅
𝟏

𝒏 + 𝟏
√
(𝒏 + 𝟏)𝑯𝒏

𝒏𝑯𝒏+𝟏

𝟓

 

= 𝐥𝐢𝐦
𝒏→∞

𝒆√
(𝒏 + 𝟏)𝑯𝒏

𝒏𝑯𝒏+𝟏(𝒏 + 𝟏)
𝟓

𝟓

= 𝒆 ⋅ 𝐥𝐢𝐦
𝒏→∞

√
𝑯𝒏

𝑯𝒏+𝟏 ⋅ 𝒏(𝒏 + 𝟏)
𝟒

𝟓

= 𝟎 

2470. Find: 

𝛀 = 𝐥𝐢𝐦
𝒙→𝟎

(𝟏 − 𝟐𝒙)−
𝟑
𝒙 − (𝟏 − 𝟑𝒙)−

𝟐
𝒙

𝒙
 

Proposed by Vasile Mircea Popa – Romania  

Solution by Pham Duc Nam-Vietnam 

𝑳 = 𝐥𝐢𝐦
𝒙→𝟎

(𝟏 − 𝟐𝒙)−
𝟑
𝒙 − (𝟏 − 𝟑𝒙)−

𝟐
𝒙

𝒙
= 𝐥𝐢𝐦

𝒙→𝟎

𝒆−
𝟑
𝒙 𝐥𝐧

(𝟏−𝟐𝒙) − 𝒆−
𝟐
𝒙
(𝟏−𝟑𝒙)

𝒙
= 

= 𝐥𝐢𝐦
𝒙→𝟎

𝒆−
𝟐
𝒙 𝐥𝐧

(𝟏−𝟑𝒙) 𝐥𝐢𝐦
𝒙→𝟎

𝒆−
𝟑
𝒙 𝐥𝐧

(𝟏−𝟐𝒙)+
𝟐
𝒙 𝐥𝐧

(𝟏−𝟑𝒙) − 𝟏

𝒙
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= 𝒆𝟔 𝐥𝐢𝐦
𝒙→𝟎

𝒆−
𝟑
𝒙 𝐥𝐧

(𝟏−𝟐𝒙)+
𝟐
𝒙𝐥𝐧

(𝟏−𝟑𝒙) − 𝟏

(−
𝟑
𝒙
𝐥𝐧(𝟏 − 𝟐𝒙) +

𝟐
𝒙
𝐥𝐧(𝟏 − 𝟑𝒙))

(−
𝟑
𝒙
𝐥𝐧(𝟏 − 𝟐𝒙) +

𝟐
𝒙
𝐥𝐧(𝟏 − 𝟑𝒙))

𝒙
= 

= 𝒆𝟔 𝐥𝐢𝐦
𝒙→𝟎

𝟐 𝐥𝐧(𝟏 − 𝟑𝒙) − 𝟑 𝐥𝐧(𝟏 − 𝟐𝒙)

𝒙𝟐
 

Let: 𝑲 = 𝐥𝐢𝐦
𝒙→𝟎

𝟐 𝐥𝐧(𝟏−𝟑𝒙)−𝟑 𝐥𝐧(𝟏−𝟐𝒙)

𝒙𝟐
, 𝒙 → −𝒙 

⇒ 𝑲 = 𝐥𝐢𝐦
𝒙→𝟎

𝟐 𝐥𝐧(𝟏 + 𝟑𝒙) − 𝟑 𝐥𝐧(𝟏 + 𝟐𝒙)

𝒙𝟐
⇒ 𝟐𝑲 = 𝐥𝐢𝐦

𝒙→𝟎

𝟐 𝐥𝐧(𝟏 − 𝟗𝒙𝟐) − 𝟑 𝐥𝐧(𝟏 − 𝟒𝒙𝟐)

𝒙𝟐
 

= 𝟐 ⋅ 𝟗 𝐥𝐢𝐦
𝒙→𝟎

𝐥𝐧(𝟏 − 𝟗𝒙𝟐)

𝟗𝒙𝟐
− 𝟑 ⋅ 𝟒 𝐥𝐢𝐦

𝒙→𝟎

𝐥𝐧(𝟏 − 𝟒𝒙𝟐)

𝟒𝒙𝟐
= 𝟏𝟖 + 𝟏𝟐 = −𝟔 ⇒ 𝑲 = −𝟑 

⇒ 𝑳 = −𝟑𝒆𝟔 

∵ 𝐥𝐢𝐦
𝒙→𝟎

𝒆𝒙−𝟏

𝒙
= 𝟏, 𝐥𝐢𝐦

𝒙→𝟎

𝐥𝐧(𝟏−𝒙)

𝒙
= −𝟏 are basic limits. 

2471. 
𝑭𝒊𝒏𝒅⁡𝒕𝒉𝒆⁡𝒈𝒆𝒏𝒆𝒓𝒂𝒍⁡𝒇𝒐𝒓𝒎⁡𝒐𝒇⁡𝒕𝒉𝒆⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒍⁡𝒂𝒏𝒅⁡𝒊𝒇⁡𝒂𝟏𝒂𝟐𝒂𝟑…⁡𝒂𝒌 = 𝟏,⁡ 

⁡⁡⁡𝟐𝒌 > 2𝒏+ 𝟏⁡⁡⁡⁡⁡𝒑𝒓𝒐𝒗𝒆⁡𝒕𝒉𝒂𝒕: 

𝝃 = ∫
𝒙𝟐𝒏

(𝒙𝟐 +𝒂𝟏
𝟐)(𝒙𝟐 + 𝒂𝟐

𝟐)(𝒙𝟐 + 𝒂𝟑
𝟐)… (𝒙𝟐 +𝒂𝒌

𝟐)

∞

𝟎

𝒅𝒙 ≤ 

≤
𝝅

𝟐𝒌
∑

(−𝟏)𝒏𝒂𝒎

𝟒𝒏−𝒌
𝟐

𝜫𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕 − 𝒂𝒎)

𝒌

𝒎=𝟏

⁡ 

𝑷𝒓𝒐𝒑𝒐𝒔𝒆𝒅⁡𝒃𝒚⁡𝑨𝒃𝒃𝒂𝒔𝒛𝒂𝒅𝒆⁡𝒀𝒖𝒔𝒊𝒇-Azerbaijan 
𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏⁡𝒃𝒚⁡𝒑𝒓𝒐𝒑𝒐𝒔𝒆𝒓 

𝒍𝒆𝒕⁡𝒇(𝒛) =
𝒛𝟐𝒏

(𝒛𝟐 + 𝒂𝟏
𝟐)(𝒛𝟐 + 𝒂𝟐

𝟐)(𝒛𝟐 + 𝒂𝟑
𝟐)… (𝒛𝟐 + 𝒂𝒌

𝟐)
= ⁡

𝒛𝟐𝒏

𝚷𝒊=𝟏
𝒌 (𝒛𝟐 + 𝒂𝒊

𝟐)
 

𝑪𝒐𝒏𝒔𝒊𝒅𝒆𝒓 ∶ ⁡𝚪⁡𝑼(−𝑹;𝑹)⁡𝒊𝒔⁡𝒕𝒉𝒆⁡𝒂𝒏𝒕𝒊 − 𝒄𝒍𝒐𝒄𝒌𝒘𝒊𝒔𝒆⁡𝒂𝒏𝒅⁡𝒔𝒆𝒎𝒊
− 𝒄𝒊𝒓𝒄𝒖𝒍𝒂𝒓⁡𝒄𝒐𝒏𝒕𝒐𝒖𝒓⁡𝒊𝒏⁡𝒕𝒉𝒆⁡𝒖𝒑𝒑𝒆𝒓⁡𝒉𝒂𝒍𝒇⁡𝒐𝒇⁡𝑪⁡𝒑𝒍𝒂𝒏𝒆 

∮𝒇(𝒛)
𝑪

𝒅𝒛 = ⁡∫𝒇(𝒛)
𝚪

𝒅𝒛 + ∫ 𝒇(𝒙)
𝑹

−𝑹

𝒅𝒙 

∮𝒇(𝒛)
𝑪

𝒅𝒛 = 𝟐𝝅𝒊∑𝑹𝒆𝒔(𝒇; 𝒑𝒐𝒍𝒆𝒔⁡𝒐𝒇⁡𝒇) = 𝟐𝝅𝒊 ∑
(𝒂𝒎𝒊)

𝟐𝒏

𝟐𝒂𝒎𝒊⁡⁡𝚷𝒕€[𝟏;𝒌]⁡\⁡𝒎(𝒂𝒕
𝟐 − 𝒂𝒎

𝟐 )

𝒌

𝒎=𝟏

= 

= 𝝅 ∑
(−𝟏)𝒏𝒂𝒎

𝟐𝒏−𝟏

𝚷𝒕€[𝟏;𝒌]⁡\⁡𝒎(𝒂𝒕
𝟐 − 𝒂𝒎

𝟐 )

𝒌

𝒎=𝟏
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𝒇(−𝒙) = 𝒇(𝒙) => ⁡∫ 𝒇(𝒙)
𝑹

−𝑹

𝒅𝒙 = 𝟐∫ 𝒇(𝒙)
𝑹

𝟎

𝒅𝒙 = 𝟐𝝃 

𝒛 = 𝑹𝒆𝒊𝜽, 𝒅𝒛 = 𝒊𝒛𝒅𝜽⁡, 𝜽[𝟎;𝝅] => ∫𝒇(𝒛)
𝚪

𝒅𝒛 =⁡∫
(𝑹𝒆𝒊𝜽)

𝟐𝒏

𝚷𝒊=𝟏
𝒌 (𝑹𝟐𝒆𝟐𝒊𝜽 + 𝒂𝒊

𝟐)

𝝅

𝟎

× 𝒊𝑹𝒆𝒊𝜽𝒅𝜽

= ∫
𝒊𝑹𝟐𝒏+𝟏𝒆𝟐𝒊𝒏𝜽+𝒊𝜽

𝚷𝒊=𝟏
𝒌 (𝑹𝟐𝒆𝟐𝒊𝜽 + 𝒂𝒊

𝟐)

𝝅

𝟎

𝒅𝜽 

|∫𝒇(𝒛)
𝚪

𝒅𝒛| ≤ ∫|𝒇(𝒛)|
𝚪

𝒅𝒛 = ∫
|𝒊||𝑹𝟐𝒏+𝟏||𝒆𝒊𝜽(𝟐𝒏+𝟏)|

𝚷𝒊=𝟏
𝒌 |𝑹𝟐𝒆𝟐𝒊𝜽 + 𝒂𝒊

𝟐|

𝝅

𝟎

𝒅𝜽 ≤ ∫
𝑹𝟐𝒏+𝟏

𝚷𝒊=𝟏
𝒌 (𝑹𝟐)

𝝅

𝟎

𝒅𝜽 =
𝑹𝟐𝒏+𝟏

𝑹𝟐𝒌
𝝅

= 𝟎 

𝟐𝝃 = 𝝅∑
(−𝟏)𝒏𝒂𝒎

𝟐𝒏−𝟏

𝚷𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕
𝟐 − 𝒂𝒎

𝟐 )

𝒌

𝒎=𝟏

 

𝝃 =
𝝅

𝟐
∑

(−𝟏)𝒏𝒂𝒎
𝟐𝒏−𝟏

𝚷𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕 − 𝒂𝒎)(𝒂𝒕 + 𝒂𝒎)

𝒌

𝒎=𝟏

≤
𝝅

𝟐
∑

(−𝟏)𝒏𝒂𝒎
𝟐𝒏−𝟏

𝚷𝒕€[𝟏;𝒌]\𝒎 (𝟐√𝒂𝒕𝒂𝒎(𝒂𝒕 − 𝒂𝒎))

𝒌

𝒎=𝟏

=
𝝅

𝟐
∑

(−𝟏)𝒏𝒂𝒎
𝟐𝒏−𝟏

𝟐𝒌−𝟏𝒂𝒎

𝒌−𝟏
𝟐 × √

𝚷𝒋=𝟏
𝒌 (𝒂𝒋)

𝒂𝒎
⁡𝚷𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕 − 𝒂𝒎)

𝒌

𝒎=𝟏

= 

=
𝝅

𝟐𝒌
∑

(−𝟏)𝒏𝒂𝒎
𝟐𝒏−𝟏

𝒂𝒎

𝒌
𝟐−𝟏⁡𝚷𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕− 𝒂𝒎)

𝒌

𝒎=𝟏

=
𝝅

𝟐𝒌
∑

(−𝟏)𝒏𝒂𝒎

𝟒𝒏−𝒌
𝟐

𝚷𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕 − 𝒂𝒎)

𝒌

𝒎=𝟏

 

∫
𝒙𝟐𝒏

(𝒙𝟐 + 𝒂𝟏
𝟐)(𝒙𝟐 + 𝒂𝟐

𝟐)(𝒙𝟐 + 𝒂𝟑
𝟐) …(𝒙𝟐 + 𝒂𝒌

𝟐)

∞

𝟎

𝒅𝒙 =
𝝅

𝟐
∑

(−𝟏)𝒏𝒂𝒎
𝟐𝒏−𝟏

𝜫𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕
𝟐 − 𝒂𝒎

𝟐 )

𝒌

𝒎=𝟏

 

∫
𝒙𝟐𝒏

(𝒙𝟐 + 𝒂𝟏
𝟐)(𝒙𝟐 + 𝒂𝟐

𝟐)(𝒙𝟐 + 𝒂𝟑
𝟐)… (𝒙𝟐 + 𝒂𝒌

𝟐)

∞

𝟎

𝒅𝒙 ≤
𝝅

𝟐𝒌
∑

(−𝟏)𝒏𝒂𝒎

𝟒𝒏−𝒌
𝟐

𝜫𝒕€[𝟏;𝒌]\𝒎(𝒂𝒕 − 𝒂𝒎)

𝒌

𝒎=𝟏

 

 

2472. 𝑳𝒆𝒕⁡𝒃𝒆⁡𝒇,𝒈: [𝟐; +∞) → 𝑹+: 𝒇𝟑(𝒙)) = 𝒙 + 𝟑𝒇(𝒙), 𝒇(𝟐) = 𝟐 

𝒂𝒏𝒅⁡⁡𝒈(𝒙 + 𝟏) + 𝟒𝒙 + 𝟑 = 𝒈(𝒙) + 𝟒𝒙𝟑 + 𝟔𝒙𝟐, 𝒈(𝟐) = 𝟐 

𝑭𝒊𝒏𝒅 ∶ ⁡𝜴 =
∫ 𝒈[𝒇(𝒙)]
𝟐𝟎𝟐𝟒

𝟐

∫ 𝒇[𝒈(𝒙)]
𝟐𝟎𝟐𝟒

𝟐

 

Proposed by Bui Hong Suc-Vietnam 
Solution by Mirsadix Muzefferov-Azerbaijan 
The solution of the functional equation: 

𝒈(𝒙 + 𝟏) + 𝟒𝒙 + 𝟑 = 𝒈(𝒙) + 𝟒𝒙𝟑 + 𝟔𝒙𝟐, 𝒈(𝟐) = 𝟐⁡ 
is the polynomial 
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𝒈(𝒙) = 𝒂𝒙𝟒 + 𝒃𝒙𝟑 + 𝒄𝒙𝟐 + 𝒅𝒙 + 𝒆 
Let’s find the coefficients a,b,c,d and e from here.Because of this  

𝒈(𝒙 + 𝟏) − 𝒈(𝒙) = 𝒂((𝒙 + 𝟏)𝟒 − 𝒙𝟒) + 𝒃((𝒙 + 𝟏)𝟑 − 𝒙𝟑) + 𝒄((𝒙 + 𝟏)𝟐 − 𝒙𝟐) + 
+𝒅((𝒙 + 𝟏) − 𝒙) = 𝟒𝒂𝒙𝟑 + (𝟔𝒂 + 𝟑𝒃⁡)𝒙𝟐 + (𝟒𝒂 + 𝟑𝒃 + 𝟐𝒄)𝒙 + (𝒂 + 𝒃 + 𝒄 + 𝒅) = 

= 𝟒𝒙𝟑 + 𝟔𝒙𝟐 − 𝟒𝒙 − 𝟑 
From here 

{

𝟒𝒂=𝟒
𝟔𝒂+𝟑𝒃=𝟔

𝟒𝒂+𝟑𝒃+𝟐𝒄=−𝟒
𝒂+𝒃+𝒄+𝒅=−𝟑

⇒ 𝒂 = 𝟏;𝒃 = 𝟎; 𝒄 = −𝟒;𝒅 = 𝟎 

We have 
𝒈(𝒙) = 𝒙𝟒 − 𝟒𝒙𝟐 + 𝒆⁡, 𝒈(𝟐) = 𝟐 ⇒ 𝒈(𝒙) = 𝒙𝟒 − 𝟒𝒙𝟐 + 𝟐 = (𝒙𝟐 − 𝟐)𝟐 − 𝟐 

𝒈(𝒙) = (𝒙𝟐 − 𝟐)𝟐 − 𝟐 
The solution of the functional equation 

𝒇𝟑(𝒙)) = 𝒙 + 𝟑𝒇(𝒙), 𝒇(𝟐) = 𝟐 
is 

𝒇(𝒙) = 𝟐 
So ,  

𝒈(𝒙) = (𝒙𝟐 − 𝟐)𝟐 − 𝟐⁡⁡, 𝒇(𝒙) = 𝟐 
Therefore 

𝒈(𝒇(𝒙)) = (𝒇𝟐(𝒙) − 𝟐)𝟐 − 𝟐 = (𝟒 − 𝟐)𝟐 − 𝟐 = 𝟐 
𝒇(𝒈(𝒙)) = 𝟐 

Then 

𝜴 =
∫ 𝒈[𝒇(𝒙)]
𝟐𝟎𝟐𝟒

𝟐

∫ 𝒇[𝒈(𝒙)]
𝟐𝟎𝟐𝟒

𝟐

= 𝟏 

 

2473. Find all values 𝜶 ∈ [−𝟐𝟎𝟐𝟒, 𝟐𝟎𝟐𝟒] such that: 

∫ (|𝟐𝟎𝟐𝟓𝒙| − 𝒙𝟐 +𝟐𝟎𝟐𝟔𝒙)⁡𝒅𝒙

𝟐𝟎𝟐𝟒

𝜶

≤ 𝜶𝟐 + 𝟐𝟎𝟐𝟓⁡(𝟏) 

Proposed by Nguyen Van Canh-Vietnam 
Solution by Khanh Hung Vu-Vietnam 
 
Put 𝒎 = 𝟐𝟎𝟐𝟒 for easy demonstration. We consider 2 cases: 
Case 1. −𝒎 ≤ 𝜶 < 0 
We have 𝜶 < 0 < 𝑚, so we have: 

∫(|(𝒎 + 𝟏)𝒙| − 𝒙𝟐 + (𝒎 + 𝟐)𝒙)⁡𝒅𝒙

𝒎

𝜶

= ∫ ((𝟐𝒎 + 𝟑)𝒙 − 𝒙𝟐) ⁡𝒅𝒙

𝒎

𝟎

+ ∫(𝒙 − 𝒙𝟐)⁡𝒅𝒙

𝟎

𝜶

 

→ ∫(|(𝒎 + 𝟏)𝒙| − 𝒙𝟐 + (𝒎 + 𝟐)𝒙)⁡𝒅𝒙

𝒎

𝜶

=
𝒎𝟐

𝟔
(𝟒𝒎 + 𝟗) +

𝟏

𝟔
𝜶𝟐(𝟐𝜶 − 𝟑) 
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So we can rewrite the inequality (1) as: 
𝒎𝟐

𝟔
(𝟒𝒎 + 𝟗) +

𝟏

𝟔
𝜶𝟐(𝟐𝜶 − 𝟑) ≤ 𝜶𝟐 +𝒎 + 𝟏 

→
𝜶𝟑

𝟑
−
𝟑𝜶𝟐

𝟐
+
𝟐𝒎𝟑

𝟑
+
𝟑𝒎𝟐

𝟐
−𝒎− 𝟏 ≥ 𝟎 

Consider the function⁡𝒇(𝜶) =
𝜶𝟑

𝟑
−
𝟑𝜶𝟐

𝟐
+
𝟐𝒎𝟑

𝟑
+
𝟑𝒎𝟐

𝟐
−𝒎− 𝟏⁡in range [−𝒎,𝟎) 

We have 𝒇′(𝜶) = 𝜶𝟐 − 𝟑𝜶 = 𝜶(𝜶 − 𝟑) > 0.So the function 𝒇(𝜶) is a increasing function 

in range [−𝒎,𝟎) → 𝒇(𝜶) ≥ 𝒇(−𝒎) → 𝒇(𝜶) ≥
𝒎𝟑

𝟑
− 𝒎− 𝟏 > 0.So for all −𝒎 ≤ 𝜶 < 0, 

the inequality (𝟏) is satisfied. 
Case 2. 𝟎 ≤ 𝜶 ≤ 𝒎 
We have 𝟎 ≤ 𝜶 ≤ 𝒎, so we have: 

∫(|(𝒎 + 𝟏)𝒙| − 𝒙𝟐 + (𝒎+ 𝟐)𝒙)⁡𝒅𝒙

𝒎

𝜶

= ∫(𝒙 − 𝒙𝟐)⁡𝒅𝒙

𝒎

𝜶

=
𝜶𝟑

𝟑
−
𝜶𝟐

𝟐
+
𝒎𝟐

𝟐
−
𝒎𝟑

𝟑
 

So we can rewrite the inequality (1) as: 
𝜶𝟑

𝟑
−
𝜶𝟐

𝟐
+
𝒎𝟐

𝟐
−
𝒎𝟑

𝟑
≤ 𝜶𝟐 + 𝒎+ 𝟏 

→
𝜶𝟑

𝟑
−
𝟑𝜶𝟐

𝟐
−
𝒎𝟑

𝟑
+
𝒎𝟐

𝟐
−𝒎− 𝟏 ≤ 𝟎 

Consider the function⁡𝒈(𝜶) =
𝜶𝟑

𝟑
−
𝟑𝜶𝟐

𝟐
−
𝒎𝟑

𝟑
+
𝒎𝟐

𝟐
−𝒎− 𝟏⁡in range [𝟎,𝒎] 

We have 𝒈′(𝜶) = 𝜶𝟐 − 𝟑𝜶 = 𝜶(𝜶 − 𝟑). So 𝒈′(𝜶) = 𝟎 → 𝜶 = 𝟑 
We have: 

{
 
 

 
 𝒈(𝟎) = −

𝒎𝟑

𝟑
+
𝒎𝟐

𝟐
−𝒎− 𝟏 < 0

𝒈(𝟑) = −
𝒎𝟑

𝟑
+
𝒎𝟐

𝟐
− 𝒎 < 0

𝒈(𝒎) = −𝒎𝟐 − 𝒎− 𝟏 < 0

 

→ 𝒈(𝜶) ≤ 𝟎⁡∀⁡𝜶 ∈ [𝟎,𝒎]. So for all 𝟎 ≤ 𝜶 ≤ 𝒎, the inequality (𝟏) is satisfied. 
In conclusion, all real numbers 𝜶 ∈ [−𝟐𝟎𝟐𝟒,𝟐𝟎𝟐𝟒] satisfy the inequality (𝟏). 

 
2474. Prove that: 

𝛀 = ∫ ∫
𝒙𝒍𝒏𝟐(𝒙)𝐥𝐧⁡(𝒚 + 𝟏)

(𝒙 + 𝟏)𝟐(𝟏 + 𝒚𝟐)𝟐
𝒅𝒙𝒅𝒚 =

𝟏

𝟎

∞

𝟎

−
𝟏

𝟒𝟖
(𝝅𝟐 − 𝟗𝜻(𝟑))(𝟒𝑮 + 𝝅(𝐥𝐧(𝟐)

− 𝟏) 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Exodo Halcalias-Angola 

∫ ∫
𝒙𝒍𝒏𝟐(𝒙)𝐥𝐧⁡(𝒚 + 𝟏)

(𝒙 + 𝟏)𝟐(𝟏 + 𝒚𝟐)𝟐
𝒅𝒙𝒅𝒚 = ∫

𝒙𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙∫

𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 =

∞

𝟎

𝟏

𝟎

𝟏

𝟎

∞

𝟎
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(∫
𝒍𝒏𝟐(𝒙)

𝒙 + 𝟏
𝒅𝒙 − ∫

𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙)∫

𝐥𝐧(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐

∞

𝟎

𝟏

𝟎

𝒅𝒚 =
𝟏

𝟎

 

(∑(−𝟏)𝒌−𝟏

𝒌∈𝑵

∫ 𝒙𝒌−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 +∑(−𝟏)𝒏𝒏∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙)
𝟏

𝟎𝒏∈𝑵

𝟏

𝟎

 

.⁡⁡(∫ +∫ )
𝐥𝐧(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚

𝟏

𝟎

∞

𝟏

= 𝟐(∑
(−𝟏)𝒌−𝟏

𝒌𝟑
−∑

(−𝟏)𝒏−𝟏

𝒏𝟐
)(∫

𝐥𝐧(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 +

∞

𝟏
𝒌∈𝑵𝒌∈𝑵

 

∫
𝐥𝐧(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚) = 𝟐(𝜼(𝟑) − 𝜼(𝟐))(∫

𝐥𝐧 (
𝟏
𝒚
+ 𝟏)

(
𝟏
𝒚𝟐
+ 𝟏)𝟐𝒚𝟐

𝒅𝒚 +∫
𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚) ⁡=

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟐((𝟏 − 𝟐𝟏−𝟑)𝜻(𝟑) − (𝟏 − 𝟐𝟏−𝟐)𝜻(𝟐)) (∫
𝒚𝟐 𝐥𝐧(𝒚 + 𝟏) − 𝐥𝐧(𝒚)

(𝒚𝟐 + 𝟏)
𝒅𝒚 + ∫

𝐥𝐧(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚)⁡

𝟏

𝟎

𝟏

𝟎

= 

(
𝟑𝜻(𝟑)

𝟐
− 𝜻(𝟐)) (∫

𝐥𝐧⁡(𝒚 + 𝟏)

𝟏 + 𝒚𝟐
𝒅𝒚

𝟏

𝟎

−∫
𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 − ∫

𝒚𝟐𝐥𝐧⁡(𝒚)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 + ∫

𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚) =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

(
𝟑𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟔
)⁡(∫

𝐥𝐧⁡(𝒚 + 𝟏)

𝟏 + 𝒚𝟐
𝒅𝒚 − ∫

𝒚𝟐𝐥𝐧⁡(𝒚)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚) =⁡

𝟏

𝟎

𝟏

𝟎

(
𝟑𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟔
) (∫

𝐥𝐧 (
𝟐

𝒚 + 𝟏
)

𝒚𝟐 + 𝟏
𝒅𝒚

𝟏

𝟎

− 

−
𝟏

𝟐
(−

𝒚𝒍𝒏(𝒚)

𝒚𝟐 + 𝟏
+ 𝐥𝐧(𝒚) 𝒕𝒂𝒏−𝟏(𝒚))

𝟏
𝟎

+
𝟏

𝟐
∫ (−

𝟏

𝟏 + 𝒚𝟐
+
𝒕𝒂𝒏−𝟏(𝒚)

𝒚
)𝒅𝒚) = (

𝟑𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟔
)

𝟏

𝟎

 

(
𝐥𝐧(𝟐)

𝟐
∫

𝒅𝒚

𝒚𝟐 + 𝟏
−
𝟏

𝟐
∫

𝒅𝒚

𝒚𝟐 + 𝟏
+
𝟏

𝟐
∫
𝒕𝒂𝒏−𝟏(𝒚)

𝒚
𝒅𝒚) = (

𝟑𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟔
)⁡

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

(
𝐥𝐧(𝟐)

𝟐
.
𝝅

𝟒
−
𝟏

𝟐
.
𝝅

𝟒
+⁡ 

+
𝑻𝒊𝟐(𝟏)

𝟐
) = (

𝟑𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟔
)(𝝅

𝐥𝐧(𝟐)

𝟖
− ⁡
⁡𝝅

𝟖
+
𝑮

𝟐
) 

∫ ∫
𝒙𝒍𝒏𝟐(𝒙)𝐥𝐧⁡(𝒚 + 𝟏)

(𝒙 + 𝟏)𝟐(𝟏 + 𝒚𝟐)𝟐
𝒅𝒙𝒅𝒚 =

𝟏

𝟎

∞

𝟎

−
𝟏

𝟒𝟖
(𝝅𝟐 − 𝟗𝜻(𝟑))(𝟒𝑮 + 𝝅(𝐥𝐧(𝟐) − 𝟏) 

 
Solution 2 by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫ ∫
𝒙𝒍𝒏𝟐(𝒙)𝐥𝐧⁡(𝒚 + 𝟏)

(𝒙 + 𝟏)𝟐(𝟏 + 𝒚𝟐)𝟐
𝒅𝒙𝒅𝒚 = ∫

𝒙𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙∫

𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 =

∞

𝟎

𝟏

𝟎

𝑨⁡⁡.⁡⁡𝑩
𝟏

𝟎

∞

𝟎

 

𝒘𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡𝑨 ∶ 
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𝑨 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 = −∑(−𝟏)𝒏𝒏∫ 𝒙𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 = −∑(−𝟏)𝒏𝒏

𝒅𝟐

𝒅𝒏𝟐
(∫ 𝒙𝒏𝒅𝒙) =

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

−∑(−𝟏)𝒏𝒏⁡ (
𝟐

(𝟏 + 𝒏)𝟑
)

∞

𝒏=𝟏

= −𝟐∑(−𝟏)𝒏 (
𝒏

(𝟏 + 𝒏)𝟑
)

∞

𝒏=𝟏

= −𝟐∑(−𝟏)𝒏 (
𝟏

(𝟏 + 𝒏)𝟐
−

𝟏

(𝟏 + 𝒏)𝟑
) =

∞

𝒏=𝟏

 

−𝟐∑
(−𝟏)𝒏

(𝟏 + 𝒏)𝟐
+ 𝟐∑

(−𝟏)𝒏

(𝟏 + 𝒏)𝟑
= −𝟐(

𝝅𝟐

𝟏𝟐
− 𝟏) + 𝟐(

𝟑

𝟒
𝜻(𝟑) − 𝟏) = −

∞

𝒏=𝟏

∞

𝒏=𝟏

𝝅𝟐

𝟔
+ 𝟐 +

𝟑

𝟐
𝜻(𝟑)

− 𝟐 = 

=
𝟑

𝟐
𝜻(𝟑) −

𝝅𝟐

𝟔
=
𝟏

𝟔
(𝟗𝜻(𝟑) − 𝝅𝟐) 

𝑨 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟔
(𝟗𝜻(𝟑) − 𝝅𝟐) 

𝒘𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡⁡𝑩 ∶ 

𝑩 = ∫
𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚

∞

𝟎

⁡⁡⁡⁡⁡𝑹𝒆𝒄𝒂𝒍𝒍⁡⁡𝒕𝒉𝒂𝒕 ∶ 𝐥𝐧(𝒚 + 𝟏) = ∫
𝒚

𝟏 + 𝒙𝒚
𝒅𝒚

𝟏

𝟎

 

∫ ∫
𝒚

(𝟏 + 𝒙𝒚)(𝟏 + 𝒚𝟐)𝟐
𝒅𝒙𝒅𝒚 = ∫ ∫

𝒙𝟐𝒚

(𝟏 + 𝒙𝟐)𝟐(𝒚𝟐 + 𝟏)

𝟏

𝟎

∞

𝟎

∞

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 − 

−∫ ∫
𝒙

(𝟏 + 𝒙𝟐)𝟐(𝒚𝟐 + 𝟏)

𝟏

𝟎

∞

𝟎

𝒅𝒙𝒅𝒚 + ∫ ∫
𝒙

(𝟏 + 𝒚𝟐)𝟐(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 +

𝟏

𝟎

∞

𝟎

 

+∫ ∫
𝒚

(𝟏 + 𝒚𝟐)𝟐(𝒙𝟐 + 𝟏)
𝒅𝒙𝒅𝒚 −

𝟏

𝟎

∞

𝟎

⁡∫ ∫
𝒙𝟑

(𝟏 + 𝒙𝟐)𝟐(𝒙𝒚 + 𝟏)

𝟏

𝟎

∞

𝟎

𝒅𝒙𝒅𝒚 

𝑩 = ∫
𝒙𝟐

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙∫

𝒚

𝒚𝟐 + 𝟏
𝒅𝒚 − ∫

𝒅𝒚

𝒚𝟐 + 𝟏
∫

𝒙

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 +

𝟏

𝟎

∞

𝟎

𝟏

𝟎

∞

𝟎

 

+∫
𝒅𝒚

(𝟏 + 𝒚𝟐)𝟐

∞

𝟎

∫
𝒙

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

+∫
𝒅𝒙

𝟏 + 𝒙𝟐

∞

𝟎

∫
𝒚

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 −∫ ∫

𝒙𝟑

(𝟏 + 𝒙𝟐)𝟐(𝒙𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟎

𝟏

𝟎

 

𝑩 = [
𝟏

𝟐
𝒕𝒂𝒏−𝟏(𝒙) −

𝒙

𝟐(𝒙𝟐 + 𝟏)
]
∞

𝟎
.
𝟏

𝟐
𝐥𝐧(𝒚𝟐 + 𝟏)

𝟏

𝟎
− 𝒕𝒂𝒏−𝟏(𝒚)

∞

𝟎
.
(−𝟏)

𝟐(𝒙𝟐 + 𝟏)

𝟏

𝟎
+ 

+
𝟏

𝟐
[

𝒚

𝒚𝟐 + 𝟏
+ 𝒕𝒂𝒏−𝟏(𝒚)]

∞

𝟎
−
𝟏

𝟐
𝐥𝐧(𝒙𝟐 + 𝟏)

𝟏

𝟎
+ 𝒕𝒂𝒏−𝟏(𝒙)

∞

𝟎
.
(−𝟏)

𝟐(𝒚𝟐 + 𝟏)

𝟏

𝟎
− 

−∫ ∫
𝒙𝟑

(𝟏 + 𝒙𝟐)𝟐(𝒙𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

∞

𝟎

 

𝑩 =
𝝅

𝟒
(
𝐥𝐧(𝟐)

𝟐
) −

𝝅

𝟐
.
𝟏

𝟒
⁡+⁡

𝝅

𝟒
(
𝐥𝐧(𝟐)

𝟐
) + ⁡

𝝅

𝟐
.
𝟏

𝟒
−
𝝅

𝟐
.
𝟏

𝟒
+⁡
𝑮

𝟐
−
𝝅

𝟒
(
𝐥𝐧(𝟐)

𝟐
) 
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𝑩 =
𝝅

𝟖
𝐥𝐧(𝟐) −

𝝅

𝟖
+
𝑮

𝟐
=
𝟏

𝟖
(𝟒𝑮 + 𝝅(𝐥𝐧(𝟐) − 𝟏) 

𝑩 = ∫
𝐥𝐧⁡(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚

∞

𝟎

=
𝟏

𝟖
(𝟒𝑮 + 𝝅(𝐥𝐧(𝟐) − 𝟏) 

𝑰 = 𝑨⁡. 𝑩 = ∫
𝒙𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙∫

𝐥𝐧(𝒚 + 𝟏)

(𝟏 + 𝒚𝟐)𝟐
𝒅𝒚 =

∞

𝟎

𝟏

𝟎

(
𝟏

𝟔
(𝟗𝜻(𝟑) − 𝝅𝟐)) . (⁡

𝟏

𝟖
(𝟒𝑮

+ 𝝅(𝐥𝐧(𝟐) − 𝟏)⁡) 

= −
𝟏

𝟒𝟖
(𝝅𝟐 − 𝟗𝜻(𝟑))(𝟒𝑮 + 𝝅(𝐥𝐧(𝟐) − 𝟏) 

𝑵𝒐𝒕𝒆 ∶ 𝑮 − 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕⁡⁡, 𝜻(𝟑) − 𝑨𝒑𝒆𝒓𝒚′𝒔⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
 

2475. Prove that: 

𝝍 = ∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
(𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟏𝟔
) + 𝟏) 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 

∴ 𝑺𝒊(𝒛) = ∫
𝐬𝐢𝐧 𝒕

𝒕

𝟏

𝟎

𝒅𝒕; 𝑪𝒊(𝒛) = −∫
𝐜𝐨𝐬 𝒕

𝒕

∞

𝒛

𝒅𝒕 = 𝜸 + 𝐥𝐧(𝒛) + ∫
𝐜𝐨𝐬 𝒕 − 𝟏

𝒕

𝒛

𝟎

𝒅𝒕 

𝝍 = ∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

= 𝟐∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙 −
𝟏

𝟎

 

−∫ 𝒙 𝐥𝐧(𝒙𝟐 + 𝟏)𝒅𝒙 − 𝟐𝑨 − 𝑩
𝟏

𝟎

 

∴ 𝑨 = ∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙 =⏞
𝟏−𝒙→𝟏

∫ (𝟏 − 𝒙) 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 =
𝟏

𝟎

𝟏

𝟎

 

= ∫ 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 − ∫ 𝐱𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙 =⏞
𝒙=𝐬𝐢𝐧 𝒕

∫ 𝐥𝐧(𝒕)𝒅(𝐬𝐢𝐧 𝒕)
𝟏

𝟎⏟          
𝑰𝑩𝑷

𝟏

𝟎

𝟏

𝟎

− 

−∫ 𝐜𝐨𝐬(𝒕) 𝐬𝐢𝐧(𝒕)

𝝅
𝟐

𝟎

𝒍𝒏(𝒕)𝒅𝒕 = 𝒔𝒊𝒏(𝒕)𝒍𝒏(𝒕) |

𝝅
𝟐
𝟎
− ∫

𝐬𝐢𝐧 𝒕

𝒕

𝝅
𝟐

𝟎

𝒅𝒕 −
𝟏

𝟐
∫ 𝐬𝐢𝐧(𝟐𝒕)𝒍𝒏(𝒕)𝒅𝒕

𝝅
𝟐

𝟎⏟            
𝟐𝒕→𝒕

= 

= 𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) +

𝟏

𝟒
∫ 𝐥𝐧 (

𝒕

𝟐
)𝒅(𝐜𝐨𝐬(𝒕))

𝝅

𝟎

= 𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊(

𝝅

𝟐
) + 

+
𝟏

𝟒

{
 
 

 
 

∫ 𝐥𝐧(𝒕)𝒅(𝐜𝐨𝐬(𝒕) − 𝟏)

𝝅

𝟎⏟              
𝑰𝑩𝑷

− 𝒍𝒏(𝟐)∫𝒅(𝐜𝐨𝐬(𝒕))

𝝅

𝟎⏟        
=−𝟐 }

 
 

 
 

= 𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) + 
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+
𝟏

𝟒
{𝒄𝒐𝒔(𝒕) − 𝟏)𝒍𝒏(𝒕) |

𝝅

𝟎
− ∫

𝐜𝐨𝐬 𝒕 − 𝟏

𝒕

𝒛

𝟎

𝒅𝒕 + 𝟐 𝐥𝐧(𝟐)}= 𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊(

𝝅

𝟐
) +

𝟏

𝟒
(−𝟐𝒍𝒏(𝝅)

− 𝑪𝒊(𝝅) + 𝜸 + 𝐥𝐧(𝝅) + 𝟐 𝐥𝐧(𝟐)) =
𝟏

𝟒
{𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟒
)} 

∴ 𝑩 = ∫𝒙 𝐥𝐧(𝒙𝟐 + 𝟏)𝒅𝒙 =⏞
𝑰𝑩𝑷

𝟏

𝟎

(𝒙𝟐 + 𝟏) 𝐥𝐧(𝒙𝟐 + 𝟏)

𝟐
|
𝟏

𝟎
− ∫

(𝒙𝟐 + 𝟏)𝒙

(𝒙𝟐 + 𝟏)

𝟏

𝟎

𝒅𝒙

= 𝐥𝐧(𝟐) −∫𝒙𝒅𝒙 = 𝐥𝐧(𝟐)

𝟏

𝟎

−
𝟏

𝟐
 

𝑻𝒉𝒆𝒓𝒆𝒇𝒐𝒓𝒆:𝝍 = 𝟐𝑨 − 𝑩 = 𝟐 {
𝟏

𝟒
{𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟒
)}} − (𝐥𝐧(𝟐) −

𝟏

𝟐
) = 

=
𝟏

𝟐
(𝟏 + 𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟏𝟔
)) 

Solution 2 by Ankush Kumar Parcha-India 

𝑾𝒆⁡𝒉𝒂𝒗𝒆, ∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

𝒅𝒙

= 𝟐∫ 𝒙𝒍𝒏𝒔𝒊𝒏−𝟏(𝟏 − 𝒙)𝒅𝒙
𝟏

𝟎⏟              
𝒙→𝟏−𝒙

−∫ 𝒙𝒍𝒏(𝟏 + 𝒙𝟐)𝒅𝒙
𝟏

𝟎⏟            
𝒙𝟐→𝒙

 

= 𝟐∫ (𝟏 − 𝒙)𝒍𝒏𝒔𝒊𝒏−𝟏𝒅𝒙
𝟏

𝟎⏟              
𝒙→𝐬𝐢𝐧⁡(𝒙)

−
𝟏

𝟐
∫ 𝒍𝒏(𝟏 + 𝒙)𝒅𝒙
𝟏

𝟎⏟          
𝑰.𝑩.𝑷

=⏞
𝐬𝐢𝐧(𝟐𝒙)=𝟐𝐬𝐢𝐧(𝒙) 𝐜𝐨𝐬(𝒙)

𝟐∫ 𝒍𝒏(𝒙) 𝐜𝐨𝐬(𝒙)𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑰.𝑩.𝑷

− 

∫ 𝒍𝒏(𝒙) 𝐬𝐢𝐧(𝟐𝒙) 𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑰.𝑩.𝑷

− (
𝐥𝐧⁡(𝟏 + 𝒙)

𝟐
∫𝒅𝒙)

𝟏

𝟎
+
𝟏

𝟐
∫
𝒙 + 𝟏 − 𝟏

𝒙 + 𝟏
𝒅𝒙 = (𝟐𝐥𝐧⁡(𝒙) ∫𝒅𝒔𝒊𝒏(𝒙))

𝝅
𝟐
𝟎
−

𝟏

𝟎

⁡ 

−𝟐∫ 𝒅𝑺𝒊(𝒙) + (
𝐥𝐧⁡(𝒙)

𝟐
∫𝒅𝒄𝒐𝒔(𝟐𝒙))

𝝅
𝟐
𝟎
−∫

𝒅𝑪𝒊(𝒙)

𝟐
−
𝐥𝐧(𝟐)

𝟐
+ ∫

𝒅𝒙

𝟐
−
𝟏

𝟐
∫

𝒅𝒙

𝟏 + 𝒙

𝟏

𝟎

𝟏

𝟎

𝝅
𝟐

𝟎

𝝅
𝟐

𝟎

 

(∫
𝟏 − 𝐜𝐨𝐬⁡(𝒕)

𝒕
𝒅𝒕 = ᵧ + 𝐥𝐧(𝒙) − 𝑪𝒊(𝒙),⁡⁡⁡|𝑨𝒓𝒈(𝒙)| < 𝜋)⁡

𝒙

𝟎

 

= 𝟐 𝐥𝐧 (
𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝐥𝐧(

𝝅

𝟐
) − 𝐥𝐢𝐦

𝒙→𝟎

𝐥𝐧⁡(𝒙)

𝟐
−
𝑪𝒊(𝝅)

𝟐
+
ᵧ

𝟐
+ 𝐥𝐢𝐦
𝒙→𝟎

𝐥𝐧⁡(𝟐𝒙)

𝟐
−
𝐥𝐧(𝟐)

𝟐
+
𝟏

𝟐
− 

∫
𝒅𝒍𝒏(𝟏 + 𝒙)

𝟐
=
ᵧ

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+
𝟑

𝟐

𝟏

𝟎

𝐥𝐧 (
𝝅

𝟐
) +

𝐥𝐧⁡(𝟐)

𝟐
− 𝐥𝐧(𝟐) +

𝟏

𝟐
= 

ᵧ

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+ 𝐥𝐧 (

𝝅√𝝅

𝟐
) − 𝐥𝐧 (

𝟐

√𝒆
) 
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, ∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

𝒅𝒙 =
ᵧ

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
+ 𝐥𝐧 (

𝝅

𝟒
√𝝅𝒆) 

∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

= 𝝍 

𝝍 =
𝟏

𝟐
(𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟏𝟔
) + 𝟏) 

Solution 3 by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)

𝟏

𝟎

𝒅𝒙⁡⁡⁡⁡𝑹𝒆𝒄𝒂𝒍𝒍⁡𝑻𝒉𝒂𝒕 ∶ ⁡ 𝐥𝐧 (
𝑨

𝑩
) = 𝒍𝒏(𝑨) − 𝒍𝒏(𝑩) 

𝑰 = ∫ 𝒙 𝐥𝐧 (𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙))⏟              
𝑨

𝟏

𝟎

𝒅𝒙 − ∫ 𝒙 𝐥𝐧(𝟏 + 𝒙𝟐)⏟        
𝑩

𝟏

𝟎

𝒅𝒙 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡⁡𝑨 ∶ 

𝑨 = ∫ 𝒙 𝐥𝐧 (𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)) 𝒅𝒙
𝟏

𝟎

= 𝟐∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙
𝟏

𝟎

⁡⁡𝒍𝒆𝒕 ∶ ⁡𝟏 − 𝒙 = 𝒙 

𝑨 = 𝟐∫ (𝟏 − 𝒙) 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝟏 − 𝒙))𝒅𝒙 =
𝟏

𝟎

𝟐∫ 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙
𝟏

𝟎

− 𝟐∫ 𝒙 𝐥𝐧(𝒂𝒓𝒄𝒔𝒊𝒏(𝒙))𝒅𝒙
𝟏

𝟎

 

𝑽𝒆𝒓𝒚⁡⁡𝒊𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏⁡⁡𝒃𝒚⁡⁡𝒑𝒂𝒓𝒕𝒔 ∶ 

𝑨 = 𝟐[𝒙𝒍𝒏(𝐬𝐢𝐧−𝟏 𝒙)) − 𝑺𝒊(𝐬𝐢𝐧−𝟏(𝒙))]
𝟏

𝟎
− 𝟐[𝒙(𝒙 𝐥𝐧(𝐬𝐢𝐧−𝟏(𝒙)) − 𝑺𝒊(𝐬𝐢𝐧−𝟏(𝒙))]

𝟏

𝟎
− 

−∫ 𝒙𝟐 𝐥𝐧(𝐬𝐢𝐧−𝟏(𝒙))𝒅𝒙 + ∫ 𝒙⁡𝑺𝒊 (𝐬𝐢𝐧−𝟏(𝒙))𝒅𝒙
𝟏

𝟎

𝟏

𝟎

 

𝑨 = 𝟐 [𝐥𝐧 (
𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
)] − 𝟐 [𝒍𝒏 (

𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
) −

𝜸

𝟒
+
𝟏

𝟒
𝒍𝒏 (

𝝅

𝟒
) +

𝑪𝒊(𝝅)

𝟒

+ 𝐬𝐢𝐧 (
𝝅

𝟐
) − 𝐥𝐧 (

𝝅

𝟐
)] 

𝑨 = 𝟐 𝐥𝐧 (
𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) +

𝜸

𝟐
−
𝟏

𝟐
𝐥𝐧 (

𝝅

𝟒
) −

𝑪𝒊(𝝅)

𝟐
 

𝑨 = 𝟐 𝐥𝐧 (
𝝅

𝟐
) −

𝟏

𝟐
𝒍𝒏 (

𝝅

𝟒
) +

𝜸

𝟐
− 𝟐𝐒𝐢 (

𝝅

𝟐
) −

𝑪𝒊(𝝅)

𝟐
 

 𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡⁡𝑩 ∶ 

𝑩 = ∫ 𝒙 𝐥𝐧(𝟏 + 𝒙𝟐) 𝒅𝒙 = −∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

𝟏

𝟎

∫ 𝒙𝟐𝒏+𝟏𝒅𝒙
𝟏

𝟎

= −
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

+
𝟏

𝟐
∑

(−𝟏)𝒏

𝒏 + 𝟏

∞

𝒏=𝟏

 

𝑩 = −
𝟏

𝟐
[− 𝐥𝐧(𝟐)] +

𝟏

𝟐
[𝐥𝐧(𝟐) − 𝟏] =

𝒍𝒏(𝟐)

𝟐
+
𝒍𝒏(𝟐)

𝟐
−
𝟏

𝟐
= 𝒍𝒏(𝟐) −

𝟏

𝟐
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𝑻𝒉𝒊𝒔⁡⁡, 𝑰 = 𝑨 − 𝑩 

𝑰 = 𝟐𝒍𝒏 (
𝝅

𝟐
) −

𝟏

𝟐
𝒍𝒏 (

𝝅

𝟒
) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) − [𝐥𝐧(𝟐) −

𝟏

𝟐
] 

𝑰 = 𝟐𝒍𝒏 (
𝝅

𝟐
) −

𝟏

𝟐
𝒍𝒏 (

𝝅

𝟒
) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) − 𝐥𝐧(𝟐) +

𝟏

𝟐
 

𝑹𝒆𝒄𝒂𝒍𝒍⁡⁡𝒕𝒉𝒂𝒕:⁡⁡⁡ 𝐥𝐧 𝑨𝑩 = 𝑩 𝐥𝐧𝑨 
𝐥𝐧(𝑨) + 𝐥𝐧(𝑩) = 𝒍𝒏(𝑨𝑩) 

𝒍𝒏(𝑨) − 𝒍𝒏(𝑩) = 𝒍𝒏 (
𝑨

𝑩
) 

𝑰 = 𝒍𝒏 (
𝝅𝟐

𝟒
) − 𝒍𝒏(

√𝝅

𝟐
) − 𝐥𝐧(𝟐) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) +

𝟏

𝟐
 

𝑰 = 𝒍𝒏 (
𝝅𝟑/𝟐

𝟒
) +

𝜸

𝟐
− 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
𝑪𝒊(𝝅) +

𝟏

𝟐
 

𝑰 = ∫ 𝒙 𝐥𝐧 (
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
[𝒍𝒏 (

𝝅𝟑

𝟏𝟔
) + 𝜸 − 𝟒𝑺𝒊 (

𝝅

𝟐
) − 𝑪𝒊(𝝅) + 𝟏] 

Solution 4 by Exodo Halcalias-Angola 
 

∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

= ∫ 𝒙𝒍𝒏𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)𝒅𝒙
𝟏

𝟎⏟                
𝐚𝐫𝐜𝐬𝐢𝐧(𝟏−𝒙)→𝒙

− ∫ 𝒙𝒍𝒏(𝒙𝟐 + 𝟏)𝒅𝒙
𝟏

𝟎⏟            
𝒙𝟐+𝟏→𝒚

= 

∫ (𝟏 − 𝐬𝐢𝐧(𝒙))𝒅𝒙𝒄𝒐𝒔(𝒙)𝐥𝐧⁡(𝒙𝟐)𝒅𝒙 −
𝟏

𝟐
∫ 𝐥𝐧(𝒙)𝒅𝒙 = 𝟐∫ 𝐜𝐨𝐬(𝒙) 𝐥𝐧(𝒙) 𝒅𝒙

𝝅
𝟐

𝟎⏟            
𝑰.𝑩.𝑷

−
𝟐

𝟏

𝝅
𝟐

𝟎

 

𝟐∫ 𝐬𝐢𝐧(𝒙) 𝐜𝐨𝐬(𝒙) 𝐥𝐧(𝒙)𝒅𝒙 −
𝟏

𝟐
(𝒚𝒍𝒏(𝒚) − 𝒚)

𝟐

𝟏

𝝅
𝟐

𝟎

= 𝟐((𝐥𝐧(𝒙) 𝐬𝐢𝐧(𝒙))

𝝅
𝟐
𝟎
− ∫

𝐬𝐢𝐧⁡(𝒙)

𝒙
𝒅𝒙) −

𝝅
𝟐

𝟎

 

∫ 𝐥𝐧(𝒙) 𝐬𝐢𝐧(𝟐𝒙)𝒅𝒙⁡[𝟐𝒙 → 𝒕] −
𝟏

𝟐
(𝟐 𝐥𝐧(𝟐) − 𝟐 + 𝟏) = 𝟐(𝐥𝐧 (

𝝅

𝟐
) − 𝒔𝒊𝒏

𝝅
𝟐

𝟎

(
𝝅

𝟐
) − 𝑺𝒊(

𝝅

𝟐
)) − 

𝟏

𝟐
∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧 (

𝒕

𝟐
) − 𝐥𝐧(𝟐) +

𝟏

𝟐
= 𝟐((𝐥𝐧 (

𝝅

𝟐
) − 𝑺𝒊 (

𝝅

𝟐
)) −

𝟏

𝟐
∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧(𝒕) 𝒅𝒕
𝝅

𝟎⏟            
+

𝑰.𝑩.𝑷

𝝅

𝟎

 

𝟏

𝟐
∫ 𝐬𝐢𝐧(𝒕) 𝐥𝐧(𝟐)𝒅𝒕 + 𝐥𝐧 (

𝟏

𝟐
) +

𝟏

𝟐

𝝅

𝟎

= 𝟐 𝐥𝐧 (
𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
(− 𝐥𝐧(𝒕) 𝐜𝐨𝐬(𝒕)

𝝅

𝟎
+ ∫

𝒄𝒐𝒔𝒕

𝒕
𝒅𝒕)⁡

𝝅

𝟎

 



 
www.ssmrmh.ro 

103 RMM-CALCULUS MARATHON 2401-2500 

 

−
𝐥𝐧(𝟐)

𝟐
∫ 𝒅𝒄𝒐𝒔𝒕 + 𝐥𝐧 (

𝟏

𝟐
) +

𝟏

𝟐
= 𝟐𝐥𝐧⁡(

𝝅

𝟎

𝝅

𝟐
) − 𝟐𝑺𝒊(

𝝅

𝟐
) −

𝟏

𝟐
(𝐥𝐧(𝝅)

+ ∫
𝒅𝒕

𝒕
+ ∫

𝒄𝒐𝒔𝒕 − 𝟏

𝒕
𝒅𝒕) −⁡

𝝅

𝟎

𝝅

𝟎

 

𝐥𝐧(𝟐)

𝟐
(−𝟐) + 𝐥𝐧 (

𝟏

𝟐
) +

𝟏

𝟐

= 𝟐 𝐥𝐧 (
𝝅

𝟐
) − 𝟐𝑺𝒊 (

𝝅

𝟐
) −

𝟏

𝟐
(𝐥𝐧(𝝅) + 𝐥𝐧(𝝅) + ∫

𝒄𝒐𝒔𝒕 − 𝟏

𝒕
𝒅𝒕) +

𝟏

𝟐
=

𝝅

𝟎

 

𝟏

𝟐
(𝟒 𝐥𝐧 (

𝝅

𝟐
) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝟏) −

𝟏

𝟐
(𝐥𝐧(𝝅) + 𝑪𝒊(𝝅) − ᵧ)⁡ 

∫ 𝒙 𝐥𝐧(
𝒂𝒓𝒄𝒔𝒊𝒏𝟐(𝟏 − 𝒙)

𝒙𝟐 + 𝟏
)𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
(𝜸 − 𝑪𝒊(𝝅) − 𝟒𝑺𝒊 (

𝝅

𝟐
) + 𝐥𝐧 (

𝝅𝟑

𝟏𝟔
) + 𝟏) 

 
2476. Prove that: 

∫ (𝒙∑
𝒙𝒏

𝒏𝟑
+

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
)𝒅𝒙 = 𝑮 +

𝜻(𝟑)

𝟐
+
𝝅𝟑

𝟑𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟑

𝟏𝟔

∞

𝒏=𝟏

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Bui Hong Suc-Vietnam 

𝑳𝒆𝒕 ∶ ⁡ 𝑺𝒏,𝒌 = ∫ 𝒙𝒌−𝟏𝑳𝒊𝒏(𝒙)𝒅𝒙 =⏞
𝑰.𝑩.𝑷𝟏

𝟎

𝒙𝒌𝑳𝒊𝒏(𝒙)

𝒌
|
𝟏

𝟎

−
𝟏

𝒌
∫ 𝒙𝒌−𝟏𝑳𝒊𝒏−𝟏(𝒙)𝒅𝒙 =

𝑳𝒊𝒏(𝟏)

𝒌
−
𝟏

𝒌

𝟏

𝟎

𝑺𝒏−𝟏,𝒌 = 

𝜻(𝒏)

𝒌
−
𝟏

𝒌
(
𝜻(𝒏 − 𝟏)

𝒌
−
𝟏

𝒌
𝑺𝒏−𝟐,𝒌) =

𝜻(𝒏)

𝒌
−
𝜻(𝒏 − 𝟏)

𝒌𝟐
+
𝟏

𝒌𝟐
𝑺𝒏−𝟐,𝒌

=
𝜻(𝒏)

𝒌
−
𝜻(𝒏 − 𝟏)

𝒌𝟐
+
𝜻(𝒏 − 𝟐)

𝒌𝟑
− 

𝟏

𝒌𝟑
𝑺𝒏−𝟑,𝒌 = ⋯ =∑(−𝟏)𝒊−𝟏

𝜻(𝒏 + 𝟏 − 𝒊)

𝒌𝒊
+
(−𝟏)𝒏−𝟐

𝒌𝒏−𝟏
𝑺𝟏,𝒌 = ∑(−𝟏)𝒊−𝟏

𝜻(𝒏 + 𝟏 − 𝒊)

𝒌𝒊
+

𝒏−𝟏

𝒊=𝟏

𝒏−𝟏

𝒊=𝟏

 

(−𝟏)𝒏−𝟏

𝒌𝒏−𝟏
∫ 𝒙𝒌−𝟏 𝐥𝐧(𝟏 − 𝒙)𝒅𝒙 = ∑(−𝟏)𝒊−𝟏

𝜻(𝒏 + 𝟏 − 𝒊)

𝒌𝒊
+
(−𝟏)𝒊−𝟏𝑯𝒌

𝒌𝒏

𝒏−𝟏

𝒊=𝟏

𝟏

𝟎

 

∴ 𝑺𝟏 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= ∑(−𝟏)𝒏(𝒏 + 𝟏)∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 =⏞
𝑰.𝑩.𝑷𝟏

𝟎

∞

𝒏=𝟎

∑
(−𝟏)𝒏(𝒏 + 𝟏)

𝟐𝒏 + 𝟏
(𝒙𝟐𝒏+𝟏𝒍𝒏𝟐(𝒙)

∞

𝒏=𝟎

− 
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𝟐𝒙𝟐𝒏+𝟏𝐥𝐧⁡(𝒙)

𝟐𝒏 + 𝟏
+

𝟐𝒙𝟐𝒏+𝟏

(𝟏 + 𝟐𝒏)𝟐
)|
𝟏

𝟎

= ∑
(−𝟏)𝒏(𝟐𝒏 + 𝟐)

(𝟏 + 𝟐𝒏)𝟑
= ∑

(−𝟏)𝒏(𝟐𝒏 + 𝟏 + 𝟏)

(𝟏 + 𝟐𝒏)𝟑

∞

𝒏=𝟎

= ∑
(−𝟏)𝒏

(𝟏 + 𝟐𝒏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

+ 

∑
(−𝟏)𝒏

(𝟏 + 𝟐𝒏)𝟑
= 𝜷(𝟐) + 𝜷(𝟑) = 𝑮 +

∞

𝒏=𝟎

𝝅𝟑

𝟑𝟐
 

𝑻𝒉𝒆𝒏 ∶ ⁡Ω = ∫ (𝒙𝒌−𝟏∑
𝒙𝒂

𝒂𝒏
+

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
)𝒅𝒙 = ∫ 𝒙𝒌−𝟏𝑳𝒊𝒏(𝒙)𝒅𝒙 + ∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

∞

𝒂=𝟏

𝟏

𝟎

 

𝑺𝒏,𝒌 + 𝑺𝟏 = ∑(−𝟏)𝒊−𝟏
𝜻(𝒏 + 𝟏 − 𝒊)

𝒌𝒊
+
(−𝟏)𝒊−𝟏𝑯𝒌

𝒌𝒏

𝒏−𝟏

𝒊=𝟏

+ 𝑮+
𝝅𝟑

𝟑𝟐
 

𝑨𝒔⁡𝒏 = 𝟑⁡, 𝒌 = 𝟐⁡ ∶ ⁡⁡Ω = ∫ (𝒙
𝟏

𝟎

∑
𝒙𝒂

𝒂𝟑

∞

𝒂=𝟏

+
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
)𝒅𝒙

= ∫ 𝒙𝑳𝒊𝟑(𝒙)𝒅𝒙
𝟏

𝟎

+∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =

𝟏

𝟎

 

∑(−𝟏)𝒊−𝟏
𝜻(𝟒 − 𝒊)

𝟐𝒊
+
𝑯𝟐

𝟖
+ 𝑮 +

𝝅𝟑

𝟑𝟐
= 𝑮 +

𝜻(𝟑)

𝟐
+
𝝅𝟑

𝟑𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟑

𝟏𝟔

∞

𝒊=𝟏

 

Solution 2 by Exodo Halcalias-Angola 

∫ (𝒙∑
𝒙𝒏

𝒏𝟑
+

𝒍𝒏𝟐(𝒙)

(𝟏+ 𝒙𝟐)𝟐
)𝒅𝒙 =∑

𝟏

𝒏𝟑
∫ 𝒙𝒏+𝟏𝒅𝒙+ ∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 =∑

𝟏

𝒏𝟑(𝒏 + 𝟐)
+

∞

𝒏=𝟏

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟏

∞

𝒏=𝟏

𝟏

𝟎

 

(
𝒍𝒏𝟐(𝒙)

𝟐
(

𝒙

𝒙𝟐+ 𝟏
+ 𝒕𝒂𝒏−𝟏(𝒙)))|

𝟏

𝟎
−∫

𝐥𝐧(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙−∫

𝐥𝐧(𝒙)𝒕𝒂𝒏−𝟏(𝒙)

𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

⁡⁡⁡ 

𝟏

𝟐
∑

𝟏

𝒏𝟑
−
𝟏

𝟒
∑

𝟏

𝒏𝟐

∞

𝒏=𝟏

∞

𝒏=𝟏

+
𝟏

𝟒
∑

𝟏

𝒏(𝒏+ 𝟐)
−∑(−𝟏)𝒏−𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

∫ 𝒙𝟐𝒏−𝟐 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

− 

∑
(−𝟏)𝒏−𝟏

𝟐𝒏− 𝟏

∞

𝒏=𝟏

∫ 𝒙𝟐𝒏−𝟐 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

=
𝜻(𝟑)

𝟐
−
𝜻(𝟐)

𝟒
+
𝟏

𝟒
∫ 𝒙∑

𝒙𝒏

𝒏
𝒅𝒙

∞

𝒏=𝟏

𝟏

𝟎

+∑
(−𝟏)𝒏−𝟏

(𝟐𝒏−𝟏)𝟐

∞

𝒏=𝟏

+ 

∑
(−𝟏)𝒏−𝟏

(𝟐𝒏− 𝟏)𝟑

∞

𝒏=𝟏

=
𝜻(𝟑)

𝟐
−
𝟏

𝟒
.
𝝅𝟐

𝟔
−
𝟏

𝟒
∫ 𝒙𝒍𝒏(𝟏− 𝒙)𝒅𝒙⁡
𝟏

𝟎

+ ⁡𝜷(𝟐) +𝜷(𝟑) =
𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟐𝟒
− 

𝟏

𝟒
. (𝟐(𝒙𝟐− 𝟏)𝐥𝐧(𝟏− 𝒙) − 𝒙(𝒙+ 𝟐))|

𝟏

𝟎
+ 𝑮+

𝝅𝟑

𝟑𝟐
=
𝜻(𝟑)

𝟐
−
𝝅𝟐

𝟐𝟒
+ 𝑮+

𝝅𝟑

𝟑𝟐
+
𝟑

𝟏𝟔
 

∴ ∫ (𝒙∑
𝒙𝒏

𝒏𝟑
+

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
)𝒅𝒙 = 𝑮+

𝜻(𝟑)

𝟐
+
𝝅𝟑

𝟑𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟑

𝟏𝟔

∞

𝒏=𝟏

𝟏

𝟎

 

Solution 3 by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫ (𝒙∑
𝒙𝒏

𝒏𝟑
+

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
)𝒅𝒙 =

∞

𝒏=𝟏

𝟏

𝟎

∫ 𝒙∑
𝒙𝒏

𝒏𝟑

∞

𝒏=𝟏

𝒅𝒙
𝟏

𝟎

+∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙 = 𝑨 + 𝑩

𝟏

𝟎

 



 
www.ssmrmh.ro 

105 RMM-CALCULUS MARATHON 2401-2500 

 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡⁡𝑨: 

𝑨 = ∫ 𝒙∑
𝒙𝒏

𝒏𝟑

∞

𝒏=𝟏

𝒅𝒙
𝟏

𝟎

= ∑
𝟏

𝒏𝟑
∫ 𝒙𝒏+𝟏𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟏

= ∑
𝟏

𝒏𝟑
⁡⁡.⁡⁡

𝟏

(𝒏 + 𝟐)

∞

𝒏=𝟏

= ∑
𝟏

𝒏𝟑(𝒏 + 𝟐)
=

∞

𝒏=𝟏

 

𝟏

𝟐
∑

𝟏

𝒏𝟑
−
𝟏

𝟒
∑

𝟏

𝒏𝟐
+
𝟏

𝟖
∑ [

𝟏

𝒏
−

𝟏

𝒏 + 𝟐
]

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

=
𝜻(𝟑)

𝟐
−
𝟏

𝟒
𝜻(𝟐) +

𝟑

𝟐
(
𝟏

𝟖
) =

𝜻(𝟑)

𝟐
−
𝟏

𝟒
𝜻(𝟐) +

𝟑

𝟏𝟔
 

𝑨 =
𝜻(𝟑)

𝟐
−
𝟏

𝟒
𝜻(𝟐) +

𝟑

𝟏𝟔
 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡⁡𝑩 ∶ 

𝑩 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

⁡⁡{𝒅𝒗 =
𝟏

(𝟏 + 𝒙𝟐)𝟐
⁡ , 𝒗 =

𝟏

𝟐
(

𝒙

𝟏 + 𝒙𝟐
+ 𝒕𝒂𝒏−𝟏(𝒙)}⁡ 

{𝒖 = 𝒍𝒏𝟐(𝒙)⁡,
𝒅𝒖

𝒅𝒙
=
𝟐𝐥𝐧⁡(𝒙)

𝒙
} 

𝑩 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
𝒅𝒙

𝟏

𝟎

= (
𝟏

𝟐
(

𝒙

𝒙𝟐 + 𝟏
+ 𝒕𝒂𝒏−𝟏(𝒙)) 𝒍𝒏𝟐(𝒙))|

𝟏

𝟎
− ∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟎

 

∫
𝐥𝐧⁡(𝒙)𝒕𝒂𝒏−𝟏(𝒙)

𝒙
𝒅𝒙 = −∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

∫
𝐥𝐧⁡(𝒙)𝒕𝒂𝒏−𝟏(𝒙)

𝒙
𝒅𝒙 =

𝟏

𝟎

 

−∑(−𝟏)𝒏∫ 𝒙𝟐𝒏𝐥𝐧⁡(𝒙)𝒅𝒙
𝟏

𝟎

−∑
(−𝟏)𝒏

𝟐𝒏 + 𝟏)
∫ 𝒙𝟐𝒏+𝟏−𝟏 𝐥𝐧(𝒙) 𝒅𝒙 =
𝟏

𝟎

∞

𝒏=𝟎

∞

𝒏=𝟎

 

−∑(−𝟏)𝒏
𝒅

𝒅𝒏
(∫ 𝒙𝟐𝒏𝒅𝒙) −∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)

𝒅

𝒅𝒏
(∫ 𝒙𝟐𝒏𝒅𝒙) = ∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

+
𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

 

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
= 𝑮+

𝝅𝟑

𝟑𝟐

∞

𝒏=𝟎

 

𝑰 = 𝑨 + 𝑩 =
𝜻(𝟑)

𝟐
−
𝟏

𝟒
𝜻(𝟐) +

𝟑

𝟏𝟔
+ 𝑮 +

𝝅𝟑

𝟑𝟐
= 𝑮 +

𝜻(𝟑)

𝟐
+
𝝅𝟑

𝟑𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟑

𝟏𝟔
 

∴ ∫ (𝒙∑
𝒙𝒏

𝒏𝟑
+

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)𝟐
)𝒅𝒙 = 𝑮 +

𝜻(𝟑)

𝟐
+
𝝅𝟑

𝟑𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟑

𝟏𝟔

∞

𝒏=𝟏

𝟏

𝟎

 

Solution 4 by Abbaszade Yusif-Azerbaijan 

∫ (𝒙∑
𝒙𝒏

𝒏𝟑

∞

𝒏=𝟏

+ (
𝐥𝐧 𝒙

𝟏 + 𝒙𝟐
)
𝟐

)
𝟏

𝟎

= ∫ ∑
𝒙𝒏+𝟏

𝒏𝟑

∞

𝒏=𝟏

𝟏

𝟎

𝒅𝒙 +∫ (
𝐥𝐧 𝒙

𝟏 + 𝒙𝟐
)
𝟐𝟏

𝟎

𝒅𝒙 = 𝝃𝟏 + 𝝃𝟐  

𝝃𝟏 = ∫ ∑
𝒙𝒏+𝟏

𝒏𝟑

∞

𝒏=𝟏

𝟏

𝟎

𝒅𝒙 = ∑
𝟏

𝒏𝟑(𝒏 + 𝟐)

∞

𝒏=𝟏

=
𝟏

𝟖
∑(

𝒏𝟐 − 𝟐𝒏 + 𝟒

𝒏𝟑
−

𝟏

𝒏 + 𝟐
)

∞

𝒏=𝟏

 

𝝃𝟏 =
𝟏

𝟖
∑((

𝟏

𝒏
−

𝟏

𝒏 + 𝟐
) −

𝟐

𝒏𝟐
+
𝟒

𝒏𝟑
)

∞

𝒏=𝟏

=
𝟏

𝟖
(𝟏 +

𝟏

𝟐
− 𝟐 ×

𝝅𝟐

𝟔
+ 𝟒𝜻(𝟑) 

𝝃𝟏 =
𝟏

𝟖
(
𝟑

𝟐
−
𝝅𝟐

𝟑
+ 𝟒𝜻(𝟑)) =

𝟑

𝟏𝟔
−
𝝅𝟐

𝟐𝟒
+
𝜻(𝟑)

𝟐
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𝝃𝟐 = ∫ (
𝐥𝐧 𝒙

𝟏 + 𝒙𝟐
)
𝟐𝟏

𝟎

𝒅𝒙 =
𝐥𝐧𝟐 𝒙

𝟐
(

𝒙

𝟏 + 𝒙𝟐
+ 𝐚𝐫𝐜𝐭𝐚𝐧 𝒙)

𝟎

𝟏

−∫ (
𝐥𝐧 𝒙

𝟏 + 𝒙𝟐
+
𝐥𝐧𝒙 𝐚𝐫𝐜𝐭𝐚𝐧 𝒙

𝒙
)

𝟏

𝟎

𝒅𝒙 

𝝃𝟐 = −∫
𝐥𝐧𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 − 𝐥𝐧𝒙 𝑻𝒊𝟐(𝒙)𝟎
𝟏 +∫

𝑻𝒊𝟐(𝒙)

𝒙

𝟏

𝟎

𝒅𝒙⁡⁡⁡⁡⁡⁡⁡⁡⁡𝒙 = 𝐭𝐚𝐧(𝜽) 

𝝃𝟐 = −∫
𝐥𝐧(𝐭𝐚𝐧𝜽)

𝐬𝐞𝐜𝟐 𝜽
× 𝐬𝐞𝐜𝟐 𝜽 𝒅𝜽

𝝅
𝟒

𝟎

+ 𝑻𝒊𝟑(𝟏) =
𝝅𝟑

𝟑𝟐
− ∫ 𝐥𝐧(𝒕𝒂𝒏𝜽)

𝝅
𝟒

𝟎

𝒅𝜽 =
𝝅𝟑

𝟑𝟐
+ 𝑮 

∫ (𝒙∑
𝒙𝒏

𝒏𝟑

∞

𝒏=𝟏

+ (
𝐥𝐧 𝒙

𝟏 + 𝒙𝟐
)
𝟐

)
𝟏

𝟎

𝒅𝒙 = 𝝃𝟏 + 𝝃𝟐 = 𝑮+
𝜻(𝟑)

𝟐
+
𝝅𝟑

𝟑𝟐
−
𝝅𝟐

𝟐𝟒
+
𝟏𝟔

𝟑
 

𝑵𝒐𝒕𝒆⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏 ∶ 

∫
𝑻𝒊𝒏−𝟏(𝒕)

𝒕

𝒙

𝟎

𝒅𝒕 = 𝑻𝒊𝒏(𝒙)⁡,⁡⁡⁡∫ 𝐥𝐧(𝒕𝒂𝒏𝒙)

𝝅
𝟒

𝟎

𝒅𝒙 = −𝑮 

2477. Prove that: 

∫
(𝐥𝐧(𝒙) + 𝒙)𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 = 𝑮+

𝜻(𝟐)

𝟐
−
𝟐𝟏

𝟑𝟐
𝜻(𝟑) −

𝟑

𝟒
𝐥𝐧(𝟐) +

𝟏

𝟒

∞

𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Exodo Halcalias-Angola 

∫
(𝐥𝐧(𝒙) + 𝒙)𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 =⏞

𝒙→
𝟏
𝒙∞

𝟏

∫ (
𝟏

𝒙𝟐
−
𝟐

𝒙
𝐥𝐧(𝒙) + 𝒍𝒏𝟐(𝒙))

𝒙𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝟏

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

− 𝟐∫
𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 +

𝟏

𝟎

 

∫
𝒙𝟐𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙⁡ → ⁡⁡⁡𝑯 = 𝑯𝟏 − 𝟐𝑯𝟐 +𝑯𝟑

𝟏

𝟎

 

𝑯𝟏 = ∫
𝟏

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

 

=
𝟏

𝟐
∫

𝒅𝒙

𝒙 +𝟏

𝟏

𝟎

+
𝟏

𝟐
∫

𝒅𝒙

(𝟏 + 𝒙)𝟐
−
𝟏

𝟐
∫

𝒙

𝒙𝟐 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
∫ 𝒅
𝟏

𝟎

𝐥𝐧(𝟏 + 𝒙) +
𝟏

𝟐
.
𝟏

𝟐
−
𝟏

𝟒
∫ 𝒅𝒍𝒏((𝟏+ 𝒙))
𝟏

𝟎

𝟏

𝟎

= 

=
𝐥𝐧⁡(𝟐)

𝟐
+
𝟏

𝟐
.
𝟏

𝟐
−
𝐥𝐧(𝟐)

𝟒
=
𝐥𝐧(𝟐)

𝟒
+
𝟏

𝟒
 

𝑯𝟐 = ∫
𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙𝟐)(𝟏+ 𝒙)𝟐
𝒅𝒙 =

𝟏

𝟎

=
𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

(𝟏+ 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∑(−𝟏)𝒌−𝟏

𝒌∈𝑵

∫ 𝒙𝟐𝒌−𝟐
𝟏

𝟎

𝐥𝐧(𝒙)𝒅𝒙 −
𝟏

𝟐
∑(−𝟏)𝒌−𝟏

𝒌∈𝑵

𝒌∫ 𝒙𝒌−𝟏 𝐥𝐧(𝒙)𝒅𝒙 =
𝟏

𝟎
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−
𝟏

𝟐
∑

(−𝟏)𝒌−𝟏

(𝟐𝒌− 𝟏)𝟐
𝒌∈𝑵

+
𝟏

𝟐
∑

(−𝟏)𝒌−𝟏𝒌

𝒌𝟐
𝒌∈𝑵

= −
𝜷(𝟐)

𝟐
+
𝟏

𝟐
∫ ∑(−𝟏)𝒌−𝟏

𝒌∈𝑵

𝒙𝒌−𝟏𝒅𝒙 = −
𝑮

𝟐
+
𝟏

𝟐
∫

𝟏

𝟏 + 𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

 

−
𝑮

𝟐
+
𝟏

𝟐
∫ 𝒅𝒍(𝟏 + 𝒙) =
𝟏

𝟎

−
𝑮

𝟐
+
𝐥𝐧(𝟐)

𝟐
 

𝑯𝟑 = ∫
𝒙𝟐𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)(𝟏+ 𝒙)𝟐
𝒅𝒙 =

𝟏

𝟐
∫
𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

𝟏

𝟎

𝒅𝒙

−
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝒙 + 𝟏
𝒅𝒙+∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 =

𝟏

𝟐

𝟏

𝟎

𝟏

𝟎

∑(−𝟏)𝒌−𝟏

𝒌∈𝑵

∫ 𝒙𝟐𝒌−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙−
𝟏

𝟎

 

𝟏

𝟐
∑(−𝟏)𝒌−𝟏∫ 𝒙𝒌−𝟏

𝟏

𝟎𝒌∈𝑵

𝒍𝒏𝟐(𝒙)𝒅𝒙+
𝟏

𝟐
∑(−𝟏)𝒌−𝟏

𝒌∈𝑵

𝒌∫ 𝒙𝒌−𝟏
𝟏

𝟎

𝒍𝒏𝟐(𝒙)𝒅𝒙

=∑
(−𝟏)𝒌−𝟏

(𝟐𝒌)𝟑
−∑

(−𝟏)𝒌−𝟏

𝒌𝟑
+∑

𝒌(−𝟏)𝒌−𝟏

𝒌𝟑
=

𝒌∈𝑵𝒌∈𝑵𝒌∈𝑵

 

−
𝟕

𝟖
∑

(−𝟏)𝒌−𝟏

𝒌𝟑
+∑

(−𝟏)𝒌−𝟏

𝒌𝟐
=

𝒌∈𝑵𝒌∈𝑵

−
𝟕

𝟖
(𝟏 − 𝟐𝟏−𝟑)𝜻(𝟑)+ (𝟏 − 𝟐𝟏−𝟐)𝜻(𝟐) =

𝜻(𝟐)

𝟐
−
𝟐𝟏

𝟑𝟐
𝜻(𝟑) 

⁡𝑯 = 𝑯𝟏 −𝟐𝑯𝟐 +𝑯𝟑 =
𝐥𝐧(𝟐)

𝟒
+
𝟏

𝟒
−
𝑮

𝟐
+
𝐥𝐧(𝟐)

𝟐
+
𝜻(𝟐)

𝟐
−
𝟐𝟏

𝟑𝟐
𝜻(𝟑)

= 𝑮+
𝜻(𝟐)

𝟐
−
𝟐𝟏

𝟑𝟐
𝜻(𝟑) −

𝟑

𝟒
𝐥𝐧(𝟐) +

𝟏

𝟒
 

Solution 2 by Ankush Kumar Parcha-India 

⁡⁡∫
(𝐥𝐧(𝒙) + 𝒙)𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 =⏞

𝒙→
𝟏
𝒙∞

𝟏

∫
(𝟏 − 𝒙𝒍𝒏(𝒙))𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝟐𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 − 𝟐∫

𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 +

𝟏

𝟎

𝟏

𝟎

 

∫
𝟏

(𝟏 + 𝒙𝟐)(𝟏+ 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∫
𝒙𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐

𝟏

𝟎

−
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

+
𝟏

𝟐
∫

𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙+∫

𝐥𝐧⁡(𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙 −∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙−

𝟏

𝟐
∫

𝒙

𝟏 + 𝒙𝟐
𝒅𝒙+

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
∫

𝒅𝒙

𝟏 + 𝒙
+
𝟏

𝟐
∫

𝒅𝒙

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝟏

𝟎

 

(∴ ∑𝒏(−𝒙)𝒏 = −
𝒙

(𝟏 + 𝒙)𝟐
, |𝒙| < 1)⁡

𝒏∈𝑵
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𝟏

𝟐
∑(−𝟏)𝒏−𝟏∫ 𝒙𝟐𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙

𝟏

𝟎

−
𝟏

𝟐
∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙+
𝟏

𝟐

𝟏

𝟎

∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

𝒏∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙+
𝟏

𝟎

⁡

𝒏∈𝑵

 

+∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

𝒏∫ 𝒙𝒏−𝟏 𝐥𝐧(𝒙)𝒅𝒙 −
𝟏

𝟎

∑(−𝟏)𝒏−𝟏

𝒏∈𝑵

∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙)𝒅𝒙 −∫
𝒅(𝟏+ 𝒙𝟐)

𝟒
+

𝟏

𝟎

𝟏

𝟎

∫
𝒅(𝟏+ 𝒙)

𝟐

𝟏

𝟎

−
𝟏

𝟐
∫ 𝒅 (

𝟏

𝟏+ 𝒙
)

𝟏

𝟎

 

(∴ ∫ 𝒕𝒎𝒍𝒏𝒏(𝒕)𝒅𝒕 =
(−𝟏)𝒏⁡.⁡⁡𝒏!

(𝒎 + 𝟏)𝒏+𝟏
⁡ , 𝒏 > −1⁡⋀𝒎 ≠ 𝟏

𝟏

𝟎

) 

=
𝟏

𝟖
∑

(−𝟏)𝒏−𝟏

𝒏𝟑
−

𝒏∈𝑵

∑
(−𝟏)𝒏−𝟏

𝒏𝟑
+

𝒏∈𝑵

∑
(−𝟏)𝒏−𝟏

𝒏𝟐
𝒏∈𝑵

+ ∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
𝒏∈𝑵⏟        

𝑮(𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕)

−
𝐥𝐧(𝟐)

𝟒
+
𝐥𝐧(𝟐)

𝟐
+
𝟏

𝟒
⁡ 

(∴ ∑
𝒙𝒏

𝒏
= − 𝐥𝐧(𝟏 − 𝒙) , |𝒙| ≤ 𝟏⁡⋀𝒙 ≠ 𝟏)⁡

𝒏∈𝑵

 

∫
(𝐥𝐧(𝒙) + 𝒙)𝟐

(𝟏 + 𝒙𝟐)(𝟏 + 𝒙)𝟐
𝒅𝒙 = 𝑮 +

𝜻(𝟐)

𝟐
−
𝟐𝟏

𝟑𝟐
𝜻(𝟑) −

𝟑

𝟒
𝐥𝐧(𝟐) +

𝟏

𝟒

∞

𝟏

 

𝑮 → 𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕⁡, 𝜻(𝟑) → 𝑨𝒑𝒆𝒓𝒚′𝒔⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 

2478. 
𝑳𝒆𝒕 ∶ ⁡𝒂 ∈ 𝑹≥𝟎⁡;𝒎, 𝒏, 𝒌, 𝒃⁡ ∈ 𝒁

+ 

𝑭𝒊𝒏𝒅 ∶ 𝑺 = ∫ (𝒙𝒌𝑳𝒊𝒏(𝒙) +
𝒍𝒏𝒎(𝒙)

(𝟏 + 𝒙𝒂)𝒃
)𝒅𝒙

𝟏

𝟎

 

Proposed by Bui Hong Suc-Vietnam 
Inspired by Shirvan Tahirov-Azerbaijan 

Solution by Quadri Faruk Temitope-Nigeria 

∫ (𝒙𝒌𝑳𝒊𝒏(𝒙) +
𝒍𝒏𝒎(𝒙)

(𝟏 + 𝒙𝒂)𝒃
)𝒅𝒙

𝟏

𝟎

= ∫ 𝒙𝒌𝑳𝒊𝒏(𝒙)𝒅𝒙 + ∫
𝒍𝒏𝒎(𝒙)

(𝟏 + 𝒙𝒂)𝒃
𝒅𝒙 = 𝑰𝟏 + 𝑰𝟐

𝟏

𝟎

𝟏

𝟎

 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒓⁡𝑰𝟏 

𝑰𝟐 = ∫
𝒍𝒏𝒎(𝒙)

(𝟏 + 𝒙𝒂)𝒃
𝒅𝒙⁡⁡𝒚 = 𝒙𝒂, 𝒙 = 𝒚𝟏/𝒂, 𝒅𝒙 =

𝒅𝒚

𝒂𝒚𝟏−
𝟏
𝒂

𝟏

𝟎

 

𝑰𝟐 = ∫
𝒍𝒏𝒎 (𝒚

𝟏
𝒂)

(𝟏 + 𝒚)𝒃
𝒅𝒚

𝒂𝒚𝟏−
𝟏
𝒂

=
𝟏

𝟎

𝟏

𝒂
⁡∫

(
𝟏
𝒂
)
𝒎

(𝟏 + 𝒚)𝒃𝒚𝟏−
𝟏
𝒂

𝟏

𝟎

𝒍𝒏𝒎(𝒚)⁡ 

⁡𝑹𝒆𝒄𝒂𝒍𝒍⁡𝒕𝒉𝒂𝒕 ∶ (𝟏 + 𝒚)𝒃 =∑(
−𝒃

𝒕
) 𝒚𝒕

∞

𝒕=𝟎
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𝑰𝟐 =
(
𝟏
𝒂
)
𝒎

𝒂
∑(

−𝒃

𝒕
)∫ 𝒚𝒕

𝒍𝒏𝒎(𝒚)

𝒚𝟏−
𝟏
𝒂

𝒅𝒚 =
𝟏

𝟎

∞

𝒕=𝟎

𝒂−𝒎−𝟏∑(
−𝒃

𝒕
)∫ 𝒚𝒕+

𝟏
𝒂−𝟏

𝟏

𝟎

𝒍𝒏𝒎(𝒚)𝒅𝒚

∞

𝒕=𝟎

=(
𝟏

𝒂
)
𝒎+𝟏

∑(
−𝒃

𝒕
)∫ 𝒚𝒕+

𝟏
𝒂−𝟏𝒍𝒏𝒎(𝒚)

𝟏

𝟎⏟          
𝑨

𝒅𝒚⁡

∞

𝒕=𝟎

 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒏⁡⁡𝑨 

𝑨 = ∫ 𝒚𝒕+
𝟏
𝒂−𝟏𝒍𝒏𝒎(𝒚)𝒅𝒚⁡⁡⁡𝒍𝒆𝒕 ∶ 𝐥𝐧(𝒚) = 𝒑⁡⁡𝒅𝒚 = −𝒆−𝒑, 𝒚 =

𝟏

𝟎

𝒆−𝒑⁡⁡[∞; 𝟎] 

∫ (𝒆−𝒑)𝒕+
𝟏
𝒂
−𝟏(−𝒑)𝒎.

𝟎

∞

− 𝒆−𝒑𝒅𝒑

= ∫ (−𝒑)𝒎(𝒆−𝒑)(𝒕+
𝟏
𝒂−𝟏+𝟏)𝒅𝒑 = (−𝟏)𝒎∫ 𝒑𝒎𝒆−𝒑(𝒕+

𝟏
𝒂)𝒅𝒑

∞

𝟎

∞

𝟎

 

𝒍𝒆𝒕⁡ ∶ ⁡⁡𝒑 (𝒕 +
𝟏

𝒂
) = 𝒙⁡⁡⁡⁡; ⁡⁡𝒑 =

𝒙

𝒕 +
𝟏
𝒂

⁡ ∶ 𝒅𝒑 =
𝒅𝒙

𝒕 +
𝟏
𝒂

⁡⁡⁡[𝟎;∞] 

𝑨 = (−𝟏)𝒎∫ (
𝒙

𝒕 +
𝟏
𝒂

)𝒎𝒆−𝒑
∞

𝟎

𝒅𝒙

𝒕 +
𝟏
𝒂

=
(−𝟏)𝒎

(𝒕 +
𝟏
𝒂
)𝒎+𝟏

∫ 𝒙𝒎𝒆−𝒙𝒅𝒙 =
∞

𝟎

(−𝟏)𝒎

(𝒕 +
𝟏
𝒂
)𝒎+𝟏

∫ 𝒙𝒎+𝟏−𝟏𝒆−𝒙𝒅𝒙 =
∞

𝟎

 

(−𝟏)𝒎

(𝒕 +
𝟏
𝒂
)
𝒎+𝟏 𝜞(𝒎 + 𝟏)⁡⁡⁡𝑵𝒐𝒕𝒆⁡⁡𝒕𝒉𝒂𝒕: 

∫ 𝒙𝒎−𝟏𝒆−𝒙 = 𝜞(𝒎)⁡⁡⁡
∞

𝟎

⁡𝜞(𝒎 + 𝟏) = 𝒎𝜞(𝒎)⁡⁡⁡𝑨 =
(−𝟏)𝒎𝒎𝜞(𝒎)

(𝒕 +
𝟏
𝒂
)
𝒎+𝟏  

𝑯𝒆𝒏𝒄𝒆 ∶ 

𝑰𝟐 = (
𝟏

𝒂
)
𝒎+𝟏

∑(
−𝒃

𝒕
)∫ 𝒚𝒕+

𝟏
𝒂−𝟏𝒍𝒏𝒎(𝒚)

𝟏

𝟎⏟          
𝑨

𝒅𝒚⁡

∞

𝒕=𝟎

= (
𝟏

𝒂
)
𝒎+𝟏

∑(
−𝒃

𝒕
)
(−𝟏)𝒎𝒎𝜞(𝒎)

(𝒕 +
𝟏
𝒂
)
𝒎+𝟏 𝒅𝒚 =⁡

∞

𝒕=𝟎

 

(
𝟏

𝒂
⁡.

𝟏

𝒕 +
𝟏
𝒂

⁡)𝒎+𝟏∑(
−𝒃

𝒕
)

∞

𝒕=𝟎

(−𝟏)𝒎𝒎𝜞(𝒎) = (
𝟏

𝒂
⁡.

𝟏

𝒂𝒕 + 𝟏
⁡)
𝒎+𝟏

∑(
−𝒃

𝒕
)

∞

𝒕=𝟎

(−𝟏)𝒎𝒎𝜞(𝒎) = 

(⁡
𝟏

𝒂𝒕 + 𝟏
⁡)
𝒎+𝟏

∑(
−𝒃

𝒕
)

∞

𝒕=𝟎

(−𝟏)𝒎𝒎𝜞(𝒎) = (−𝟏)𝒎𝒎𝜞(𝒎)∑(
−𝒃

𝒕
)

∞

𝒕=𝟎

𝟏

(𝒂𝒕 + 𝟏)𝒎+𝟏
 

𝑰𝟐 = (−𝟏)
𝒎𝒎𝜞(𝒎)∑(

−𝒃

𝒕
)

∞

𝒕=𝟎

𝟏

(𝒂𝒕 + 𝟏)𝒎+𝟏
 

𝑾𝒐𝒓𝒌𝒊𝒏𝒈⁡⁡𝒐𝒏⁡⁡𝑰𝟏 
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𝑰𝟏 = ∫ 𝒙𝒌𝑳𝒊𝒏(𝒙)𝒅𝒙⁡⁡⁡⁡𝒖 =
𝟏

𝟎

𝑳𝒊𝒏(𝒙),
𝒅𝒖

𝒅𝒙
=
𝑳𝒊𝒏−𝟏(𝒙)

𝒙
, 𝒅𝒗 = 𝒙𝒌, 𝒗 =

𝒙𝒌+𝟏

𝒌 + 𝟏
 

𝑰𝟏 = ∫ 𝒙𝒌𝑳𝒊𝒏(𝒙)𝒅𝒙
𝟏

𝟎

=
𝒙𝒌+𝟏

𝒌 + 𝟏
𝑳𝒊𝒏(𝒙)|

𝟏

𝟎

−∫
𝑳𝒊𝒏−𝟏(𝒙)𝒙

𝒌+𝟏

(𝒌 + 𝟏)𝒙
𝒅𝒙 =

𝜻(𝒏)

𝒌 + 𝟏
−

𝟏

𝒌 + 𝟏
[
𝑳𝒊𝒏−𝟏(𝒙)𝒙

𝒌+𝟏

𝒌 + 𝟏

𝟏

𝟎
−

𝟏

𝒌 +𝟏
∫ 𝒙𝒌𝑳𝒊𝒏−𝟐(𝒙)𝒅𝒙
𝟏

𝟎

]
𝟏

𝟎

= 

𝑰𝟏 =
𝜻(𝒏)

𝒌 + 𝟏
−

𝜻(𝒏)

(𝒌 + 𝟏)𝟐
+⋯+ (−𝟏)𝒏

𝜻(𝟐)

(𝒌 + 𝟏)𝒏−𝟏
+ (−𝟏)𝒏−𝟏

𝑯𝒌+𝟏
(𝒌 + 𝟏)𝒏

= ∑(−𝟏)𝒑−𝟏
𝒏−𝟏

𝒑=𝟏

𝜻(𝒏 − 𝒑 + 𝟏)

(𝒌 + 𝟏)𝒑
+ (−𝟏)𝒏−𝟏

𝑯𝒌+𝟏
(𝒌 + 𝟏)𝒏

 

𝑰 = 𝑰𝟏 + 𝑰𝟐 = ∑(−𝟏)𝒑−𝟏
𝒏−𝟏

𝒑=𝟏

𝜻(𝒏 − 𝒑 + 𝟏)

(𝒌 + 𝟏)𝒑
+ (−𝟏)𝒏−𝟏

𝑯𝒌+𝟏
(𝒌 + 𝟏)𝒏

+ (−𝟏)𝒎𝒎𝜞(𝒎)∑(
−𝒃

𝒕
)

∞

𝒕=𝟎

𝟏

(𝒂𝒕 + 𝟏)𝒎+𝟏
 

 

2479. Prove the below closed form 

𝛀 = ∫∫∫𝐥𝐨𝐠(
𝟏

𝐱𝐲𝐲𝐳𝐳𝐱
)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲𝐝𝐳

𝟏 + 𝐱𝐲𝐳
=
𝟗

𝟒
𝛇(𝟑) −

𝟏

𝟒
𝛇(𝟐) + 𝟑 𝐥𝐨𝐠 (

𝟒

𝐞
) 

Where, 𝛇(3) is the Apery’s constant. 
 

Proposed by Ankush Kumar Parcha-India 
Solution by Togrul Ehmedov-Azerbaijan 

 

𝛀 = ∫∫∫ 𝐥𝐨𝐠 (
𝟏

𝐱𝐲𝐲𝐳𝐳𝐱
)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲𝐝𝐳

𝟏 + 𝐱𝐲𝐳
= −∫∫∫𝐥𝐨𝐠(𝐱𝐲𝐲𝐳𝐳𝐱)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲𝐝𝐳

𝟏 + 𝐱𝐲𝐳
= 

 

= −𝟑∫∫∫𝐥𝐨𝐠(𝐱𝐲)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲𝐝𝐳

𝟏 + 𝐱𝐲𝐳
= −𝟑∫∫∫𝐲 𝐥𝐨𝐠(𝐱)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝐝𝐱𝐝𝐲𝐝𝐳

𝟏 + 𝐱𝐲𝐳
= 

 

= −𝟑∑(−𝟏)𝐤
∞

𝐤=𝟎

∫∫∫𝐲𝐤+𝟏𝐳𝐤𝐱𝐤 𝐥𝐨𝐠(𝐱)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐳 = 
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= 𝟑∑
(−𝟏)𝐤

(𝐤 + 𝟏)𝟐

∞

𝐤=𝟎

∫∫𝐲𝐤+𝟏𝐳𝐤
𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐳 = 𝟑∑
(−𝟏)𝐤

(𝐤 + 𝟏)𝟐(𝐤 + 𝟐)

∞

𝐤=𝟎

∫𝐳𝐤𝐝𝐳

𝟏

𝟎

= 

 

= 𝟑∑
(−𝟏)𝐤

(𝐤 + 𝟏)𝟑(𝐤 + 𝟐)

∞

𝐤=𝟎

= 𝟑∑
(−𝟏)𝐤+𝟏

𝐤𝟑(𝐤 + 𝟏)

∞

𝐤=𝟏

= 

 

= 𝟑∑(−𝟏)𝐤+𝟏 [
𝟏

𝐤𝟑
−
𝟏

𝐤𝟐
+
𝟏

𝐤
−

𝟏

𝐤 + 𝟏
] =

∞

𝐤=𝟏

 

 

= 𝟑 {∑
(−𝟏)𝐤+𝟏

𝐤𝟑

∞

𝐤=𝟏

−∑
(−𝟏)𝐤+𝟏

𝐤𝟐

∞

𝐤=𝟏

+∑
(−𝟏)𝐤+𝟏

𝐤

∞

𝐤=𝟏

−∑
(−𝟏)𝐤+𝟏

𝐤 + 𝟏

∞

𝐤=𝟏

} = 

 

= 𝟑 {
𝟑

𝟒
𝛇(𝟑) −

𝟏

𝟐
𝛇(𝟐) + 𝟐 𝐥𝐨𝐠(𝟐) − 𝟏} =

𝟗

𝟒
𝛇(𝟑) −

𝟏

𝟒
𝛇(𝟐) + 𝟑 𝐥𝐨𝐠 (

𝟒

𝐞
) 

 

2480. Find a closed form: 

∫
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧⁡(𝒙𝟐 +𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙

∞

𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Quadri Faruk Temitope-Nigeria 

𝑰 = ∫
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙 =⏞

𝒙→
𝟏
𝒙

𝒅𝒙=−
𝒅𝒙
𝒙𝟐∞

𝟏

∫
𝐥𝐧(

𝟏
𝒙
+ 𝟏) 𝐥𝐧 (

𝟏
𝒙𝟐
+ 𝟏)

(𝒙 + 𝟏)𝟐

𝟎

𝟏

−
𝒅𝒙

𝒙𝟐
= ∫

𝐥𝐧(
𝟏 + 𝒙
𝒙 ) 𝐥𝐧 (

𝟏 + 𝒙𝟐

𝒙𝟐
)

(𝒙 + 𝟏)𝟐

𝒙𝟐

𝟏

𝟎

𝒅𝒙

𝒙𝟐
= 

= ∫
𝐥𝐧 (

𝟏 + 𝒙
𝒙 ) 𝐥𝐧(

𝟏 + 𝒙𝟐

𝒙𝟐
)

(𝒙 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

 

𝑹𝒆𝒄𝒂𝒍𝒍⁡⁡𝒕𝒉𝒂𝒕 ∶ ⁡ 𝐥𝐧 (
𝑨

𝑩
) = 𝐥𝐧(𝑨) − 𝒍𝒏(𝑩) 

𝑰 = ∫
[𝐥𝐧(𝟏 + 𝒙) − 𝐥𝐧⁡(𝒙)][𝐥𝐧(𝒙𝟐 + 𝟏) − 𝐥𝐧(𝒙𝟐)]

(𝒙 + 𝟏)𝟐
𝒅𝒙 =

𝟏

𝟎

∫
[𝐥𝐧(𝟏 + 𝒙) − 𝐥𝐧⁡(𝒙)][𝐥𝐧(𝒙𝟐 + 𝟏) − 𝟐𝐥𝐧(𝒙)]

(𝒙 + 𝟏)𝟐
𝒅𝒙 =

𝟏

𝟎

 

∫
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙 − 𝟐∫

𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧⁡(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 −∫

𝐥𝐧(𝒙) 𝐥𝐧(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙 + 𝟐

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

∫
𝒍𝒏𝟐(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

 

𝑰𝒏𝒕𝒆𝒈𝒓𝒂𝒕𝒊𝒐𝒏⁡⁡𝒃𝒚⁡⁡𝒑𝒂𝒓𝒕𝒔 ∶ ⁡⁡∫𝒖𝒅𝒗 = 𝒖𝒗 −∫𝒗𝒅𝒖 

𝑰 = [−
𝐥𝐧(𝒙 + 𝟏) + 𝟏

𝒙 + 𝟏
. 𝐥𝐧(𝟏 + 𝒙𝟐)⁡

𝟏

𝟎
+ 𝟐∫

𝒙(𝟏 + 𝐥𝐧(𝟏 + 𝒙))

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

]

− 𝟐 [−
𝐥𝐧(𝟏 + 𝒙) + 𝟏

𝟏 + 𝒙
. 𝐥𝐧(𝒙)

𝟏

𝟎
+∫

𝐥𝐧(𝒙 + 𝟏) + 𝟏

𝒙(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

] − 

[(
𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙
− 𝐥𝐧(𝟏 + 𝒙)) 𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏

𝟎
− 𝟐∫

𝒙𝟐𝐥𝐧⁡(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙 + 𝟐∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

] + 
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𝟐 [(
𝒙𝒍𝒏(𝒙)

𝒙 + 𝟏
− 𝐥𝐧(𝒙 + 𝟏)) . 𝐥𝐧(𝒙) − ∫

𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 +∫

𝐥𝐧⁡(𝒙 + 𝟏)

𝒙
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

] 

𝑰 = −
𝒍𝒏𝟐(𝟐)

𝟐
−
𝐥𝐧(𝟐)

𝟐

+ 𝟐∫
𝒙

(𝟏 + 𝒙𝟐)
𝒅𝒙 + 𝟐∫

𝒙𝒍𝒏(𝟏 + 𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙 − 𝟐∫

𝐥𝐧⁡(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙 − 𝟐∫

𝟏

𝒙(𝟏 + 𝒙)
𝒅𝒙 + 𝒍𝒏𝟐(𝟐) +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟐∫
𝒙𝟐𝐥𝐧⁡(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙 − 𝟐∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 − 𝟐∫

𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 + 𝟐∫

𝐥𝐧⁡(𝟏 + 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰 =
𝒍𝒏𝟐(𝟐)

𝟐
−
𝐥𝐧(𝟐)

𝟐
−∫

𝒅𝒙

𝟏 + 𝒙
+∫

𝒅𝒙

𝟏+ 𝒙𝟐
+∫

𝒙𝒅𝒙

𝟏 + 𝒙𝟐
−∫

𝐥𝐧⁡(𝒙 + 𝟏)

𝟏 + 𝒙
𝒅𝒙 +∫

𝐥𝐧⁡(𝒙 + 𝟏)

𝟏 + 𝒙𝟐
𝒅𝒙 +∫

𝒙𝒍𝒏(𝒙 + 𝟏)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

−𝟐∫
𝐥𝐧⁡(𝟏 + 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

+ 𝟐∫
𝐥 𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

+ 𝟐∫
𝒅𝒙

𝟏 + 𝒙
+∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙
𝒅𝒙 −∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +∫

𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 − 𝟐∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟐∫
𝐥𝐧⁡(𝒙)

𝟏 + 𝒙
𝒅𝒙 − 𝟐∫

𝐥𝐧⁡(𝟏 + 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

𝑻𝒉𝒊𝒔 ∶ ⁡𝑰 =
𝒍𝒏𝟐(𝟐)

𝟐
−
𝐥𝐧(𝟐)

𝟐
− 𝐥𝐧(𝟐) + 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙)

𝟏

𝟎
+
𝟏

𝟐
𝐥𝐧(𝟏 + 𝒙𝟐)

𝟏

𝟎
−
𝟏

𝟐
𝒍𝒏𝟐(𝟏 + 𝒙)

𝟏

𝟎

+∫
𝐥𝐧⁡(𝒙 + 𝟏)

𝒙𝟐 + 𝟏
𝒅𝒙 −∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

 

𝟒∫
𝐥𝐧⁡(𝟏 + 𝒙)

𝒙
𝒅𝒙 + 𝒍𝒏𝟐(𝟏 + 𝒙)

𝟏

𝟎
+ 𝟐 𝐥𝐧(𝟏 + 𝒙)

𝟏

𝟎
−∫

𝐥𝐧⁡(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙 −∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +∫

𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰 =
𝒍𝒏𝟐(𝟐)

𝟐
−
𝐥𝐧(𝟐)

𝟐
− 𝐥𝐧(𝟐) +

𝝅

𝟒
+
𝟏

𝟐
𝐥𝐧(𝟐) −

𝟏

𝟐
𝒍𝒏𝟐(𝟐)

+ ∫
𝐥𝐧⁡(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 −∫

𝒙𝒍𝒏(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 − 𝟐∫

𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

+ 𝒍𝒏𝟐(𝟐) +
𝟏

𝟎

𝟏

𝟎

 

𝟐𝒍𝒏(𝟐) −
𝟏

𝟐
𝒍𝒏𝟐(𝟐) − ∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +∫

𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

 

𝑵𝒐𝒕𝒆⁡⁡𝒕𝒉𝒂𝒕 ∶ ⁡∫
𝐥𝐧⁡(𝟏 + 𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =

𝝅

𝟖
𝐥𝐧⁡(𝟐)

𝟏

𝟎

 

𝑰 = 𝐥𝐧(𝟐) + 𝒍𝒏𝟐(𝟐) +
𝝅

𝟒
+
𝝅

𝟖
𝐥𝐧(𝟐) + ∑(−𝟏)𝒏∫ 𝒙𝟐𝒏−𝟏 𝐥𝐧(𝟏 + 𝒙) 𝒅𝒙 + 𝟐∑

(−𝟏)𝒏

𝒏
∫ 𝒙𝒏−𝟏𝒅𝒙 −⁡
𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

 

∑(−𝟏)𝒏∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙) 𝒅𝒙 −∑(−𝟏)𝒏∫ 𝒙𝟐𝒏−𝟏 𝐥𝐧(𝒙) 𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏

 

𝑰 = 𝐥𝐧(𝟐) +
𝟑

𝟐
𝒍𝒏𝟐(𝟐) +

𝝅

𝟒
+
𝝅

𝟖
𝐥𝐧(𝟐) +∑(−𝟏)𝒏 [

𝐥𝐧⁡(𝟐)

𝟐𝒏
−
𝟏

𝟐𝒏
∫

𝒙𝟐𝒏

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

] + 𝟐∑
(−𝟏)𝒏

𝒏𝟐
+∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟏

∞

𝒏=𝟏

+
𝟏

𝟒
∑

(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

 

𝑰 = 𝐥𝐧(𝟐) + 𝒍𝒏𝟐(𝟐) +
𝝅

𝟒
+
𝝅

𝟖
𝐥𝐧(𝟐) +

𝟏

𝟐
∑

(−𝟏)𝒏𝑯𝟐𝒏
𝒏

∞

𝒏=𝟏

−
𝟏

𝟐
∑

(−𝟏)𝒏𝑯𝒏
𝒏

∞

𝒏=𝟏

+ 𝟐 [−
𝝅𝟐

𝟏𝟐
] + 𝑮 −

𝝅𝟐

𝟒𝟖
 

𝑰 = 𝑮 + 𝐥𝐧(𝟐) +
𝟕

𝟖
𝒍𝒏𝟐(𝟐) +

𝟓𝝅𝟐

𝟗𝟔
+
𝝅

𝟖
(𝟐 + 𝐥𝐧(𝟐))⁡ 

 
 

2481. Find a closed form: 
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∫
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧⁡(𝒙𝟐 +𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙

∞

𝟏

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Exodo Halcalias-Angola 

𝑰 = ∫
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙 =⏞

𝑰.𝑩.𝑷∞

𝟏

−
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒙𝟐 + 𝟏)

𝒙+ 𝟏

𝟏

𝟎
+ 𝟐∫

𝒙𝒍𝒏(𝒙 + 𝟏)

(𝒙𝟐 + 𝟏)(𝒙 + 𝟏)
𝒅𝒙⁡⁡⁡

∞

𝟏

 

𝑰 =
𝐥𝐧⁡(𝟐)

𝟐
+ 𝟐𝑰𝟏 + 𝑰𝟐 

𝑰𝟏 = ∫
𝒙𝒍𝒏(𝒙 + 𝟏)

(𝒙𝟐 + 𝟏)(𝒙 + 𝟏)
𝒅𝒙

∞

𝟏

=⏞

𝒙→
𝟏
𝒙

∫
𝐥𝐧⁡(𝒙 + 𝟏)

(𝒙𝟐 + 𝟏)(𝒙 + 𝟏)
𝒅𝒙 − ∫

𝐥𝐧⁡(𝒙)

(𝒙𝟐 + 𝟏)(𝒙 + 𝟏)
𝒅𝒙 =

𝟏

𝟐
∫
(𝒙 + 𝟏) 𝐥𝐧 (

𝟐
𝒙 + 𝟏)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝟏

𝟐
∫
𝒙𝒍𝒏(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

−
𝟏

𝟐
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 =

𝐥𝐧⁡(𝟐)

𝟐
∫

𝒙 + 𝟏

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫
(𝒙 + 𝟏)𝐥𝐧⁡(𝒙 + 𝟏)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝜷(𝟐)

𝟐
−
𝟑

𝟖
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

=
𝐥𝐧(𝟐)

𝟐
(
𝐥𝐧(𝟐)

𝟐
+
𝝅

𝟒
)−

𝟏

𝟐
∫
𝒙𝒍𝒏(𝒙 + 𝟏)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫
𝐥𝐧⁡(𝒙 + 𝟏)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝜷(𝟐)

𝟐
+
𝟑

𝟖
∫
𝐥𝐧⁡(𝒙 + 𝟏)

𝒙
𝒅𝒙 =

𝒍𝒏𝟐(𝟐)

𝟒
+
𝝅𝐥𝐧⁡(𝟐)

𝟖
−

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
(
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧(𝒙𝟐 + 𝟏)

𝟐
|
𝟏

𝟎

−
𝟏

𝟐
∫
𝐥𝐧(𝒙𝟐 + 𝟏)

𝒙 + 𝟏
𝒅𝒙) −

𝟏

𝟐
∫
𝐥𝐧(

𝟐
𝒙 + 𝟏)

𝒙𝟐 + 𝟏
𝒅𝒙 + 𝑮 −

𝟑

𝟖
∫ 𝒅𝑳𝒊𝟐(−𝒙) =

𝒍𝒏𝟐(𝟐)

𝟒
+
𝝅𝐥𝐧⁡(𝟐)

𝟖
−
𝒍𝒏𝟐(𝟐)

𝟒
+

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟒
∫
𝐥𝐧(𝒙𝟐 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 −

𝐥𝐧⁡(𝟐)

𝟒
∫

𝒅𝒙

𝒙𝟐 + 𝟏

𝟏

𝟎

𝟏

𝟎

+
𝑮

𝟐
−
𝟑𝑳𝒊𝟐(−𝟏)

𝟖

=
𝝅 𝐥𝐧(𝟐)

𝟖
+
𝟏

𝟒
∫

𝐥𝐧(𝟐𝒙𝟐 − 𝟐√𝟐𝒙 + 𝟐)

𝒙
𝒅𝒙 −

√𝟐

√𝟐
𝟐

𝝅 𝐥𝐧(𝟐)

𝟏𝟔
+
𝑮

𝟐
+
𝝅𝟐

𝟑𝟐
 

(∴ ⁡ 𝑳𝒊𝟐(𝒓, 𝜽) = −
𝟏

𝟐
∫
𝐥𝐧⁡(𝒙𝟐 − 𝟐𝒛𝒄𝒐𝒔𝜽 + 𝟏

𝒛
𝒅𝒛)⁡⁡

𝒓

𝟎

 

=
𝝅𝐥𝐧(𝟐)

𝟏𝟔
+
𝒍𝒏𝟐(𝟐)

𝟒
+
𝟏

𝟒
(
𝟏

𝟐
𝑳𝒊𝟐 (𝒄𝒐𝒔

𝟐 (
𝝅

𝟒
)) − (

𝝅

𝟐
−
𝝅

𝟒
)
𝟐

) +
𝑮

𝟐
+
𝝅𝟐

𝟑𝟐
= 

=
𝝅𝐥𝐧(𝟐)

𝟏𝟔
+
𝒍𝒏𝟐(𝟐)

𝟒
+
𝟏

𝟒
(
𝟏

𝟐
(
𝝅𝟐

𝟏𝟐
−
𝒍𝒏𝟐(𝟐)

𝟐
) −

𝝅𝟐

𝟏𝟔
)+

𝑮

𝟐
+
𝝅𝟐

𝟑𝟐
 

𝑰𝟏 =
𝝅 𝐥𝐧(𝟐)

𝟏𝟔
+
𝟑𝒍𝒏𝟐(𝟐)

𝟏𝟔
+
𝟓𝝅𝟐

𝟏𝟗𝟐
+
𝑮

𝟐
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𝑰𝟐 = ∫
𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙 =⏞

𝒙→
𝟏
𝒙∞

𝟏

∫
𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙

𝟏

𝟎

− 𝟐∫
𝐥𝐧⁡(𝒙)

(𝒙 + 𝟏)𝟐
𝒅𝒙 = −

𝐥𝐧(𝒙𝟐 + 𝟏)

𝒙 + 𝟏
|
𝟏

𝟎
+∫

𝒙+ 𝟏

𝒙𝟐 + 𝟏
𝒅𝒙 −∫

𝒅𝒙

𝒙 + 𝟏
+ 𝟐𝐥𝐧⁡(𝟐)

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑰𝟐 =
𝟑𝐥𝐧⁡(𝟐)

𝟐
+∫

𝒅𝒙

𝒙𝟐 + 𝟏
−
𝟏

𝟐
∫

𝒅𝒙

𝒙 + 𝟏
=
𝝅

𝟒
+ 𝐥𝐧⁡(𝟐)

𝟏

𝟎

𝟏

𝟎

 

𝑰 =
𝐥𝐧⁡(𝟐)

𝟐
+ 𝟐𝑰𝟏 + 𝑰𝟐 

𝑰 =
𝐥𝐧⁡(𝟐)

𝟐
+ 𝟐(

𝝅 𝐥𝐧(𝟐)

𝟏𝟔
+
𝟑𝒍𝒏𝟐(𝟐)

𝟏𝟔
+
𝟓𝝅𝟐

𝟏𝟗𝟐
+
𝑮

𝟐
) +

𝝅

𝟒
+ 𝐥𝐧⁡(𝟐) 

∴ ∫
𝐥𝐧(𝒙 + 𝟏) 𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙 + 𝟏)𝟐
𝒅𝒙 = 𝑮 +

∞

𝟏

𝟓𝝅𝟐

𝟗𝟔
+
𝟕𝒍𝒏𝟐(𝟐)

𝟖
+
𝝅 𝐥𝐧(𝟐)

𝟖
+
𝝅

𝟒
+ 𝐥𝐧⁡(𝟐) 

𝑮 → 𝒊𝒔⁡⁡𝒕𝒉𝒆⁡⁡𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕… 

 
2482. Prove that: 

∫ ∫
𝒍𝒏𝟐(𝒙)𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

𝒚(𝟏 + 𝒙𝟐)
𝒅𝒙 =

𝝅𝟑

𝟔𝟒
𝜻(𝟑)

∞

𝟎

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Ankush Kumar Parcha-India 
 

𝑾𝒆⁡⁡𝒉𝒂𝒗𝒆⁡; ⁡⁡∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎⏟          
𝑲

∫
𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

𝒚
𝒅𝒚

𝟏

𝟎⏟            
𝑵

(𝟏) 

𝑲 = ∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎

= ∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 + ∫

𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

∞

𝟏⏟        

𝒙→
𝟏
𝒙

𝟏

𝟎

= 𝟐∫
𝒍𝒏𝟐(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 =⏞

∴|𝒙|<1𝟏

𝟎

 

𝟐 ∑ (−𝟏)𝒏∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 =⏞
𝑵𝒐𝒕𝒆⁡⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏⁡⁡(𝟏)𝟏

𝟎𝒏∈𝑵∪{𝟎}

𝟒 ∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
= 𝟒𝜷(𝟐)⏟

𝝅𝟑

𝟑𝟐

= 𝟒.

𝒏∈𝑵∪{𝟎}

𝝅𝟑

𝟑𝟐

=
𝝅𝟑

𝟖
 

𝑵 = ∫
𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

𝒚

𝟏

𝟎

𝒅𝒚 =⏞
𝒚𝟐→𝒙𝟏

𝟐
∫
𝒍𝒏𝟐(𝟏 + 𝒙)

𝒙
𝒅𝒙 =

𝟏

𝟒
∫
𝟏

𝒙
𝒍𝒏𝟐 (

𝟏 − 𝒙

𝟏 + 𝒙
)𝒅𝒙

𝟏

𝟎⏟            
𝟏−𝒙
𝟏+𝒙→𝒙

𝟏

𝟎

+
𝟏

𝟒
∫
𝒍𝒏𝟐(𝟏 − 𝒙𝟐)

𝒙
𝒅𝒙

𝟏

𝟎⏟            
𝒙𝟐→𝒙

− 
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𝟏

𝟐
∫
𝒍𝒏𝟐(𝟏 − 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎⏟          
𝒙→𝟏−𝒙

=
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙 +

𝟏

𝟖

𝟏

𝟎

∫
𝒍𝒏𝟐(𝟏 − 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎⏟          
𝒙→𝟏−𝒙

−
𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙 =

𝟏

𝟎

 

𝟏

𝟐
∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

−
𝟑

𝟖
∫
𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟐
∑ ∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 −

𝟑

𝟖
∑ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙

𝒏∈𝑵

=⏞
𝑵𝒐𝒕𝒆⁡⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏⁡⁡(𝟏)𝟏

𝟎𝒏∈𝑵∪{𝟎}

 

∑
𝟏

(𝟐𝒏 + 𝟏)𝟑
−
𝟑

𝟒
∑

𝟏

𝒏𝟑
=
𝟕

𝟖
𝜻(𝟑) −

𝟑

𝟒
𝜻(𝟑) =

𝜻(𝟑)

𝟖
𝒏∈𝑵𝒏∈𝑵∪{𝟎}

 

⁡⁡∫
𝒍𝒏𝟐(𝒙)

(𝟏 + 𝒙𝟐)
𝒅𝒙

∞

𝟎⏟          
𝑲

∫
𝒍𝒏𝟐(𝟏 + 𝒚𝟐)

𝒚
𝒅𝒚

𝟏

𝟎⏟            
𝑵

=
𝝅𝟑

𝟖
⁡.
𝜻(𝟑)

𝟖
=
𝝅𝟑

𝟔𝟒
𝜻(𝟑) 

 
2483. Find a closed form: 

∫
𝒙𝒍𝒏(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Arowolo Isaiah-Nigeria 

𝑴 = ∫
𝒙𝒍𝒏(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

𝑴 =
𝟏

𝟐
∫
𝒙𝒍𝒏(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 +

𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑴 =⏞
𝒙→𝒙𝟐𝟏

𝟖
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 +

𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑴 = −
𝟑

𝟖
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 +

𝟏

𝟐
∫ 𝐥𝐧(𝒕𝒂𝒏(𝒙))𝒅𝒙

𝝅
𝟒

𝟎

𝟏

𝟎

 

𝑴 = −
𝟑

𝟖
(∫

𝐥𝐧(𝒙)

𝟏 − 𝒙
𝒅𝒙 + ∫

𝟐𝒙𝒍𝒏(𝒙)

𝟏 − 𝒙𝟐
𝒅𝒙) +

𝟏

𝟐
(−
𝟏

𝟐
𝑪𝑰𝟐 (

𝝅

𝟐
) −

𝟏

𝟎

𝟏

𝟎

𝟏

𝟐
𝑪𝑰𝟐 (

𝝅

𝟐
)) 

𝑴 = −
𝟑

𝟖
∫
𝐥𝐧(𝒙)

𝟏 − 𝒙
𝒅𝒙

𝟏

𝟎

+
𝟑

𝟏𝟔
∫
𝐥𝐧(𝒙)

𝟏 − 𝒙
𝒅𝒙 −

𝟏

𝟐
𝑪𝑰𝟐 (

𝝅

𝟐
)

𝟏

𝟎

→ 𝑴

= −
𝟑

𝟏𝟔
∫
𝐥𝐧(𝒙)

𝟏 − 𝒙
𝒅𝒙 −

𝟏

𝟐
𝑪𝑰𝟐 (

𝝅

𝟐
)

𝟏

𝟎

 

𝑴 = −
𝟑

𝟏𝟔
∑∫ 𝒙𝒏−𝟏 𝐥𝐧(𝒙)𝒅𝒙 −

𝑮

𝟐
→
𝟑

𝟏𝟔
∑

𝟏

𝒏𝟐
−
𝑮

𝟐

∞

𝒏=𝟏

𝟏

𝟎

∞

𝒏=𝟏
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𝑴 =
𝟑

𝟏𝟔
𝜻(𝟐) −

𝑮

𝟐
=
𝟑

𝟏𝟔
⁡.
𝝅𝟐

𝟔
−
𝑮

𝟐
=
𝝅𝟐

𝟑𝟐
−
𝑮

𝟐
 

 

2484. Find a closed form: 

∫ ∫
𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)𝒍𝒏𝟐(𝒚)

(𝒙𝟐 +𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Izumi Ainsworth-Japan 
 

𝑰 = ∫ ∫
𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)𝒍𝒏𝟐(𝒚)

(𝒙𝟐 + 𝟏)(𝒚 + 𝟏)
𝒅𝒙𝒅𝒚 = ∫

𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎⏟            
𝑰𝟏

∫
𝒍𝒏𝟐(𝒚)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎⏟        
𝑰𝟐

… (⍺)
𝟏

𝟎

𝟏

𝟎

 

𝑰𝟏 =⏞
𝒙𝟐→𝒙𝟏

𝟐
∫
√𝒙𝐥𝐧⁡(𝒙 + 𝟏)

𝒙 + 𝟏
𝒅𝒙 = −

𝟏

𝟐
∑(−𝟏)𝒏𝑯𝒏∫ 𝒙𝒏+

𝟏
𝟐𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

= −∑
(−𝟏)𝒏𝑯𝒏

𝟐𝒏 + 𝟑

∞

𝒏=𝟏

= 

∑
(−𝟏)𝒏 (𝑯𝒏 −

𝟏
𝒏
)

𝟐𝒏 + 𝟏
=
𝟏

𝟑
+∑

(−𝟏)𝒏𝑯𝒏

𝟐𝒏 + 𝟏
− (
𝟏

𝟑
+∑

(−𝟏)𝒏

𝒏(𝟐𝒏 + 𝟏)
) = 𝜷(𝟐)⏟

𝑮

−
𝝅 𝐥𝐧(𝟐)

𝟐
−

∞

𝒏=𝟏

∞

𝒏=𝟏

∞

𝒏=𝟏

 

∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏⏟      
−𝐥𝐧⁡(𝟐)

+ 𝟐∑
(−𝟏)𝒏

𝟐𝒏+ 𝟏

∞

𝒏=𝟏⏟      
𝝅
𝟒−𝟏

= 𝑮 −
𝝅 𝐥𝐧(𝟐)

𝟐
+ 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟐…⁡(𝜷) 

𝑰𝟐 = ∫
𝒍𝒏𝟐(𝒚)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎

= ∑(−𝟏)𝒏∫ 𝒚𝒏𝒍𝒏𝟐(𝒚)𝒅𝒚 = 𝟐∑
(−𝟏)𝒏−𝟏

𝒏𝟑

∞

𝒏=𝟏⏟        
𝜼(𝟑)

𝟏

𝟎

∞

𝒏=𝟎

=
𝟑𝜻(𝟑)

𝟐
…⁡(ᵧ) 

∗ (𝜷)⋀(ᵧ) → (⍺) 

𝑰 = ∫
𝒙𝟐𝐥𝐧⁡(𝒙𝟐 + 𝟏)

(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎⏟            
𝑰𝟏

∫
𝒍𝒏𝟐(𝒚)

(𝒚 + 𝟏)
𝒅𝒚

𝟏

𝟎⏟        
𝑰𝟐

=
𝟑𝜻(𝟑)

𝟐
(𝑮 −

𝝅 𝐥𝐧(𝟐)

𝟐
+ 𝐥𝐧(𝟐) +

𝝅

𝟐
− 𝟐) 

𝑰 =
𝟑

𝟒
𝜻(𝟑)(𝟐𝑮 + 𝝅 + 𝐥𝐧(𝟒) − 𝝅 𝐥𝐧(𝟐) − 𝟒) 

 

2485. Find a closed form: 

∫ ∫ (
𝐥𝐧(√𝒙)

𝒙
−
𝒍𝒏𝟑(𝒚 + 𝟏)

𝒚𝟑
)𝒅𝒙𝒅𝒚

𝝅

𝝅
𝟒

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Izumi Ainsworth-Japan 
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𝑰 = ∫
𝐥𝐧(√𝒙)

𝒙
𝒅𝒙

𝝅

𝝅
𝟒⏟        

𝑰𝟏

−
𝟑𝝅

𝟒
∫
𝒍𝒏𝟑(𝒚 + 𝟏)

𝒚𝟑
𝒅𝒚

𝟏

𝟎⏟            
𝑰𝟐

 

𝑰𝟏 = ∫
𝐥𝐧(√𝒙)

𝒙
𝒅𝒙

𝝅

𝝅
𝟒

=
𝟏

𝟐
∫

𝐥𝐧(𝒙)

𝒙
𝒅𝒙 =⏞

𝐥𝐧(𝒙)→𝒙⁡

⁡
𝝅

𝝅
𝟒

𝟏

𝟐
∫ 𝒙𝒅𝒙 =

𝒙𝟐

𝟒
|
𝐥𝐧(𝝅)

𝐥𝐧 (
𝝅
𝟒
)
=

𝐥𝐧(𝝅)⁡

𝐥𝐧(
𝝅
𝟒)

⁡⁡ 

=
𝒍𝒏𝟐(𝝅) − 𝒍𝒏𝟐 (

𝝅
𝟒
)⁡

𝟒
= 𝐥𝐧(𝟐) 𝐥𝐧 (

𝝅

𝟐
) 

𝑰𝟐 = ∫
𝒍𝒏𝟑(𝒚 + 𝟏)

𝒚𝟑
𝒅𝒚

𝟏

𝟎

=⏞

𝟏
𝟏+𝒚=𝒚

− ∫
𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚 = −∫

𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚

𝟏

𝟎⏟          
𝑰𝟑

+ ∫
𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚

𝟏
𝟐

𝟎⏟          
𝑰𝟒

𝟏

𝟏
𝟐

 

𝑰𝟑 = ∫
𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚

𝟏

𝟎

=
𝟏

𝟐
∑𝒏(𝒏 − 𝟏)∫ 𝒚𝒏−𝟏𝒍𝒏𝟑(𝒚)𝒅𝒚 = −𝟑∑

𝒏(𝒏 − 𝟏)

𝒏𝟒
=

∞

𝒏=𝟐

𝟏

𝟎

∞

𝒏=𝟐

 

= 𝟑∑(
𝟏

𝒏𝟑
−
𝟏

𝒏𝟐
)

∞

𝒏=𝟏

= 𝟑𝜻(𝟑) −
𝝅𝟐

𝟐
 

𝑰𝟒 = ∫
𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚

𝟏
𝟐

𝟎

=⏞

𝒚→
𝒚
𝟐

𝟐∫
𝒚𝒍𝒏𝟑 (

𝒚
𝟐
)

(𝟐 − 𝒚)𝟑
𝒅𝒚

𝟏

𝟎

= ∑
(𝒏 − 𝟏)(𝒏 − 𝟐)

𝟐𝒏
∫ 𝒚𝒏−𝟐(𝐥𝐧(𝒚) − 𝐥𝐧(𝟐))𝟑𝒅𝒚 =
𝟏

𝟎

∞

𝒏=𝟑

 

∑
(𝒏 − 𝟏)(𝒏 − 𝟐)

𝟐𝒏
(∫ 𝒚𝒏−𝟐𝒍𝒏𝟑(𝒚)𝒅𝒚

𝟏

𝟎

∞

𝒏=𝟑

− 𝟑𝐥𝐧⁡(𝟐)∫ 𝒚𝒏−𝟐𝒍𝒏𝟐(𝒚)𝒅𝒚 + 𝟑
𝟏

𝟎

𝒍𝒏𝟐(𝒚)∫ 𝒚𝒏−𝟐 𝐥𝐧(𝒚)𝒅𝒚 −
𝟏

𝟎

 

−𝒍𝒏𝟑(𝟐)∫ 𝒚𝒏−𝟐𝒅𝒚)
𝟏

𝟎

= ∑
(𝒏 − 𝟏)(𝒏 − 𝟐)

𝟐𝒏
(−

𝟑!

(𝒏 − 𝟏)𝟒
−
𝟑 𝐥𝐧(𝟐) 𝟐!

(𝒏 − 𝟏)𝟑

∞

𝒏=𝟑

−
𝟑𝒍𝒏𝟐(𝟐)

(𝒏 − 𝟏)𝟐
−
𝒍𝒏𝟑(𝟐)

𝒏 − 𝟏
) = 

−𝟔∑
𝒏− 𝟐

𝟐𝒏(𝒏 − 𝟏)𝟑

∞

𝒏=𝟑

− 𝟔 𝐥𝐧(𝟐)∑
𝒏 − 𝟐

𝟐𝒏(𝒏 − 𝟏)𝟐

∞

𝒏=𝟑

− 𝟑𝒍𝒏𝟐(𝟐)∑
𝒏 − 𝟐

𝟐𝒏(𝒏 − 𝟏)
− 𝒍𝒏𝟑(𝟐)∑

𝒏 − 𝟐

𝟐𝒏

∞

𝒏=𝟑

∞

𝒏=𝟑

= 
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= 𝟑∑(
(𝟏
𝟐
)
𝒏

𝒏𝟐
−
(𝟏
𝟐
)
𝒏

𝒏𝟑
)

∞

𝒏=𝟐

− 𝟑 𝐥𝐧(𝟐)∑(
(𝟏
𝟐
)
𝒏

𝒏
−
(𝟏
𝟐
)
𝒏

𝒏𝟐
) −

𝟑𝒍𝒏𝟐(𝟐)

𝟐
∑ (

𝟏

𝟐𝒏
−
(𝟏
𝟐
)
𝒏

𝒏
) −

𝒍𝒏𝟑(𝟐)

𝟒
∑

𝒏

𝟐𝒏

∞

𝒏=𝟏

∞

𝒏=𝟐

∞

𝒏=𝟐

= 

𝟑 [𝑳𝒊𝟑 (
𝟏

𝟐
) − 𝑳𝒊𝟐 (

𝟏

𝟐
)] − 𝟑 𝐥𝐧(𝟐) [𝑳𝒊𝟏 (

𝟏

𝟐
) − 𝑳𝒊𝟐 (

𝟏

𝟐
)] −

𝟑𝒍𝒏𝟐(𝟐)

𝟐
[𝟏 − 𝑳𝒊𝟏 (

𝟏

𝟐
)]

−
𝒍𝒏𝟑(𝟐)

𝟒
𝑳𝒊−𝟏 (

𝟏

𝟐
) = 

𝟑(
𝒍𝒏𝟐(𝟐)

𝟔
−
𝝅𝟐 𝐥𝐧(𝟐)

𝟏𝟐
+
𝟕

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
+
𝒍𝒏𝟐(𝟐)

𝟐
) − 𝟑 𝐥𝐧(𝟐) (𝐥𝐧(𝟐) −

𝝅𝟐

𝟏𝟐
+
𝒍𝒏𝟐(𝟐)

𝟐
)

−
𝟑𝒍𝒏𝟐(𝟐)

𝟐
+ 

+
𝟑𝒍𝒏𝟑(𝟐)

𝟐
−
𝒍𝒏𝟑(𝟐)

𝟐
=
𝟐𝟏

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
− 𝟑𝒍𝒏𝟐(𝟐) 

𝑰𝟏 = 𝐥𝐧(𝟐) 𝐥𝐧 (
𝝅

𝟐
) 

𝑰𝟐 = ∫
𝒍𝒏𝟑(𝒚 + 𝟏)

𝒚𝟑
𝒅𝒚

𝟏

𝟎

= −∫
𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚

𝟏

𝟎⏟          
𝑰𝟑

+∫
𝒚𝒍𝒏𝟑(𝒚)

(𝟏 − 𝒚)𝟑
𝒅𝒚

𝟏
𝟐

𝟎⏟          
𝑰𝟒

= −(𝟑𝜻(𝟑) −
𝝅𝟐

𝟐
) + 

+
𝟐𝟏

𝟖
𝜻(𝟑) −

𝝅𝟐

𝟒
− 𝟑𝒍𝒏𝟐(𝟐) = −

𝟑

𝟖
𝜻(𝟑) +

𝝅𝟐

𝟒
− 𝟑𝒍𝒏𝟐(𝟐) 

𝑰 = ∫
𝐥𝐧(√𝒙)

𝒙
𝒅𝒙

𝝅

𝝅
𝟒⏟        

𝑰𝟏

−
𝟑𝝅

𝟒
∫
𝒍𝒏𝟑(𝒚 + 𝟏)

𝒚𝟑
𝒅𝒚

𝟏

𝟎⏟            
𝑰𝟐

= 𝐥𝐧(𝟐) 𝐥𝐧 (
𝝅

𝟐
) −

𝟑𝝅

𝟒
(−

𝟑

𝟖
𝜻(𝟑) +

𝝅𝟐

𝟒
− 𝟑𝒍𝒏𝟐(𝟐))

=
𝟗

𝟑𝟐
𝝅(𝜻(𝟑) + 𝟖𝒍𝒏𝟐(𝟐)) + 𝐥𝐧(𝟐) 𝐥𝐧 (

𝝅

𝟐
) −

𝟑𝝅𝟑

𝟏𝟔
 

 

2486. Find a closed form: 

∫ 𝒙𝒏√𝟏 − 𝒙𝟐
𝟏

𝟎

𝒅𝒙 

Proposed by Marin Chirciu-Romania 
Solution by Shirvan Tahirov-Azerbaijan 
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𝑰 = ∫ 𝒙𝒏√𝟏 − 𝒙𝟐
𝟏

𝟎

𝒅𝒙 =⏞
𝒙→𝒙𝟐𝟏

𝟐
∫ 𝒙

𝒏
𝟐−
𝟏
𝟐

𝟏

𝟎

(𝟏 − 𝒙)
𝟏
𝟐𝒅𝒙 

𝑰 =
𝟏

𝟐
𝜷 (
𝒏 + 𝟏

𝟐
,
𝟑

𝟐
) =

𝟏

𝟐

𝜞 (
𝒏
𝟐
+
𝟏
𝟐
)𝜞(

𝟑
𝟐
)

𝜞 (
𝒏
𝟐
+ 𝟐)

=
𝟏

𝟐
.
√𝝅

𝟐
.
𝜞 (
𝒏
𝟐
+
𝟏
𝟐
)

𝜞 (
𝒏
𝟐
+ 𝟐)

=
√𝝅

𝟒
.
𝜞 (
𝒏
𝟐
+
𝟏
𝟐
)

𝜞(
𝒏
𝟐
+ 𝟐)

 

𝑰 = ∫ 𝒙𝒏√𝟏 − 𝒙𝟐
𝟏

𝟎

𝒅𝒙 =
√𝝅

𝟒
.
𝜞 (
𝒏
𝟐
+
𝟏
𝟐
)

𝜞 (
𝒏
𝟐
+ 𝟐)

 

2487. Find a closed form: 

∫
𝒅𝒙

𝒙𝟒 + 𝒙𝟐 + 𝟏

∞

𝟎

 

Proposed by Nguyen Hung Cuong-Vietnam 
Solution by Mirsadix Muzefferov-Azerbaijan 
 

𝒅𝒙

𝒙𝟒 + 𝒙𝟐 + 𝟏
=

𝟏

(𝒙𝟐 + 𝟏)𝟐 − 𝒙𝟐
=

𝟏

(𝒙𝟐 −𝒙 + 𝟏)(𝒙𝟐 + 𝒙+ 𝟏)
=

𝑨𝒙+ 𝑩

𝒙𝟐 −𝒙 + 𝟏
+

𝑪𝒙 + 𝑫

𝒙𝟐 + 𝒙+ 𝟏
= 

(𝑨 + 𝑪)𝒙𝟑 + (𝑨+ 𝑩− 𝑪 +𝑫)𝒙𝟐 + (𝑨+ 𝑩+ 𝑪 −𝑫)𝒙+ (𝑩+ 𝑫)

(𝒙𝟐 − 𝒙+ 𝟏)(𝒙𝟐 + 𝒙+ 𝟏)
 

{

𝑨 + 𝑪 = 𝟎
𝑨 + 𝑩− 𝑪 + 𝑫 = 𝟎
𝑨 + 𝑩+ 𝑪 − 𝑫 = 𝟎

𝑩 + 𝑫 = 𝟎

→

{
 
 
 

 
 
 

𝑨 + 𝑪 = 𝟎
𝑨 + 𝑩 = 𝟎
𝑩 + 𝑫 = 𝟎
𝑪 − 𝑫 = 𝟎

→

{
 
 
 

 
 
 𝑨 = −

𝟏

𝟐

𝑩 =
𝟏

𝟐

𝑪 =
𝟏

𝟐

𝑫 =
𝟏

𝟐

 

𝟏

𝒙𝟒 + 𝒙𝟐 + 𝟏
=
−
𝟏
𝟐
𝒙 +

𝟏
𝟐

𝒙𝟐 − 𝒙 + 𝟏
+

𝟏
𝟐
𝒙 +

𝟏
𝟐

𝒙𝟐 + 𝒙 + 𝟏
 

∫
𝒅𝒙

𝒙𝟒 + 𝒙𝟐 + 𝟏

∞

𝟎

= −
𝟏

𝟐
∫

𝒙 − 𝟏

𝒙𝟐 − 𝒙 + 𝟏
𝒅𝒙 +

𝟏

𝟐

∞

𝟎

∫
𝒙 + 𝟏

𝒙𝟐 + 𝒙 + 𝟏
𝒅𝒙 = −

𝟏

𝟒
∫

𝟐𝒙 − 𝟏

𝒙𝟐 − 𝒙 + 𝟏
𝒅𝒙 +

∞

𝟎

∞

𝟎

 

𝟏

𝟒
∫

𝟏

𝒙𝟐 − 𝒙 + 𝟏
𝒅𝒙 + ∫

𝟐𝒙 + 𝟏

𝒙𝟐 + 𝒙 + 𝟏
𝒅𝒙 +

∞

𝟎

∞

𝟎

𝟏

𝟒
∫

𝟏

𝒙𝟐 + 𝒙 + 𝟏
𝒅𝒙 =

∞

𝟎

 

−
𝟏

𝟒
∫

𝒅(𝒙𝟐 − 𝒙 + 𝟏)

𝒙𝟐 − 𝒙 + 𝟏
+
𝟏

𝟒
∫

𝒅(𝒙𝟐 + 𝒙 + 𝟏)

𝒙𝟐 + 𝒙 + 𝟏

∞

𝟎

∞

𝟎

+
𝟏

𝟒
∫

𝒅𝒙

(𝒙 −
𝟏
𝟐
)𝟐 +

𝟑
𝟒

+
𝟏

𝟒

∞

𝟎

∫
𝒅𝒙

(𝒙 +
𝟏
𝟐
)𝟐 +

𝟑
𝟒

=
∞

𝟎

 

𝟏

𝟒
(− 𝐥𝐧(𝒙𝟐 − 𝒙 + 𝟏) + 𝐥𝐧(𝒙𝟐 + 𝒙 + 𝟏)|

∞

𝟎
+
𝟏

𝟒
(∫

𝒅𝒙

(𝒙 −
𝟏
𝟐
)𝟐 +

𝟑
𝟒

+
∞

𝟎

∫
𝒅𝒙

(𝒙 +
𝟏
𝟐
)𝟐 +

𝟑
𝟒

) =
∞

𝟎
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𝟏

𝟒
(𝒍𝒏

𝒙𝟐 + 𝒙 + 𝟏

𝒙𝟐 − 𝒙 + 𝟏
)|
∞

𝟎
+
𝟏

𝟒
⁡.
𝟐

√𝟑
⁡(𝒂𝒓𝒄𝒕𝒂𝒏

𝒙 −
𝟏
𝟐

√𝟑
𝟐

+ 𝒂𝒓𝒄𝒕𝒂𝒏
𝒙 +

𝟏
𝟐

√𝟑
𝟐

)|
∞

𝟎
= 

=
𝟏

𝟒
𝐥𝐢𝐦
𝒙→∞

(
𝒙𝟐 + 𝒙 + 𝟏

𝒙𝟐 − 𝒙 + 𝟏
− 𝒍𝒏𝟏) +

√𝟑

𝟔
(
𝝅

𝟐
−
𝝅

𝟔
+
𝝅

𝟐
+
𝝅

𝟔
) = 𝟎 +

√𝟑

𝟔
. 𝝅 = 𝝅

√𝟑

𝟔
 

∫
𝒅𝒙

𝒙𝟒 + 𝒙𝟐 + 𝟏
= 𝝅

√𝟑

𝟔
⁡(𝒑𝒓𝒐𝒗𝒆𝒅)

∞

𝟎

 

2488. Find a closed form: 

∫
𝒅𝒙

𝒙√−𝒙𝟒 + 𝟑𝒙𝟐 −𝟐

√𝟐

𝟏

 

Proposed by Kader Tapsoba-Burkina Faso 
Solution by Mirsadix Muzefferov-Azerbaijan 
 

∫
𝒅𝒙

𝒙√−𝒙𝟒 + 𝟑𝒙𝟐 − 𝟐
=⏞

𝒙→
𝟏
𝒕√𝟐

𝟏

∫
−
𝟏
𝒕𝟐
𝒅𝒕

𝟏
𝒕
√−

𝟏
𝒕𝟒
+
𝟑
𝒕𝟐
− 𝟐

= ∫
𝒕𝒅𝒕

√−𝟐𝒕𝟒 + 𝟑𝒕𝟐 − 𝟏

𝟏

𝟏

√𝟐

=

𝟏

√𝟐

𝟏

 

=
𝟏

𝟐
∫

𝒅𝒕𝟐

√−𝟐𝒕𝟒 + 𝟑𝒕𝟐 − 𝟏
=⏞
𝒖→𝒕𝟐𝟏

𝟏

√𝟐

𝟏

𝟐
∫

𝒅𝒖

√−𝟐𝒖𝟐 + 𝟑𝒖 − 𝟏

𝟏

𝟏
𝟐

=⏞
𝒗=−𝟒𝒖+𝟑

 

{𝒗 = −𝟒𝒖+ 𝟑 → 𝒖 =
𝟑 − 𝒗

𝟒
→ 𝒅𝒖 = −

𝟏

𝟒
𝒅𝒗} 

= −𝟐𝒖𝟐 + 𝟑𝒖 − 𝟏 = −𝟐⁡.
(𝟑 − 𝒗)𝟐

𝟏𝟔
+ 𝟑.

𝟑 − 𝒗

𝟒
− 𝟏 = −

(𝟗 − 𝟔𝒗 + 𝒗𝟐)

𝟖
+
𝟗 − 𝟑𝒗

𝟒
− 𝟏 = 

=
−𝟗 − 𝒗𝟐 + 𝟔𝒗 + 𝟏𝟖 − 𝟔𝒗 − 𝟖

𝟖
=
𝟏 − 𝒗𝟐

𝟖
=
𝟏

𝟐
∫

−
𝟏
𝟒
𝒅𝒗

√𝟏 − 𝒗
𝟐

𝟖

−𝟏

𝟏

=
𝟏

𝟐
. (
𝟏

𝟒
) . √𝟖∫

𝒅𝒗

√𝟏 − 𝒗𝟐
=

𝟏

−𝟏

 

=
√𝟐

𝟒
.𝟐∫

𝒅𝒗

√𝟏 −𝒗𝟐

𝟏

𝟎

=
√𝟐

𝟐
(𝐚𝐫𝐜𝐬𝐢𝐧(𝒗)|

𝟏

𝟎
=
√𝟐

𝟐
(𝐚𝐫𝐜𝐬𝐢𝐧(𝟏)− 𝐚𝐫𝐜𝐬𝐢𝐧(𝟎)) =

𝝅√𝟐

𝟒
(𝒑𝒓𝒐𝒗𝒆𝒅) 

∫
𝒅𝒙

𝒙√−𝒙𝟒 + 𝟑𝒙𝟐 − 𝟐

√𝟐

𝟏

=
𝝅√𝟐

𝟒
 

 

2489. Find a closed form: 

∫
𝒅𝒙

𝒙𝟐 + 𝒙 + 𝟏 +√𝒙𝟒 + 𝟑𝒙𝟐 + 𝟏

𝟏

−𝟏

 

 
Proposed by Nguyen Hung Cuong-Vietnam 
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Solution by Mirsadix Muzefferov-Azerbaijan 
𝟏

𝒙𝟐 + 𝒙+ 𝟏+√𝒙𝟒 + 𝟑𝒙𝟐 +𝟏
=

𝒙𝟐 +𝒙 +𝟏 −√𝒙𝟒 +𝟑𝒙𝟐 +𝟏

(𝒙𝟐+ 𝒙+ 𝟏+ √𝒙𝟒+ 𝟑𝒙𝟐+ 𝟏)(𝒙𝟐 + 𝒙+ 𝟏− √𝒙𝟒+ 𝟑𝒙𝟐+ 𝟏)
= 

 

𝒙𝟐+𝒙+𝟏− √𝒙𝟒+ 𝟑𝒙𝟐+𝟏

(𝒙𝟐+𝒙+𝟏)
𝟐
− (𝒙𝟒+𝟑𝒙𝟐 +𝟏)

=
𝒙𝟐+𝒙+𝟏− √𝒙𝟒+𝟑𝒙𝟐 +𝟏

𝒙𝟒 + 𝒙𝟐 + 𝟏 + 𝟐𝒙𝟑 + 𝟐𝒙𝟐 + 𝟐𝒙 − 𝒙𝟒−𝟑𝒙𝟐 −𝟏
= 

 

=
𝒙𝟐+𝒙+𝟏− √𝒙𝟒+𝟑𝒙𝟐 +𝟏

𝟐𝒙(𝒙𝟐 + 𝟏)
=
𝟏

𝟐𝒙
+

𝟏

𝟐(𝒙𝟐 + 𝟏)
−
√𝒙𝟒+𝟑𝒙𝟐 +𝟏
𝟐𝒙(𝒙𝟐 + 𝟏)

 

∫ (
𝟏

−𝟏

𝟏

𝟐𝒙
+

𝟏

𝟐(𝒙𝟐 + 𝟏)
−
√𝒙𝟒 +𝟑𝒙𝟐+𝟏
𝟐𝒙(𝒙𝟐 + 𝟏)

)𝒅𝒙 =
𝟏

𝟐
∫

𝟏

𝒙
𝒅𝒙 +

𝟏

𝟐
∫

𝒅𝒙

𝒙𝟐 + 𝟏
−
𝟏

𝟐

𝟏

−𝟏

𝟏

−𝟏

∫
√𝒙𝟒 +𝟑𝒙𝟐+𝟏

𝒙(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

−𝟏

 

𝒇(𝒙) =
𝟏

𝒙
⁡⁡ , 𝒈(𝒙) =

√𝒙𝟒+ 𝟑𝒙𝟐+𝟏
𝒙(𝒙𝟐 + 𝟏)

→ 𝒇(𝒙)⁡⁡𝒂𝒏𝒅⁡⁡𝒈(𝒙)⁡𝒐𝒅𝒅⁡⁡𝒇𝒖𝒏𝒄𝒕𝒊𝒐𝒏 

∫
𝟏

𝒙
𝒅𝒙 = 𝟎⁡⁡, ∫

√𝒙𝟒 +𝟑𝒙𝟐+𝟏
𝒙(𝒙𝟐 + 𝟏)

𝒅𝒙 = 𝟎
𝟏

−𝟏

𝟏

−𝟏

 

𝟏

𝟐
∫

𝟏

𝒙
𝒅𝒙 +

𝟏

𝟐
∫

𝒅𝒙

𝒙𝟐 + 𝟏
−
𝟏

𝟐

𝟏

−𝟏

𝟏

−𝟏

∫
√𝒙𝟒+ 𝟑𝒙𝟐+𝟏

𝒙(𝒙𝟐 + 𝟏)
𝒅𝒙 = 𝟎 +

𝟏

𝟐
∫

𝒅𝒙

𝒙𝟐 + 𝟏
− 𝟎 =

𝐚𝐫𝐜𝐭𝐚𝐧⁡(𝒙)

𝟐
|

𝟏

−𝟏

𝟏

−𝟏

𝟏

−𝟏
= 

=
𝟏

𝟐
(𝐚𝐫𝐜𝐭𝐚𝐧(𝟏) − 𝐚𝐫𝐜𝐭𝐚𝐧(−𝟏)) =

𝟏

𝟐
(
𝝅

𝟒
+
𝝅

𝟒
) =

𝝅

𝟒
 

∫
𝒅𝒙

𝒙𝟐 + 𝒙 + 𝟏 + √𝒙𝟒 + 𝟑𝒙𝟐 + 𝟏

𝟏

−𝟏

=
𝝅

𝟒
 

 

2490. Find a closed form: 

∫
𝒅𝒙

𝒙𝟐 + 𝒙√𝒙

𝟒

𝟏

 

 
Proposed by Nguyen Hung Cuong-Vietnam 

Solution by Mirsadix Muzefferov-Azerbaijan 
 

𝑳𝒆𝒕⁡⁡√𝒙 = 𝒕 → 𝒅𝒕 =
𝒅𝒙

𝟐√𝒙
, ∫

𝟐𝒕

𝒕𝟒 + 𝒕𝟑
𝒅𝒕 = 𝟐∫

𝒅𝒕

𝒕𝟑 + 𝒕𝟐

𝟐

𝟏

𝟐

𝟏

 

𝟏

𝒕𝟑 + 𝒕𝟐
=

𝟏

𝒕𝟐(𝒕 + 𝟏)
=
𝑨𝒕 + 𝑩

𝒕𝟐
+

𝑪

𝒕 + 𝟏
 

(𝑨𝒕 + 𝑩)(𝒕 + 𝟏) + 𝑪𝒕𝟐 = 𝟏,⁡⁡⁡𝑨𝒕𝟐 + 𝑨𝒕 + 𝑩𝒕 + 𝑩 + 𝑪𝒕𝟐 = 𝟏 

(𝑨 + 𝑩)𝒕𝟐+ (𝑨+𝑩)𝒕 +𝑩 = 𝟏,  {
𝑨 + 𝑪 = 𝟏
𝑨 + 𝑩 = 𝟎
𝑩 = 𝟏

→⁡ {
𝑨 = −𝟏
𝑩 = 𝟏
𝑪 = 𝟏

 

𝑻𝒉𝒆𝒏 ∶ ⁡⁡
𝟏

𝒕𝟑 + 𝒕𝟐
=
−𝒕 + 𝟏

𝒕𝟐
+

𝟏

𝒕 + 𝟏
= −

𝟏

𝒕
+
𝟏

𝒕𝟐
+

𝟏

𝒕 + 𝟏
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𝟐∫
𝒅𝒕

𝒕𝟑 + 𝒕𝟐

𝟐

𝟏

= 𝟐∫ (
𝟐

𝟏

−
𝟏

𝒕
+
𝟏

𝒕𝟐
+

𝟏

𝒕 + 𝟏
)𝒅𝒕 = 𝟐 (𝐥𝐧 (

𝒕 + 𝟏

𝒕
−
𝟏

𝒕
))|

𝟏

𝟐
= 

= 𝟐((𝐥𝐧 (
𝟑

𝟐
) −

𝟏

𝟐
) − (𝐥𝐧(𝟐) − 𝟏)) = 𝟐𝐥𝐧⁡((

𝟑

𝟒
) +

𝟏

𝟐
) = 𝟐𝐥𝐧⁡(

𝟑

𝟒
) + 𝟏 

∫
𝒅𝒙

𝒙𝟐 + 𝒙√𝒙
=

𝟒

𝟏

𝟐𝐥𝐧⁡(
𝟑

𝟒
) + 𝟏 

 
 
2491. Prove that: 

∫ 𝒍𝒏𝟐 (𝐜𝐨𝐬(
𝒙

𝟐
)) 𝒅𝒙 = 𝟐𝝅𝒍𝒏𝟐(𝟐) +

𝝅𝟑

𝟔

𝝅

−𝝅

 

Proposed by Nguyen Hung Cuong-Vietnam 
Solution by Shirvan Tahirov-Azerbaijan 
 

∫ 𝒍𝒏𝟐 (𝐜𝐨𝐬 (
𝒙

𝟐
)) 𝒅𝒙

𝝅

−𝝅

= 𝟒∫
𝒍𝒏𝟐(𝟐)

√𝟏 − 𝒙𝟐
𝒅𝒙 = ∫ 𝐥𝐢𝐦

𝒂→𝟎

𝝏𝟐

𝝏𝟐𝒂

𝒙𝒂

√𝟏 − 𝒙𝟐
𝒅𝒙 = 𝐥𝐢𝐦

𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
∫

𝒙𝒂

√𝟏 − 𝒙𝟐
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

{𝒙𝟐 = 𝒕,
𝒅𝒕

𝒅𝒙
= 𝟐𝒙 = 𝟐√𝒕} 𝐥𝐢𝐦

𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
∫

𝒕
𝒂
𝟐

√𝟏 − 𝒕

𝒅𝒕

𝟐√𝒕
=
𝟏

𝟐

𝟏

𝟎

𝐥𝐢𝐦
𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
∫

𝒕
𝒂−𝟏
𝟐

√𝟏 − 𝒕
𝒅𝒕 =

𝟏

𝟎

 

𝟏

𝟐
𝐥𝐢𝐦
𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
∫ 𝒕

𝒂+𝟏
𝟐 −𝟏(𝟏 − 𝒕)

𝟏
𝟐−𝟏𝒅𝒕 =

𝟏

𝟐

𝟏

𝟎

𝐥𝐢𝐦
𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
𝜷 (
𝒂 + 𝟏

𝟐
;
𝟏

𝟐
)

=
𝟏

𝟐
𝐥𝐢𝐦
𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
(
𝜞(
𝒂 + 𝟏
𝟐

)𝜞 (
𝟏
𝟐
)

𝜞 (
𝒂
𝟐
+ 𝟏)

) = 

√𝝅

𝟐
𝐥𝐢𝐦
𝒂→𝟎⁡

𝝏𝟐

𝝏𝟐𝒂
(
𝜞(
𝒂 + 𝟏
𝟐

)

𝜞(
𝒂
𝟐
+ 𝟏)

) =
√𝝅

𝟐
𝐥𝐢𝐦
𝒂→𝟎

𝜞 (
𝒂 + 𝟏
𝟐

)

𝟒𝜞 (
𝒂
𝟐
+ 𝟏)

((𝝍(𝟎) (
𝒂

𝟐
+ 𝟏) − 𝝍(𝟎) (

𝒂 + 𝟏

𝟐
)))

𝟐

−𝝍(𝟏)(𝟏) + 

+𝝍(𝟏) (
𝟏

𝟐
) =

√𝝅

𝟖

𝜞 (
𝟏
𝟐
)

𝜞(𝟏)
((𝝍(𝟎)(𝟏) − 𝝍(𝟎) (

𝟏

𝟐
)))

𝟐

−𝝍(𝟏)(𝟏) + 𝝍(𝟏) (
𝟏

𝟐
) = 

√𝝅

𝟖
((𝝏 − (−𝝏 − 𝟐 𝐥𝐧(𝟐)))𝟐 −

𝝅𝟐

𝟔
+
𝝅𝟐

𝟐
) = 𝟒⁡.

𝝅

𝟖
(𝟒𝒍𝒏𝟐(𝟐) +

𝝅𝟐

𝟑
) = 𝟐𝝅𝒍𝒏𝟐(𝟐) +

𝝅𝟑

𝟔
 

 
2492. Find a closed form: 

∫
𝒙√𝒙 − 𝟏

𝒙 − 𝟓
𝒅𝒙

𝟐

𝟏
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Proposed by Nguyen Hung Cuong-Vietnam 
Solution by Mirsadix Muzefferov-Azerbaijan 
 

∫
𝒙√𝒙 − 𝟏

𝒙 − 𝟓
𝒅𝒙 =⏞

√𝒙−𝟏→𝒕𝟐

𝟏

∫
𝟐𝒕𝟐(𝒕𝟐 + 𝟏)

𝒕𝟐 − 𝟒
𝒅𝒕 = 𝟐∫

𝒕𝟒 + 𝒕𝟐

𝒕𝟐 − 𝟒
𝒅𝒕

𝟏

𝟎

𝟏

𝟎

= 

𝑳𝒆𝒕⁡ ∶ ⁡ √𝒙 − 𝟏 → 𝒕 => 𝑥 = 𝒕𝟐 + 𝟏 => 𝑑𝑥 = 2𝒕𝒅𝒕⁡ 

= 𝟐(∫ (𝒕𝟐 + 𝟓 −
𝟐𝟎

𝟒 − 𝒕𝟐
) 𝒅𝒕 = 𝟐 ((

𝒕𝟑

𝟑
+ 𝟓𝒕)|

𝟏

𝟎
− 𝟐𝟎⁡.

𝟏

𝟒
𝒍𝒏 |

𝟐 + 𝒕

𝟐 − 𝒕
||
𝟏

𝟎
) =⁡

𝟏

𝟎

 

= 𝟐 ((
𝟏

𝟑
+ 𝟓) − 𝟓(𝐥𝐧(𝟑) − 𝐥𝐧(𝟏))) = 𝟐(

𝟏𝟔

𝟑
− 𝟓 𝐥𝐧(𝟑)) =

𝟑𝟐

𝟑
− 𝟏𝟎𝐥𝐧⁡(𝟑) 

∫
𝒙√𝒙 − 𝟏

𝒙 − 𝟓
𝒅𝒙 =

𝟑𝟐

𝟑
− 𝟏𝟎 𝐥𝐧(𝟑)⁡⁡(𝒑𝒓𝒐𝒗𝒆𝒅)

𝟐

𝟏

 

2493. Find a closed form: 

∫
𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution by Ankush Kumar Parcha-India 
 

∫
𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙 =⏞

𝑷𝒂𝒓𝒕𝒊𝒂𝒍⁡⁡𝒇𝒓𝒂𝒄𝒕𝒊𝒐𝒏𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙 +

𝟏

𝟐
∫
𝒙𝒍𝒏(𝒙)

𝟏 + 𝒙𝟐
𝒅𝒙

𝟏

𝟎⏟        
𝒙𝟐→𝒙

𝟏

𝟎

𝟏

𝟎

− 

𝟏

𝟐
∫
𝐥𝐧⁡(𝒙)

𝟏 + 𝒙
𝒅𝒙 =⏞

𝑵𝒐𝒕𝒆⁡⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏𝟏

𝟎

−
𝑮

𝟐
−
𝟑

𝟖
∫
𝐥𝐧⁡(𝒙)

𝟏 + 𝒙
𝒅𝒙 = −

𝑮

𝟐
+
𝟑

𝟖
𝜼(𝟐) =

𝟏

𝟎

 

= −
𝑮

𝟐
+
𝟑

𝟏𝟔
𝜻(𝟐) =

𝝅𝟐

𝟑𝟐
−
𝑮

𝟐
 

∫
𝒙𝒍𝒏(𝒙)

(𝟏 + 𝒙)(𝟏 + 𝒙𝟐)
𝒅𝒙 =

𝟏

𝟎

𝝅𝟐

𝟑𝟐
−
𝑮

𝟐
 

𝑵𝒐𝒕𝒆⁡⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏 ∶ 

𝟏)∫
𝐥𝐧 (

𝟏
𝒕
)

𝟏 + 𝒕𝟐
𝒅𝒕 = 𝑮⁡⁡(𝑪𝒂𝒕𝒂𝒍𝒂𝒏′𝒔⁡⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕)

𝟏

𝟎

 

𝟐)⁡𝜼(𝒛) =
(−𝟏)𝒛−𝟏

𝜞(𝒛)
∫
𝒍𝒏𝒛−𝟏(𝒙)

𝟏 + 𝒙
𝒅𝒙,⁡⁡⁡𝕽(𝒛) > 0

𝟏

𝟎

 

𝟑)⁡𝜼(𝒔) = (𝟏 − 𝟐𝟏−𝒔). 𝜻(𝒔) 

 
2494. Find a closed form: 



 
www.ssmrmh.ro 

124 RMM-CALCULUS MARATHON 2401-2500 

 

𝛀 = ∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 
Solution 1 by Exodo Halcalias-Angola 
 

∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝟐 𝐥𝐧(𝒙)

𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑
𝒅𝒙 +

𝟏

𝟒
∫

𝒍𝒏𝟐(√𝒙)

𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 = 

∫
(𝟏 − 𝒙)𝒙𝟐 𝐥𝐧(𝒙)

(𝟏 − 𝒙)(𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑)
𝒅𝒙 +

𝟏

𝟒

𝟏

𝟎

∫
(𝟏 − 𝒙)𝒍𝒏𝟐(√𝒙)

(𝟏 − 𝒙)(𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑)
𝒅𝒙 =

𝟏

𝟎

 

∫
(𝟏 − 𝒙)𝒙𝟐 𝐥𝐧(𝒙)

𝟏 − 𝒙𝟒
𝒅𝒙

𝟏

𝟎

+
𝟏

𝟒
∫
(𝟏 − 𝒙)𝒍𝒏𝟐(√𝒙)

𝟏 − 𝒙𝟒
𝒅𝒙 =

𝟏

𝟏𝟔
(∫

𝒙
𝟑
𝟒−𝟏𝐥𝐧⁡(𝒙)

𝟏 − 𝒙
𝒅𝒙 − ∫

𝐥𝐧⁡(𝒙)

𝟏 − 𝒙
𝒅𝒙) +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐𝟓𝟔
(∫

𝒙
𝟏
𝟒−𝟏𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙 − ∫

𝒙
𝟏
𝟐−𝟏𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙)

𝟏

𝟎

𝟏

𝟎

 

{∴ ∫
𝒛𝒏−𝟏𝒍𝒏𝒌(𝒛)

𝟏 − 𝒛
𝒅𝒛 = −𝝍(𝒌)(𝒏),⩝ 𝒌 ∈ 𝑵

𝟏

𝟎

} 

=
𝟏

𝟏𝟔
(−𝝍(𝟏) (

𝟑

𝟒
) + 𝝍(𝟏)(𝟏)) +

𝟏

𝟐𝟓𝟔
(−𝝍(𝟐) (

𝟏

𝟒
) + 𝝍(𝟐) (

𝟏

𝟐
)) 

{∴ 𝝍(𝒌)(𝒏) = (−𝟏)𝒌+𝟏𝜞(𝒌 + 𝟏)⁡𝜻(𝒌 + 𝟏, 𝒏)} 

=
𝟏

𝟏𝟔
(−(𝝅𝟐 − 𝟖𝑮) +

𝝅𝟐

𝟔
) +

𝟏

𝟐𝟓𝟔
(−(−𝟐𝝅𝟑 − 𝟓𝟔𝜻(𝟑)) − 𝟏𝟒𝜻(𝟑)) 

=
𝟏

𝟏𝟔
(𝟖𝑮 −

𝟓𝝅𝟐

𝟔
) +

𝟏

𝟐𝟓𝟔
(𝟒𝟐𝜻(𝟑) + 𝟐𝝅𝟑) 

∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝑮

𝟐
+
𝟐𝟏𝜻(𝟑)

𝟏𝟐𝟖

𝟏

𝟎

+
𝝅𝟑

𝟏𝟐𝟖
−
𝟓𝝅𝟐

𝟗𝟔
 

 

Solution 2 by Cosghun Memmedov-Azerbaijan 
 

Ω = ∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝟐 𝐥𝐧(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 + ∫

𝐥𝐧⁡(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 = Ω𝟏 +

𝟏

𝟎

𝟏

𝟎

Ω𝟐 

Ω𝟏 = ∫
𝒙𝟐 𝐥𝐧(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝟏

𝟐
∫
𝒙𝒍𝒏(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝟏

𝟐
∫
𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎
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𝟏

𝟐
∑(−𝟏)𝒏∫ 𝒙𝟐𝒏+𝟏 𝐥𝐧(𝒙)𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟎

−
𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙)𝒅𝒙 +
𝟏

𝟐
∑(−𝟏)𝒏∫ 𝒙⁡𝒏 𝐥𝐧(𝒙) 𝒅𝒙 =

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

−
𝟏

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟐)𝟐

∞

𝒏=𝟎

+
𝟏

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
−
𝟏

𝟐
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

=
𝑮

𝟐
−
𝟓

𝟖
𝜼(𝟐) =

𝑮

𝟐
−
𝟓𝝅𝟐

𝟗𝟔
 

Ω𝟐 = ∫
𝐥𝐧⁡(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

=
𝟏

𝟒
∫

𝐥𝐧⁡(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝟏

𝟖
∫
𝒍𝒏𝟐(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟖
∫
𝒙𝒍𝒏𝟐(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟖
∫
𝒍𝒏𝟐(𝒙)

𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟖
∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 −
𝟏

𝟖
∑(−𝟏)𝒏∫ 𝒙⁡𝟐𝒏+𝟏 𝐥𝐧(𝒙)𝒅𝒙 +

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

𝟏

𝟖
∑(−𝟏)𝒏∫ 𝒙⁡𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 =

𝟏

𝟒

𝟏

𝟎

∞

𝒏=𝟏

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
−
𝟏

𝟑𝟐
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
+
𝟏

𝟒
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
=

∞

𝒏=𝟎

∞

𝒏=𝟎

∞

𝒏=𝟎

 

=
𝟏

𝟒
⁡.⁡⁡
𝝅𝟑

𝟑𝟐
+
𝟕

𝟑𝟐
⁡.
𝟑

𝟒
𝜻(𝟑) =

𝝅𝟑

𝟏𝟐𝟖
+
𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) 

Ω = Ω𝟏 + Ω𝟐 =
𝑮

𝟐
+
𝝅𝟑

𝟏𝟐𝟖
+
𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) −

𝟓𝝅𝟐

𝟗𝟔
 

 

2495. Find a closed form: 

∫
𝒙𝟑𝐥𝐧⁡(𝒙)

𝒙𝟒 + 𝟏
𝒅𝒙

𝟏

𝟎

 

Proposed by Vasile Mircea Popa-Romania 
Solution by Shirvan Tahirov-Azerbaijan 
 

∫
𝒙𝟑𝐥𝐧⁡(𝒙)

𝒙𝟒 + 𝟏
𝒅𝒙 𝒙⏟

𝟒𝒙𝟑𝒅𝒙=𝒅𝒖

⏞    
𝒙𝟒=𝒖𝟏

𝟎

𝟏

𝟒
∫
𝐥 𝐧(𝒖)

𝟏 + 𝒖
⁡
𝒅𝒖

𝟒

𝟏

𝟎

=
𝟏

𝟏𝟔
∫
𝐥𝐧⁡(𝒖)

𝟏 + 𝒖
𝒅𝒖 =

𝟏

𝟏𝟔
∫ 𝐥𝐧⁡(𝒖)∑(−𝟏)𝒌𝒖𝒌𝒅𝒖 =

∞

𝒌=𝟎

𝟏

𝟎

𝟏

𝟎

 

=
𝟏

𝟏𝟔
∫ ∑(−𝟏)𝒌𝒖𝒌𝐥𝐧⁡(𝒖)𝒅𝒖 =

𝟏

𝟏𝟔
∑(−𝟏)𝒌∫ 𝒖𝒌𝐥𝐧⁡(𝒖)𝒅𝒖 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

∞

𝒌=𝟎

∞

𝒌=𝟎

𝟏

𝟎

 

=
𝟏

𝟏𝟔
∑(−𝟏)𝒌 [

𝐥𝐧(𝒖) . 𝒖𝒌+𝟏

𝒌 + 𝟏
|
𝟏

𝟎
− ∫

𝒖𝒌+𝟏

𝒌 + 𝟏

𝒅𝒖

𝒖

𝟏

𝟎

] =
𝟏

𝟏𝟔
∑

(−𝟏)𝒌

𝒌 + 𝟏
∫ 𝒖𝒌𝒅𝒖 =
𝟏

𝟎

∞

𝒌=𝟎

∞

𝒌=𝟎
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=
𝟏

𝟏𝟔
⁡.⁡⁡(−∑

(−𝟏)𝒌

𝒌 + 𝟏
(
𝒖𝒌+𝟏

𝒌 + 𝟏
|
𝟏

𝟎
)) =

𝟏

𝟏𝟔
⁡.⁡⁡(−∑

(−𝟏)𝒌

(𝒌 + 𝟏)𝟐

∞

𝒌=𝟎

) =

∞

𝒌=𝟎

𝟏

𝟏𝟔
. (−𝜼(𝟐)) = 

=
𝟏

𝟏𝟔
⁡. (−

𝜻(𝟐)

𝟐
) =

𝟏

𝟏𝟔
⁡. (−

𝝅𝟐

𝟏𝟐
) = −

𝝅𝟐

𝟏𝟗𝟐
 

𝑵𝒐𝒕𝒆 ∶ ⁡ 𝜼(𝒔) = ∑
(−𝟏)𝒌−𝟏

𝒌𝒔

∞

𝒌=𝟏

⁡,⁡⁡⁡𝜼(𝒔) = (𝟏 − 𝟐𝟏−𝒔)𝜻(𝒔)  

 

2496. Find a closed form: 

∫
𝒙𝟑𝐥𝐧⁡(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙

𝟏

𝟎

 

Proposed by Vasile Mircea Popa-Romania 
Solution by Arowolo Isaiah-Nigeria 
 

∫
𝒙𝟑𝐥𝐧⁡(𝒙)

𝒙𝟐 +𝟏
𝒅𝒙 =⏞

𝒙→𝒙𝟐 𝟏

𝟒
∫
𝒙𝒍𝒏 (𝒙

𝟏
𝟐)

𝒙 + 𝟏
𝒅𝒙 =

𝟏

𝟒
∫
𝒙𝒍𝒏(𝒙)

𝒙 + 𝟏
𝒅𝒙 =

𝟏

𝟒
∑(−𝟏)𝒏∫ 𝒙𝒏+𝟏 𝐥𝐧(𝒙)𝒅𝒙 =⏞

𝒙=𝒏+𝟏𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

𝟏

𝟎

⁡
𝟏

𝟎

 

=
𝟏

𝟒
∑(−𝟏)𝒏

𝝏

𝝏𝒙
∫ 𝒙𝒏𝒅𝒙 =

𝟏

𝟒
∑(−𝟏)𝒏

𝝏

𝝏𝒙

∞

𝒏=𝟎

𝟏

𝟎

∞

𝒏=𝟎

(
𝟏

𝒙 + 𝟏
) =

𝟏

𝟒
∑(−𝟏)𝒏 ∙ (−

𝟏

(𝒏 + 𝟐)𝟐
) =

∞

𝒏=𝟎

 

= −
𝟏

𝟒
∑

(−𝟏)𝒏

(𝒏 + 𝟐)𝟐
= −

𝟏

𝟒

∞

𝒏=𝟎

(
𝟏

𝟒
(𝝍(𝟏)(𝟏) − 𝝍(𝟏) (

𝟑

𝟐
))) = 

𝟏

𝟏𝟔
(𝝍(𝟏)(𝟏) − 𝝍(𝟏) (

𝟑

𝟐
)) = −

𝟏

𝟏𝟔
(𝟒 −

𝝅𝟐

𝟑
) =

𝝅𝟐

𝟒𝟖
−
𝟏

𝟒
 

 

2497. Find a closed form: 

∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙) + 𝐚𝐫𝐜𝐜𝐨𝐬⁡(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

Proposed by Ankush Kumar Parcha-India 
Solution by Amin Hajiyev-Azerbaijan 
 

∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙) + 𝐚𝐫𝐜𝐜𝐨𝐬⁡(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = ∫ ∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙𝒚
𝒅𝒙𝒅𝒚 +∫ ∫

𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = 𝑴 +𝑲

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝑴 = ∫ ∫
𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = ∫

𝟏

√𝒚
𝒅𝒚∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙
𝒅𝒙 = 𝟐∫

𝐚𝐫𝐜𝐬𝐢𝐧(𝒙)

√𝒙
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟐|
𝟏

𝟎
𝟐√𝒙𝐚𝐫𝐜𝐬𝐢𝐧(𝒙) − 𝟒∫

√𝒙

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎
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𝑲 = ∫ ∫
𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)

√𝒙𝒚
𝒅𝒙𝒅𝒚 = ∫

𝐚𝐫𝐜𝐜𝐨𝐬⁡(𝒚)

√𝒚
𝒅𝒚∫

𝟏

√𝒙
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟐∫
𝐚𝐫𝐜𝐜𝐨𝐬(𝒚)

√𝒚
𝒅𝒙 =⏞

𝑰.𝑩.𝑷𝟏

𝟎

 

𝟐|
𝟏

𝟎
𝟐√𝒙𝐚𝐫𝐜𝐜𝐨𝐬(𝒚) + 𝟒∫

√𝒚

√𝟏 − 𝒚𝟐
𝒅𝒚 =

𝟏

𝟎

𝟒∫
√𝒚

√𝟏 − 𝒚𝟐
𝒅𝒚

𝟏

𝟎

 

𝑴+𝑲 = 𝟐𝝅 − 𝟒∫
√𝒙

√𝟏 − 𝒙𝟐
𝒅𝒙

𝟏

𝟎

+ 𝟒∫
√𝒚

√𝟏 − 𝒚𝟐
𝒅𝒚

𝟏

𝟎

= 𝟐𝝅 

 
2498. Find a closed form: 

∫
𝐥𝐧(𝒙) − 𝟒

(𝟏 − 𝒍𝒏𝟐(𝒙))
𝒅𝒙

𝒆𝟑

𝒆𝟐
 

Proposed by Nguyen Hung Cuong-Vietnam 
Solution by Arowolo Isaiah-Nigeria 
 

∫
𝐥𝐧(𝒙) − 𝟒

(𝟏 − 𝒍𝒏𝟐(𝒙))
𝒅𝒙

𝒆𝟑

𝒆𝟐
=⏞
𝒙=𝒆𝒙

∫
𝒙 − 𝟒

(𝟏 − 𝒙𝟐)⁡
𝒅𝒙 =

𝟏

𝟐
∫
𝒙 − 𝟒

𝒙 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫
𝒙 − 𝟒

𝒙 − 𝟏
𝒅𝒙 =

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

 

𝟏

𝟐
∫
𝒙 + 𝟏 − 𝟓

𝒙 + 𝟏
𝒅𝒙

𝟑

𝟐

−
𝟏

𝟐
∫
𝒙 − 𝟏 − 𝟑

𝒙 − 𝟏
𝒅𝒙 =

𝟏

𝟐
∫ 𝒅𝒙 −

𝟓

𝟐
∫

𝒅𝒙

𝒙 + 𝟏
−
𝟏

𝟐
∫ 𝒅𝒙 +

𝟑

𝟐
∫

𝟏

𝒙 − 𝟏
𝒅𝒙

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

= 

−
𝟓

𝟐
∫

𝒅𝒙

𝒙 + 𝟏
+
𝟑

𝟐
∫

𝟏

𝒙 − 𝟏
𝒅𝒙 = −

𝟓

𝟐
(𝐥𝐧(𝒙 + 𝟏))|

𝟑

𝟐
+
𝟑

𝟐

𝟑

𝟐

𝟑

𝟐

(𝐥𝐧(𝒙 − 𝟏))|
𝟑

𝟐
= 

−
𝟓

𝟐
(𝐥𝐧(𝟒) − 𝐥𝐧(𝟑)) +

𝟑

𝟐
(𝐥𝐧(𝟐) − 𝐥𝐧(𝟏)) = −

𝟓

𝟐
𝐥𝐧(𝟒) +

𝟓

𝟐
𝐥𝐧(𝟑) +

𝟑

𝟐
𝐥𝐧(𝟐) = 

−𝟓 𝐥𝐧(𝟐) +
𝟑

𝟐
𝐥𝐧(𝟐) +

𝟓

𝟐
𝐥𝐧⁡(𝟑) =

𝟓

𝟐
𝐥𝐧⁡(𝟑) −

𝟕

𝟐
𝐥𝐧⁡(𝟐) 

∫
𝐥𝐧(𝒙) − 𝟒

(𝟏 − 𝒍𝒏𝟐(𝒙))
𝒅𝒙 =

𝟓

𝟐
𝐥𝐧⁡(𝟑) −

𝟕

𝟐
𝐥𝐧⁡(𝟐)

𝒆𝟑

𝒆𝟐
 

 
2499. Find a closed form: 

∫
𝟐𝒆𝟑𝒙 + 𝒆𝟐𝒙 −𝟏

𝒆𝟑𝒙 + 𝒆𝟐𝒙 − 𝒆𝒙 +𝟏
𝒅𝒙

𝐥𝐧⁡(𝟐)

𝟎

 

 
Proposed by Nguyen Hung Cuong-Vietnam 

Solution by Mirsadix Muzefferov-Azerbaijan 
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∫
𝟐𝒆𝟑𝒙 + 𝒆𝟐𝒙 − 𝟏

𝒆𝟑𝒙 + 𝒆𝟐𝒙 − 𝒆𝒙 + 𝟏
𝒅𝒙

𝐥𝐧⁡(𝟐)

𝟎

=⏞
𝒆𝒙→𝒕⁡

∫
𝟐𝒕𝟑 + 𝒕𝟐 − 𝟏

𝒕(𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏)
𝒅𝒕

𝟐

𝟏

 

𝟐𝒕𝟑 + 𝒕𝟐 − 𝟏

𝒕(𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏)
⁡= ⁡

𝑨

𝒕
⁡+ ⁡

𝑩𝒕𝟐 + 𝑪𝒕 + 𝑫

𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏
 

{

𝑨 + 𝑩 = 𝟐
𝑫 − 𝑨 = 𝟎
𝑨 + 𝑪 = 𝟏
𝑨 = −𝟏

⁡−⁡−⁡>⁡> ⁡{

𝑨 = −𝟏
𝑩 = 𝟑
𝑪 = 𝟐
𝑫 = −𝟏

 

𝟐𝒕𝟑 + 𝒕𝟐 − 𝟏

𝒕(𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏)
= −

𝟏

𝒕
⁡+⁡

𝟑𝒕𝟐 + 𝟐𝒕 − 𝟏

𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏
 

∫
𝟐𝒕𝟑 + 𝒕𝟐 − 𝟏

𝒕(𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏)
𝒅𝒕

𝟐

𝟏

= −∫
𝟏

𝒕
𝒅𝒕 +⁡∫

𝟑𝒕𝟐 + 𝟐𝒕 − 𝟏

𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏
𝒅𝒕 =

𝟐

𝟏

𝟐

𝟏

 

−𝐥𝐧(𝒕)|
𝟐

𝟏
+ ∫

𝒅(𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏)

𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏
= − 𝐥𝐧(𝟐) + 𝐥𝐧(𝒕𝟑 + 𝒕𝟐 − 𝒕 + 𝟏)|

𝟐

𝟏
=

𝟐

𝟏

 

− 𝐥𝐧(𝟐) + 𝐥𝐧(𝟏𝟏) − 𝐥𝐧(𝟐) = 𝐥𝐧 (
𝟏𝟏

𝟒
) 

∫
𝟐𝒆𝟑𝒙 + 𝒆𝟐𝒙 − 𝟏

𝒆𝟑𝒙 + 𝒆𝟐𝒙 − 𝒆𝒙 + 𝟏
𝒅𝒙 = 𝐥𝐧 (

𝟏𝟏

𝟒
)

𝐥𝐧⁡(𝟐)

𝟎

 

 
2500. Find a closed form: 
 

∫ ∫ ∫
(𝟏 + 𝒙𝒚𝒛)(𝟑 + 𝒙𝒚𝒛)

(𝟐 + 𝒙𝒚𝒛)(𝟒 + 𝒙𝒚𝒛)
𝒅𝒙𝒅𝒚𝒅𝒛

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎
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It’s nice to be important but more important it’s to be nice. 

At this paper works a TEAM. 

This is RMM TEAM. 

To be continued! 

Daniel Sitaru 

 

 

 


	𝑩=,,(𝒍𝒏𝟐)-𝟑.,,𝐭𝐚𝐧-−𝟏.-,𝟐..-𝟐.+,(,𝒍𝒏𝟐)-𝟑.-𝟖.,𝒏=𝟏-∞-,,,,𝒊-𝟐..-𝒏−𝟏.+,,−,𝒊-𝟐..-𝒏−𝟏.-𝒏..+,,(𝒍𝒏𝟐)-𝟐.-𝟒.,𝒏=𝟏-∞-,,,,𝒊-𝟐..-𝒏−𝟏.+,,−,𝒊-𝟐..-𝒏−𝟏.-,𝒏-𝟐...+,𝒍𝒏𝟐-𝟒.,𝒏=𝟏-∞-,,,,𝒊-𝟐..-𝒏−𝟏.+,,−,𝒊-𝟐..-𝒏−𝟏.-,𝒏-𝟑....
	𝑩=,,(𝒍𝒏𝟐)-𝟑.,,𝐭𝐚𝐧-−𝟏.-,𝟐..-𝟐.+,,(𝒍𝒏𝟐)-𝟑.-𝟐.,,𝐭𝐚𝐧-−𝟏.-,,𝟏-𝟐...+,,(𝒍𝒏𝟐)-𝟐.-𝟐𝒊.,,𝑳𝒊-𝟐.,,𝒊-𝟐..−,𝑳𝒊-𝟐.,,−𝒊-𝟐...
	−,𝒍𝒏𝟐-𝟐𝒊.(,𝑳𝒊-𝟑.,𝒊.−,𝑳𝒊-𝟑.,−𝒊.+,𝑳𝒊-𝟑.,,−𝒊-𝟐..−,𝑳𝒊-𝟑.,,𝒊-𝟐..)
	𝐀𝐍𝐒𝐖𝐄𝐑=𝑨+𝑩=,,𝝅(𝒍𝒏𝟐)-𝟑.-𝟐.+,,𝟑,𝒍𝒏𝟐.-𝟐.-𝟒𝒊.,,𝑳𝒊-𝟐.,,𝒊-𝟐..−,𝑳𝒊-𝟐.,,−𝒊-𝟐...
	−,𝒍𝒏𝟐-𝟐𝒊.(,𝑳𝒊-𝟑.,𝒊.−,𝑳𝒊-𝟑.,−𝒊.+,𝑳𝒊-𝟑.,,−𝒊-𝟐..−,𝑳𝒊-𝟑.,,𝒊-𝟐..) (1)

